Fall 2018 16wk Survey	University of North Texas at Dallas
6188 - Fall 2018 - 1	UNT-Dallas

	Course:	ACCT - 2010 001 - Accounting Principles I (Financial Accounting)	De	partme	nt: 5	16100			
	Responsible Faculty:	Patricia Wynn	Responses /	Expect	ed: 2	6 / 33 (7	8.79%)		
Cour	se Evaluation Questions					Patricia W	ynn		
Cour	se Evaluation Questions			1	Respon				ividual
~ 1			SD	D	N	A 6	SA 20	N	Mean
Q1	My instructor explains difficult	t material clearly.	0	0	0	23.1%	76.9%	26	4.8
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	1 3.8%	4 15.4%	21 80.8%	26	4.8
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.	0	1 3.8%	0	5 19.2%	20 76.9%	26	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	2 8%	5 20%	18 72%	25	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	2 7.7%	5 19.2%	19 73.1%	26	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	0	5 19.2%	21 80.8%	26	4.8
Q7	My instructor establishes a cli	imate of respect for students.	0	0	0	4 15.4%	22 84.6%	26	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	1 3.8%	4 15.4%	21 80.8%	26	4.8
Q9	My instructor encourages me	to do my best work.	0	0	1 3.8%	5 19.2%	20 76.9%	26	4.7
Q10	My instructor provides timely	feedback to guide my progress.	0	0	2 7.7%	4 15.4%	20 76.9%	26	4.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	6 23.1%	20 76.9%	26	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	1 3.8%	5 19.2%	20 76.9%	26	4.7
Q13	My instructor encourages me	to develop new viewpoints.	0	0	2 7.7%	4 15.4%	20 76.9%	26	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	1 3.8%	2 7.7%	5 19.2%	18 69.2%	26	4.5
		Responses: [SD] Strongly Disagree=1 [D]	Disagree=2 [N] Neither A	gree or Dis	sagree=3	[A] Agree	=4 [SA] S	trongly	Agree=

				ACCT - 20	010 - 001			Su	rvey Compariso	ns
Labs and Online Learning Questions		R	esp	onses (%)		C	ourse		All	
	SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	5 38.5%	8 61.5%	13	4.6	2.7K	4.3	67
Q16 The course topics are organized in a coherent fashion.	1 5.6%	0	0	5 27.8%	12 66.7%	18	4.5	3.7K	4.4	55

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 2010 002 - Accounting Principles I (Fina	ncial	Accou	nting)		I	Эера	artmei	nt: 5'	16100			
	Responsible Faculty:	Patricia Wynn				Re	sponses	/ Ex	pecte	ed: 2	9 / 35 (8	82.86%)		
											Patricia V	Vynn		
Cour	se Evaluation Questions								R	espons	ses (%)		Inc	dividual
							S	D	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					()	1 3.4%	0	7 24.1%	21 72.4%	29	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.				()	1 3.4%	0	7 24.1%	21 72.4%	29	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					()	1 3.4%	0	5 17.2%	23 79.3%	29	4.7
Q4	My instructor provides materia	I that helps me do well on assignments.					()	0	1 3.4%	4 13.8%	24 82.8%	29	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.)	0	2 6.9%	6 20.7%	21 72.4%	29	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.)	1 3.4%	0	5 17.2%	23 79.3%	29	4.7
Q7	My instructor establishes a cli	mate of respect for students.					()	0	0	5 17.2%	24 82.8%	29	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.					()	0	0	5 17.2%	24 82.8%	29	4.8
Q9	My instructor encourages me	o do my best work.					()	0	0	5 17.2%	24 82.8%	29	4.8
Q10	My instructor provides timely f	eedback to guide my progress.					()	0	1 3.4%	4 13.8%	24 82.8%	29	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					()	0	0	4 13.8%	25 86.2%	29	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of t	he sul	oject.			()	0	1 3.4%	4 13.8%	24 82.8%	29	4.8
Q13	My instructor encourages me	o develop new viewpoints.					()	0	2 6.9%	3 10.3%	24 82.8%	29	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.					()	0	2 6.9%	3 10.3%	24 82.8%	29	4.8
		Responses: [SD]	Strong	gly Disagr	ree=1 [D] [)isagree=2	[N] Neither	Agre	e or Dis	agree=3	[A] Agree	e=4 [SA] S	trongl	y Agree=
					ACO	CT - 2010	- 002				Surv	ey Compa	rison	s
Labs	and Online Learning Questions			I	Response	es (%)		C	ourse			All		
	1		SD	D	N	A	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6		2.7K	4.3		65
Q16	The course topics are organize	d in a coherent fashion.	0	1 6.7%	0	2 13.3%	12 80%	15	4.7		3.7K	4.4		71

ponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 2010 003 - Accounting Principles I (Financial	Accour	nting)				D	epartm	ent: 51	6100			
	Responsible Faculty:	Ernest Robinson				R	espons	ses ,	/ Expect	ed: 7	/ 21 (33	.33%)		
										Ern	est Robir	nson		
Cour	se Evaluation Questions								F	Response	s (%)		In	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.						0	0	0	3 42.9%	4 57.1%	7	4.6
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.						0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.						0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.						0	0	1 14.3%	2 28.6% 3	4 57.1%	7	4.4
Q7	My instructor establishes a cl	imate of respect for students.						0	0	0	3 42.9% 3	4 57.1% 4	7	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	3 42.9% 3	4 57.1% 4	7	4.6
Q9	My instructor encourages me	to do my best work.						0	0	0	3 42.9% 2	4 57.1% 4	7	4.6
Q10	My instructor provides timely	feedback to guide my progress.						0	1 14.3% 1	0	2 28.6% 2	4 57.1% 4	7	4.3
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.						0	14.3%	0	28.6% 2	4 57.1% 4	7	4.3
		to connect course topics to a wider understanding of the sub	ject.					0	0	14.3% 1	28.6% 2	4 57.1% 4	7	4.4
Q13	My instructor encourages me	to develop new viewpoints.						0	0	14.3%	28.6% 2	57.1%	7	4.4
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	14.3%	0	28.6%	4 57.1%	7	4.3
		Responses: [SD] Strong	ly Disagre	ee=1 [C) Dis	sagree=2	[N] Nei	ther A	Agree or Di	sagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5
Labs	and Online Learning Questions	8		Resi		CT - 201 es (%)	10 - 003	-	Course		Survey	Compari All	sons	
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	1 50%	0	1 50%	0	2	3.0	2.7	к	4.3		10
Q16	The course topics are organize	ed in a coherent fashion.	0	1 25%	0	2 50%	1 25%	4	3.8	3.7	к	4.4		11

Di Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 2010 004 - Accounting Principles I (Financial	Accour	iting)				Departm	ent: 5	16100			
	Responsible Faculty:	Alison Reiff-martin					Respo	onses	/ Expec	ted:	8 / 6 (50%)		
_									Alis	son Reiff-n	nartin			
Cour	se Evaluation Questions									Respons	ses (%)		Ir	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 33.3%	0	0	2 66.7%	3	4.0
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me	o do my best work.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely	eedback to guide my progress.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	ect.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	o develop new viewpoints.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	1 33.3%	0	2 66.7%	3	4.3
		Responses: [SD] Strong	y Disagre	e=1	[D] Disa	gree:	2 [N]	Neithe	· Agree or D)isagree=3	3 [A] Agree	=4 [SA] S	trong	ly Agree=
					ACC	т-2	2010 -	004			Survey	Comparis	sons	
Labs	and Online Learning Questions				sponse				Course			All		Pct
			SD	D	N	A	SA 1	N	Mean	N		Mean		Rnk
		rated into the course structure.	0	0	50%	0	50%	2	4.0	2.7		4.3		30
Q16	The course topics are organize	d in a coherent fashion.	0	0	1 50%	0	50%	2	4.0	3.7	к	4.4		21

ses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 2020 001 - Accounting Principles II	(Managerial Ac	cou	nting	g)			Depart	mei	nt:	516100			
	Responsible Faculty:	Cathy Scott					Respor	ises	/ Exp	ecte	d:	7 / 25 (2	28%)		
^	se Evaluation Questions											Cath	y Scott		
Cour	se Evaluation Questions											ponses (%		-	dividual
									SD	D	N	A	SA 6	N	Mean
Q1	My instructor explains diffici	ult material clearly.							0	0	0	14.3%	85.7%	7	4.9
Q2	My instructor provides facts	, examples, and references that helped me learn t	he material.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignm	ents that contribute to my understanding of the s	ubject.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q4	My instructor provides mate	rial that helps me do well on assignments.							0	0	0	0	7 100%	7	5.0
Q5	My instructor explains new i	deas by relating them to familiar concepts.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my v	work in ways that are helpful to my ability to learn							0	0	0	0	7 100%	7	5.0
Q7	My instructor establishes a	climate of respect for students.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to	me on matters pertaining to the course.							0	0	0	0	7 100%	7	5.0
Q9	My instructor encourages m	e to do my best work.							0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timel	y feedback to guide my progress.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atn	nosphere in which ideas can be exchanged freely.							0	0	0	0	7 100%	7	5.0
Q12	My instructor encourages m	e to connect course topics to a wider understand	ng of the subject.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages m	e to develop new viewpoints.							0	0	0	0	7 100%	7	5.0
Q14	My instructor made the subj	ect interesting and motivated me to learn.							0	0	0	0	7 100%	7	5.0
		Response	s: [SD] Strongly Dis	sagree	e=1 [I	D] Disagree	=2 [N] Nei	ther A	Agree or	Disa	gree=	3 [A] Agre	e=4 [SA] :	Stron	gly Agree
						ACCT - 2	020 - 001					Surve	ey Compai	rison	s
Labs	and Online Learning Questio	ns			Res	ponses (%))		Course				All		
			SD	D	N	A	SA	N	Mea	n		N	Mean		Pct Rnk
Q15	The section or lab is well int	egrated into the course structure.	0	0	0	0	5 100%	5	5.0		2	2.7K	4.3		91
Q16	The course topics are organi	zed in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9		3	.7K	4.4		86

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course: ACCT - 3110 001 - Intermediate Accounting I						Dep	artm	ient: 5	516100			
	Responsible Faculty: Pamela Thompson				R	esponse	es / E	крес	ted:	14 / 37 (3	7.84%)		
_									P	amela Tho	mpson		
Cou	se Evaluation Questions								Respor	nses (%)		Ind	lividual
							SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.						0	0	3 21.4%	3 21.4%	8 57.1%	14	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the mater	rial.					0	0	0	5 35.7%	9 64.3%	14	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.						0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
Q4	My instructor provides material that helps me do well on assignments.						0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.						0	0	3 21.4%	3 21.4%	8 57.1%	14	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.						0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q7	My instructor establishes a climate of respect for students.						0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q8	My instructor is available to me on matters pertaining to the course.						0	0	0	4 30.8%	9 69.2%	13	4.7
Q9	My instructor encourages me to do my best work.						0	0	0	6 42.9%	8 57.1%	14	4.6
Q10	My instructor provides timely feedback to guide my progress.						0	0	2 14.3%	5 35.7%	7 50%	14	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.						0	0	0	5 35.7%	9 64.3%	14	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the	e subje	ct.				0	0	3 21.4%	3 21.4%	8 57.1%	14	4.4
Q13	My instructor encourages me to develop new viewpoints.						0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4
Q14	My instructor made the subject interesting and motivated me to learn.						1 7.1%	0	0	5 35.7%	8 57.1%	14	4.4
	Responses: [SD] St	rongly	Disag	ree=1 [D]	Disagree=2	2 [N] Neith	ner Agre	ee or D)isagree=	3 [A] Agree	=4 [SA] S	trongly	y Agree=
				Α	CCT - 311	0 - 001				Surve	ey Compar	risons	
Labs	and Online Learning Questions			Respor	nses (%)		C	ourse	•		All		
		SD	D	N	A	SA	N	Меа	an	N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	5	2.7К	4.3		59
Q16	The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	1	3.7K	4.4		47

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 3110 002 - Intermediate Accounting I						De	par	tme	ent: 5	16100			
	Responsible Faculty:	Pamela Thompson					Respons	ses /	Ехр	ect	ed: 1	13 / 28 (4	46.43%)		
_											F	Pamela T	nompson		
Cours	se Evaluation Questions										Respo	nses (%)		Inc	dividual
									SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4
Q2	My instructor provides facts, e	examples, and references that helped me learn the m	naterial.						0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4
Q3	My instructor gives assignment	nts that contribute to my understanding of the subje	ct.						0	0	0	4 30.8%	9 69.2%	13	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	5 38.5%	8 61.5%	13	4.6
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	5 38.5%	8 61.5%	13	4.6
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	5 38.5%	8 61.5%	13	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	5 38.5%	8 61.5%	13	4.6
Q9	My instructor encourages me	to do my best work.							0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	2 15.4%	11 84.6%	13	4.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	1 7.7%	5 38.5%	7 53.8%	13	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding o	f the subject.						0	0	1 7.7%	5 38.5%	7 53.8%	13	4.5
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	5 38.5%	8 61.5%	13	4.6
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	0	6 46.2%	7 53.8%	13	4.5
		Responses: [S	D] Strongly Dis	sagre	e=1	[D] Disagree	=2 [N] Nei	ther A	gree o	or Di	sagree=3	3 [A] Agre	e=4 [SA] S	Strong	y Agree=
						ACCT - 3	110 - 002	1				Surve	y Compar	isons	
Labs	and Online Learning Questions	3			Res	ponses (%)	C	ours	e			All		
			SD	D	N	A	SA	N	Me	an		N	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	6 85.7%	1 14.3%	7	4	1	2.	7К	4.3		38
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	5 62.5%	3 37.5%	8	4	4	3.	7К	4.4		43

	Course:	ACCT - 3270 001 - Cost Accounting					Depa	artm	ent: 5	516100			
	Responsible Faculty:	Patricia Wynn			F	espons	es / Ex	крес	ted:	26 / 30 (8	6.67%)		
										Patricia V	Vynn		
Cour	se Evaluation Questions								Respor	nses (%)		Inc	lividual
							SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficul	material clearly.					1 3.8%	0	1 3.8%	11 42.3%	13 50%	26	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	rial.				1 3.8%	0	1 3.8%	9 34.6%	15 57.7%	26	4.4
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					1 3.8%	0	1 3.8%	8 30.8%	16 61.5%	26	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.					1 3.8%	0	0	9 34.6%	16 61.5%	26	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.					1 3.8%	0	1 3.8%	10 38.5%	14 53.8%	26	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					1 3.8%	0	2 7.7%	7 26.9%	16 61.5%	26	4.4
Q7	My instructor establishes a cli	mate of respect for students.					1 3.8%	0	0	4 15.4%	21 80.8%	26	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.					1 3.8%	0	0	9 34.6%	16 61.5%	26	4.5
Q9	My instructor encourages me	o do my best work.					1 4%	0	0	7 28%	17 68%	25	4.6
Q10	My instructor provides timely	eedback to guide my progress.					1 3.8%	0	0	9 34.6%	16 61.5%	26	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					1 3.8%	0	1 3.8%	7 26.9%	17 65.4%	26	4.5
Q12	My instructor encourages me	o connect course topics to a wider understanding of th	e subjec				1 3.8%	0	2 7.7%	8 30.8%	15 57.7%	26	4.4
Q13	My instructor encourages me	o develop new viewpoints.					1 3.8%	0	4 15.4%	7 26.9%	14 53.8%	26	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.					1 3.8%	0	3 11.5%	8 30.8%	14 53.8%	26	4.3
		Responses: [SD] S	trongly D	sagree=1 [D]	Disagree=	2 [N] Neith	ner Agre	e or D	isagree=	3 [A] Agree	=4 [SA] S	trong	Agree=
				A	CCT - 327	0 - 001				Surve	ey Compai	risons	:
Labs	and Online Learning Questions			Respor	ses (%)		Co	ourse	•		All		
			SD	D N	A	SA	N	Me	an	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0 1 6.7%	6 40%	8 53.3%	15	4.	5	2.7К	4.3		53
Q16	The course topics are organize	d in a coherent fashion.	1 5.6%	0 1 5.6%	6 33.3%	10 55.6%	18	4.	3	3.7К	4.4		40

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 3270 002 - Cost Accounting						De	partn	nent:	516100			
	Responsible Faculty:	Cathy Scott					Respons	es /	Ехре	cted:	9 / 26 (34	4.62%)		
C	se Evaluation Questions										Cathy S	Scott		
Cour	se Evaluation Questions									-	onses (%)		-	ndividual
								S		N	A	SA 7	N	Mean
Q1	My instructor explains difficult	material clearly.						C	0	0	22.2%	77.8%	9	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					C	0	0	2 22.2%	7 77.8%	9	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a cli	y instructor establishes a climate of respect for students.							0	0	2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q9	My instructor encourages me	to do my best work.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely	eedback to guide my progress.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						C	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subject.					C	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q13	My instructor encourages me	to develop new viewpoints.						C	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.						C	0	0	2 22.2%	7 77.8%	9	4.8
	I	Responses: [SD] St	rongly Dis	agre	ee=1 [D] Disagree	e=2 [N] Neit	her Ag	ree or	Disagree:	=3 [A] Agre	e=4 [SA] \$	Strong	gly Agree=
						ACCT - 3	270 - 002				Surve	ey Compar	rison	s
Labs	and Online Learning Questions				Res	ponses (%)	C	ourse			All		
	1		SD	D	N	A	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2	2.7К	4.3		70
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3	3.7K	4.4		83

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 4100 001 - Accounting Systems						I	Departn	nen	t:	516100			
	Responsible Faculty:	Stephanie Mongiello				Re	espor	ises	/ Expe	cted	l:	3 / 13 (2	3.08%)		
•												Stephani	e Mongiel	lo	
Cour	se Evaluation Questions										Res	ponses (%			dividual
									SD	D	N	A 2	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	۲ 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor encourages met	o do my best work.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subj	ect.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	2 66.7%	1 33.3%	3	4.3
		Responses: [SD] Strongly	Disagre	e=1	[D] [Disagree=2	[N] N	either	Agree or	Disa	gree=	3 [A] Agre	e=4 [SA] :	Strong	gly Agree=
					4	ACCT - 41	00 - 00	01				Surve	y Compar	isons	:
Labs	and Online Learning Questions				1	nses (%)			Course				All		Pct
			SD	D	N	A	SA	N	Mean			N	Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 100%	0	2	4.0		2.	7К	4.3		30
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 100%	0	2	4.0		3.	7К	4.4		21

sponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 4300 002 - Federal Income Taxation						D	epartn	nent:	5161	00			
	Responsible Faculty:	Stephanie Mongiello				R	espons	ses /	Expe	cted:	10/	24 (41.	.67%)		
											Stepl	nanie M	ongiell	D	
Cour	se Evaluation Questions									Re	sponse	s (%)		Inc	lividual
									SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	1 10%	0	5 50%	4 40%	10	4.2
Q2	My instructor provides facts, e	examples, and references that helped me learn the mate	rial.						0	0	1 10%	5 50%	4 40%	10	4.3
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	1 10%	5 50%	4 40%	10	4.3
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	1 10%	5 50%	4 40%	10	4.3
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	1 10%	5 50%	4 40%	10	4.3
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.							0	0	1 10%	5 50%	4 40%	10	4.3
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	6 60%	4 40%	10	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	1 10%	5 50%	4 40%	10	4.3
Q9	My instructor encourages me	to do my best work.							0	0	1 10%	5 50%	4 40%	10	4.3
Q10	My instructor provides timely	feedback to guide my progress.							0	0	1 10%	5 50%	4 40%	10	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	1 10%	5 50%	4 40%	10	4.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	e subject.						0	0	1 10%	5 50%	4 40%	10	4.3
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 10%	4 40%	5 50%	10	4.4
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	1 10%	5 50%	4 40%	10	4.3
		Responses: [SD] S	trongly Disa	gree=	1 [D] Di	sagree=2	[N] Nei	ther A	Agree or	Disagre	e=3 [A]	Agree=4	4 [SA] S	Strong	ly Agree=
					AC	CT - 430	00 - 002				;	Survey (Compar	isons	
Labs	and Online Learning Question	3		F	Respons	ses (%)		(Course				All		
			SD	D	N	A	SA	N	Mea	n	Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	1 50%	1 50%	0	2	3.5		2.7K		4.3		14
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	1 20%	1 20%	3 60%	5	4.4		3.7K		4.4		45

	Course:	ACCT - 4350 001 - Advanced Federal Income Taxation					D	epartme	nt: 51	6100			
	Responsible Faculty:	Stephanie Mongiello				Respo	nses	/ Expect	ed: 9	/ 19 (47.:	37%)		
_									Stepha	nie Mong	iello		
Cour	rse Evaluation Questions							Re	sponses	(%)		In	dividual
							SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.					0	0	0	0	9 100%	9	5.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					0	0	0	0	9 100%	9	5.0
Q4	My instructor provides materia	l that helps me do well on assignments.					0	1 11.1%	0	1 11.1%	7 77.8%	9	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	0	0	1 11.1%	8 88.9%	9	4.9
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q7	My instructor establishes a cli	mate of respect for students.					0	0	0	0	9 100%	9	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	0	0	9 100%	9	5.0
Q9	My instructor encourages met	o do my best work.					0	0	0	0	9 100%	9	5.0
Q10	My instructor provides timely f	eedback to guide my progress.					0	0	1 11.1%	0	8 88.9%	9	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0	0	1 11.1%	8 88.9%	9	4.9
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subjec	t.				0	0	0	1 11.1%	8 88.9%	9	4.9
Q13	My instructor encourages me	o develop new viewpoints.					0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q14	My instructor made the subject	t interesting and motivated me to learn.					1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4
		Responses: [SD] Strongly [isagree	1 [D] D	isagre	ee=2 [N] N	leither A	Agree or Dis	sagree=3	[A] Agree=	4 [SA] St	rong	ly Agree=5
Loha	and Online Learning Questions					- 4350 - 0			-	Survey	•	ons ·	
Labs	and Online Learning Questions		SD	Respon D N	A	(%) SA	N	ourse Mean	N		All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0 0	0	5 100%	5	5.0	2.7K		4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0 0	0	7 100%	7	5.0	3.7K		4.4		94

Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 4400 001 - Auditing Professional Respon	sibilities					C)epartm	ent: 5	16100			
	Responsible Faculty:	Cathy Scott				F	Respon	ses	/ Expect	ed: 9	/ 15 (60	%)		
											Cathy Sco	ott		
Cour	se Evaluation Questions								I	Respons	es (%)		In	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	rial.					0	0	0	4 44.4%	5 55.6%	9	4.6
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q4	My instructor provides materia	I that helps me do well on assignments.						0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q9	My instructor encourages me	to do my best work.						0	0	0	5 55.6%	4 44.4%	9	4.4
Q10	My instructor provides timely	eedback to guide my progress.						0	0	0	2 22.2%	7 77.8%	9	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	e subject.					0	0	0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor encourages me	o develop new viewpoints.						0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	4 44.4%	5 55.6%	9	4.6
		Responses: [SD] S	trongly Disagre	e=1	[D] D	isagree=	2 [N] Ne	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=
					A	сст - 44	100 - 00	1			Survey	Compari	sons	
Labs	and Online Learning Questions			Re	spon	ses (%)			Course			All		
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.7	к	4.3		59
Q16	The course topics are organize	d in a coherent fashion.	1 20%	0	0	2 40%	2 40%	5	3.8	3.7	к	4.4		13

esponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course:	ACCT - 4410 010 - Auditing Evidence						De	partme	nt: 5	16100			
Responsible Faculty:	Patricia Wynn					Respons	es /	Expecte	ed: 1	1 / 13 (8-	4.62%)		
										Patricia W	/ynn		
Course Evaluation Questions								F	Respon	ses (%)		Ind	lividual
							SD	D	Ν	A	SA	N	Mean
Q1 My instructor explains difficult	material clearly.						0	0	0	5 45.5%	6 54.5%	11	4.5
Q2 My instructor provides facts, e	xamples, and references that helped me learn the materia	ıl.					0	0	0	4 36.4%	7 63.6%	11	4.6
Q3 My instructor gives assignmen	ts that contribute to my understanding of the subject.						0	0	0	5 45.5%	6 54.5%	11	4.5
Q4 My instructor provides materia	I that helps me do well on assignments.						0	0	0	4 36.4%	7 63.6%	11	4.6
Q5 My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5
Q6 My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	5 45.5%	6 54.5%	11	4.5
Q7 My instructor establishes a cli	mate of respect for students.						0	1 9.1%	0	4 36.4%	6 54.5%	11	4.4
Q8 My instructor is available to m	e on matters pertaining to the course.						0	0	0	4 36.4%	7 63.6%	11	4.6
Q9 My instructor encourages me	o do my best work.						0	0	0	6 54.5%	5 45.5%	11	4.5
Q10 My instructor provides timely	eedback to guide my progress.						0	0	0	4 36.4%	7 63.6%	11	4.6
Q11 My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	4 40%	6 60%	10	4.6
Q12 My instructor encourages me	o connect course topics to a wider understanding of the s	ubject.					0	0	0	5 45.5%	6 54.5%	11	4.5
Q13 My instructor encourages me	o develop new viewpoints.						0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q14 My instructor made the subject	t interesting and motivated me to learn.						0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
	Responses: [SD] Stro	ngly Disa	gree='	[D] Di:	sagree	=2 [N] Neit	her Aç	gree or Dis	agree=	3 [A] Agree	=4 [SA] S	trongly	/ Agree=5
				ACC	ст - 4	¥10 - 010				Surve	y Compari	isons	
Labs and Online Learning Questions			Re	sponse	s (%)		C	ourse			All		
		SD	D		A	SA	N	Mean		N	Mean		Pct Rnk
Q15 The section or lab is well integ	rated into the course structure.	0	0	0 33	3 9.3%	6 66.7%	9	4.7	2	.7K	4.3		70
Q16 The course topics are organize	d in a coherent fashion.	1 9.1%	0	()	2 8.2%	8 72.7%	11	4.5	3	.7К	4.4		50

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 5020 010 - Accumulation and Analysis of Ac	counting D	ata				Dep	artn	nent: 5	516100			
	Responsible Faculty:	Patricia Wynn				Resp	onse	es / E	крес	cted:	3 / 9 (33.	33%)		
C	se Evaluation Ouestions										Patricia	Wynn		
Cour	se Evaluation Questions									-	nses (%)	1	-	dividual
								SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficu	It material clearly.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts,	examples, and references that helped me learn the material						0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignme	ents that contribute to my understanding of the subject.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides mater	al that helps me do well on assignments.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new id	eas by relating them to familiar concepts.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my w	ork in ways that are helpful to my ability to learn.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a c	limate of respect for students.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to r	ne on matters pertaining to the course.						0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me	to do my best work.						0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely	feedback to guide my progress.						0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atm	osphere in which ideas can be exchanged freely.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	ubject.					0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q14	My instructor made the subje	ct interesting and motivated me to learn.						0	0	1 33.3%	0	2 66.7%	3	4.3
		Responses: [SD] Stron	ngly Disagree=	1 [D] [Disagi	ree=2 [N]	Neith	er Agre	e or [Disagree=3	3 [A] Agre	e=4 [SA] S	Strong	gly Agree=
					ACCT	r - 5020	- 010				Survey	y Compari	sons	
Labs	and Online Learning Question	s		Respo	nses	(%)		Cour	se			All		
			SD	DN	A	SA	N	м	ean	N		Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	0	0 0	0	3 100%	3		5.0	2.7	к	4.3		91
Q16	The course topics are organiz	ed in a coherent fashion.	0	0 0	0	3 100%	3	ę	5.0	3.7	к	4.4		94

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	AGER - 4500 040 - Long-Term Care Case Ma	anagement with O	lder A	Ac	dults			Depa	rtment:	518000	C		
	Responsible Faculty:	Iftekhar Amin					Res	oonse	s / Ex	pected:	7 / 25	(28%)		
Cour	rse Evaluation Questions										lftekhar	Amin		
ooui	se Evaluation Questions									-	ises (%)		1	dividual
01	My instructor explains diffi	cult material clearly							D D	N 1	А 3	SA 3	N 7	Mean 4.3
Q2		s, examples, and references that helped me learn	the material.						5 0 5 0	14.3% 1	42.9% 3	42.9% 3	7	4.3
Q3		nents that contribute to my understanding of the s							0 C	14.3%	42.9%	42.9%	7	4.3
Q4		erial that helps me do well on assignments.							0 0	14.3% 0	42.9% 4 57.1%	42.9% 3 42.9%	7	4.4
Q5	My instructor explains new	ideas by relating them to familiar concepts.							0 0	2 28.6%	2 28.6%	42.9% 3 42.9%	7	4.1
Q6	My instructor evaluates my	work in ways that are helpful to my ability to lear	1.						o o	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q7	My instructor establishes	a climate of respect for students.							0 0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q8	My instructor is available t	o me on matters pertaining to the course.							0 0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q9	My instructor encourages i	ne to do my best work.							0 0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q10	My instructor provides tim	ely feedback to guide my progress.							0 0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q11	My instructor creates an a	mosphere in which ideas can be exchanged freely							0 0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q12	My instructor encourages	ne to connect course topics to a wider understand	ing of the subject.						0 0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q13	My instructor encourages	ne to develop new viewpoints.							0 0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q14	My instructor made the su	oject interesting and motivated me to learn.							0 0	0	4 57.1%	3 42.9%	7	4.4
		Response	es: [SD] Strongly Disag	gree=1	[D] Disagree	2 [N] N	either A	gree or	Disagree=3	(A) Agree	e=4 [SA] S	Strong	gly Agree=
l aba	s and Online Learning Quest	one		-		AGER - 4					Survey	y Compari	isons	
Laps	and Omme Learning Quest	010	SD			sponses (%) N A	SA	Co N	urse Mean	N		All Mean		Pct Rnk
Q15	The section or lab is well in	ntegrated into the course structure.	0	0		0 1 50%	1 50%	2	4.5	2.7	к	4.3		59
Q16	The course topics are orga	nized in a coherent fashion.	0	0	+	0 3 50%	3 50%	6	4.5	3.7	к	4.4		55

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	AGER - 4550 040 - Sociology of Aging						De	partm	ent: 5	18000			
	Responsible Faculty:	Iftekhar Amin				Re	espons	es /	Expect	ted: 1	0 / 25 (4	0%)		
										K	tekhar Ar	nin		
Cours	se Evaluation Questions								F	Respons	es (%)		Inc	lividual
								SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.						0	0	0	5 50%	5 50%	10	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	terial.					0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject						0	1 10%	0	3 30%	6 60%	10	4.4
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	0	4 40%	6 60%	10	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 10%	0	3 30%	6 60%	10	4.4
Q7	My instructor establishes a cli	mate of respect for students.						0	0	1 10%	4 40%	5 50%	10	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.						1 10%	0	0	5 50%	4 40%	10	4.1
Q9	My instructor encourages met	o do my best work.						0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q10	My instructor provides timely f	eedback to guide my progress.						0	1 10%	0	4 40%	5 50%	10	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	5 50%	5 50%	10	4.5
Q12	My instructor encourages met	o connect course topics to a wider understanding of t	he subject.					1 10%	0	0	3 30%	6 60%	10	4.3
Q13	My instructor encourages me	o develop new viewpoints.						0	1 10%	0	3 30%	6 60%	10	4.4
Q14	My instructor made the subject	t interesting and motivated me to learn.						1 10%	0	1 10%	2 20%	6 60%	10	4.2
		Responses: [SD]	Strongly Disag	ree=1	[D] Disagree=2	[N] Neit	her Ag	gree or Di	isagree=3	[A] Agree	=4 [SA] S	trong	y Agree=
						AGER - 455	0 - 040				Surve	y Compar	isons	
Labs	and Online Learning Questions					onses (%)			Course			All		Pct
			SD	D	N	A	SA	N	Mea	1	N	Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	3 100%	0	3	4.0	2	.7К	4.3		30
Q16	The course topics are organize	d in a coherent fashion.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9	3	.7K	4.4		14

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	AGER - 4560 040 - Minority Aging						D	epartm	nent	: 518	3000			
	Responsible Faculty:	Iftekhar Amin				R	espons	ses /	Ехрес	ted	: 2/	21 (9.5	52%)		
Cour	se Evaluation Questions											lftekha	ar Amin		
Cour	se Evaluation Questions										•	ises (%)			dividual
Q1	My instructor explains difficult	matarial algority							SD 0	D	N	A 1	SA 1	N 2	Mean 4.5
											-	50% 1	50% 1		
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	50%	50%	2	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a cli	mate of respect for students.							0	0	1 50%	1 50%	0	2	3.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me	to do my best work.							0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	1 50%	1 50%	0	2	3.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	bject.						0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages met	to develop new viewpoints.							0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	0	1 100%	1	5.0
		Responses: [SD] Stron	gly Disa	agree	=1 [D] Dis	agree=2	[N] Nei	ther A	gree or l	Disag	ree=3 [/	A] Agree	=4 [SA] :	Stron	gly Agree=
					AGI	R - 456	0 - 040					- Surve	y Compai	rison	s
Labs	and Online Learning Questions				Response	es (%)		(Course				All		_
			SD	D	Ν	Α	SA	N	Mear	ı	Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 100%	0	0	1	3.0		2.7K	:	4.3		10
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5		3.7K	:	4.4		55

Pet Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ART - 1300 016 - Art Appreciation for Non-Art Maj	ors					De	partme	nt: 51	4120			
	Responsible Faculty:	Ayman Alamoudi				R	esponse	es / I	Expecte	ed: 11	/ 24 (4	5.83%)		
										Aym	an Alamo	oudi		
Cour	se Evaluation Questions								Re	sponses	s (%)		Ind	lividual
							5	D	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.						1 1%	0	3 27.3%	5 45.5%	2 18.2%	11	3.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					1 1%	0	0	7 63.6%	3 27.3%	11	4.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						1 1%	0	2 18.2%	6 54.5%	2 18.2%	11	3.7
Q4	My instructor provides materia	l that helps me do well on assignments.						1 1%	0	0	7 63.6%	3 27.3%	11	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.					9.	1 1%	0	1 9.1%	6 54.5%	3 27.3%	11	3.9
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					9.	1 1%	0	1 9.1%	7 63.6%	2 18.2%	11	3.8
Q7	My instructor establishes a cli	mate of respect for students.					9.	1 1%	0	2 18.2%	7 63.6%	1 9.1%	11	3.6
Q8	My instructor is available to m	e on matters pertaining to the course.						1 1%	1 9.1%	0	7 63.6%	2 18.2%	11	3.7
Q9	My instructor encourages me t	o do my best work.						0	0	2 18.2%	7 63.6%	2 18.2%	11	4.0
Q10	My instructor provides timely f	eedback to guide my progress.						0	1 9.1%	1 9.1%	7 63.6%	2 18.2%	11	3.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	1 9.1%	8 72.7%	2 18.2%	11	4.1
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the	subje	ct.				0	0	2 20%	5 50%	3 30%	10	4.1
Q13	My instructor encourages me t	o develop new viewpoints.						0	0	1 9.1%	7 63.6%	3 27.3%	11	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.						2 .2%	0	2 18.2%	5 45.5%	2 18.2%	11	3.5
		Responses: [SD] St	rongly [Disag	ree=1 [D]	Disagree=2	[N] Neith	er Ag	ree or Dis	agree=3	[A] Agree	=4 [SA] S	trongly	/ Agree=5
					Å	ART - 1300	- 016				Surve	y Compar	isons	
Labs	and Online Learning Questions				Respo	nses (%)		1	Course			All		
	Γ		SD	D	N	A	SA	Ν	Mean	'	4	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1	2.	7К	4.3		37
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	7 87.5%	1 12.5%	8	4.1	3.	7К	4.4		29

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ART - 1300 017 - Art Appreciation for Non-Art N	∕lajors					De	partmen	t: 514	120			
	Responsible Faculty:	Leslie Needham				Res	pons	es /	Expecte	d: 10/	/ 23 (43.4	48%)		
_										Lesli	e Needha	m		
Cour	se Evaluation Questions								Re	sponses	(%)		Inc	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	1 10%	3 30%	6 60%	0	10	3.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the ma	terial.					0	0	2 20%	7 70%	1 10%	10	3.9
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject	t.					0	0	4 40%	6 60%	0	10	3.6
Q4	My instructor provides materi	al that helps me do well on assignments.						1 10%	2 20%	3 30%	4 40%	0	10	3.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	1 10%	2 20%	7 70%	0	10	3.6
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						0	2 22.2%	4 44.4%	3 33.3%	0	9	3.1
Q7	My instructor establishes a cl	imate of respect for students.						0	2 20%	2 20%	6 60%	0	10	3.4
Q8	My instructor is available to m	e on matters pertaining to the course.						0	1 10%	3 30%	6 60%	0	10	3.5
Q9	My instructor encourages me	to do my best work.						0	2 20%	2 20%	6 60%	0	10	3.4
Q10	My instructor provides timely	feedback to guide my progress.						0	1 10%	4 40%	5 50%	0	10	3.4
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.						0	2 20%	3 30%	5 50%	0	10	3.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of	the subject	t.				0	0	5 50%	5 50%	0	10	3.5
Q13	My instructor encourages me	to develop new viewpoints.						0	0	4 40%	5 50%	1 10%	10	3.7
Q14	My instructor made the subject	ct interesting and motivated me to learn.						0	2 20%	4 40%	4 40%	0	10	3.2
		Responses: [SD]	Strongly Di	isagre	e=1 [D] Dis	sagree=2 [N] Neith	her Aç	gree or Disa	gree=3 [A] Agree=4	[SA] S	trongl	y Agree=
					AR	T - 1300 -	017				Survey C	Compari	isons	
Labs	and Online Learning Questions	3			Response	es (%)	1	0	Course			All		
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	4 57.1%	3 42.9%	0	7	3.4	2.7K		4.3		13
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	4 57.1%	3 42.9%	0	7	3.4	3.7K		4.4		8

	Course:	ART - 1300 030 - Art Appreciation for Non-Art Maj	ors					De	partme	ent: 5	14120			
	Responsible Faculty:	Rafael Molina				I	Respons	es / I	Expect	ed:	1 / 30 (3	6.67%)		
											Rafael Mo	lina		
Cour	se Evaluation Questions									Respons	ses (%)		Ind	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	0	5 45.5%	5 45.5%	1 9.1%	11	3.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					0	0	2 18.2%	6 54.5%	3 27.3%	11	4.1
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.						0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	6 54.5%	2 18.2%	3 27.3%	11	3.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 9.1%	3 27.3%	3 27.3%	4 36.4%	11	3.9
Q7	My instructor establishes a cli	mate of respect for students.						0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q9	My instructor encourages me	to do my best work.						0	0	3 27.3%	3 27.3%	5 45.5%	11	4.2
Q10	My instructor provides timely	eedback to guide my progress.						0	1 9.1%	3 27.3%	1 9.1%	6 54.5%	11	4.1
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subje	ct.				0	0	4 36.4%	2 18.2%	5 45.5%	11	4.1
Q13	My instructor encourages me	to develop new viewpoints.						0	0	3 27.3%	4 36.4%	4 36.4%	11	4.1
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	4 36.4%	3 27.3%	4 36.4%	11	4.0
		Responses: [SD] St	rongly [Disag	ree=1 [D] Disagree=	2 [N] Neit	her Ag	ree or Di	sagree=3	3 [A] Agree	=4 [SA] S	trongly	y Agree=
l sha	and Online Learning Questions				Di	ART - 130	0 - 030				Surve	ey Compar	isons	;
Laus	and Online Learning Questions		SD	D	Respo N	nses (%) A	SA	N	Course Mea	n	N	All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	4 44,4%	5 55.6%	9	4.6	2	2.7K	4.3		65
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	3	3.7K	4.4		50

ses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BCIS - 2610 001 - Introduction to Computers in Bu	siness					D	epartr	nent:	5161	00			
	Responsible Faculty:	Richard Wallace				R	espons	ses /	Ехре	cted:	5/2	2 (22.7	/3%)		
											Ric	hard W	allace		
Cour	se Evaluation Questions									Re	sponse	s (%)		In	dividual
									SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	2 40%	0	3 60%	5	4.2
Q2	My instructor provides facts, e	examples, and references that helped me learn the materi	al.						0	0	1 20%	1 20%	3 60%	5	4.4
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	1 20%	2 40%	2 40%	5	4.2
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	3 60%	2 40%	5	4.4
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.							0	0	0	4 80%	1 20%	5	4.2
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	2 40% 3	3 60%	5	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	20%	60%	1 20%	5	4.0
Q9	My instructor encourages me	to do my best work.							0	0	1 20% 3	1 20%	3 60% 1	5	4.4
Q10	My instructor provides timely	feedback to guide my progress.							0	0	60%	20%	20%	5	3.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	40%	60%	5	4.6
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subject.						0	0	0	20%	80%	5	4.8
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	40%	3 60%	5	4.6
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	1 20%	0	1 20%	3 60%	5	4.2
		Responses: [SD] Str	ongly Dis	agree	e=1 [D]	Disagree=2	[N] Nei	ther A	gree or	Disagre	e=3 [A]	Agree=	4 [SA] :	Strong	ly Agree=
						CIS - 261	0 - 001				,	Survey		isons	:
Laps	and Online Learning Question	5				ises (%)			Course		N		All		Pct
			SD	D	N	A	SA	N	Mea		N		Mean		Rnk
		grated into the course structure.	0	0	0	100%	0	1	4.0		2.7K		4.3		30
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	50%	0	50%	2	4.0		3.7K		4.4		21

	Course:	BCIS - 2610 002 - Introduction to Computers in Busine	SS					I	Departr	nent:	5161	00			
	Responsible Faculty:	Richard Wallace				R	espoi	nses	/ Expe	cted:	4/1	5 (26.6	7%)		
_											Rich	nard Wa	llace		
Cour	rse Evaluation Questions									Res	ponses	s (%)		In	dividual
	1								SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	1 25%	0	2 50%	1 25%	4	3.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	1 25%	1 25%	2 50%	4	4.3
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.							0	0	1 25%	1 25%	2 50%	4	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	2 50%	0	2 50%	4	4.0
Q5	My instructor explains new ide	instructor explains new ideas by relating them to familiar concepts.										2 50%	2 50%	4	4.5
Q6	My instructor evaluates my wo	y instructor evaluates my work in ways that are helpful to my ability to learn.										1 25%	2 50%	4	4.0
Q7	My instructor establishes a cl			0	0	0	1 25%	3 75%	4	4.8					
Q8	My instructor is available to m	My instructor is available to me on matters pertaining to the course.										0	2 50%	4	3.0
Q9	My instructor encourages me	to do my best work.							0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely	feedback to guide my progress.							2 50%	0	0	0	2 50%	4	3.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subje	ect.						0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject	t interesting and motivated me to learn.							0	2 50%	0	0	2 50%	4	3.5
		Responses: [SD] Strongly	Disagn	ee=1	[D]	Disagree=2	[N] N	leither	Agree or	Disagre	e=3 [A]	Agree=4	4 [SA] S	Strong	ly Agree=5
						BCIS - 26	10 - 00)2			S	urvey C	ompari	sons	
Labs	s and Online Learning Questions			Re	espo	nses (%)			Course				All		
			SD	D	N	A	SA	N	Mean		Ν	I	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 100%	0	1	4.0		2.7K		4.3		30
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 100%	0	1	4.0	:	3.7K		4.4		21
		ed in a coherent fashion.	0	0	0	100% 1 100% Disagree=2	0 [N] N	1 leither	4.0 Agree or		agre		3.7K agree=3 [A] Agree=4	3.7K 4.4 agree=3 [A] Agree=4 [SA] S	

	Course:	BCIS - 3610 010 - Basic Information Systems						De	partme	nt: 51	6100			
	Responsible Faculty:	Theodore Larson				F	Respons	es / I	Expecte	e d: 1	2 / 39 (3	0.77%)		
										The	odore La	rson		
Cour	se Evaluation Questions								Re	esponse	es (%)		Inc	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					8	1 3.3%	1 8.3%	0	5 41.7%	5 41.7%	12	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	rial.					0	1 8.3%	2 16.7%	4 33.3%	5 41.7%	12	4.1
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					8	1 3.3%	0	0	6 50%	5 41.7%	12	4.2
Q4	My instructor provides materia	l that helps me do well on assignments.					8	1 3.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.					8	1 3.3%	0	1 8.3%	5 41.7%	5 41.7%	12	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					8	1 3.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9
Q7	My instructor establishes a cli		0	0	0	4 33.3%	8 66.7%	12	4.7					
Q8	My instructor is available to m	e on matters pertaining to the course.					8	1 3.3%	0	1 8.3%	5 41.7%	5 41.7%	12	4.1
Q9	My instructor encourages me t	o do my best work.					8	1 3.3%	0	0	6 50%	5 41.7%	12	4.2
Q10	My instructor provides timely f	eedback to guide my progress.					8	1 3.3%	1 8.3%	0	5 41.7%	5 41.7%	12	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					8	1 3.3%	0	0	5 41.7%	6 50%	12	4.3
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the	e subje	ect.			8	1 3.3%	0	0	6 50%	5 41.7%	12	4.2
Q13	My instructor encourages me t	o develop new viewpoints.					8	1 3.3%	0	1 8.3%	4 33.3%	6 50%	12	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.						1 10%	0	0	4 40%	5 50%	10	4.2
		Responses: [SD] S	trongly	Disagree=1	[D]	Disagree=	2 [N] Neit	her Ag	ree or Dis	agree=3	[A] Agree	=4 [SA] S	trongly	y Agree=
					В	ICIS - 361	0 - 010				Surve	ey Compar	risons	;
Labs	and Online Learning Questions		SD	Res	spon N	ses (%) A	SA	N	Course Mear		N	All Mean		Pct
0.15				1		А 4	5 A 4							Rnk
	The section or lab is well integ		0	11.1%	0	44.4% 6	44.4%	9	4.2		.7K	4.3		41
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	60%	40%	10	4.4	3	.7K	4.4		45

[SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BCIS - 3610 011 - Basic Information Systems						Depar	tmen	: 516	100			
	Responsible Faculty:	Theodore Larson				Re	sponses	/ Exp	ected	: 10	/ 28 (35	5.71%)		
0											Theodor	e Larsor	ı	
Coui	rse Evaluation Questions									Respo	nses (%)		Ind	lividual
	1								SD I		A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0 (2 20%	6 60%	2 20%	10	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	terial.						0 (0	4 40%	6 60%	10	4.6
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject							0	0	6 60%	4 40%	10	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.							0 (1 10%	6 60%	3 30%	10	4.2
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0 (1 10%	6 60%	3 30%	10	4.2
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	1 10%	7 70%	2 20%	10	4.1
Q7	My instructor establishes a cli	y instructor establishes a climate of respect for students.										4 40%	10	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.							0 0	1 10%	5 50%	4 40%	10	4.3
Q9	My instructor encourages me	to do my best work.							0 0	0	6 60%	4 40%	10	4.4
Q10	My instructor provides timely f	eedback to guide my progress.							0	1 10%	6 60%	3 30%	10	4.2
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0 (0	5 50%	5 50%	10	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of	the su	bject.					0 (0	6 60%	4 40%	10	4.4
Q13	My instructor encourages met	to develop new viewpoints.							0	0	6 60%	4 40%	10	4.4
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0 (0	6 60%	4 40%	10	4.4
		Responses: [SD]	Stron	gly Disagre	ee=1 [D] D	isagree=2	[N] Neither	Agree	or Disa	gree=3 [/	A] Agree=	4 [SA] \$	Strongl	y Agree=
					BCIS	6 - 3610 -	011				Surve	у Сотра	arison	s
Labs	s and Online Learning Questions				Response	s (%)		Co	ourse			All	1	
	1		SD	D	N	Α	SA	N	Mear		N	Mean	ı	Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	1 11.1%	1 11.1%	5 55.6%	2 22.2%	9	3.9	2.	7К	4.3		22
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 10%	5 50%	4 40%	10	4.3	3.	7К	4.4		38

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BCIS - 4660 010 - Introduction to Data Warehousing	ļ					De	part	tment:	516	100			
	Responsible Faculty:	Theodore Larson					Respons	es /	Ехр	ected:	5/	16 (31.	25%)		
											Th	eodore	Larson		
Cour	se Evaluation Questions									Re	esponse	es (%)		In	dividual
									SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	t material clearly.							0	1 20%	0	1 20%	3 60%	5	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	1 20%	1 20%	3 60%	5	4.4
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides materia	al that helps me do well on assignments.							0	1 20%	0	1 20%	3 60%	5	4.2
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	1 20%	1 20% 4	3 60%	5	4.4
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	80%	1 20% 5	5	4.2
Q7	My instructor establishes a climate of respect for students.									0	0	0	5 100% 3	5	5.0
Q8	•	e on matters pertaining to the course.							0	0	0	40%	60% 4	5	4.6
Q9	My instructor encourages me								0	0	0 1	20%	80% 3	5	4.8
		feedback to guide my progress.							0	0	20%	20%	60%	5	4.4
		sphere in which ideas can be exchanged freely.							0	0	0	20% 2	80% 3	5	4.8
		to connect course topics to a wider understanding of the su	ibject.						0	0	0	40%	60% 4	5	4.6
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	20%	80%	5	4.8
Q14	My instructor made the subject	t interesting and motivated me to learn.							0	0	1 20%	1 20%	3 60%	5	4.4
		Responses: [SD] Stron	gly Dis	agree	e=1 [Disagree	=2 [N] Nei	ther Ag	gree c	or Disagi	ree=3 [A	Agree	=4 [SA] S	Strong	ly Agree=
							660 - 010					Survey	Compar	isons	
Labs	and Online Learning Questions				Res	ponses (%)	C	ours	e			All		D :
			SD	D	N	A	SA	N	Me	an	Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.	7	2.7K		4.3		70
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.	8	3.7K		4.4		78
		Responses: [SD] Stron				D] Disagree			gree c	or Disagi	ree=3 [A		=4 [SA] S		ly A

	Course: BIOC - 3300 030 - Elementary Biochemistry						Depa	artmen	t: 514	4140			
	Responsible Faculty: Muhammed Yousufuddin				R	esponses	; / E)	cpected	d: 7/	/ 19 (36.	84%)		
								M	uhamm	ed Yousu	ıfuddin		
Cour	se Evaluation Questions							Res	ponses	(%)		In	dividual
						SD		D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.					1 14.3%	6	0	0	4 57.1%	2 28.6%	7	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the mater	ial.				1 14.3%	6	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.					0		0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q4	My instructor provides material that helps me do well on assignments.					0	1	1 4.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.					1 14.3%	6	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.					1 14.3%	6	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q7	My instructor establishes a climate of respect for students.					0		0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q8	My instructor is available to me on matters pertaining to the course.					0		0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q9	My instructor encourages me to do my best work.					0		0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q10	My instructor provides timely feedback to guide my progress.					0		0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.					0		0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the	subje	et.			0		0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q13	My instructor encourages me to develop new viewpoints.					0		0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q14	My instructor made the subject interesting and motivated me to learn.					1 14.3%	6	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
	Responses: [SD] Str	rongly [)isag	ree=1 [D]	Disagree=2	2 [N] Neithe	r Agre	e or Disa	gree=3 [Agree	4 [SA] St	rong	y Agree=5
					IOC - 3300	D - 030				Survey	/ Compari	isons	;
Labs	and Online Learning Questions			Respor	ises (%)		Co	ourse			All		
		Α	SA	N	Mean	N		Mean		Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	2.7	К	4.3		50
Q16	The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	3.7	к	4.4		47

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1082 001 - Biology for Educators						Dep	artment	t : 5 1	14140			
	Responsible Faculty:	Keriman Livingston				Re	esponse	s / E	pected	l: 1	1 / 22 (5	0%)		
										Keri	iman Livi	ngston		
Cour	se Evaluation Questions								Re	spons	es (%)		Inc	dividual
	1						S	D	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.) 🧯	1 0.1% 9	1 9.1%	4 36.4%	5 45.5%	11	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mai	terial.)		2 8.2%	4 36.4%	5 45.5%	11	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.) ç		2 8.2%	2 18.2%	6 54.5%	11	4.2
Q4	My instructor provides materia	al that helps me do well on assignments.) 🤤	1 0.1% 1	2 8.2%	3 27.3%	5 45.5%	11	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.					•	0	0 1	2 8.2%	3 27.3%	6 54.5%	11	4.4
Q6	My instructor evaluates my wo		ו	0 1	2 8.2%	4 36.4%	5 45.5%	11	4.3					
Q7	My instructor establishes a climate of respect for students.									0	3 27.3% 5	8 72.7% 6	11	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						ו	0	0	5 45.5% 3	54.5%	11	4.5
Q9	My instructor encourages met	to do my best work.					•	כ	0	0	3 27.3% 5	8 72.7% 5	11	4.7
Q10	My instructor provides timely f	eedback to guide my progress.) ç	1 0.1%	0	5 45.5% 3	5 45.5% 8	11	4.3
		sphere in which ideas can be exchanged freely.						ו	0	0	27.3%	° 72.7% 6	11	4.7
		to connect course topics to a wider understanding of t	he sul	bject.				כ).1% 1	4 36.4% 4	54.5% 6	11	4.5
Q13	My instructor encourages me	to develop new viewpoints.)		0.1% 2	36.4%	54.5% 6	11	4.5
Q14	My instructor made the subject	t interesting and motivated me to learn.						ו	0 1	8.2%	27.3%	54.5%	11	4.4
		Responses: [SD]	Strong	gly Disagree	≥=1 [D] D)isagree=2	[N] Neithe	er Agre	e or Disaç	gree=3	[A] Agree	=4 [SA] S	trong	y Agree=
Laka	and Online Learning Outertiene			_		DL - 1082	- 001				Surv	ey Compa	rison	s
Laus	and Online Learning Questions		SD	D	esponse N	es (%)	SA	N	Course Mean		N	All Mean		Pct Rnk
Q15	The section or lab is well integ	e section or lab is well integrated into the course structure. $0 \begin{array}{c} 2 \\ 18.2\% \end{array} = \begin{array}{c} 0 \\ 4 \\ 36.4\% \end{array}$										4.3		36
Q16	The course topics are organize	ed in a coherent fashion.	0	2 18.2%	1 9.1%	4 36.4%	4 36.4%	11	3.9	:	3.7K	4.4		15

nses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1082 301 - Biology for Educators						Depa	artmer	nt: 51	14140			
	Responsible Faculty:	Keriman Livingston				Re	esponse	s / Ex	kpecte	d: 1	2 / 22 (5	4.55%)		
										Keri	iman Livi	ngston		
Cour	se Evaluation Questions								Re	espons	es (%)		Inc	lividual
	1						s	D	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					()	0	4 33.3%	2 16.7%	6 50%	12	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.				()	0	2 16.7%	5 41.7%	5 41.7%	12	4.3
Q3	My instructor gives assignmen	nts that contribute to my understanding of the subject.					C)	0	2 16.7%	3 25%	7 58.3%	12	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.					()	0	2 18.2%	3 27.3%	6 54.5%	11	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.					()	0	4 33.3%	2 16.7%	6 50%	12	4.2
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.					()	0	3 25%	3 25%	6 50%	12	4.3
Q7	My instructor establishes a cli	mate of respect for students.					C)	0	0	4 33.3%	8 66.7%	12	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.					()	0	2 16.7%	3 25%	7 58.3%	12	4.4
Q9	My instructor encourages me	to do my best work.					()	0	1 8.3%	6 50%	5 41.7%	12	4.3
Q10	My instructor provides timely	feedback to guide my progress.					()	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					()	0	0	5 41.7%	7 58.3%	12	4.6
Q12	My instructor encourages me	to connect course topics to a wider understanding of t	he sut	oject.			() 8	1 8.3%	1 8.3%	4 33.3%	6 50%	12	4.3
Q13	My instructor encourages me	to develop new viewpoints.					C) 9	1 0.1%	1 9.1%	4 36.4%	5 45.5%	11	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.					() 8	1 8.3%	1 8.3%	4 33.3%	6 50%	12	4.3
		Responses: [SD]	Strong	ly Disagr	ee=1 [D] C)isagree=2	[N] Neithe	r Agre	e or Disa	agree=3	[A] Agree	=4 [SA] S	trong	y Agree=
					BIC	DL - 1082	- 301				Surv	ey Compa	rison	s
Labs	and Online Learning Questions				Response	es (%)		C	Course			All		
			SD	D	N	A	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	1 8.3%	2 16.7%	4 33.3%	5 41.7%	12	4.1	:	2.7K	4.3		36
Q16	The course topics are organize	ed in a coherent fashion.	0	1 8.3%	3 25%	3 25%	5 41.7%	12	4.0	:	3.7K	4.4		21

esponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course: BIOL - 1132 001 - Environmental Science						Dep	bartm	nent:	514140			
	Responsible Faculty: Kelly Varga					Respons	ses / E	хрес	ted:	16 / 46 (3	84.78%)		
•	Enduction Operations									Kelly V	arga		
Cou	se Evaluation Questions								Resp	onses (%)		Inc	lividual
							SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.						0	0	0	3 18.8%	13 81.3%	16	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material						0	0	0	2 13.3%	13 86.7%	15	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.						0	0	0	3 18.8%	13 81.3%	16	4.8
Q4	My instructor provides material that helps me do well on assignments.						0	0	0	3 18.8%	13 81.3%	16	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.						0	0	0	2 12.5%	14 87.5%	16	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.		0	0	2 12.5%	1 6.3%	13 81.3%	16	4.7				
Q7	My instructor establishes a climate of respect for students.		0	0	0	3 18.8%	13 81.3%	16	4.8				
Q8	My instructor is available to me on matters pertaining to the course.						0	0	0	4 25%	12 75%	16	4.8
Q9	My instructor encourages me to do my best work.						0	0	1 6.3%	3 18.8%	12 75%	16	4.7
Q10	My instructor provides timely feedback to guide my progress.						0	0	2 12.5%	2 12.5%	12 75%	16	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.						0	0	0	2 12.5%	14 87.5%	16	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the su	ubject.					0	0	0	2 12.5%	14 87.5%	16	4.9
Q13	My instructor encourages me to develop new viewpoints.						0	0	0	3 18.8%	13 81.3%	16	4.8
Q14	My instructor made the subject interesting and motivated me to learn.						0	0	0	3 18.8%	13 81.3%	16	4.8
	Responses: [SD] Stror	igly Dis	agre	e=1	D] Disagre	e=2 [N] Nei	ther Ag	ree or l	Disagree=	=3 [A] Agre	e=4 [SA] S	Strong	y Agree=
					BIOL - 1	132 - 001				Surve	ey Compar	risons	
Labs	and Online Learning Questions			Res	ponses (%)	Co	urse			All		
		SD	D	N	Α	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 27.3%	8 72.7%	11	4.7	:	2.7К	4.3		74
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 15.4%	11 84.6%	13	4.8	:	3.7K	4.4		85

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1132 002 - Environmental Science					1	Dep	artmer	nt: 51	4140			
	Responsible Faculty:	Donna Hamilton				Res	oonses	/ E	xpecte	d: 6,	/ 23 (26.0	09%)		
										Donn	a Hamilto	on		
Cour	se Evaluation Questions								Res	ponses	(%)		In	ndividual
							SD		D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0		1 16.7%	0	3 50%	2 33.3%	6	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	erial.				0		0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					0		0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.					0		1 16.7%	0	3 50%	2 33.3%	6	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0		0	0	4 66.7%	2 33.3%	6	4.3
Q6	My instructor evaluates my wo		1 16.7%		0	0	3 50% 3	2 33.3% 3	6	3.8				
Q7	My instructor establishes a cli		0		0	0	50%	50%	6	4.5				
Q8	My instructor is available to m	e on matters pertaining to the course.					0		0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q9	My instructor encourages me	to do my best work.					0		0 1	0 1	4 66.7% 2	2 33.3% 2	6	4.3
Q10	My instructor provides timely f	eedback to guide my progress.					0		16.7%	16.7%	2 33.3% 3	2 33.3% 3	6	3.8
	-	sphere in which ideas can be exchanged freely.					0		0	0	50% 2	50%	6	4.5
		o connect course topics to a wider understanding of th	e subject.				0		0	0	33.3% 3	4 66.7% 3	6	4.7
Q13	My instructor encourages me	o develop new viewpoints.					0		0	0	50%	50% 3	6	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0		1 16.7%	ı 16.7%	16.7%	5 50%	6	4.0
		Responses: [SD] S	Strongly Disa					Agr	ee or Disa	agree=3			-	
Labs	and Online Learning Questions			Respo		- 1132 - 0 ; (%)	02	(Course		Surve	y Compar All	ison	s
			SD	D	N	A	SA	N	Mean		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	2.	7К	4.3		66
Q16	The course topics are organize	d in a coherent fashion.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7	3.	7К	4.4		10

SDJ Strongly Disagree=1 [D] Disagree=2 [N] Netther Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1132 030 - Environmental Science							Depa	artm	ent: 5	14140			
	Responsible Faculty:	Kelly Varga					Respor	ises	/ Ex	pec	ted: 6	/ 32 (18	8.75%)		
_												Kelly V	arga		
Cour	se Evaluation Questions										Respon	ises (%)		In	dividual
									SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	4 66.7%	2 33.3%	6	4.3
Q7	My instructor establishes a cli	mate of respect for students.							0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me	o do my best work.							0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	1 16.7%	0	5 83.3%	6	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subje	ct.						0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me	o develop new viewpoints.							0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 16.7%	5 83.3%	6	4.8
		Responses: [SD] Strongly	Disagree	=1 [D]	Dis	sagre	e=2 [N] N	either	Agre	eor)isagree=3	[A] Agre	e=4 [SA] S	Strong	Ily Agree=
Labo	and Online Learning Questions		_	D			- 1132 - 03					Surve	y Compari	sons	
Laus			SD	Resp D	ons N	A	(%) SA	N	Cours Me	ean	N		All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	5 100%	5	5	.0	2.7	ĸ	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	5 100%	5	5	.0	3.7	ĸ	4.4		94

D strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1132 301 - Environmental Science						D	epartme	ent:	5141	40			
	Responsible Faculty:	Ashleigh Tynes					Respo	nses ,	Expect	ed:	10/	23 (43	.48%)		
_											4	Ashleigh	Tynes		
Cour	se Evaluation Questions									F	Respons	ses (%)		Inc	lividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	3 30%	7 70%	10	4.7
Q2	My instructor provides facts, e	examples, and references that helped me learn the mater	ial.						0	0	0	3 30%	7 70%	10	4.7
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	0	2 20%	8 80%	10	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	3 30%	7 70%	10	4.7
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	3 30%	7 70%	10	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	5 50%	5 50%	10	4.5
Q7	My instructor establishes a climate of respect for students.										0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.										1 10%	3 30%	6 60%	10	4.5
Q9	My instructor encourages me	to do my best work.							0	0	1 10%	3 30%	6 60%	10	4.5
Q10	My instructor provides timely	feedback to guide my progress.							0	0	1 10%	3 30%	6 60%	10	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subject.						0	0	0	2 20%	8 80%	10	4.8
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	3 30%	7 70%	10	4.7
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	0	3 30%	7 70%	10	4.7
	·	Responses: [SD] Str	rongly Disagr	ree=1	[D]	Disagree	=2 [N] N	leither A	Agree or Di	sagro	ee=3 [A]	Agree=	4 [SA] 8	Strong	y Agree=5
						BIOL - 1	132 - 30)1			;	Survey (isons	
Labs	and Online Learning Questions	3		Re	spo	nses (%)		C	ourse				All		
			SD	D	N	A	SA	N	Mean		Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	1 10%	9 90%	10	4.9		2.7K		4.3		83
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 10%	9 90%	10	4.9		3.7K		4.4		87
		Responses: [SD] Str	rongly Disagr	ree=1	[D]										y Agree=5 ise Mean

	Course:	BIOL - 1132 302 - Environmental Science						De	partm	ent	t: {	514140			
	Responsible Faculty:	Ashleigh Tynes					Respons	es /	Expec	ted	l:	6 / 23 (2	6.09%)		
Cour	se Evaluation Questions											Ashlei	gh Tynes		
Cour	se Evaluation Questions										1	ponses (%		-	dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	16.7%	83.3%	6	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q7	My instructor establishes a climate of respect for students.										0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me	to do my best work.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely	eedback to guide my progress.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the si	ubject.						0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	2 33.3%	4 66.7%	6	4.7
		Responses: [SD] Stror	ngly Disa	gree	=1 [) Disagree	=2 [N] Neit	her Aç	gree or D)isag	gree=	3 [A] Agre	e=4 [SA] \$	Strong	gly Agree=5
							132 - 302					Surv	ey Compai	risons	;
Labs	and Online Learning Questions				Resp	onses (%)	С	ourse				All		Det
			SD	D	N	Α	SA	N	Mean	1		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8		2	.7K	4.3		81
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8		3	.7К	4.4		85

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course: BIOL - 1132 303 - Environmental Science						De	Department: 514140									
	Responsible Faculty:	Ashleigh Tynes						Respons	es /	Expected	: 7	/ 23 (30	.43%)			
												Ashleigh	Tynes			
Course Evaluation Questions								Re	spon	ises (%)			Individual			
									SI	D D	Ν	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.							0	0	0	2 28.6%	5 71.4%	7	4.7		
Q2 My instructor provides facts, examples, and references that helped me learn the material.								0	0	0	2 28.6%	5 71.4%	7	4.7		
Q3 My instructor gives assignments that contribute to my understanding of the subject.							0	0	0	2 28.6%	5 71.4%	7	4.7			
Q4 My instructor provides material that helps me do well on assignments.							0	0	0	2 28.6%	5 71.4%	7	4.7			
Q5	15 My instructor explains new ideas by relating them to familiar concepts.							0	0	0	2 28.6%	5 71.4%	7	4.7		
Q6	Q6 My instructor evaluates my work in ways that are helpful to my ability to learn.							0	0	0	2 28.6%	5 71.4%	7	4.7		
Q7	7 My instructor establishes a climate of respect for students.								0	0	0	2 28.6%	5 71.4%	7	4.7	
Q8	My instructor is available to me on matters pertaining to the course.								0	0	0	2 28.6%	5 71.4%	7	4.7	
Q9	My instructor encourages me to do my best work.								0	0	0	3 42.9%	4 57.1%	7	4.6	
Q10	0 My instructor provides timely feedback to guide my progress.								0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	
Q11	Q11 My instructor creates an atmosphere in which ideas can be exchanged freely.								0	0	0	3 42.9%	4 57.1%	7	4.6	
Q12	12 My instructor encourages me to connect course topics to a wider understanding of the subject.								0	0	0	2 28.6%	5 71.4%	7	4.7	
Q13	13 My instructor encourages me to develop new viewpoints.							0	0	0	2 28.6%	5 71.4%	7	4.7		
Q14 My instructor made the subject interesting and motivated me to learn.							0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3			
		Responses: [SD] St	rongly Dis	sagr	ree=1	[D]	Disagree	=2 [N] Neit	ther Ag	ree or Disag	ree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=	
BIC					BIOL - 11	32 - 303	1		Survey Comparisons							
Labs and Online Learning Questions				Responses (%)					C	ourse	All					
			SD	0	D N		A	SA	N	Mean	١	4	Mean		Pct Rnk	
Q15	The section or lab is well integ	rated into the course structure.	0	0	0 0	:	2 28.6%	5 71.4%	7	4.7	2.	7К	4.3		73	
Q16	The course topics are organize	d in a coherent fashion.	0	0	0 0		3 42.9%	4 57.1%	7	4.6	3.	7К	4.4		62	

Course: BIOL - 1132 330 - Environmental Science							Dep	artment	t: 514	: 514140					
Responsible Faculty: Kelly Varga Responsible						onses	/ E	xpected	l: 6/	6 / 32 (18.75%)					
						Kelly Varga									
Course Evaluation Questions								Resp	oonses	(%)	In	dividual			
						SD		D	Ν	Α	SA	Ν	Mean		
Q1	My instructor explains difficult material clearly.							1 16.7%	2 33.3%	2 33.3%	1 16.7%	6	3.5		
Q2	My instructor provides facts, examples, and references that helped me learn the material.							0	1 16.7%	4 66.7%	1 16.7%	6	4.0		
Q3	My instructor gives assignments that contribute to my understanding of the subject.							0	2 33.3%	1 16.7%	3 50%	6	4.2		
Q4	My instructor provides material that helps me do well on assignments.							0	0	4 66.7%	1 16.7%	6	3.7		
Q5	My instructor explains new ideas by relating them to familiar concepts.						3	2 33.3%	2 33.3%	1 16.7%	1 16.7%	6	3.2		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.							0	1 16.7%	3 50%	1 16.7%	6	3.5		
Q7	My instructor establishes a climate of respect for students.							0	3 50%	0	3 50%	6	4.0		
Q8	My instructor is available to me on matters pertaining to the course.							0	0	2 33.3%	3 50%	6	4.0		
Q9	My instructor encourages me to do my best work.							0	2 33.3%	2 33.3%	1 16.7%	6	3.3		
Q10	My instructor provides timely feedback to guide my progress.							1 16.7%	1 16.7%	3 50%	1 16.7%	6	3.7		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.							1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.							0	3 50%	2 33.3%	1 16.7%	6	3.7		
Q13	My instructor encourages me to develop new viewpoints.							0	4 66.7%	1 16.7%	1 16.7%	6	3.5		
Q14	My instructor made the subject interesting and motivated me to learn.							2 33.3%	1 16.7%	0	3 50%	6	3.7		
Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5															
BIOL - 1132 - 330						30			Survey Comparisons						
Labs and Online Learning Questions			Responses (%)					Course		All					
	SD D N A						N	Mean	N Me		Mean	n Po Rn			
Q15	The section or lab is well integrated into the course structure.	0	2 33.3%	1 16.7%	0	3 50%	6	3.7	2.3	7К	4.3		18		
Q16	The course topics are organized in a coherent fashion.	1 16.7%	1 16.7%	1 16.7%			6	3.5	3.3	7К	4.4		8		

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1710 012 - Biology for Science Majors	1				D	epa	rtmen	nt: 51	4140			
	Responsible Faculty:	Kelly Varga				Res	ponses	/ Ex	pecte	d: 17	7 / 39 (43	3.59%)		
										к	elly Varg	a		
Cour	se Evaluation Questions								Re	sponse	s (%)		Ind	lividual
							SD		D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					0		1 .9%	2 11.8%	6 35.3%	8 47.1%	17	4.2
Q2	My instructor provides facts, e	examples, and references that helped me learn the n	aterial.				0		0	0	7 41.2%	10 58.8%	17	4.6
Q3	My instructor gives assignme	nts that contribute to my understanding of the subje	ct.				0		0	0	9 52.9%	8 47.1%	17	4.5
Q4	My instructor provides materi	al that helps me do well on assignments.					0		0	3 17.6%	6 35.3%	8 47.1%	17	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0		0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.					1 5.9%	5	0	3 17.6%	6 35.3%	7 41.2%	17	4.1
Q7	My instructor establishes a cl	imate of respect for students.					0		0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.					0		0	0	7 41.2%	10 58.8%	17	4.6
Q9	My instructor encourages me	to do my best work.					0		1 .9%	0	3 17.6%	13 76.5%	17	4.6
Q10	My instructor provides timely	feedback to guide my progress.					0		0	3 17.6%	6 35.3%	8 47.1%	17	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0		0	1 5.9%	4 23.5%	12 70.6%	17	4.6
Q12	My instructor encourages me	to connect course topics to a wider understanding c	f the sub	oject.			0		0	3 17.6%	7 41.2%	7 41.2%	17	4.2
Q13	My instructor encourages me	to develop new viewpoints.					0		0	3 17.6%	7 41.2%	7 41.2%	17	4.2
Q14	My instructor made the subject	ct interesting and motivated me to learn.					0		0	2 11.8%	4 23.5%	11 64.7%	17	4.5
		Responses: [S	D] Strong	ly Disagree	e=1 [D] Dis	sagree=2 [N	Neither	Agree	or Disa	agree=3	[A] Agree	=4 [SA] St	trongly	/ Agree=5
						- 1710 - 0	12				Surve	ey Compa	rison	s
Labs	and Online Learning Question			R	esponses	(%)		С	ourse			All		Det
			SD	D	N	A	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	1 7.7%	1 7.7%	2 15.4%	4 30.8%	5 38.5%	13	3.8	2	2.7K	4.3		21
Q16	The course topics are organiz	ed in a coherent fashion.	0	2 14.3%	0	6 42.9%	6 42.9%	14	4.1	3	3.7K	4.4		30

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1710 013 - Biology for Science Majors I						De	partmer	nt: 51	4140			
	Responsible Faculty:	Donna Hamilton				R	espon	ses / l	Expecte	<mark>d:</mark> 12	2 / 41 (29	9.27%)		
										Dor	ına Hamil	lton		
Cour	rse Evaluation Questions								Re	sponse	s (%)		Ind	lividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	0	1 8.3%	9 75%	2 16.7%	12	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					1 8.3%	0	0	8 66.7%	3 25%	12	4.0
QЗ	My instructor gives assignmer	ts that contribute to my understanding of the subject.						1 8.3%	0	1 8.3%	6 50%	4 33.3%	12	4.0
Q4	My instructor provides materia	l that helps me do well on assignments.						1 8.3%	0	0	7 58.3%	4 33.3%	12	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.						1 8.3%	0	0	7 58.3%	4 33.3%	12	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						1 8.3%	0	1 8.3%	6 50%	4 33.3%	12	4.0
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	5 41.7%	7 58.3%	12	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.						0	1 8.3%	0	5 41.7%	6 50%	12	4.3
Q9	My instructor encourages me	o do my best work.						0	1 8.3%	0	7 58.3%	4 33.3%	12	4.2
Q10	My instructor provides timely f	eedback to guide my progress.						0	2 16.7%	0	7 58.3%	3 25%	12	3.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	6 50%	6 50%	12	4.5
Q12	My instructor encourages me	o connect course topics to a wider understanding of the	subje	ct.				1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q13	My instructor encourages me	o develop new viewpoints.						1 8.3%	0	1 8.3%	6 50%	4 33.3%	12	4.0
Q14	My instructor made the subject	t interesting and motivated me to learn.						1 8.3%	0	0	7 58.3%	4 33.3%	12	4.1
		Responses: [SD] St	rongly	Disag	gree=1 [D]	Disagree=2	2 [N] Ne	ither Ag	ree or Disa	agree=3	[A] Agree	=4 [SA] Si	trongly	Agree=
						IOL - 1710	0 - 013				Surve	y Compar	isons	
Labs	s and Online Learning Questions		SD	D	Respor	nses (%) A	SA	N	Course Mean		N	All Mean		Pct
015	The eastion or lob is well inter-	rated into the equiper structure			1	А 6	2 2	_		-				Rnk
	The section or lab is well integ		0	0	11.1%	66.7% 7	22.29		4.1	-	7K	4.3		37
Q16	The course topics are organize	d in a coherent fashion.	0	0	11.1%	, 77.8%	11.19	× 9	4.0	3.	7K	4.4		21

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1710 014 - Biology for Science Majors I						D	epartme	ent: 51	4140			
	Responsible Faculty:	Kelly Varga				Res	spon	ses /	Expect	ed: 3,	/ 21 (14.)	29%)		
										Ke	lly Varga			
Cour	se Evaluation Questions								Re	sponses	(%)		In	dividual
							:	SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.					33	1 3.3%	0	1 33.3%	0	1 33.3%	3	3.0
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.					33	1 3.3%	0	1 33.3%	0	1 33.3%	3	3.0
Q4	My instructor provides materi	al that helps me do well on assignments.					33	1 3.3%	1 33.3%	0	0	1 33.3%	3	2.7
Q5	My instructor explains new ide	eas by relating them to familiar concepts.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.					66	2 5.7%	0	0	1 33.3%	0	3	2.0
Q7	My instructor establishes a cl	imate of respect for students.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
Q8	My instructor is available to m	e on matters pertaining to the course.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
Q9	My instructor encourages me	to do my best work.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
Q10	My instructor provides timely	feedback to guide my progress.					66	2 5.7%	0	1 33.3%	0	0	3	1.7
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subj	ect.				66	2 5.7%	0	0	1 33.3%	0	3	2.0
Q13	My instructor encourages me	to develop new viewpoints.					66	2 5.7%	0	0	1 33.3%	0	3	2.0
Q14	My instructor made the subject	ot interesting and motivated me to learn.					66	2 5.7%	0	0	0	1 33.3%	3	2.3
		Responses: [SD] Strongly	/ Disagree=1	[D] Dis	agree	=2 [I	N] Ne	ither A	gree or Di	sagree=3	[A] Agree	=4 [SA] St	rongl	y Agree=5
				BIC)L - 1	710	- 014			-	Survey	Comparis	ons	
Labs	and Online Learning Question	3	Re	spons	es (%)		C	ourse			All		
	Γ		SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	1 100%	0	0	0	0	1	1.0	2.7		4.3		7
Q16	The course topics are organiz	ed in a coherent fashion.	1 50%	1 50%	0	0	0	2	1.5	3.7		4.4		2
		Responses: [SD] Strong	/ Disagree=1	[D] Dis					igree or Dis					

[SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course: BIOL - 1710 015 - Biology for Science Majors I						D	epartme	nt: 51	4140			
	Responsible Faculty: Jerrod Tynes					Respor	ises ,	/ Expecte	ed: 9	/ 25 (36%	6)		
_									Jer	rod Tynes	6		
Cour	se Evaluation Questions							Re	sponses	(%)		In	dividual
							SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.						0	1 11.1%	2 22.2%	4 44.4%	2 22.2%	9	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.						0	0	0	5 55.6%	4 44.4%	9	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.						0	0	2 22.2%	4 44.4%	3 33.3%	9	4.1
Q4	My instructor provides material that helps me do well on assignments.					1	1 1.1%	0	1 11.1%	4 44.4%	3 33.3%	9	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.						0	1 11.1%	2 22.2%	2 22.2%	4 44.4%	9	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.						0	1 11.1%	4 44.4%	1 11.1%	3 33.3%	9	3.7
Q7	My instructor establishes a climate of respect for students.						0	1 11.1%	2 22.2%	2 22.2%	4 44.4%	9	4.0
Q8	My instructor is available to me on matters pertaining to the course.						0	0	4 44.4%	2 22.2%	3 33.3%	9	3.9
Q9	My instructor encourages me to do my best work.						0	1 11.1%	3 33.3%	33.3%	2 22.2%	9	3.7
Q10	My instructor provides timely feedback to guide my progress.						0	1 11.1%	4 44.4% 2	1 11.1% 4	3 33.3% 2	9	3.7
	My instructor creates an atmosphere in which ideas can be exchanged freely.						0	11.1%	22.2% 3	44.4%	22.2% 22	9	3.8
	My instructor encourages me to connect course topics to a wider understanding of the subje	ct.					0	0	33.3% 3	4 44.4% 3	22.2% 2	9	3.9
	My instructor encourages me to develop new viewpoints.						0	11.1%	33.3% 3	33.3% 3	22.2%	9	3.7
Q14	My instructor made the subject interesting and motivated me to learn.					1	1 1.1%	0	3 33.3%	3 33.3%	2 22.2%	9	3.6
	Responses: [SD] Strongly	Disagre	e=1		-			Agree or Dis				-	
Labs	and Online Learning Questions		Re		BIOL - 1 nses (%)	710 - 01)	1	ourse	-	Survey	Comparis All	ons	
		SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	2.7K		4.3		50
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 50%	4 50%	8	4.5	3.7K		4.4		55

Strongly Disagree=1 [D] Disagree=2 [N] Nether Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course: BIOL - 1730 012 - Biology for Science Majors I	Labora	tory			D	epartm	ent:	514140			
	Responsible Faculty: Jerrod Tynes				Res	ponses	/ Expec	ted:	14 / 24 (5	8.33%)		
0	- Furbrain Annation								Jerrod Tyn	es		
Cour	se Evaluation Questions						F	lespon	ses (%)		Inc	lividual
						SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.					1 7.1%	1 7.1%	5 35.7		5 35.7%	14	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the ma	aterial.				1 7.1%	1 7.1%	4 28.6		5 35.7%	14	3.7
Q3	My instructor gives assignments that contribute to my understanding of the subjec	t.				0	1 7.1%	3 21.4		6 42.9%	14	4.1
Q4	My instructor provides material that helps me do well on assignments.					1 7.1%	1 7.1%	0	6 42.9%	6 42.9%	14	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.					1 7.1%	2 14.3%	2 14.3		4 28.6%	14	3.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.					0	1 7.1%	3 21.4		4 28.6%	14	3.9
Q7	My instructor establishes a climate of respect for students.					0	0	2 14.3		5 35.7%	14	4.2
Q8	My instructor is available to me on matters pertaining to the course.					0	0	1 7.1		5 35.7%	14	4.3
Q9	My instructor encourages me to do my best work.					1 7.1%	1 7.1%	4 28.6		5 35.7%	14	3.7
Q10	My instructor provides timely feedback to guide my progress.					1 7.1%	0	3 21.4		4 28.6%	14	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.					0	0	3 21.4		5 35.7%	14	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of	the subje	ect.			1 7.1%	1 7.1%	3 21.4		5 35.7%	14	3.8
Q13	My instructor encourages me to develop new viewpoints.					1 7.1%	1 7.1%	4 28.6		4 28.6%	14	3.6
Q14	My instructor made the subject interesting and motivated me to learn.					1 7.1%	2 14.3%	2 14.3		6 42.9%	14	3.8
	Responses: [SD] Strongly	Disagree=	1 [D] D	isagree=2 [N] Neither	Agree or D	isagree	=3 [A] Agree	=4 [SA] S	trongly	/ Agree=5
				BIO	L - 1730 - 0	12			Surv	rey Compa	rison	3
Labs	and Online Learning Questions		Re	sponse	es (%)		Cours	e		All		
		SD	D	Ν	A	SA	N M	ean	N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 7.1%	1 7.1%	1 7.1%	4 28.6%	7 50%	14 4	.1	2.7K	4.3		36
Q16	The course topics are organized in a coherent fashion.	1 7.1%	1 7.1%	1 7.1%	5 35.7%	6 42.9%	14 4	.0	3.7K	4.4		21

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1730 013 - Biology for Science Majors I Labora	tory					Dep	bartn	nent: 5	514140			
	Responsible Faculty:	Jerrod Tynes					Respor	ises / E	xpe	cted:	8 / 24 (33	3.33%)		
-											Jerrod 1	Fynes		
Course	e Evaluation Questions									Respo	nses (%)		In	dividual
								SE	D	N	Α	SA	N	Mean
Q1 N	My instructor explains difficul	material clearly.						0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q2 N	My instructor provides facts, e	xamples, and references that helped me learn the material.						0	0	2 25%	4 50%	2 25%	8	4.0
Q3 N	My instructor gives assignme	ts that contribute to my understanding of the subject.						0	0	0	4 50%	4 50%	8	4.5
Q4 N	My instructor provides materia	I that helps me do well on assignments.						0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q5 N	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q6 N	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	6 75%	2 25%	8	4.3
Q7 N	My instructor establishes a cli	mate of respect for students.						0	0	0	5 62.5%	3 37.5%	8	4.4
Q8 N	My instructor is available to m	e on matters pertaining to the course.						0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q9 N	My instructor encourages me	to do my best work.						0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q10 N	My instructor provides timely	eedback to guide my progress.						0	0	0	3 37.5%	5 62.5%	8	4.6
Q11 N	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	4 50%	4 50%	8	4.5
Q12 N	Ay instructor encourages me	to connect course topics to a wider understanding of the subj	ect.					0	0	0	4 50%	4 50%	8	4.5
Q13 N	My instructor encourages me	to develop new viewpoints.						0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q14 N	My instructor made the subject	t interesting and motivated me to learn.						0	0	1 12.5%	4 50%	3 37.5%	8	4.3
		Responses: [SD] Strong	Disagre	ee=1	[[) Disagree	=2 [N] Ne	either Ag	ree or l	Disagree=	3 [A] Agre	e=4 [SA] \$	Strong	gly Agree=
						BIOL - 1	730 - 01	3			Surve	y Compari	isons	
Labs a	and Online Learning Questions			Re	es	ponses (%))	Cou	rse			All		
			SD	D		N A	SA	N	/lean	1	N	Mean		Pct Rnk
Q15 T	The section or lab is well integ	rated into the course structure.	0	0		0 4 50%	4 50%	8	4.5	2.	7К	4.3		59
Q16 T	The course topics are organize	d in a coherent fashion.	0	0		0 4 50%	4 50%	8	4.5	3.	7К	4.4		55

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1730 014 - Biology for Science Majors I Labora	tory					D	epartme	nt: 51	4140			
	Responsible Faculty:	Jerrod Tynes					Respo	nses /	Expect	ed: 3	/ 24 (12.	50%)		
										Jer	rod Tynes	;		
Cour	se Evaluation Questions								Re	sponses	(%)		In	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.						0	0	2 66.7%	1 33.3%	0	3	3.3
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	0	2 66.7%	0	1 33.3%	3	3.7
Q4	My instructor provides materi	al that helps me do well on assignments.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q5	My instructor explains new ide	eas by relating them to familiar concepts.						0	1 33.3%	2 66.7%	0	0	3	2.7
Q6	My instructor evaluates my w	ork in ways that are helpful to my ability to learn.						0	1 33.3%	2 66.7%	0	0	3	2.7
Q7	My instructor establishes a cl	imate of respect for students.						0	0	2 66.7%	0	1 33.3%	3	3.7
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	2 66.7%	0	1 33.3%	3	3.7
Q9	My instructor encourages me	to do my best work.					:	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q10	My instructor provides timely	feedback to guide my progress.						0	1 33.3% 1	1 33.3% 1	0	1 33.3%	3	3.3
	-	sphere in which ideas can be exchanged freely.						0	33.3%	33.3%	33.3%	0	3	3.0
		to connect course topics to a wider understanding of the sub	ect.					0	33.3%	66.7% 2	0	0	3	2.7
	My instructor encourages me	· · ·						0	33.3%	66.7%	0	0	3	2.7
Q14	My instructor made the subje	t interesting and motivated me to learn.					;	33.3%	0	33.3%	33.3%	0	3	2.7
		Responses: [SD] Strong	/ Disagre	ee=1		-			Agree or Dis	-				
Labs	and Online Learning Question			Re	BIO sponse		730 - 0 [.])	1	ourse	-	Survey	Comparis All	ons	
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	2.7K		4.3		30
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	3.7K		4.4		21

Strongly Disagree=1 [D] Disagree=2 [N] Meture Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=3 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1730 015 - Biology for Science Majors I Lab	orato	ry				D	epartme	ent: 51	4140			
	Responsible Faculty:	Ashleigh Tynes				F	Respons	ses /	Expect	ed: 6	/ 17 (35.	29%)		
										As	hleigh Ty	nes		
Cour	se Evaluation Questions								F	Response	es (%)		In	dividual
							:	SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficul	material clearly.						0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	ıl.					0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q3	My instructor gives assignmen	its that contribute to my understanding of the subject.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q6	My instructor evaluates my wo			0	1 16.7%	0	3 50%	2 33.3%	6	4.0				
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q9	My instructor encourages me	to do my best work.						0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q10	My instructor provides timely	eedback to guide my progress.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	1 16.7%	2 33.3%	0	3 50%	6	3.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject	t.				0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q13	My instructor encourages me	to develop new viewpoints.						0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
		Responses: [SD] Stro	ngly Di	sagre	e=1 [D] Disagree=	2 [N] Neit	ther A	.gree or Di	sagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5
						BIOL - 173	0 - 015	_			Surve	y Compari	isons	s
Labs	and Online Learning Questions				Respo	onses (%)			Course			All		
			SD	D	Ν	A	SA	N	Mean	I N	4	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	2.7	7К	4.3		50
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	3.7	7К	4.4		40

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 1730 019 - Biology for Science Majors I I	abo	ratory			C	epa	rtment	: 51	4140			
	Responsible Faculty:	Keriman Livingston				Res	ponses	/ Exp	pected	: 9	/ 23 (39.	.13%)		
										Kerin	nan Livin	gston		
Cour	se Evaluation Questions								Res	ponse	es (%)	-	In	dividual
							SD	D		Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0	1 11.1		1 1.1%	4 44.4%	3 33.3%	9	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.				0	0	1	1 1.1%	4 44.4%	4 44.4%	9	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					0	0	1	1 1.1%	3 33.3%	5 55.6%	9	4.4
Q4	My instructor provides materia	l that helps me do well on assignments.					0	0	1	1 1.1%	3 33.3%	5 55.6%	9	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	2 22.1		0	2 22.2%	5 55.6%	9	4.1
Q6	My instructor evaluates my wo		0	2 22.:		0	3 33.3%	4 44.4%	9	4.0				
Q7	My instructor establishes a cli				0	1 11.1		1 1.1%	2 22.2%	5 55.6%	9	4.2		
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	1	1 1.1%	4 44.4%	4 44.4%	9	4.3
Q9	My instructor encourages me t	o do my best work.					0	0	1	1 1.1%	3 33.3%	5 55.6%	9	4.4
Q10	My instructor provides timely f	eedback to guide my progress.					0	2 22.3		2 2.2%	2 22.2%	3 33.3%	9	3.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0		0	5 55.6%	4 44.4%	9	4.4
Q12	My instructor encourages me t	o connect course topics to a wider understanding of t	ne su	bject.			0	0		0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor encourages me t	o develop new viewpoints.					0	1 11.1	1% 1	1 1.1%	3 33.3%	4 44.4%	9	4.1
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0	1 11.1		1 1.1%	2 22.2%	5 55.6%	9	4.2
		Responses: [SD]	Strong	gly Disagre	e=1 [D] Dis	sagree=2 [N] Neither	Agree	or Disag	jree=3	[A] Agree	=4 [SA] SI	trong	ly Agree=
					BIOL	1730 - 0	19	1			Surve	ey Compa	rison	ıs
Labs	and Online Learning Questions				Response	s (%)		C	ourse			All		
	1		SD	D	N	A	SA	N	Mean		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	1 11.1%	1 11.1%	5 55.6%	2 22.2%	9	3.9	2	2.7K	4.3		22
Q16	The course topics are organize	d in a coherent fashion.	0	2 22.2%	1 11.1%	4 44.4%	2 22.2%	9	3.7	з	3.7K	4.4		10

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 2041 030 - Microbiology					0)epart	nent:	514140			
	Responsible Faculty:	Aubrey Frantz				Res	ponses	/ Expe	cted:	19 / 23 (8	82.61%)		
										Aubrey Fra	antz		
Cour	se Evaluation Questions								Respo	nses (%)		Inc	dividual
							SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0	1 5.3%	1 5.39	6 6 31.6%	11 57.9%	19	4.4
Q2	My instructor provides facts, e	xamples, and references that helped me learn the	material.				0	1 5.3%	1 5.3%	5 6 26.3%	12 63.2%	19	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subj	ect.				0	1 5.3%	1 5.3%	6 6 31.6%	11 57.9%	19	4.4
Q4	My instructor provides materia	l that helps me do well on assignments.					0	1 5.3%	1 5.3%	6 6 31.6%	11 57.9%	19	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	1 5.6%	1 5.6%	6 6 33.3%	10 55.6%	18	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.		0	0	3 15.8	8 % 42.1%	8 42.1%	19	4.3			
Q7	My instructor establishes a cli		0	0	1 5.3%	4 6 21.1%	14 73.7%	19	4.7				
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	2 10.5	6 % 31.6%	11 57.9%	19	4.5
Q9	My instructor encourages met	o do my best work.					0	0	1 5.3%	7 6 36.8%	11 57.9%	19	4.5
Q10	My instructor provides timely f	eedback to guide my progress.					0	1 5.3%	2 10.5	6 % 31.6%	10 52.6%	19	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0	1 5.3%	8 42.1%	10 52.6%	19	4.5
Q12	My instructor encourages met	o connect course topics to a wider understanding	of the subj	ect.			0	1 5.3%	1 5.3%	7 6 36.8%	10 52.6%	19	4.4
Q13	My instructor encourages me	o develop new viewpoints.					0	0	2 10.5	8 % 42.1%	9 47.4%	19	4.4
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0	1 5.3%	1 5.3%	7 6 36.8%	10 52.6%	19	4.4
		Responses: [SD] Strongly	Disagree	=1 [D] Dis	sagree=2 [N	Neither	Agreeo	Disagree	=3 [A] Agree	e=4 [SA] S	trong	y Agree=
					BIOL	- 2041 - 0	30			Sur	vey Compa	rison	s
Labs	and Online Learning Questions			R	esponses	(%)		Cou	rse	1	All	_	
			SD	D	N	A	SA	N	Mean	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 7.1%	1 7.1%	2 14.3%	6 42.9%	4 28.6%	14	3.8	2.7K	4.3		20
Q16	The course topics are organize	d in a coherent fashion.	2 13.3%	0	2 13.3%	6 40%	5 33.3%	15	3.8	3.7K	4.4		13

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course: BIOL - 204	2 001 - Microbiology Laborate	ory				D	epartme	ent: 51	4140			
	Responsible Faculty: Preethi Ch	andrasekaran				Resp	onses	/ Expect	ed: 14	4 / 20 (70)%)		
									Preethi (Chandrase	karan		
Cour	se Evaluation Questions							Re	esponses	; (%)		Ind	lividual
							SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult material cle	arly.					6 42.9%	2 14.3%	2 14.3%	4 28.6%	0	14	2.3
Q2	My instructor provides facts, examples, and	I references that helped me learr	n the material.				5 35.7%	3 21.4%	3 21.4%	3 21.4%	0	14	2.3
Q3	My instructor gives assignments that contr	ibute to my understanding of the	e subject.				4 28.6%	2 14.3%	5 35.7%	2 14.3%	1 7.1%	14	2.6
Q4	My instructor provides material that helps i	ne do well on assignments.					5 35.7%	2 14.3%	5 35.7%	1 7.1%	1 7.1%	14	2.4
Q5	My instructor explains new ideas by relating	g them to familiar concepts.					6 42.9%	3 21.4%	1 7.1%	4 28.6%	0	14	2.2
Q6	My instructor evaluates my work in ways th	at are helpful to my ability to lea	rn.				6 42.9%	2 14.3%	2 14.3%	3 21.4%	1 7.1%	14	2.4
Q7	My instructor establishes a climate of resp	ect for students.					3 21.4%	1 7.1%	3 21.4%	5 35.7%	2 14.3%	14	3.1
Q8	My instructor is available to me on matters	pertaining to the course.					5 35.7%	1 7.1%	6 42.9%	2 14.3%	0	14	2.4
Q9	My instructor encourages me to do my bes	t work.					5 35.7%	1 7.1%	5 35.7%	2 14.3%	1 7.1%	14	2.5
Q10	My instructor provides timely feedback to g	uide my progress.					5 35.7%	2 14.3%	4 28.6%	2 14.3%	1 7.1%	14	2.4
Q11	My instructor creates an atmosphere in wh	ich ideas can be exchanged freel	ly.				3 21.4%	1 7.1%	5 35.7%	5 35.7%	0	14	2.9
Q12	My instructor encourages me to connect co	ourse topics to a wider understar	nding of the subj	ect.			5 35.7%	1 7.1%	4 28.6%	4 28.6%	0	14	2.5
Q13	My instructor encourages me to develop ne	w viewpoints.					5 35.7%	2 14.3%	4 28.6%	2 14.3%	1 7.1%	14	2.4
Q14	My instructor made the subject interesting	and motivated me to learn.					5 35.7%	2 14.3%	4 28.6%	2 14.3%	1 7.1%	14	2.4
		Respons	ses: [SD] Strongly	/ Disagree=	1 [D] Disa	igree=2 [N	Neither A	Agree or Di	sagree=3	[A] Agree=	4 [SA] St	rongly	Agree=5
					BIOL -	2042 - 00	1			Surve	ey Compa	risons	s
Labs	and Online Learning Questions			Res	ponses (%)		Cours	e		All		
			SD	D	N	A	SA	N Me	ean	N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the	e course structure.	3 21.4%	2 14.3%	2 14.3%	6 42.9%	1 7.1%	14 3	.0	2.7К	4.3		10
Q16	The course topics are organized in a cohere	ent fashion.	4 28.6%	1 7.1%	3 21.4%	5 35.7%	1 7.1%	14 2	.9	3.7К	4.4		4

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 2301 030 - Human Anatomy and Physic	logy I				D	epartme	ent: 51	4140			
	Responsible Faculty:	Mohammadmehdi Eslamieh				Res	ponses /	Expect	ed: 8	/ 22 (36.	36%)		
								м	ohamma	admehdi E	slamieh		
Cour	se Evaluation Questions							Re	esponses	s (%)		In	dividual
							SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					1 12.5%	1 12.5%	1 12.5%	2 25%	3 37.5%	8	3.6
Q2	My instructor provides facts, e	examples, and references that helped me learn the ma	aterial.				1 12.5%	1 12.5%	1 12.5%	2 25%	3 37.5%	8	3.6
Q3	My instructor gives assignment	nts that contribute to my understanding of the subjec	t.				0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q4	My instructor provides materia	al that helps me do well on assignments.					0	1 12.5%	2 25%	3 37.5%	2 25%	8	3.8
Q5	My instructor explains new ide	eas by relating them to familiar concepts.					1 12.5%	1 12.5%	1 12.5%	2 25%	3 37.5%	8	3.6
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.					1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9
Q7	My instructor establishes a cl	imate of respect for students.					0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q9	My instructor encourages me	to do my best work.					0	1 12.5%	2 25%	1 12.5%	4 50%	8	4.0
Q10	My instructor provides timely	feedback to guide my progress.					0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.					0	0	2 25%	2 25%	4 50%	8	4.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of	the subje	ct.			1 12.5%	1 12.5%	1 12.5%	1 12.5%	4 50%	8	3.8
Q13	My instructor encourages me	to develop new viewpoints.					1 12.5%	1 12.5%	1 12.5%	2 25%	3 37.5%	8	3.6
Q14	My instructor made the subject	ct interesting and motivated me to learn.					2 25%	0	1 12.5%	1 12.5%	4 50%	8	3.6
		Responses: [SD] Strongly	Disagree=1	[D] Disag	ree=2 [N] Neither A	gree or Di	sagree=3	[A] Agree	=4 [SA] St	rongl	y Agree=5
l ak-				_		2301 - 0	30			Surve	ey Compai	rison	s
Labs	and Online Learning Questions	5			ponses ('	i I		Cours			All		Pct
			SD	D	N	A	SA	N Me	an	N	Mean		Rnk
Q15	The section or lab is well integ	grated into the course structure.	1 12.5%	1 12.5%	1 12.5%	2 25%	3 37.5%	8 3.	6	2.7K	4.3		16
Q16	The course topics are organize	ed in a coherent fashion.	1 12.5%	0	2 25%	2 25%	3 37.5%	8 3.	8	3.7K	4.4		11

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 2301 031 - Human Anatomy and Physiology I						D	epartn	nen	t: ł	514140			
	Responsible Faculty:	Mohammadmehdi Eslamieh					Respons	ses ,	Expe	ctec	l:	6 / 23 (2	6.09%)		
_											Мо	hammadı	nehdi Esla	amiel	ı
Cour	se Evaluation Questions										Res	ponses (%	5)	In	dividual
									SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.							0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	4 66.7%	2 33.3%	6	4.3
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me t	o do my best work.							0	0	0	3 50%	3 50%	6	4.5
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the su	bject.						0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	3 50%	3 50%	6	4.5
		Responses: [SD] Stron	gly Disa	gree	e=1 [I	D] Disagree	=2 [N] Nei	ther A	gree or	Disa	gree=	3 [A] Agre	e=4 [SA] :	Strong	gly Agree=
						BIOL - 23		_				Surv	ey Compai	risons	s
Labs	and Online Learning Questions				Res	ponses (%)			Course				All		
			SD	D	N	A	SA	N	Mea	۱		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	4 66.7%	2 33.3%	6	4.3		2	.7К	4.3		46
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3		3	. 7К	4.4		40

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 2311 001 - Human Anatomy and Physiol	ogy l	Laborate	ory		I	Сера	artment	: 51	4140			
	Responsible Faculty:	Mohammadmehdi Eslamieh				Res	ponses	/ E)	pected	: 7	/ 26 (26.	92%)		
									Мо	hamm	admehdi	Eslamieł	ı	
Cour	se Evaluation Questions								Res	ponse	s (%)		In	dividua
							SD		D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0		2 .6%	0	2 28.6%	3 42.9%	7	3.9
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	terial.				0		1 .3%	0	3 42.9%	3 42.9%	7	4.1
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					0		1 .3%	0	3 42.9%	3 42.9%	7	4.1
Q4	My instructor provides materia	I that helps me do well on assignments.					0			1 6.7%	2 33.3%	3 50%	6	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	14	1 .3%	0	3 42.9%	3 42.9%	7	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0		1 .3%	0	3 42.9%	3 42.9%	7	4.1
Q7	My instructor establishes a cli	mate of respect for students.					0		0	0	4 57.1%	3 42.9%	7	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.					0			1 4.3%	3 42.9%	3 42.9%	7	4.3
Q9	My instructor encourages me	o do my best work.					0		1 .3% 1	1 4.3%	2 28.6%	3 42.9%	7	4.0
Q10	My instructor provides timely f	eedback to guide my progress.					0		0 1	1 4.3% 1	3 42.9% 3	3 42.9% 3	7	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0		0 1. 1	4.3%	42.9% 2	42.9% 3	7	4.3
		to connect course topics to a wider understanding of t	he su	bject.			0	14		4.3%	2 28.6% 2	3 42.9% 3	7	4.0
Q13	My instructor encourages me	o develop new viewpoints.					0	14		4.3%	28.6% 2	42.9% 3	7	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0		2.6%	0	28.6%	42.9%	7	3.9
		Responses: [SD]	Stron	gly Disagre			-	Agre	e or Disag	jree=3			-	
Lahs	and Online Learning Questions				BIOL Response	2311 - (ຣ (%)	01		Course		Surve	ey Compai All	rison	is
_0.03	come country questions		SD	D	N	A	SA	N	Mean		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	2	2.7K	4.3		38
Q16	The course topics are organize	d in a coherent fashion.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	3	3.7K	4.4		38

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 2311 002 - Human Anatomy and Physic	ology I La	bora	atory			Dep	artm	ient: 5	514140			
	Responsible Faculty:	Mohammadmehdi Eslamieh				R	esponse	s/E	хрес	ted:	6 / 18 (33	3.33%)		
_										Moha	mmadme	hdi Eslam	ieh	
Cour	se Evaluation Questions									Respo	nses (%)		In	dividual
	1							SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q2	My instructor provides facts, e	examples, and references that helped me learn the m	aterial.					0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q3	My instructor gives assignme	nts that contribute to my understanding of the subjec	:t.					0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q7	My instructor establishes a cl	imate of respect for students.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q9	My instructor encourages me	to do my best work.						0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q10	My instructor provides timely	feedback to guide my progress.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of	the subje	ct.				0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q13	My instructor encourages me	to develop new viewpoints.						0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
	I	Responses: [SE) Strongly	Disag	ree=1 [D]	Disagree=2	2 [N] Neith	er Agre	ee or l	Disagree=	3 [A] Agre	e=4 [SA] S	Strong	gly Agree=
				_	E	BIOL - 231	1 - 002	_			Surv	ey Compa	rison	s
Labs	and Online Learning Questions				Respo	nses (%)		C	ours	Ð		All		
			SD	D	Ν	A	SA	N	Me	an	N	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	1 16.7%	2 33.3%	3 50%	6	4.:	3	2.7K	4.3		46
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 16.7%	3 50%	2 33.3%	6	4.:	2	3.7K	4.4		31

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 3090 001 - Mentored Undergraduate Resea	rch					D)epartm	ent: 51	4140			
	Responsible Faculty:	Aubrey Frantz					Respon	ses	/ Expec	ted: 3	/ 5 (60%)		
										Au	ubrey Fra	ntz		
Cour	se Evaluation Questions								ļ	Response	es (%)		In	dividual
	1							SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materi	al.					0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 33.3%	0	0	2 66.7%	3	4.0
Q7	My instructor establishes a cli	mate of respect for students.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me	o do my best work.						0	1 33.3%	0	0	2 66.7%	3	4.0
Q10	My instructor provides timely	eedback to guide my progress.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subject.					0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q13	My instructor encourages me	o develop new viewpoints.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	1 33.3%	0	0	2 66.7%	3	4.0
		Responses: [SD] Str	ongly Disag	ree=1	[D] Dis	agree	e=2 [N] Ne	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=
Labs	and Online Learning Questions			P	BIC		3090 - 00 [.]		Course	-	Survey	Comparis All	sons	
			SD	D	N	ез (<i>7</i>	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	2 100%	2	5.0	2.71	<	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	3.7	<	4.4		21

rongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 3090 003 - Mentored Undergraduate Research						Departm	ent:	51	414	10			
	Responsible Faculty:	Kelly Varga				Respor	nses	/ Expec	ted:	1	/2	(509	%)		
_												Ke	elly Varga	1	
Cour	se Evaluation Questions									Res	spon	ses	(%)	In	dividual
	1								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.							0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.							0	0	0	0	1 100%	1	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me	to do my best work.							0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	ject.						0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	0	0	1 100%	1	5.0
L	1	Responses: [SD] Strong	y Disagree	=1 [D] Di	sagre	ee=2 [N] N	eithe	Agree or D)isagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5
				В	IOL	- 3090 - 0	03			-	S	urve	y Compar	isons	;
Labs	and Online Learning Questions	3		Respon	ses	(%)		Course					All		
			SD	DN	A	SA	N	Mean		N			Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0 0	0	1 100%	1	5.0		2.7	¢		4.3		91
Q16	The course topics are organize	ed in a coherent fashion.	0	0 0	0	1 100%	1	5.0		3.7k	¢		4.4		94

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 3090 004 - Mentored Undergraduate Research						Departr	nent:	514	140			
	Responsible Faculty:	Muhammed Yousufuddin				Respo	nses	/ Expe	cted:	4/	6 (66.6	7%)		
										Muha	ammed	Yousufi	uddin	
Cour	rse Evaluation Questions									Respon	ses (%)		In	dividual
								S	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	material clearly.						C	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.						C	0	0	2 50%	2 50%	4	4.5
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.						C	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.						C	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.						C	0	1 25%	1 25%	2 50%	4	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						C	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a cli	mate of respect for students.						C	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.						C	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me	o do my best work.						C	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely	eedback to guide my progress.						C	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						C	0	0	2 50%	2 50%	4	4.5
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subject	t.					C	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me	o develop new viewpoints.						C	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject	t interesting and motivated me to learn.						C	0	0	1 25%	3 75%	4	4.8
		Responses: [SD] Strongly D	isagree	=1 [D] C	isagr	ee=2 [N] N	leithe	r Agree or	Disagi	ree=3 [A] Agree=	4 [SA]	Strong	gly Agree=
1	and Online Learning Questions					- 3090 - 0	1				Survey	-	isons	
Labs	and Online Learning Questions		SD	Respo	A	(%) SA	N	Course Mean		N		All Mean		Pct
Q15	The section or lab is well integ	rated into the course structure.	0	0 0	0	1	1	5.0		2.7K		4.3		Rnk 91
	The course topics are organize		0	0 0	0	100%	1	5.0		3.7K		4.4		94
						100%								

igiy Disagre Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 3320 030 - Principles of Ecology						C)epartm	ent: 51	14140			
	Responsible Faculty:	Donna Hamilton					Respor	ises	/ Expect	ted: 1	2 / 28 (42	2.86%)		
										Do	nna Hami	lton		
Cour	se Evaluation Questions								I	Response	es (%)		Inc	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	1 9.1%	2 18.2%	3 27.3%	5 45.5%	11	4.1
Q2	My instructor provides facts, e	examples, and references that helped me learn the mate	rial.					0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q4	My instructor provides materi	al that helps me do well on assignments.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q5	My instructor explains new ide	eas by relating them to familiar concepts.						0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q6	My instructor evaluates my w	ork in ways that are helpful to my ability to learn.						0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q7	My instructor establishes a cl	imate of respect for students.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q9	My instructor encourages me	to do my best work.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q10	My instructor provides timely	feedback to guide my progress.						0	2 16.7%	1 8.3%	3 25%	6 50%	12	4.1
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	e subject.					0	0	0	4 33.3%	8 66.7%	12	4.7
Q13	My instructor encourages me	to develop new viewpoints.						0	0	0	4 33.3%	8 66.7%	12	4.7
Q14	My instructor made the subje	ct interesting and motivated me to learn.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
		Responses: [SD] S	trongly Disagr	ee=1	[D] I	Disagree	2 [N] N	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5
						BIOL - 3	320 - 03	0			Survey	Comparis	ons -	
Labs	and Online Learning Question	5		R	espo	nses (%)	C	ourse			All		
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	2.71	ĸ	4.3		80
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.8	3.7	ĸ	4.4		78
		Responses: [SD] S	trongly Disagn	ee=1	[D]	0			0	0	[A] Agree best, calcu			, ,

	Course:	BIOL - 3331 030 - Biomedical Criminalistics						0)epai	rtmo	ent: 5	514140			
	Responsible Faculty:	Kelly Varga					Respor	ises	/ Exp	bect	ted:	11 / 23 (4	7.83%)		
~												Kelly \	/arga		
Cour	se Evaluation Questions										Respo	onses (%)	T	Inc	dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	6 54.5%	5 45.5%	11	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.						0	0	0	4 36.4%	7 63.6%	11	4.6
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	0	4 36.4%	7 63.6%	11	4.6
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q7	My instructor establishes a cl	mate of respect for students.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	4 36.4%	7 63.6%	11	4.6
Q9	My instructor encourages me	to do my best work.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q10	My instructor provides timely	feedback to guide my progress.							0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	4 36.4%	7 63.6%	11	4.6
Q12	My instructor encourages me	to connect course topics to a wider understanding of t	he subject.						0	0	0	4 36.4%	7 63.6%	11	4.6
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	4 36.4%	7 63.6%	11	4.6
Q14	My instructor made the subject	t interesting and motivated me to learn.							0	0	0	4 36.4%	7 63.6%	11	4.6
		Responses: [SD]	Strongly Disagre	ee=1	[D] [Disagree=	2 [N] N	either	Agree	or Di	isagree=	3 [A] Agre	e=4 [SA] S	Strong	y Agree=
					l	BIOL - 3	331 - 03	0				Surve	/ Compari	sons	
Labs	and Online Learning Question	i		Re	espoi	nses (%)		C	Course	Ð			All		
			SD	D	N	Α	SA	N	Me	an	1	4	Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	4	2.7	7К	4.3		50
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	4	3.3	7К	4.4		45

	Course:	BIOL - 3510 001 - Cell Biology						Dep	artme	nt: 51	4140			
	Responsible Faculty:	Aubrey Frantz				Re	sponses	/ E	xpect	ed: 2	7 / 33 (8′	1.82%)		
										Au	brey Fran	tz		
Cour	se Evaluation Questions								Re	sponses	s (%)		Ind	lividual
							SD		D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.					1 3.79	6	2 7.4%	4 14.8%	6 22.2%	14 51.9%	27	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.				1 3.79	6	1 3.7%	4 14.8%	2 7.4%	19 70.4%	27	4.4
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject.					4 14.8	%	1 3.7%	1 3.7%	4 14.8%	17 63%	27	4.1
Q4	My instructor provides materia	al that helps me do well on assignments.					2 7.49	6	2 7.4%	3 11.1%	4 14.8%	16 59.3%	27	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.					2 7.49	6	1 3.7%	3 11.1%	4 14.8%	17 63%	27	4.2
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					4 14.8	%	1 3.7%	3 11.1%	5 18.5%	14 51.9%	27	3.9
Q7	My instructor establishes a cli	mate of respect for students.					1 3.79	6	0	2 7.4%	7 25.9%	17 63%	27	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.					0		2 7.4%	2 7.4%	4 14.8%	19 70.4%	27	4.5
Q9	My instructor encourages me t	to do my best work.					3 11.1	%	2 7.4%	2 7.4%	4 14.8%	16 59.3%	27	4.0
Q10	My instructor provides timely f	eedback to guide my progress.					1 3.79	6	2 7.4%	1 3.7%	6 22.2%	17 63%	27	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					1 3.79	6	1 3.7%	3 11.1%	7 25.9%	15 55.6%	27	4.3
Q12	My instructor encourages me t	to connect course topics to a wider understanding of t	he sut	oject.			3 11.1	%	2 7.4%	0	6 22.2%	16 59.3%	27	4.1
Q13	My instructor encourages me t	to develop new viewpoints.					3 11.1	%	0	5 18.5%	5 18.5%	14 51.9%	27	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.					4 14.8	%	2 7.4%	2 7.4%	3 11.1%	16 59.3%	27	3.9
		Responses: [SD]	Strong	gly Disagr	ree=1 [D] [)isagree=2	[N] Neither	Agre	e or Dis	agree=3	[A] Agree	=4 [SA] S	trongly	y Agree=
					BIC)L - 3510 -	001				Surve	ey Compa	risons	s
Labs	and Online Learning Questions			1	Response	es (%)		C	Course		1	All		
			SD	D	N	A	SA	N	Mea	in	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	5 2	2.7K	4.3		59
Q16	The course topics are organize	ed in a coherent fashion.	0	1 8.3%	1 8.3%	4 33.3%	6 50%	12	4.3	1 3	3.7К	4.4		35

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 4260 030 - Principles of Evolution						D	epartme	ent: 51	4140			
	Responsible Faculty:	Donna Hamilton					Respo	nses /	Expect	ed: 1	1 / 26 (4	2.31%)		
										Dor	nna Hami	lton		
Cour	se Evaluation Questions								R	esponse	s (%)		Ind	dividual
	1							SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.					1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q4	My instructor provides materia	l that helps me do well on assignments.						1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.						1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						1 9.1%	0	0	5 45.5% 5	5 45.5% 5	11	4.2
Q7	My instructor establishes a cli	mate of respect for students.						1 9.1%	0	0	45.5%	45.5%	11	4.2
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q9	My instructor encourages me	o do my best work.						1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q10	My instructor provides timely f	eedback to guide my progress.						1 9.1%	1 9.1%	2 18.2% 1	5 45.5% 6	2 18.2% 4	11	3.5
	-	sphere in which ideas can be exchanged freely.						0	0	9.1%	54.5%	4 36.4% 6	11	4.3
		o connect course topics to a wider understanding of th	ne subject.					9.1%	0	0	36.4%	54.5% 3	11	4.3
Q13	My instructor encourages me	o develop new viewpoints.						9.1%	0	9.1%	54.5%	27.3% 3	11	3.9
Q14	My instructor made the subjec	t interesting and motivated me to learn.						9.1%	0	0	63.6%	27.3%	11	4.0
		Responses: [SD]	Strongly Disagr	ee=1	[D]	Disagree	=2 [N] N	leither A	gree or Di	sagree=3	[A] Agree	=4 [SA] S	trongly	y Agree=
Labs	and Online Learning Questions			R		BIOL - 4 nses (%			urse	-	Survey	Comparis All	ons -	
	-		SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	2.76	(4.3		59
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	3.76	۲ (4.4		64

rongly Disagree=1 [D] Disagree=2 [N] Nether Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BIOL - 4340 001 - Urban Ecology						D	epart	ment:	5	14140			
	Responsible Faculty:	Kelly Varga					Respo	nses	/ Exp	ected:	7	/ 15 (46	6.67%)		
												Kelly V	arga		
Cour	se Evaluation Questions									Res	spor	ises (%)		In	dividual
								-	SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	3 42.9%	4 57.1%	7	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me	o do my best work.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely	eedback to guide my progress.							0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me	o connect course topics to a wider understanding of the	subject.						0	0	0	3 42.9%	4 57.1%	7	4.6
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	3 42.9%	4 57.1%	7	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	3 42.9%	4 57.1%	7	4.6
		Responses: [SD] St	rongly Disagre	ee=1	[D]	Disagree	=2 [N] N	leither /	Agree o	or Disagr	ee=3	8 [A] Agree	e=4 [SA] S	Strong	gly Agree=
						BIOL - 4		1				Survey	/ Compari	sons	
Labs	and Online Learning Questions		00		espo N	nses (%			ourse	_	N		All		Pct
			SD	D		A 1	SA 3	N	Mea				Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	25%	75%	4	4.8		2.7	К	4.3		77
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6		3.7	к	4.4		64

ionses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BLAW - 2300 001 - Legal and Ethical Enviror	nment of Busine	SS				De	par	tment:	5161	00			
	Responsible Faculty:	Edward Fjordbak					Respo	nses /	Exp	ected:	11/	24 (4	5.83%)		
											Edw	ard Fj	ordbak		
Cour	se Evaluation Questions									Re	ponses	; (%)		Inc	dividual
								s	D	DN		A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							כ	0 1 9.1	% 3	4 6.4%	6 54.5%	11	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the	material.						נ	0 1 9.1	% 9	1 0.1%	9 81.8%	11	4.7
Q3	My instructor gives assignme	nts that contribute to my understanding of the sub	ject.)	D O	2	4 10%	6 60%	10	4.6
Q4	My instructor provides materi	al that helps me do well on assignments.)	0 2 18.1		2 8.2%	7 63.6%	11	4.5
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	D O	3	3 30%	7 70%	10	4.7
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						(כ	0 1 9.1	% 4	5 5.5%	5 45.5%	11	4.4
Q7	My instructor establishes a cl	imate of respect for students.						(כ	0 1 9.1		4 6.4%	6 54.5%	11	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.)	D O	4	5 5.5%	6 54.5%	11	4.5
Q9	My instructor encourages me	to do my best work.							0	D O	2	3 7.3%	8 72.7%	11	4.7
Q10	My instructor provides timely	feedback to guide my progress.)	0 3 27.3		2 8.2%	6 54.5%	11	4.3
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							כ	0 2 18.3		2 8.2%	7 63.6%	11	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding) of the subject.						0	0 1 9.1		5 5.5%	5 45.5%	11	4.4
Q13	My instructor encourages me	to develop new viewpoints.)	D O	4	5 5.5%	6 54.5%	11	4.5
Q14	My instructor made the subject	ct interesting and motivated me to learn.							כ	0 1 9.1		3 7.3%	7 63.6%	11	4.5
		Responses:	[SD] Strongly Disagr	ree=1	[D]	Disagree	=2 [N] N	leither Ag	gree	or Disagr	ee=3 [A]	Agree	e=4 [SA] S	Strong	y Agree=
					E	BLAW - 2	2300 - 0	01			;	Survey	/ Compari	sons	
Labs	and Online Learning Question	3		Re	spor	nses (%)		Co	urse				All		
			SD	D	N	A	SA	N	Me	in	Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	1 20%	4 80%	5	4.3	3	2.7K		4.3		80
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	4 40%	6 60%	10	4.	5	3.7K		4.4		64

	Course:	BLAW - 2300 002 - Legal and Ethical Environment of	Busine	ess				D	epartme	ent:	5161	00			
	Responsible Faculty:	Sharon Fjordbak					Respor	ises /	Expect	ed:	20 /	30 (66	.67%)		
0											s	haron F	jordbak	:	
Cour	se Evaluation Questions									1	Respons		1		lividual
									SD	D	N	A 4	SA 14	N	Mean
Q1	My instructor explains difficul	t material clearly.							5%	0	5%	20%	70%	20	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.							1 5%	0	1 5%	2 10%	16 80%	20	4.6
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							1 5%	0	2 10%	3 15%	14 70%	20	4.5
Q4	My instructor provides materi	al that helps me do well on assignments.							1 5%	0	1 5%	2 10%	16 80%	20	4.6
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							1 5%	0	1 5%	2 10%	16 80%	20	4.6
Q6	My instructor evaluates my w	ork in ways that are helpful to my ability to learn.							1 5%	0	2 10%	1 5%	16 80%	20	4.6
Q7	My instructor establishes a cl	imate of respect for students.							0	0	1 5%	1 5%	18 90%	20	4.9
Q8	My instructor is available to m	ne on matters pertaining to the course.							0	0	2 10%	1 5%	17 85%	20	4.8
Q9	My instructor encourages me	to do my best work.							0	0	1 5%	2 10%	17 85%	20	4.8
Q10	My instructor provides timely	feedback to guide my progress.							0	0	2 10%	1 5%	17 85%	20	4.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	1 5%	2 10%	17 85%	20	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	oject.						0	0	1 5%	2 10%	17 85%	20	4.8
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 5%	3 15%	16 80%	20	4.8
Q14	My instructor made the subje	ct interesting and motivated me to learn.							0	0	1 5%	1 5%	18 90%	20	4.9
		Responses: [SD] Strong	ıly Disag	ree='	1 [D]	Disagre	e=2 [N] N	either A	gree or Di	sagro	ee=3 [A]	Agree=	4 [SA] \$	Strong	y Agree=5
						BLAW -	2300 - 00)2				Survey	Compar	isons	
Labs	and Online Learning Question	S		R	espo	onses (%	5)	C	ourse				All		
			SD	D	N	A	SA	N	Mean		Ν		Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	0	0	0	0	4 100%	4	5.0		2.7K		4.3		91
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	3 30%	7 70%	10	4.7		3.7K		4.4		75
		Responses: [SD] Strong	ıly Disag	ree='	1 [D]	. 0	e=2 [N] N ct Rnk: P		0			. 0			

	Course:	BLAW - 2300 003 - Legal and Ethical Environment of	of Bus	ines	s			Dep	artm	ent: 5	16100			
	Responsible Faculty:	Sharon Fjordbak				Res	sponse	es / E	хрес	ted:	18 / 28 (6	64.29%)		
Court	an Evolution Operations										Sharon Fj	ordbak		
Cour	se Evaluation Questions									Respo	nses (%)		Ind	lividual
								SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	0	2 11.1%	16 88.9%	18	4.9
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	ıl.					0	0	0	5 27.8%	13 72.2%	18	4.7
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.						0	0	2 11.1%	5 27.8%	11 61.1%	18	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	0	4 22.2%	14 77.8%	18	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	5 27.8%	13 72.2%	18	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.						0	0	2 11.1%	4 22.2%	12 66.7%	18	4.6
Q7	My instructor establishes a cl	mate of respect for students.						0	0	0	2 11.1%	16 88.9%	18	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q9	My instructor encourages me	to do my best work.						0	0	1 5.6%	1 5.6%	16 88.9%	18	4.8
Q10	My instructor provides timely	feedback to guide my progress.						0	0	1 5.6%	5 27.8%	12 66.7%	18	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject					0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 5.6%	5 27.8%	12 66.7%	18	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	1 5.6%	1 5.6%	16 88.9%	18	4.8
L		Responses: [SD] Stro	ngly Di	sagre	e=1 [D] D	isagree=2 [N] Neith	er Agr	ee or [)isagree=	3 [A] Agre	e=4 [SA] S	Strong	y Agree={
					BL	AW - 2300	- 003				Surve	ey Compai	risons	
Labs	and Online Learning Questions				Respons	ses (%)		Co	ourse			All		
			SD	D	Ν	A	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2	7K	4.3		77
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	3	.7K	4.4		67
		Responses: [SD] Stro	ngly Di	sagre	e=1 [D] D						3 [A] Agre			

: [SD] \$ ngly isagr **Pct Rnk:** Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BLAW - 2300 004 - Legal and Ethical Environme	nt of Busine	ss				D	epartme	nt: 51	6100			
	Responsible Faculty:	Diane Couchman					Respo	onses	/ Expect	ed: 1:	2 / 18 (66	5.67%)		
										Dian	e Couchm	an		
Cour	se Evaluation Questions								Re	sponses	(%)		Ind	lividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						2 16.7%	1 8.3%	2 16.7%	5 41.7%	2 16.7%	12	3.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the mat	erial.					1 8.3%	2 16.7%	0	5 41.7%	4 33.3%	12	3.8
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.						3 25%	1 8.3%	3 25%	3 25%	2 16.7%	12	3.0
Q4	My instructor provides materia	al that helps me do well on assignments.						0	1 8.3%	2 16.7%	4 33.3%	5 41.7%	12	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.						1 8.3%	1 8.3%	1 8.3%	6 50%	3 25%	12	3.8
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.						2 16.7%	0	2 16.7%	6 50%	2 16.7%	12	3.5
Q7	My instructor establishes a cl	imate of respect for students.						0	2 16.7%	2 16.7%	4 33.3%	4 33.3%	12	3.8
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	3 25%	5 41.7%	4 33.3%	12	4.1
Q9	My instructor encourages me	to do my best work.						0	1 8.3%	1 8.3%	4 33.3%	6 50%	12	4.3
Q10	My instructor provides timely	feedback to guide my progress.						1 8.3%	1 8.3%	2 16.7%	4 33.3%	4 33.3%	12	3.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.						1 8.3%	0	2 16.7%	5 41.7%	4 33.3%	12	3.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of th	ne subject.					1 8.3%	2 16.7%	2 16.7%	4 33.3%	3 25%	12	3.5
Q13	My instructor encourages me	to develop new viewpoints.						0	0	5 41.7%	4 33.3%	3 25%	12	3.8
Q14	My instructor made the subjec	ct interesting and motivated me to learn.						4 33.3%	0	0	5 41.7%	3 25%	12	3.3
		Responses: [SD]	Strongly Disagre	ee=1	[D] [Disagree	=2 [N]	Neither A	Agree or Di	sagree=3	[A] Agree	=4 [SA] St	rongly	/ Agree=5
					BI	.AW - 2	300 - 0	04			Survey	Compari	sons	
Labs	and Online Learning Questions			Re	spon	ses (%))		Course			All		
			SD	D	N	A	S/	A N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	1 50%	1 509		4.5	2.7	к	4.3		59
Q16	The course topics are organize	ed in a coherent fashion.	1 16.7%	0	0	3 50%	2 33.3		3.8	3.7	к	4.4		13

sponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course: BUSI - 4940 010 - Business Policy						De	partme	nt: 5	16100			
	Responsible Faculty: Isaura Flores				I	Respons	ses /	Expecte	ed: 2	28 / 34 (8	2.35%)		
										Isaura Flo	ores		
Cour	se Evaluation Questions							R	espons	ses (%)		Inc	dividual
							SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.						0	1 3.6%	1 3.6%	10 35.7%	16 57.1%	28	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the m	aterial.					0	1 3.6%	0	10 35.7%	17 60.7%	28	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject	t.					0	0	2 7.1%	8 28.6%	18 64.3%	28	4.6
Q4	My instructor provides material that helps me do well on assignments.						0	0	3 10.7%	7 25%	18 64.3%	28	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.						0	1 3.6%	1 3.6%	10 35.7%	16 57.1%	28	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.						0	0	0	9 32.1%	19 67.9%	28	4.7
Q7	My instructor establishes a climate of respect for students.						0	0	1 3.6%	8 28.6%	19 67.9%	28	4.6
Q8	My instructor is available to me on matters pertaining to the course.						0	0	1 3.6%	8 28.6%	19 67.9%	28	4.6
Q9	My instructor encourages me to do my best work.						0	0	1 3.7%	7 25.9%	19 70.4%	27	4.7
Q10	My instructor provides timely feedback to guide my progress.						0	0	0	7 25%	21 75%	28	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.						0	0	1 3.6%	8 28.6%	19 67.9%	28	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of	the subje	ect.				0	0	0	10 35.7%	18 64.3%	28	4.6
Q13	My instructor encourages me to develop new viewpoints.						0	0	0	10 37%	17 63%	27	4.6
Q14	My instructor made the subject interesting and motivated me to learn.						0	0	1 3.6%	9 32.1%	18 64.3%	28	4.6
	Responses: [SI] Strongly	Disag	gree=1 [D] Disagree=	2 [N] Neit	ther Ag	gree or Dis	agree=3	B [A] Agree	=4 [SA] S	trong	y Agree=
Labe	and Online Learning Questions			Deer	BUSI - 494	40 - 010		2011822		Surve	ey Compar All	isons	;
Labs		SD	D	N	nses (%) A	SA	N	Course Mean		N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 5.9%	7 41.2%	9 52.9%	17	4.5	2	2.7K	4.3		53
Q16	The course topics are organized in a coherent fashion.	0	0	0	10 40%	15 60%	25	4.6	3	.7К	4.4		64

ponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	BUSI - 4940 011 - Business Policy						Dep	artmen	t : 5 7	16100			
	Responsible Faculty:	Isaura Flores				R	esponse	es / E	xpected	l: 2	3 / 26 (8	8.46%)		
										l	saura Flo	res		
Cour	se Evaluation Questions								Re	spons	es (%)		Inc	lividual
	1							SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	0 2	1 I.3%	8 34.8%	14 60.9%	23	4.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	erial.					0	0 2	1 1.3%	9 39.1%	13 56.5%	23	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0 2	1 1.5%	7 31.8%	14 63.6%	22	4.6
Q4	My instructor provides materia	l that helps me do well on assignments.						0	0 2	1 I.3%	5 21.7%	17 73.9%	23	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0 1	4 7.4%	5 21.7%	14 60.9%	23	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0.	3 13%	5 21.7%	15 65.2%	23	4.5
Q7	My instructor establishes a cli	mate of respect for students.						0	0 8	2 3.7%	5 21.7%	16 69.6%	23	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0 8	2 3.7%	6 26.1%	15 65.2%	23	4.6
Q9	My instructor encourages met	o do my best work.						0	0	3 13%	5 21.7%	15 65.2%	23	4.5
Q10	My instructor provides timely f	eedback to guide my progress.						0	0 8	2 3.7%	4 17.4%	17 73.9%	23	4.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0 2	1 I.3%	8 34.8%	14 60.9%	23	4.6
Q12	My instructor encourages me	o connect course topics to a wider understanding of th	e subj	ect.				0		2 3.7%	4 17.4%	17 73.9%	23	4.7
Q13	My instructor encourages me	o develop new viewpoints.						0	1 4.3% 8	2 3.7%	6 26.1%	14 60.9%	23	4.4
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0.	3 13%	7 30.4%	13 56.5%	23	4.4
		Responses: [SD] S	Strong	y Disagre	e=1 [D]	Disagree=2	2 [N] Neith	ier Agr	ee or Disa	gree=3	[A] Agree	=4 [SA] S	trong	y Agree=
						JSI - 4940	- 011				Surve	ey Compai	risons	;
Labs	and Online Learning Questions		SD	D	Respons	ses (%) A	SA		Course Mean		N	All Mean		Pct
015	The section or lab is well inter	rated into the course structure.	0	1	0	7	8	16	4.4		N 2.7K	4.3		Rnk 49
				6.3%	1	43.8% 6	50% 14			-				
Q16	The course topics are organize	a in a conerent fashion.	0	0	4.8%	28.6%	66.7%	21	4.6		3.7K	4.4		66

onses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 1013 040 - Human Development						De	partn	nent: 5	18000			
	Responsible Faculty:	Nedra Washington					Respon	ses /	Ехре	cted:	13 / 16 (8	81.25%)		
_										١	ledra Was	shington		
Cours	se Evaluation Questions									Respo	nses (%)	1	Ind	lividual
	F							S	DD	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.						C	0	0	5 38.5%	8 61.5%	13	4.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material	•					C	0	0	4 30.8%	9 69.2%	13	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						C	0	0	6 46.2%	7 53.8%	13	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.						C	0	0	6 46.2%	7 53.8%	13	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.						C	0	0	5 38.5%	8 61.5%	13	4.6
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						C	0	1 7.7%	7 53.8%	5 38.5%	13	4.3
Q7	My instructor establishes a cli	mate of respect for students.						C	0	0	4 30.8%	9 69.2%	13	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						C	0	0	6 46.2%	7 53.8%	13	4.5
Q9	My instructor encourages met	o do my best work.						C	0	0	2 15.4%	11 84.6%	13	4.8
Q10	My instructor provides timely f	eedback to guide my progress.						C	0	3 23.1%	4 30.8%	6 46.2%	13	4.2
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						C	0	0	4 30.8%	9 69.2%	13	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the se	ubject.					C	0	1 7.7%	4 30.8%	8 61.5%	13	4.5
Q13	My instructor encourages me	o develop new viewpoints.						C	0	3 23.1%	4 30.8%	6 46.2%	13	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.						C	0	0	5 38.5%	8 61.5%	13	4.6
		Responses: [SD] Stron	ngly Disa	gree=	=1 [D] Disagree	e=2 [N] Ne	ither Ag	ree or	Disagree=	3 [A] Agree	e=4 [SA] S	Strong	y Agree=
						CDFS - 1	1013 - 040				Surve	ey Compar	isons	
Labs	and Online Learning Questions			R	esp	oonses (%))	C	ourse			All		
			SD	D	N	A	SA	N	Mea	n	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	2	.7К	4.3		70
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	4 40%	6 60%	10	4.6	3	.7K	4.4		64

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 3113 040 - Infant and Toddler Development						De	epartm	ent: 5	18000			
	Responsible Faculty:	Nedra Washington					Respon	ses /	Expec	ted: 1	8 / 29 (6	52.07%)		
										Ne	dra Wash	ington		
Cour	se Evaluation Questions									Respons	ses (%)		Ind	lividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q2	My instructor provides facts, e	examples, and references that helped me learn the material						0	1 5.6%	0	3 16.7%	14 77.8%	18	4.7
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	1 5.6%	0	3 16.7%	14 77.8%	18	4.7
Q4	My instructor provides materi	al that helps me do well on assignments.						0	0	1 5.6%	4 22.2%	13 72.2%	18	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	3 16.7%	15 83.3%	18	4.8
Q6	My instructor evaluates my w	ork in ways that are helpful to my ability to learn.						0	0	0	4 23.5%	13 76.5%	17	4.8
Q7	My instructor establishes a cl	imate of respect for students.						0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	3 16.7%	3 16.7%	12 66.7%	18	4.5
Q9	My instructor encourages me	to do my best work.						0	0	0	5 29.4%	12 70.6%	17	4.7
Q10	My instructor provides timely	feedback to guide my progress.						0	0	2 11.1%	5 27.8%	11 61.1%	18	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	6 33.3%	12 66.7%	18	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	ubject.					0	0	0	5 27.8%	13 72.2%	18	4.7
Q13	My instructor encourages me	to develop new viewpoints.						0	0	0	6 33.3%	12 66.7%	18	4.7
Q14	My instructor made the subje	st interesting and motivated me to learn.						0	0	0	6 33.3%	12 66.7%	18	4.7
		Responses: [SD] Stron	ngly Dis	agre	e=1	[D] Disagre	e=2 [N] Ne	ither A	gree or D	isagree=3	B [A] Agree	e=4 [SA] S	trongly	y Agree=5
							3113 - 040	-			Surve	y Compari	sons	
Labs	and Online Learning Question				Res	ponses (%)	C	ourse			All		
			SD	D	N	A	SA	N	Mean		N	Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	0	0	0	2 25%	6 75%	8	4.8	2.	7К	4.3		77
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	3 23.1%	10 76.9%	13	4.8	3.	7К	4.4		81
		Responses: [SD] Stron	ngly Dis	agre	e=1		e=2 [N] Ne							

Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 3123 040 - Child Development					De	partn	nent: 5	18000			
	Responsible Faculty:	Nedra Washington				Respon	ses / I	Ехрес	ted:	14 / 25 (56%)		
									1	ledra Wa	shington		
Cours	se Evaluation Questions								Respo	nses (%)		Ind	lividual
							SI	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.					0	0	0	2 14.3%	12 85.7%	14	4.9
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.					0	0	0	2 14.3%	12 85.7%	14	4.9
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					0	0	0	2 14.3%	12 85.7%	14	4.9
Q4	My instructor provides materia	l that helps me do well on assignments.					0	0	0	1 7.1%	13 92.9%	14	4.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0	0	0	4 28.6%	10 71.4%	14	4.7
Q7	My instructor establishes a cli	mate of respect for students.					0	0	0	2 14.3%	12 85.7%	14	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	0	5 35.7%	9 64.3%	14	4.6
Q9	My instructor encourages me t	o do my best work.					0	0	0	3 21.4%	11 78.6%	14	4.8
Q10	My instructor provides timely f	eedback to guide my progress.					0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the su	oject.				0	0	1 7.7%	0	12 92.3%	13	4.8
Q13	My instructor encourages me t	o develop new viewpoints.					0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
		Responses: [SD] Strong	gly Disagre	ee=1 [D) Disagre	e=2 [N] Ne	either Ag	ree or l	Disagree=	3 [A] Agre	e=4 [SA] S	Strong	y Agree=
1						3123 - 04(`				Surve	ey Compar	isons	
Labs	and Online Learning Questions		SD [1	onses (%	6) SA	Co N	urse Meai		N	All Mean		Pct
015	The coation or lab is well inter-	roted into the source atructure				3 A 7	7						Rnk
		rated into the course structure.	0 (_	0	100% 11		5.0	_	.7K	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0 0	0 0	8.3%	91.7%	12	4.9	3	.7K	4.4		88

Disagree=1 [D] Disagree=2 [N] Neither Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 3300 040 - Family Theories					[Эера	rtment:	518	8000			
	Responsible Faculty:	Janice Moore				Res	ponses	/ Ex	pected:	11	/ 29 (3	7.93%)		
										Ja	nice Moo	ore		
Cour	se Evaluation Questions								Res	onse	s (%)		Inc	lividual
							SD	I	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0		2 .2%	0	4 36.4%	5 45.5%	11	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	terial.				0		0	0	5 45.5%	6 54.5%	11	4.5
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject					0		0	0	4 36.4%	7 63.6%	11	4.6
Q4	My instructor provides materia	al that helps me do well on assignments.					0			1 .1%	5 45.5%	5 45.5%	11	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0		9	1 .1%	5 45.5%	5 45.5%	11	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0		2 .2%	0	4 36.4%	5 45.5%	11	4.1
Q7	My instructor establishes a cli	mate of respect for students.					0		0	0	5 45.5%	6 54.5%	11	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.					0			2 3.2%	5 45.5%	4 36.4%	11	4.2
Q9	My instructor encourages met	to do my best work.					0			1 .1%	3 27.3%	7 63.6%	11	4.5
Q10	My instructor provides timely f	eedback to guide my progress.					0			1 .1%	3 27.3%	6 54.5%	11	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0		0	0	5 45.5%	6 54.5%	11	4.5
Q12	My instructor encourages met	to connect course topics to a wider understanding of	the su	bject.			0		0	0	6 54.5%	5 45.5%	11	4.5
Q13	My instructor encourages me	to develop new viewpoints.					0		0	0	6 54.5%	5 45.5%	11	4.5
Q14	My instructor made the subject	t interesting and motivated me to learn.					0		1 1%	0	3 27.3%	7 63.6%	11	4.5
		Responses: [SD]	Strong	gly Disagre	e=1 [D] Di	sagree=2 [I	Neither	Agree	e or Disagi	ree=3 [[A] Agree	=4 [SA] S	trong	/ Agree=
					CDF	S - 3300 -	040				Surve	ey Compa	rison	;
Labs	and Online Learning Questions				Response	es (%)		C	Course			All		
			SD	D	N	A	SA	N	Mean		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	2	.7K	4.3		39
Q16	The course topics are organize	ed in a coherent fashion.	0	2 28.6%	0	2 28.6%	3 42.9%	7	3.9	3.	.7К	4.4		14

esponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 3305 040 - Family Development						D	epartm	ent: 5	18000			
	Responsible Faculty:	Janice Moore					Respon	ses /	Expect	ted: 1	6 / 30 (5	3.33%)		
											Janice Mo	oore		
Cour	se Evaluation Questions									Respons	ses (%)		Inc	dividual
								SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficul	material clearly.						0	1 6.3%	0	5 31.3%	10 62.5%	16	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material						0	1 6.3%	2 12.5%	3 18.8%	10 62.5%	16	4.4
Q3	My instructor gives assignment	ts that contribute to my understanding of the subject.						0	1 6.3%	0	5 31.3%	10 62.5%	16	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	5 31.3%	11 68.8%	16	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	6 37.5%	10 62.5%	16	4.6
Q7	My instructor establishes a cl	mate of respect for students.						0	0	1 6.3%	4 25%	11 68.8%	16	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	5 31.3%	11 68.8%	16	4.7
Q9	My instructor encourages me	to do my best work.						0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6
Q10	My instructor provides timely	eedback to guide my progress.						0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	4 25%	12 75%	16	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	ıbject.					0	0	0	6 40%	9 60%	15	4.6
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	0	1 6.3%	4 25%	11 68.8%	16	4.6
		Responses: [SD] Stror	gly Dis	agre	e=1	[D] Disagre	e=2 [N] Ne	ither A	gree or D	isagree=3	8 [A] Agree	e=4 [SA] S	trong	y Agree=
Labo	and Online Learning Questions				Dec		3305 - 040				Surve	y Compari	isons	
Laus	and online Learning Questions		SD	D	Res	ponses (%) SA	N	Course Mean		N	All Mean		Pct
015	The section or lab is well inter	rated into the course structure.	0	0	0	2	6	8	4.8	-	7K	4.3		Rnk 77
	The course topics are organize		0	0	0	25% 4	75% 9	13	4.7		7K	4.4		74
2.0			Ū	U		30.8%	69.2%		4.7	5.		7.7		/-

Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 3310 040 - Family Crisis						D	epartm	ent: 5	18000			
	Responsible Faculty:	Janice Moore					Respon	ises	/ Expect	ted: 9	/ 24 (37.	.50%)		
										J	anice Mo	ore		
Cour	se Evaluation Questions								I	Respons	es (%)		In	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	1 11.1%	0	1 11.1%	7 77.8%	9	4.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the m	aterial.					0	0	0	3 33.3%	6 66.7%	9	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject	t.					0	0	0	3 33.3%	6 66.7%	9	4.7
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	2 22.2%	7 77.8% 8	9	4.8
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	11.1%	88.9%	9	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	3 33.3% 2	6 66.7%	9	4.7
Q9	My instructor encourages me	to do my best work.						0	0	1 11.1%	22.2%	6 66.7% 7	9	4.6
Q10	My instructor provides timely	eedback to guide my progress.						0	0	1 11.1%	1 11.1%	7 77.8% 8	9	4.7
		sphere in which ideas can be exchanged freely.						0	0	0	11.1%	88.9%	9	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of	the subject.					0	0	0	33.3% 3	66.7% 6	9	4.7
	My instructor encourages me							0	0	0	33.3% 3	66.7%	9	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	33.3%	66.7%	9	4.7
		Responses: [SI] Strongly Disag	gree=1	[D]	Disagree	e=2 [N] Ne	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	Ily Agree=
Labs	and Online Learning Questions			R		CDFS - 3	3310 - 04 6)		Course		Survey	Comparis	sons	
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	5 100%	5	5.0	2.7	к	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.8	3.7	к	4.4		78

onses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Netther Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 4133 040 - Adolescent Development						Сера	rtment:	5180	00			
	Responsible Faculty:	Vivian Baxter				Re	sponses	/ Ex	pected:	4/1	0 (40%)		
										v	ivian Ba	axter		
Cour	se Evaluation Questions								Re	esponse	s (%)		In	dividual
								S	D D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						(0 0	0	3 75%	1 25%	4	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	terial.					() 1 25%	0	2 50%	1 25%	4	3.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject						() 1 25%	0	2 50%	1 25%	4	3.8
Q4	My instructor provides materia	l that helps me do well on assignments.						() 1 25%	0	2 50%	1 25%	4	3.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.						() 1 25%	0	2 50%	1 25%	4	3.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						(0 0	1 25%	2 50%	1 25%	4	4.0
Q7	My instructor establishes a cli	mate of respect for students.						(0 0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.						() 1 25%	1 25%	1 25%	1 25%	4	3.5
Q9	My instructor encourages met	o do my best work.						(0 0	1 25%	2 50%	1 25%	4	4.0
Q10	My instructor provides timely f	eedback to guide my progress.						() 1 25%	1 25%	1 25%	1 25%	4	3.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						(0 0	1 25%	2 50%	1 25%	4	4.0
Q12	My instructor encourages met	o connect course topics to a wider understanding of t	he subject	i.				(0 0	0	3 75%	1 25%	4	4.3
Q13	My instructor encourages met	o develop new viewpoints.						(0 0	0	3 75%	1 25%	4	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.						() 1 25%	1 25%	1 25%	1 25%	4	3.5
		Responses: [SD]	Strongly Di	sagre	ee=1 [D] D	isagree=2	[N] Neither	Agre	e or Disagr	ee=3 [A]	Agree=	4 [SA] S	Strong	gly Agree=
					CDF	S - 4133 -	040				Survey	r Compa	risor	ıs
Labs	and Online Learning Questions				Respons	es (%)	1	C	ourse			All		D.
			SD	D	Ν	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	2.7K	:	4.3		13
Q16	The course topics are organize	d in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	3.7K		4.4		21

ponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 4333 040 - Family Resource Management						Departm	ent	t:	518000			
	Responsible Faculty:	Janice Moore				Respo	nses	/ Expec	ted	l:	7 / 19 (3	6.84%)		
•											Janic	e Moore		
Cour	se Evaluation Questions										ponses (%			dividual
								SD	D	N	A	SA 7	N	Mean
Q1	My instructor explains difficult	material clearly.						0	0	0	0	100%	7	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.						0	0	0	0	7 100%	7	5.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	0	0	7 100%	7	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	0	0	7 100%	7	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	0	7 100%	7	5.0
Q7	y instructor establishes a climate of respect for students.									0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	0	7 100%	7	5.0
Q9	My instructor encourages me	to do my best work.						0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely	eedback to guide my progress.						0	0	0	0	7 100%	7	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	0	7 100%	7	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subjec	t.					0	0	0	0	7 100%	7	5.0
Q13	My instructor encourages me	to develop new viewpoints.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	0	7 100%	7	5.0
		Responses: [SD] Strongly D	isagree	=1 [D] D	isagr	ee=2 [N] N	Veither	Agree or [Disa	gree=	3 [A] Agr	e=4 [SA] \$	Strong	gly Agree=5
				C	DFS	- 4333 - 0	040				Surve	y Compari	sons	
Labs	and Online Learning Questions			Respor		(%)	0	Course				All		Det
			SD	DN	A	SA	N	Mean		1	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0 0	0	4 100%	4	5.0		2.	7К	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0 0	0	7 100%	7	5.0		3.	7К	4.4		94
		Responses: [SD] Strongly D	isagree	=1 [D] D		ee=2 [N] N Pct Rnk: F								

ngly isagr **Pct Rnk:** Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CDFS - 4340 040 - Occupational and Ethical Issues						I	Departr	ment:	5180	00			
	Responsible Faculty:	Nedra Washington					Respor	ises	/ Expe	cted:	5/2	0 (25%)		
											Nedr	a Wash	ington		
Cou	rse Evaluation Questions									Res	ponses	s (%)		In	dividual
									SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							1 20%	0	0	0	4 80%	5	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							1 20%	0	0	0	4 80%	5	4.2
QЗ	My instructor gives assignmer	ts that contribute to my understanding of the subject.							1 20%	0	0	0	4 80%	5	4.2
Q4	My instructor provides materia	l that helps me do well on assignments.							0	1 20%	0	0	4 80%	5	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.							1 20%	0	0	0	4 80%	5	4.2
Q6	My instructor evaluates my wo					0	1 20%	0	0	4 80%	5	4.4			
Q7	My instructor establishes a cli							1 20%	0	0	0	4 80%	5	4.2	
Q8	My instructor is available to m	e on matters pertaining to the course.							0	1 20%	0	0	4 80%	5	4.4
Q9	My instructor encourages me t	o do my best work.							0	0	1 20%	0	4 80%	5	4.6
Q10	My instructor provides timely f	eedback to guide my progress.							1 20%	0	0	0	4 80%	5	4.2
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							1 20%	0	0	0	4 80%	5	4.2
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the sub	ect.						1 20%	0	0	0	4 80%	5	4.2
Q13	My instructor encourages me t	o develop new viewpoints.							1 20%	0	0	0	4 80%	5	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 20%	4 80%	5	4.8
		Responses: [SD] Strong	y Disagree=	1 [D] Dis	sagre	e=2 [N] N	either	Agree or	Disagre	e=3 [A]	Agree=4	4 [SA] S	trong	Ily Agree=
Lake	s and Online Learning Questions			_			- 4340 - 04	1			S	Survey C	compari	sons	
Laus	and Omme Learning Questions		SD	Resp D	oons N	as (.%) SA	N	Course Mean		N		All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	3 100%	3	5.0		2.7K		4.3		91
Q16	The course topics are organize	d in a coherent fashion.	1 20%	0	0	0	4 80%	5	4.2		3.7K		4.4		32

Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

				nd I:						tment:	518000			
	Responsible Faculty:	Vivian Baxter					Re	spons	es / Exp	ected:	3 / 11 (27.27%)		
										Vivi	an Baxte	r		
Cours	se Evaluation Questions								Re	sponses	(%)		In	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains dif	ficult material clearly.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides fa	cts, examples, and references that helped me lear	n the material.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assig	nments that contribute to my understanding of th	e subject.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides m	aterial that helps me do well on assignments.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains ne	w ideas by relating them to familiar concepts.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates n	ny work in ways that are helpful to my ability to le	arn.					0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q7	7 My instructor establishes a climate of respect for students.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available	to me on matters pertaining to the course.						0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q9	My instructor encourages	me to do my best work.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides tir	nely feedback to guide my progress.						1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0
Q11	My instructor creates an	atmosphere in which ideas can be exchanged free	ely.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages	me to connect course topics to a wider understa	nding of the subject.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages	me to develop new viewpoints.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the s	ubject interesting and motivated me to learn.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
		Respor	ses: [SD] Strongly Disagree	e=1	[D] Di	sagre	ee=2 [N] N	Veither	Agree or Dis	sagree=3	Agree=	4 [SA] St	rong	ly Agree=
					С	DFS	- 4350 - 0	040			- Survey (Comparis	ons	
Labs	and Online Learning Ques	tions		Re	espon	ses	(%)	C	ourse			All		
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well	integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.7K		4.3		91
Q16	The course topics are org	anized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.7K		4.4		94

	Course:	CDFS - 4413 040 - Family Life Education						D	epart	ment:	5180	00			
	Responsible Faculty:	Janice Moore				R	espons	ses /	Ехре	cted:	4/1	4 (28.5	57%)		
											Ja	nice M	loore		
Cour	se Evaluation Questions									Re	sponse	s (%)		In	dividual
	1								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	1 25%	0	2 50%	1 25%	4	3.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	2 50%	1 25%	1 25%	4	3.8
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.							0	1 25%	0	2 50%	1 25%	4	3.8
Q4	My instructor provides materia	I that helps me do well on assignments.							0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	1 25%	0	2 50%	1 25%	4	3.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	1 25%	1 25%	0	2 50%	4	3.8
Q7	Q7 My instructor establishes a climate of respect for students.									0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	1 25%	1 25%	2 50%	4	4.3
Q9	My instructor encourages me t	o do my best work.							0	0	1 25%	2 50%	1 25%	4	4.0
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	2 50%	0	2 50%	4	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	2 50%	0	2 50%	4	4.0
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the su	bject.						0	0	1 25%	1 25%	2 50%	4	4.3
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	1 25%	1 25%	2 50%	4	4.3
		Responses: [SD] Stron	gly Disa	gree=	1 [D] Di	sagree=2	2 [N] Nei	ither A	gree o	r Disagre	e=3 [A]	Agree=4	4 [SA] S	Strong	ly Agree=
						-	13 - 040	-			5	Survey (Compar	isons	:
Labs	and Online Learning Questions				Respons				Course				All		Pct
			SD	D	N	A	SA	N	Mea	in	N		Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 50%	0	1 50%	2	4.0		2.7K		4.3		30
Q16	The course topics are organize	d in a coherent fashion.	0	0	1 25%	1 25%	2 50%	4	4.3	;	3.7K		4.4		35

[SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 1360 030 - Context of Chemistry						D	epartn	nent	t: 4	514140			
	Responsible Faculty:	Muhammed Yousufuddin					Respons	ses /	Ехре	cted	l:	7 / 21 (3	3.33%)		
_											N	luhamme	d Yousufu	ddin	
Cour	se Evaluation Questions										Res	ponses (%	6)	In	dividual
									SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	0	7 100%	7	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.									0	0	0	7 100%	7	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	7 100%	7	5.0
Q9	My instructor encourages me	o do my best work.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	0	7 100%	7	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	0	7 100%	7	5.0
Q12	My instructor encourages me	co connect course topics to a wider understanding of the su	bject.						0	0	0	0	7 100%	7	5.0
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	0	7 100%	7	5.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	0	7 100%	7	5.0
		Responses: [SD] Stron	gly Disa	agre	e=1 [I	Disagree	=2 [N] Nei	ther A	gree or	Disaç	gree=	3 [A] Agre	ee=4 [SA] :	Stron	gly Agree=
						CHEM - 1	360 - 030					Surv	ey Compai	rison	s
Labs	and Online Learning Questions					ponses (%			Course				All		Pct
			SD	D	N	A	SA	N	Mea	1		N	Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8		2	2.7K	4.3		81
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	6 100%	6	5.0		3	3.7K	4.4		94

s: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Nether Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 1360 330 - Context of Chemistry						Dep	artm	ent:	514140			
	Responsible Faculty:	Scott Grimes				R	esponse	s / E	крес	ted:	8 / 21 (38	3.10%)		
•											Scott G	rimes		
Cour	se Evaluation Questions									Respo	onses (%)		In	dividual
	[SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.						0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					0	0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q6	My instructor evaluates my wo	r instructor evaluates my work in ways that are helpful to my ability to learn.									1 12.5%	6 75%	8	4.6
Q7	ly instructor establishes a climate of respect for students.								0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me	to do my best work.						0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely	eedback to guide my progress.						0	0	0	2 25%	6 75%	8	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subje	et.				0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	1 12.5%	1 12.5%	6 75%	8	4.6
	1	Responses: [SD] St	rongly [)isag	ree=1 [D]	Disagree=2	[N] Neith	er Agre	e or [)isagree=	3 [A] Agre	e=4 [SA] \$	Strong	gly Agree=
					CI	HEM - 136	0 - 330				Surv	ey Compa	rison	s
Labs	and Online Learning Questions					nses (%)			ourse			All		Pct
			SD	D	N	A	SA	N	Mea	an	N	Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	ı 12.5%	12.5%	6 75%	8	4.0	5	2.7K	4.3		68
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	•	3.7K	4.4		86

 Responses: [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 1410 001 - General Chemistry for Science	ce Majo	rs				Dep	artmei	nt: 51	4140			
	Responsible Faculty:	Muhammed Yousufuddin				R	esponse	es / E	xpecte	d: 30	0 / 69 (43	3.48%)		
									I	Muham	med Yous	sufuddin		
Cour	se Evaluation Questions								Re	sponse	s (%)		Inc	dividual
							5	SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	3 10%	3 10%	12 40%	12 40%	30	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	erial.					0	1 3.3%	4 13.3%	10 33.3%	15 50%	30	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	1 3.3%	1 3.3%	12 40%	16 53.3%	30	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.						0	1 3.3%	2 6.7%	12 40%	15 50%	30	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	1 3.3%	2 6.7%	14 46.7%	13 43.3%	30	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	2 6.7%	1 3.3%	14 46.7%	13 43.3%	30	4.3
Q7	My instructor establishes a cli	mate of respect for students.						1 .3%	0	0	10 33.3%	19 63.3%	30	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	12 40%	18 60%	30	4.6
Q9	My instructor encourages me t	to do my best work.						0	0	2 6.7%	12 40%	16 53.3%	30	4.5
Q10	My instructor provides timely f	eedback to guide my progress.						0	1 3.3%	2 6.7% 2	11 36.7% 9	16 53.3% 18	30	4.4
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						.3%	0	2 6.7% 2	30%	60%	30	4.4
Q12	My instructor encourages me t	to connect course topics to a wider understanding of th	e subjec	t.				0	0	2 6.7% 2	43.3%	50%	30	4.4
Q13	My instructor encourages me t	to develop new viewpoints.						0	0	2 6.7% 4	43.3%	50%	30	4.4
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	1 3.3%	4 13.3%	13 43.3%	12 40%	30	4.2
		Responses: [SD] S	Strongly D	isag	ree=1 [D]	Disagree=2	2 [N] Neith	ner Agr	ee or Dis	agree=3	[A] Agree	=4 [SA] S	trongly	y Agree=
						EM - 1410	0 - 001				Surve	y Compai	risons	;
Labs	and Online Learning Questions		SD	D	Respons N	es (%) A	SA	N	ourse Mear	1	N	All Mean		Pct
Q15	The section or lab is well integ	rated into the course structure.	1 5.3%	0	0	10 52.6%	8 42.1%	19	4.3	2	.7К	4.3		Rnk 43
Q16	The course topics are organize	ed in a coherent fashion.	0	0	2 10.5%	10 52.6%	7 36.8%	19	4.3	3	.7K	4.4		37

esponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 1430 001 - Laboratory Sequence for Genera	l Che	mis	try			De	epar	tme	ent: 5	514140			
	Responsible Faculty:	Scott Grimes					Respon	ses /	Exp	ect	ted:	11 / 23 (4	47.83%)		
Cour	se Evaluation Questions											Scott G	irimes		
Cour	se Evaluation Questions							_		_		onses (%)			lividual
Q1	My instructor explains difficult	material clearly.							SD 0	D	N 0	A	SA 9	N 11	Mean 4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	18.2% 2 18.2%	81.8% 9 81.8%	11	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 9.1%	10 90.9%	11	4.9
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	1 10%	9 90%	10	4.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	3 30%	7 70%	10	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 9.1%	10 90.9%	11	4.9
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	2 18.2%	9 81.8%	11	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 9.1%	10 90.9%	11	4.9
Q9	My instructor encourages me	to do my best work.							0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7
Q10	My instructor provides timely	eedback to guide my progress.							0	0	0	2 18.2%	9 81.8%	11	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 9.1%	10 90.9%	11	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	ıbject.						0	0	0	2 20%	8 80%	10	4.8
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	2 18.2%	9 81.8%	11	4.8
		Responses: [SD] Stron	gly Dis	agree	e=1	Disagree	e=2 [N] Ne	ither A	gree	or Di	sagree=	3 [A] Agre	e=4 [SA] S	Strongl	y Agree=
I e h -	and Online Learning Questions						1430 - 001	1				Surve	ey Compar	isons	
Laps	and Online Learning Questions		SD	D	Res N	ponses (%) A) SA	N N	ours	e ean	Ľ.	N	All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	3 27.3%	8 72.7%	11	4	.7	2	7K	4.3		74
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	2 18.2%	9 81.8%	11	4	.8	3	.7К	4.4		84

tesponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 1430 002 - Laboratory Sequence for Ger	neral C	hem	istry			De	partme	ent: 5	514140			
	Responsible Faculty:	Scott Grimes				R	espons	es /	Expect	ed:	7 / 23 (30	.43%)		
											Scott Grin	nes		
Cour	se Evaluation Questions								R	espons	ses (%)		In	dividual
							5	SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	0	5 71.4%	2 28.6%	7	4.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the mate	erial.					0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	0	0	5 71.4%	2 28.6%	7	4.3
Q4	My instructor provides materi	al that helps me do well on assignments.						0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q5	My instructor explains new ide	eas by relating them to familiar concepts.						0	0	1 14.3%	4 57.1%	7	4.1	
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q7	My instructor establishes a cl	imate of respect for students.						0	0	1 14.3%	4 57.1%	7	4.1	
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 14.3%	4 57.1%	7	4.1	
Q9	My instructor encourages me	to do my best work.						0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q10	My instructor provides timely	feedback to guide my progress.						0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.						0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of th	e subje	ect.				0	1 14.3%	0	4 57.1%	2 28.6%	7	4.0
Q13	My instructor encourages me	to develop new viewpoints.						0	1 14.3%	1 14.3%	3 42.9%	2 28.6%	7	3.9
Q14	My instructor made the subject	ct interesting and motivated me to learn.						0	1 14.3%	0	4 57.1%	2 28.6%	7	4.0
		Responses: [SD] S	strongly	Disa	jree=1 [D]	Disagree=2	[N] Neith	ner Ag	gree or Dis	sagree=	3 [A] Agree	e=4 [SA] S	trong	ly Agree=5
					CI	HEM - 143	0 - 002				Surve	ey Compar	ison	s
Labs	and Online Learning Question	3			Respor	nses (%)			Course			All		
			SD	D	N	A	SA	N	Mear	ı	N	Mean		Pct Rnk
Q15	The section or lab is well inter	grated into the course structure.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	:	2.7К	4.3		30
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	5 71.4%	2 28.6%	7	4.3	:	3.7К	4.4		38

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 1430 003 - Laboratory Sequence	e for General Chei	mist	try			De	par	tme	ent: 5	514140			
	Responsible Faculty:	Scott Grimes					Respon	ses /	Ехр	ect	ed:	11 / 24 (4	15.83%)		
_												Scott G	rimes		
Cour	se Evaluation Questions										Respo	onses (%)		Inc	dividual
									SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	6 54.5%	5 45.5%	11	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn	the material.						0	0	0	6 54.5%	5 45.5%	11	4.5
Q3	My instructor gives assignme	nts that contribute to my understanding of the	subject.						0	0	0	5 45.5%	6 54.5%	11	4.5
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	6 54.5%	5 45.5%	11	4.5
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to lear	'n.						0	0	0	6 54.5%	5 45.5%	11	4.5
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	5 45.5%	6 54.5%	11	4.5
Q9	My instructor encourages me	to do my best work.							0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	4 36.4%	7 63.6%	11	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely	/ .						0	0	0	5 45.5%	6 54.5%	11	4.5
Q12	My instructor encourages me	to connect course topics to a wider understand	ding of the subject.						0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	0	6 54.5%	5 45.5%	11	4.5
		Respons	es: [SD] Strongly Disa	agree	e=1 [D] Disagre	e=2 [N] Ne	ither A	gree	or Dis	sagree=:	3 [A] Agre	e=4 [SA] S	Strongl	ly Agree=
						CHEM -	1430 - 003	3				Surve	ey Compar	risons	
Labs	and Online Learning Question	3		F	Resp	ponses (%)	C	ours	e			All		
			SD	D	N	Α	SA	N	M	ean		N	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	6 54.5%	5 45.5%	11	4	.5	2	.7K	4.3		53
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	6 54.5%	5 45.5%	11	4	.5	3	.7К	4.4		50

	Course:	CHEM - 2370 001 - Organic Chemistry I						D	epartr	nent:	5141	40				
	Responsible Faculty:	Muhammed Yousufuddin				l	Respor	ises ,	Expe	cted:	10/3	27 (37.	04%)			
										Ν	luhamı	ned Yo	usufudo	lin		
Cour	se Evaluation Questions									Res	ponses	s (%)		Ind	dividual	
									SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficul	t material clearly.							1 10%	0	4 40%	2 20%	3 30%	10	3.6	
Q2	My instructor provides facts, e	examples, and references that helped me learn the mate	erial.						1 10%	0	0	4 40%	5 50%	10	4.2	
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							1 10%	0	0	3 30%	6 60%	10	4.3	
Q4	My instructor provides materi	al that helps me do well on assignments.							1 10%	0	0	3 30%	6 60%	10	4.3	
Q5	My instructor explains new ide	as by relating them to familiar concepts.							$\begin{array}{c ccccccccccccccccccccccccccccccccccc$							
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.		10% 10% 10% 20% 50% ¹⁰ 1 0 1 2 6 10								10	3.9			
Q7	My instructor establishes a cl	-	10% 0 10% 20% 60% 1									4.2				
Q8	My instructor is available to m	e on matters pertaining to the course.							10%	0	0	4 40% 3	5 50% 6	10	4.2	
Q9	My instructor encourages me								10% 1	0	0	3 30% 4	60% 5	10	4.3	
Q10	My instructor provides timely	feedback to guide my progress.							10%	0	0	40% 3	50% 5	10	4.2	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							10%	10%	0	30% 30%	50% 50%	10	4.0	
Q12	My instructor encourages me	to connect course topics to a wider understanding of th	e subject.						10%	0	10%	30%	50%	10	4.1	
Q13	My instructor encourages me	to develop new viewpoints.							1 10%	0	1 10%	3 30%	5 50%	10	4.1	
Q14	My instructor made the subject	st interesting and motivated me to learn.							1 10%	1 10%	2 20%	2 20%	4 40%	10	3.7	
		Responses: [SD] S	Strongly Disagre	e=1	[D] [)isagree=	2 [N] N	either A	Agree or	Disagre	e=3 [A]	Agree=4	4 [SA] S	Strong	y Agree=	
							370 - 00	1			8	Survey (•	isons		
Labs	and Online Learning Question	3		Re	spon	ses (%)		C	ourse				All		D .	
			SD	D	N	A	SA	N	Mea	n	N		Mean		Pct Rnk	
Q15	The section or lab is well integ	grated into the course structure.	1 10%	0	0	3 30%	6 60%	10	4.3		2.7K		4.3		44	
Q16	The course topics are organiz	ed in a coherent fashion.	1 10%	0	0	4 40%	5 50%	10	4.2		3.7K		4.4		32	

	Course:	CHEM - 3210 001 - Organic Chemistry I Laboratory						[Departm	ent:	5141	40			
	Responsible Faculty:	Muhammed Yousufuddin				I	Respor	ises	/ Expect	ted:	4/1	1 (36.3	86%)		
											Muha	mmed `	Yousufi	uddin	
Cour	se Evaluation Questions									F	Respons	ses (%)		In	dividual
									SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	1 25%	1 25%	2 50%	4	4.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.							0	0	0	2 50%	2 50%	4	4.5
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my wo	k in ways that are helpful to my ability to learn.								0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a cli	s a climate of respect for students.							0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me	to do my best work.							0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subje	ect.						0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	0	1 25%	3 75%	4	4.8
		Responses: [SD] Strongly	Disagre	e=1	[D]	Disagree=	2 [N] N	either	Agree or D	isagre	ee=3 [A]	Agree=	4 [SA] \$	Strong	ly Agree=5
						CHEM - 3	3210 - 0	01			8	Survey (Compar	isons	
Labs	and Online Learning Questions	5		Re	espo	onses (%))	0	Course				All		
			SD	D	N	A	SA	N	Mean		N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	1 25%	3 75%	4	4.8		2.7K		4.3		77
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5		3.7K		4.4		55

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CHEM - 3210 002 - Organic Chemistry I Laboratory						D	epartme	nt: 51-	4140			
	Responsible Faculty:	Muhammed Yousufuddin				R	espon	ses /	Expect	ed: 6 /	/ 14 (42.	36%)		
									N	/luhamm	ed Yousu	fuddin		
Cour	se Evaluation Questions								Re	sponses	(%)		In	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	t material clearly.					10	1 5.7%	2 33.3%	1 16.7%	0	2 33.3%	6	3.0
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.					10	1 5.7%	1 16.7%	0	2 33.3%	2 33.3%	6	3.5
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.					10	1 5.7%	2 33.3%	0	1 16.7%	2 33.3%	6	3.2
Q4	My instructor provides materia	al that helps me do well on assignments.					10	1 5.7%	1 16.7%	0	2 33.3%	2 33.3%	6	3.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.					10	1 5.7%	2 33.3%	1 16.7%	0	2 33.3%	6	3.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.					3:	2 3.3%	1 16.7%	0	1 16.7%	2 33.3%	6	3.0
Q7	My instructor establishes a cli	imate of respect for students.					10	1 5.7%	0	0	2 33.3%	3 50%	6	4.0
Q8	My instructor is available to m	e on matters pertaining to the course.					10	1 5.7%	0	0	2 33.3%	3 50%	6	4.0
Q9	My instructor encourages me	to do my best work.					10	1 5.7%	0	0	2 33.3%	3 50%	6	4.0
Q10	My instructor provides timely	feedback to guide my progress.					33	2 3.3%	0	0	2 33.3%	2 33.3%	6	3.3
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.					10	1 5.7%	0	0	2 33.3%	3 50%	6	4.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	ject.				10	1 5.7%	1 16.7%	1 16.7%	0	3 50%	6	3.5
Q13	My instructor encourages me	to develop new viewpoints.					10	1 5.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.					10	1 5.7%	2 33.3%	0	1 16.7%	2 33.3%	6	3.2
		Responses: [SD] Strong	ly Disagre	e=1 [[D]	Disagree=2	2 [N] Ne	ither A	gree or Dis	sagree=3	[A] Agree=	4 [SA] St	rong	ly Agree=5
						CHEM - 32	10 - 00	2		-	Survey	Comparis	ons	
Labs	and Online Learning Questions	3		Res	sp	onses (%)		C	ourse			All		
			SD	D		NA	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	1 20%	0		0 3 60%	1 20%	5	3.6	2.7K		4.3		16
Q16	The course topics are organize	ed in a coherent fashion.	1 20%	0		0 2 40%	2 40%	5	3.8	3.7K	C	4.4		13

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 2100 001 - Crime and Justice in the Unite	d States					De	epar	ment	51	14100			
	Responsible Faculty:	Mark Stallo					Respons	ses /	Ехр	ected:	6	/ 26 (23	.08%)		
_												Mark S	tallo		
Cour	se Evaluation Questions									Re	spon	ses (%)		In	dividual
	1							5	D)	I	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	33.		3 50%	1 16.7%	6	3.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	ial.						0) 2 33.		3 50%	1 16.7%	6	3.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0) 16.		3 50%	2 33.3%	6	4.2
Q4	My instructor provides materia	I that helps me do well on assignments.							0) 16.		3 50%	2 33.3%	6	4.2
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0) 16.		3 50%	2 33.3%	6	4.2
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0) 2 33.		3 50%	1 16.7%	6	3.8
Q7	My instructor establishes a cli	mate of respect for students.							0) 16.		3 50%	2 33.3%	6	4.2
Q8	My instructor is available to m	e on matters pertaining to the course.							0) 2 33.		3 50%	1 16.7%	6	3.8
Q9	My instructor encourages me	o do my best work.							0) 2 33.		3 50%	1 16.7%	6	3.8
Q10	My instructor provides timely f	eedback to guide my progress.							0) 2 33.		3 50%	1 16.7%	6	3.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0) 16.		3 50%	2 33.3%	6	4.2
Q12	My instructor encourages me	o connect course topics to a wider understanding of the	subject.						0) 16.		3 50%	2 33.3%	6	4.2
Q13	My instructor encourages me	o develop new viewpoints.							0) 16.		4 66.7%	1 16.7%	6	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0) 16.		4 66.7%	1 16.7%	6	4.0
		Responses: [SD] S	rongly Dis	agre	æ=1 [D] Disagree	=2 [N] Nei	ther A	gree	or Disagi	ee=3	[A] Agree	e=4 [SA] S	Strong	gly Agree
						CJUS - 2	100 - 001					Surve	y Compar	ison	s
Labs	and Online Learning Questions				Res	ponses (%)	C	ours	e			All		
			SD	D	N	A	SA	N	Me	an	Ν	1	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4	3	2.7	Ж	4.3		46
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 50%	2 50%	4	4	5	3.7	к	4.4		55

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 2100 030 - Crime and Justice in the Unite	ed States					D	epartme	nt: 514	4100			
	Responsible Faculty:	Michael Noyes					Respon	ises /	Expect	ed: 6 /	20 (30%	6)		
										Mich	ael Noye	S		
Cour	se Evaluation Questions								Re	sponses	(%)		In	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					1	1 6.7%	0	2 33.3%	0	3 50%	6	3.7
Q2	My instructor provides facts, e	examples, and references that helped me learn the mate	erial.					0	1 16.7%	2 33.3%	0	3 50%	6	3.8
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q4	My instructor provides materi	al that helps me do well on assignments.						0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q5	My instructor explains new ide	eas by relating them to familiar concepts.						0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						0	2 33.3%	1 16.7%	0	3 50%	6	3.7
Q7	My instructor establishes a cl	imate of respect for students.						0	0	1 16.7%	0	5 83.3%	6	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q9	My instructor encourages me	to do my best work.						0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q10	My instructor provides timely	feedback to guide my progress.						0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.						0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of th	e subject.					0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q13	My instructor encourages me	to develop new viewpoints.						0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q14	My instructor made the subject	ct interesting and motivated me to learn.						0	0	3 50%	0	3 50%	6	4.0
		Responses: [SD] S	Strongly Disag	gree='	1 [D]	Disagree	e=2 [N] Ne	either A	gree or Dis	agree=3	A] Agree=	4 [SA] St	rongl	y Agree=
						CJUS -	2100 - 03	0			- Survey	Comparis	ons	
Labs	and Online Learning Question	5		R	esp	onses (%	%)	C	ourse			All		
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	0	2 100%	2	5.0	2.7K		4.3		91
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.7K		4.4		83
		Responses: [SD] \$	Strongly Disag	gree=	1 [D]	0	e=2 [N] Ne ct Rnk: Pe		0		- 0			

	Course:	CJUS - 2300 030 - Fundamentals in Criminal Law						De	epartme	ent: 51	14100			
	Responsible Faculty:	Gretchen Hackard				Res	sponse	es /	Expect	ed: 6	/ 36 (16	.67%)		
										Gre	tchen Ha	ckard		
Cour	se Evaluation Questions								R	esponse	es (%)		In	dividual
							S	D	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					(D	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q2	My instructor provides facts, e	examples, and references that helped me learn the materia	al.				(D	0	3 50%	1 16.7%	2 33.3%	6	3.8
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.					(D	0	2 33.3%	2 33.3%	2 33.3%	6	4.0
Q4	My instructor provides materi	al that helps me do well on assignments.					(D	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q5	My instructor explains new ide	eas by relating them to familiar concepts.					C	D	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.					C	0	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q7	My instructor establishes a cl	imate of respect for students.					(D	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q8	My instructor is available to m	e on matters pertaining to the course.					(D	0	3 50%	1 16.7%	2 33.3%	6	3.8
Q9	My instructor encourages me	to do my best work.					C	D	0	3 50%	1 16.7%	2 33.3%	6	3.8
Q10	My instructor provides timely	feedback to guide my progress.					(D	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.					C	D	0	3 50%	1 16.7%	2 33.3%	6	3.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subjec	i.			C	D	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q13	My instructor encourages me	to develop new viewpoints.					(D	0	3 50%	1 16.7%	2 33.3%	6	3.8
Q14	My instructor made the subject	ct interesting and motivated me to learn.					(D	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
		Responses: [SD] Stro	ongly D	sagree=1	D] Di	sagree=2 [N] Neith	ier A	gree or Di	sagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5
					CJL	JS - 2300	- 030				Surve	y Compar	isons	;
Labs	and Online Learning Question	3		Res	pons	es (%)			Course			All		
			SD	D	N	Α	SA	N	Mean	I I	N	Mean		Pct Rnk
Q15	The section or lab is well inte	grated into the course structure.	0	1 33.3%	0	2 66.7%	0	3	3.3	2.	7К	4.3		13
Q16	The course topics are organiz	ed in a coherent fashion.	0	1 25%	0	2 50%	1 25%	4	3.8	3.	7K	4.4		11
		Responses: [SD] Stre	ongly D	sagree=1	[D] Di							=4 [SA] S ulated vs.		

igiy Disagre Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 2301 001 - Correctional Systems and Practice	S					D	epartn	nent	t: !	514100			
	Responsible Faculty:	Michael Noyes					Respon	ses	/ Expec	ted	l:	3 / 17 (1	7.65%)		
_												Micha	el Noyes		
Cour	se Evaluation Questions									1		ponses (%			dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficul	material clearly.							0	0	0	33.3%	66.7%	3	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me	to do my best work.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely	eedback to guide my progress.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subj	ect.						0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 33.3%	2 66.7%	3	4.7
		Responses: [SD] Strong	/ Disag	ree=1	[D]	Disagree	e=2 [N] No	either /	Agree or I	Disaç	gree=	3 [A] Agre	ee=4 [SA] :	Strong	gly Agree=5
						CJUS - :	2301 - 00	1				Surve	ey Compar	isons	;
Labs	and Online Learning Questions			R	espo	onses (%	b)		Course				All		Dei
			SD	D	Ν	A	SA	N	Mean			N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	1 100%	1	5.0		2.	.7K	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5		3.	.7K	4.4		55
		Responses: [SD] Strongly	/ Disag	ree=1	[D]								ee=4 [SA] : culated vs		

ngly isagr **Pct Rnk:** Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 2301 030 - Correctional Systems ar	nd Practices						Depar	tme	nt: 5	514100			
	Responsible Faculty:	Joe Herrera					Respor	ises	/ Exp	ect	ed:	4 / 10 (40)%)		
												Joe H	errera		
Cour	se Evaluation Questions										Resp	onses (%)		In	dividual
									SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, e	examples, and references that helped me learn th	e material.						0	0	0	2 50%	2 50%	4	4.5
Q3	My instructor gives assignme	nts that contribute to my understanding of the su	bject.						0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.							0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a cl	imate of respect for students.							0	0	1 25%	1 25%	2 50%	4	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor encourages me	to do my best work.							0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me	to connect course topics to a wider understandin	g of the subject.						0	0	1 25%	1 25%	2 50%	4	4.3
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject	ct interesting and motivated me to learn.							0	0	1 25%	1 25%	2 50%	4	4.3
		Responses	: [SD] Strongly Disagre	ee=1	[D] [)isagree=	2 [N] N	either	Agree	or Di	sagree=	3 [A] Agre	e=4 [SA] :	Strong	ly Agree=
				_		CJUS - 2		1				Surve	y Compar	isons	
Labs	and Online Learning Question	5 		Re	spor	nses (%)		C	Course	•			All		
			SD	D	N	Α	SA	N	Mea	an	1	4	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	3	2.7	γк	4.3		77
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.	5	3.	γк	4.4		55

	Course:	CJUS - 2302 030 - Police Systems and Practice	S				D)epa	artm	ient: 5	514100			
	Responsible Faculty:	Paul Reynolds				Res	ponses	/ Ex	pec	ted:	8 / 25 (32	2%)		
_											Paul Rey	nolds		
Cour	se Evaluation Questions									Respo	nses (%)		In	dividual
	1							SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.						0	0	3 37.5%	3 37.5%	2 25%	8	3.9
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.					0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q7	My instructor establishes a cli	mate of respect for students.						0	0	2 25%	2 25%	4 50%	8	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q9	My instructor encourages me t	to do my best work.						0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q10	My instructor provides timely f	eedback to guide my progress.						0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q12	My instructor encourages me t	to connect course topics to a wider understanding of t	he su	bject.				0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q13	My instructor encourages me t	to develop new viewpoints.						0	0	2 25%	2 25%	4 50%	8	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	2 25%	1 12.5%	5 62.5%	8	4.4
	•	Responses: [SD]	Stron	gly Disagree	e=1 [D] D)isagree=2 [I	Neither	Agre	e or D)isagree=	3 [A] Agree	e=4 [SA] S	Strong	ly Agree=
					CJU	IS - 2302 -	030				Surv	vey Compa	arisor	ıs
Labs	and Online Learning Questions			I	Respons	es (%)		0	Cour	se		All		
			SD	D	N	Α	SA	N	M	ean	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4	l.1	2.7К	4.3		38
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 25%	6 75%	8	4	.8	3.7К	4.4		78

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 2600 001 - Diversity Issues in Criminal Justic	е				I	Depa	rtm	ent: 5	14100			
	Responsible Faculty:	Michael Williams				Respo	nses	/ Ex	pec	ted: 3	/ 25 (12	2%)		
										Ν	/lichael W	/illiams		
Cour	se Evaluation Questions						-			Respon	ises (%)		In	dividual
	1							SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides materia	l that helps me do well on assignments.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me	o do my best work.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely	eedback to guide my progress.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	ject.					0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me	o develop new viewpoints.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	0	0	1 33.3%	2 66.7%	3	4.7
		Responses: [SD] Strong	ly Disagree	=1 [D] I	Disagr	ee=2 [N] N	leither	Agre	e or D)isagree=3	(A) Agre	e=4 [SA] \$	Strong	gly Agree=
1.64	and Online Learning Questions					- 2600 - 0	1				Surve	y Compari	sons	
Laps	and Online Learning Questions		SD	Respo		(%) SA	N	Cours Me	e ean	N		All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0 0	0	1 100%	1	5	.0	2.7	ĸ	4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0 0	0	1 1 100%	1	5	.0	3.7	ĸ	4.4		94

Pet Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 3330 030 - Introduction to Criminalistics						De	partm	ent	: 5	514100			
	Responsible Faculty:	Ralph Yates					Respons	es /	Expec	ted	:	8 / 35 (2:	2.86%)		
												Ralp	h Yates		
Cour	se Evaluation Questions											ponses (%			dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a cli	nstructor establishes a climate of respect for students.								0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to m	structor is available to me on matters pertaining to the course.								0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me	o do my best work.							0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	2 25%	6 75%	8	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	3 37.5%	5 62.5%	8	4.6
Q12	My instructor encourages me	co connect course topics to a wider understanding of the su	ıbject.						0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 12.5%	7 87.5%	8	4.9
		Responses: [SD] Stron	igly Disa	gree	=1 [Disagree	=2 [N] Neit	her A	gree or D)isag	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=5
			CJUS - 3330 - 030									Surve	ey Compar	isons	
Labs	and Online Learning Questions				i	oonses (%			ourse				All		Pct
			SD	D	N	A	SA	N	Mean	1		N	Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8		2	.7К	4.3		81
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.8		3	.7К	4.4		78

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 3350 001 - Statistics in Criminal Justice							Departm	ent:	5141	00			
	Responsible Faculty:	Aaron Bartula					Respo	nses	/ Expec	ted:	5/1	7 (29	9.41%)		
_												Aaro	on Bartula	1	
Cour	se Evaluation Questions										Respon	ses (dividual
									S	DD	N	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.								0 0	0	0	5 100%	5	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mat	erial.							0 0	0	0	5 100%	5	5.0
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.								0 0	0	0	5 100%	5	5.0
Q4	My instructor provides materi	al that helps me do well on assignments.								o o	0	0	5 100%	5	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.								0 0	0	0	5 100%	5	5.0
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.								o o	0	0	5 100%	5	5.0
Q7	My instructor establishes a cl	mate of respect for students.								0 0	0	0	5 100%	5	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.								0 0	0	0	5 100%	5	5.0
Q9	My instructor encourages me	to do my best work.								0 0	0	0	5 100%	5	5.0
Q10	My instructor provides timely	feedback to guide my progress.								o o	0	0	5 100%	5	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0 0	0	0	5 100%	5	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of t	ne subject.							0 0	0	0	5 100%	5	5.0
Q13	My instructor encourages me	to develop new viewpoints.								o o	1 20%	0	4 80%	5	4.6
Q14	My instructor made the subject	t interesting and motivated me to learn.								0 0	0	0	5 100%	5	5.0
		Responses: [SD]	Strongly Disagree	e=1	[D] Di	sagre	e=2 [N] N	leither	Agree or D	isagre	e=3 [A]	Agre	e=4 [SA]	Strong	gly Agree=
					C	JUS	- 3350 - 0	01			8	urve	y Compar	isons	;
Labs	and Online Learning Question			Re	espon	ses	(%)	•	Course				All		
			SD	D	N	A	SA	N	Mean		N		Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	0	2 100%	2	5.0		2.7K		4.3		91
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	0	2 100%	2	5.0		3.7K		4.4		94

	Course:	CJUS - 3350 030 - Statistics in Criminal Justice						De	partmen	t: 51	14100			
	Responsible Faculty:	Aaron Bartula				R	esponse	es / I	Expected	d: 9	/ 37 (24	.32%)		
										A	aron Bart	ula		
Cour	se Evaluation Questions								Re	sponse	es (%)		In	dividual
							S	D	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					C)	0.	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	rial.				()	0	0	3 33.3%	6 66.7%	9	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.					()	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides materia	l that helps me do well on assignments.					C)	0	0	3 33.3%	6 66.7%	9	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.					C)	0 ,	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					()	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor establishes a cli	mate of respect for students.					C)	0	0	3 33.3%	6 66.7%	9	4.7
Q8	ly instructor is available to me on matters pertaining to the course.)	0.	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q9	My instructor encourages me	o do my best work.					()	0	0	2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely f	eedback to guide my progress.					C)	0.	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					C)	0	0	3 33.3%	6 66.7%	9	4.7
Q12	My instructor encourages met	o connect course topics to a wider understanding of the	e subje	ct.			C)	0	0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor encourages me	o develop new viewpoints.					C) .	1 11.1%	1 11.1%	3 33.3%	4 44.4%	9	4.1
Q14	My instructor made the subjec	t interesting and motivated me to learn.					C)	0.	1 11.1%	4 44.4%	4 44.4%	9	4.3
		Responses: [SD] S	trongly	Disa	gree=1 [D]	Disagree=2	[N] Neith	er Ag	ree or Disa	gree=3	[A] Agree	=4 [SA] S	trong	ly Agree=
					С	JUS - 335() - 030				Surve	y Compar	ison	s
Labs	and Online Learning Questions				Respor	nses (%)		(Course			All		
			SD	D	Ν	A	SA	Ν	Mean		N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 33.3%	2 66.7%	0	3	3.7	2.	.7K	4.3		18
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	3.	.7K	4.4		67

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 3360 001 - Anthropological Criminalis	tics						Depart	mei	nt: 51	4100			
	Responsible Faculty:	Britney Webb					Respo	ises	/ Expe	ecte	e d: 12	2 / 36 (3	33.33%)		
_												Britney	v Webb		
Cour	se Evaluation Questions										Respor	ises (%)		Inc	dividual
									SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	1 8.3%	11 91.7%	12	4.9
Q2	My instructor provides facts, e	examples, and references that helped me learn the	material.						0	0	0	0	12 100%	12	5.0
Q3	My instructor gives assignme	nts that contribute to my understanding of the subj	ect.						0	0	0	1 8.3%	11 91.7%	12	4.9
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	0	1 8.3%	11 91.7%	12	4.9
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	1 8.3%	0	11 91.7%	12	4.8
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.							0	0	0	0	11 100%	11	5.0
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	0	12 100%	12	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	12 100%	12	5.0
Q9	My instructor encourages me	to do my best work.							0	0	0	0	12 100%	12	5.0
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	0	12 100%	12	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding	of the subject.						0	0	0	1 8.3%	11 91.7%	12	4.9
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	0	12 100%	12	5.0
Q14	My instructor made the subject	et interesting and motivated me to learn.							0	0	0	1 8.3%	11 91.7%	12	4.9
		Responses: [\$	SD] Strongly Disagree	e=1	[D] Di	sagre	ee=2 [N] N	either	Agreeo	r Dis	agree=3	[A] Agre	e=4 [SA] \$	Strong	ly Agree=
					С	JUS	- 3360 - 0	01			-	Surve	y Compari	sons	
Labs	and Online Learning Questions	3		Re	espon	ses	(%)	(Course				All		
			SD	D) N	A	SA	N	Mea	ı	N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0 0	0	5 100%	5	5.0		2.7K	:	4.3		91
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0 0	0	5 100%	5	5.0		3.7K		4.4		94

	Course:	CJUS - 3600 001 - Criminology						D	epartr	nent:	514	100			
	Responsible Faculty:	Nahid Siddique					Respons	es /	Expe	cted:	4/	15 (26.	67%)		
											Na	ahid Sid	dique		
Cour	se Evaluation Questions									Re	sponse	s (%)		In	dividual
									SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							1 25%	0	0	0	3 75%	4	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.							1 25%	0	0	0	3 75%	4	4.0
Q4	My instructor provides materia	I that helps me do well on assignments.							0	1 25%	0	0	3 75%	4	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	1 25%	0	3 75%	4	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	1 25%	1 25%	2 50%	4	4.3
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	4 100%	4	5.0
Q9	My instructor encourages me t	o do my best work.							0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the su	bject.						0	0	1 25%	0	3 75%	4	4.5
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	1 25%	0	3 75%	4	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	1 25%	0	0	3 75%	4	4.3
		Responses: [SD] Stron	gly Disa	agree	=1 [D] Disa	gree	e=2 [N] Nei	ther A	gree or	Disagr	ee=3 [A] Agree	=4 [SA] \$	Strong	gly Agree=
Laka	and Online Learning Outstiers						8600 - 001					Survey	Compar	isons	\$
Laps	and Online Learning Questions		SD	D	Response: N	s (% A) SA	N	Course Mea	n	N		All Mean		Pct
Q15	The section or lab is well integ	rated into the course structure.	0	0	1	0	2	3	4.3	_	2.7K		4.3		Rnk 46
	The course topics are organize		0	0	33.3% 1 33.3%	0	66.7% 2 66.7%	3	4.3	-	3.7K		4.4		40

ionses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Responsible Faculty: Aaron Bartula											
				Respons	es / E	хрес	ted: 9	9 / 35 (25	5.71%)		
								Aaron Ba	artula		
urse Evaluation Questions							Respor	nses (%)	1	In	dividual
					SD	D	Ν	A	SA	N	Mean
My instructor explains difficult material clearly.					0	0	0	5 55.6%	4 44.4%	9	4.4
My instructor provides facts, examples, and references that helped me le	earn the material.				0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
My instructor gives assignments that contribute to my understanding of	the subject.				0	0	0	3 33.3%	6 66.7%	9	4.7
My instructor provides material that helps me do well on assignments.					0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
My instructor explains new ideas by relating them to familiar concepts.					0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
My instructor evaluates my work in ways that are helpful to my ability to	learn.				0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
My instructor establishes a climate of respect for students.					0	0	0	3 33.3%	6 66.7%	9	4.7
My instructor is available to me on matters pertaining to the course.					0	0	0	3 33.3%	6 66.7%	9	4.7
My instructor encourages me to do my best work.					0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
0 My instructor provides timely feedback to guide my progress.					0	0	0	4 44.4%	5 55.6%	9	4.6
1 My instructor creates an atmosphere in which ideas can be exchanged f	reely.				0	0	0	4 44.4%	5 55.6%	9	4.6
2 My instructor encourages me to connect course topics to a wider unders	standing of the subject.				0	0	0	3 33.3%	6 66.7%	9	4.7
3 My instructor encourages me to develop new viewpoints.					0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
4 My instructor made the subject interesting and motivated me to learn.					0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Res	oonses: [SD] Strongly Disagre	ee=1 [D] Disagree	=2 [N] Neit	her Agr	ee or D)isagree=3	B [A] Agree	e=4 [SA] S	Strong	ly Agree=5
			CJUS - 3	600 - 030				Surve	y Compar	isons	
os and Online Learning Questions		Res	ponses (%)	Co	urse			All		
	SD D	N	Α	SA	N	Mean	ľ	N	Mean		Pct Rnk
5 The section or lab is well integrated into the course structure.	0 0	0	3 50%	3 50%	6	4.5	2.	7К	4.3		59
6 The course topics are organized in a coherent fashion.	0 0	0 0	4 44.4%	5 55.6%	9	4.6	3.	7К	4.4		61

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 3610 030 - Juvenile Justice						C	Depai	rtmo	ent: 5	514100			
	Responsible Faculty:	Ralph Yates					Respo	nses	/ Exp	pect	ted:	12 / 35 (3	34.29%)		
_												Ralph	Yates		
Cour	se Evaluation Questions										Respo	onses (%)		Inc	dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	rial.						0	0	0	4 33.3%	8 66.7%	12	4.7
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject.							0	0	0	4 33.3%	8 66.7%	12	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	4 33.3%	8 66.7%	12	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	5 41.7%	7 58.3%	12	4.6
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	5 41.7%	7 58.3%	12	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	5 41.7%	7 58.3%	12	4.6
Q9	My instructor encourages me	to do my best work.							0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q10	My instructor provides timely	eedback to guide my progress.							0	0	0	4 33.3%	8 66.7%	12	4.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	4 33.3%	8 66.7%	12	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	e subject.						0	0	0	4 33.3%	8 66.7%	12	4.7
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	4 33.3%	8 66.7%	12	4.7
		Responses: [SD] S	trongly Disag	ree=1	[D]	Disagree	=2 [N] N	leither	Agree	or Di	isagree=	3 [A] Agre	e=4 [SA] S	Strong	y Agree=
							3610 - 0					Surve	y Compari	sons	
Labs	and Online Learning Questions		SD	Re	espoi	nses (%) SA	C N	ourse			J	All Mean		Pct
015	The section or lab is well inter	rated into the course structure	0	0	0	2	3	5	4.		2.7		4.3		Rnk 66
		rated into the course structure.				40% 3	60% 9								
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	25%	75%	12	4.	8	3.7	7K	4.4		78

Pot Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 3610 031 - Juvenile Justice							Departn	nent	: 514	100			
	Responsible Faculty:	Ryan Garman					Respo	nses	/ Expe	cted	: 2/	22 (9.0	09%)		
0												Ryan (Garman		
Cour	se Evaluation Questions										Respon	ses (%))	-	dividual
									SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	0	1 50%	0	1 50%	2	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	0	2 100%	2	5.0
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	1 50%	0	1 50%	2	4.0
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me	o do my best work.							0	0	1 50%	0	1 50%	2	4.0
Q10	My instructor provides timely	eedback to guide my progress.							0	0	1 50%	0	1 50%	2	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	1 50%	0	1 50%	2	4.0
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subje	ct.						0	0	1 50%	0	1 50%	2	4.0
Q13	My instructor encourages me	o develop new viewpoints.							0	0	1 50%	0	1 50%	2	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	0	2 100%	2	5.0
		Responses: [SD] Strongly	Disagree	=1 [D	D] Dis	sagre	e=2 [N] N	leither	Agreeor	Disag	ree=3 [A] Agree	e=4 [SA] \$	Strong	gly Agree=
					C.	JUS	- 3610 - 0	31				Survey	/ Compari	isons	
Labs	and Online Learning Questions			Res	pons	ses ((%)	(Course				All		
			SD	D	Ν	A	SA	N	Mean		Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	2 100%	2	5.0		2.7K		4.3		91
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	2 100%	2	5.0		3.7K		4.4		94

sponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course:	ACCT - 5200 011 - Professional Ethics and Corporate Governance	Depar	tment:	5	1610	00			
Responsible Faculty:	Stephanie Mongiello	Responses / Exp	ected:	4	/ 24	4 (16.6	7%)		
Course Evaluation Questions					Ste	phanie	Mongie	ello	
Course Evaluation Questions		-				es (%)	~ ~ ~		lividua
Q1 My instructor explains difficu	It material clearly.		SD 1 25%	D	N	A 1 25%	2 50%	N 4	Mear 3.8
Q2 My instructor provides facts,	examples, and references that helped me learn the material.		23% 1 25%	0	0	1 25%	2 50%	4	3.8
Q3 My instructor gives assignme	nts that contribute to my understanding of the subject.		1 25%	0	0	0	3 75%	4	4.0
Q4 My instructor provides mater	al that helps me do well on assignments.		1 25%	0	0	1 25%	2 50%	4	3.8
Q5 My instructor explains new id	eas by relating them to familiar concepts.		1 25%	0	0	1 25%	2 50%	4	3.8
Q6 My instructor evaluates my w	ork in ways that are helpful to my ability to learn.		1 25%	0	0	0	3 75%	4	4.0
Q7 My instructor establishes a c	limate of respect for students.		1 25%	0	0	0	3 75%	4	4.0
Q8 My instructor is available to r	ne on matters pertaining to the course.		1 25%	0	0	1 25%	2 50%	4	3.8
Q9 My instructor encourages me	to do my best work.		1 25%	0	0	0	3 75%	4	4.0
Q10 My instructor provides timely	feedback to guide my progress.		1 25%	0	0	0	3 75%	4	4.0
Q11 My instructor creates an atm	osphere in which ideas can be exchanged freely.		1 25%	0	0	0	3 75%	4	4.0
Q12 My instructor encourages me	to connect course topics to a wider understanding of the subject.		1 25%	0	0	0	3 75%	4	4.0
Q13 My instructor encourages me	to develop new viewpoints.		1 25%	0	0	1 25%	2 50%	4	3.8
Q14 My instructor made the subje	ct interesting and motivated me to learn.		1 25%	0	0	1 25%	2 50%	4	3.8
	Responses: [SD] Strongly Disagree=1 [D] E	isagree=2 [N] Neither Agree of	or Disagr	ee=3	[A]	Agree=4	4 [SA] \$	Strong	ly Agree
		CCT - 5200 - 011			S	urvey C	compari	isons	
Labs and Online Learning Questior	s Respor	ses (%) Course					All		

			nes	pons	ses (%)			Sourse		All	
		SD	D	N	A	SA	N	Mean	Ν	Mean	Pct Rnk
Q1	5 The section or lab is well integrated into the course structure.	1 50%	0	0	1 50%	0	2	2.5	73	4.0	15
Q1	6 The course topics are organized in a coherent fashion.	1 50%	0	0	1 50%	0	2	2.5	96	4.1	2
	Perpanan: [SD] Strongly	Dioograa	-1 [ים ומ	oogroo-2		oithor	A groo or Die	ogroo-2 [rongly Agroo-F

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	AEAH - 1750 001 - Visual Arts Integration						De	partme	nt: 51	8200			
	Responsible Faculty:	Ruth Guevara				R	espons	es /	Expecte	ed: 12	2 / 30 (40)%)		
										Ru	th Gueva	ra		
Cour	se Evaluation Questions								Re	sponses	; (%)		Ind	lividual
							S	SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	2 16.7%	2 16.7%	5 41.7%	3 25%	12	3.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					0	0	1 8.3%	7 58.3%	4 33.3%	12	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	0	1 8.3%	6 50%	5 41.7%	12	4.3
Q4	My instructor provides materia	I that helps me do well on assignments.						0	1 8.3%	1 8.3%	5 41.7%	5 41.7%	12	4.2
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	2 16.7%	6 50%	4 33.3%	12	4.2
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 8.3%	2 16.7%	4 33.3%	5 41.7%	12	4.1
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	7 58.3%	5 41.7%	12	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.						0	1 8.3%	1 8.3%	4 33.3%	6 50%	12	4.3
Q9	My instructor encourages me	o do my best work.						0	0	0	7 58.3%	5 41.7%	12	4.4
Q10	My instructor provides timely	eedback to guide my progress.						1 3%	0	2 16.7%	5 41.7% 7	4 33.3% 5	12	3.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	58.3%	5 41.7% 5	12	4.4
		o connect course topics to a wider understanding of the	subje	ct.				0	0	8.3% 1	50% 6	41.7% 5	12	4.3
Q13	My instructor encourages me	o develop new viewpoints.						0	0	8.3%	50%	41.7%	12	4.3
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	0	2 16.7%	5 41.7%	5 41.7%	12	4.3
		Responses: [SD] St	rongly	Disagree=1	[D]	Disagree=2	2 [N] Neit	her Ag	ree or Dis	agree=3	[A] Agree	=4 [SA] St	trongly	/ Agree=
Labo	and Online Learning Questions			-		EAH - 1750	D - 001		0		Surve	y Compan	isons	
Laus	, and Online Learning Questions		SD	Re D	spon N	ses (%) A	SA	N	Course Mean	N	P	All ⁄Iean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	73		4.0		35
Q16	The course topics are organize	d in a coherent fashion.	0	1 25%	0	2 50%	1 25%	4	3.8	96		4.1		15

D) Strongly Disagree=1 [D] Disagree=2 [N] Nether Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	AEAH - 1750 002 - Visual Arts Integration						D	epartme	nt: 51	8200			
	Responsible Faculty:	Ruth Guevara				R	espoi	nses /	Expect	ed: 3	/ 31 (9.6	8%)		
~										Rut	h Guevar	a		
Cour	se Evaluation Questions									sponses	; (%)			dividual
	F							SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.					3	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q4	My instructor provides materi	al that helps me do well on assignments.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						0	1 33.3%	0	2 66.7%	0	3	3.3
Q7	My instructor establishes a cl	mate of respect for students.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q9	My instructor encourages me	to do my best work.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely	feedback to guide my progress.						0	1 33.3%	0	2 66.7%	0	3	3.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	3 100%	0	3	4.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subject.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	to develop new viewpoints.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subjee	t interesting and motivated me to learn.						0	1 33.3%	0	2 66.7%	0	3	3.3
		Responses: [SD] St	rongly Disagr	ee=1	[D] [Disagree=2	[N] N	leither A	gree or Dis	sagree=3	[A] Agree=	4 [SA] Si	trong	ly Agree=
					4	EAH - 17	50 - 0	02		-	Survey	Comparis	ons	
Labs	and Online Learning Question			R	espo	nses (%)		C	ourse			All		
			SD	D	N	A	SA	N	Mean	Ν	M	ean		Pct Rnk
Q15	The section or lab is well inter	prated into the course structure.	0	0	0	1 100%	0	1	4.0	73	4	l.0		45
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	1 100%	0	1	4.0	96	4	l.1		32

	Course:	CJUS - 5000 030 - Criminal Justice Policy						De	partr	nent: 5	14100			
	Responsible Faculty:	Richard Holden					Respons	ses /	Expe	cted: 8	3 / 16 (50)%)		
_											Richard H	Holden		
Cour	se Evaluation Questions									Respo	nses (%)		In	dividual
	1							S	DD	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0 0	1 12.5%	3 37.5%	4 50%	8	4.4
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material						(0 0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						(0 0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides materia	I that helps me do well on assignments.						(0 0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0 0	1 12.5%	2 25%	5 62.5%	8	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0 0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a cli	mate of respect for students.						(0 0	0	3 37.5%	5 62.5%	8	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.						(0 0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me t	o do my best work.							0 0	0	3 37.5%	5 62.5%	8	4.6
Q10	My instructor provides timely f	eedback to guide my progress.						(0 0	0	1 12.5%	7 87.5%	8	4.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						(0 0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the si	ıbject.					0	0 0	0	3 37.5%	5 62.5%	8	4.6
Q13	My instructor encourages me t	to develop new viewpoints.						(0 0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.						(0 0	1 12.5%	2 25%	5 62.5%	8	4.5
		Responses: [SD] Stron	igly Disa	agre	e=1 [D] Disagree	=2 [N] Nei	ther Ag	gree or	Disagree=3	3 [A] Agre	e=4 [SA] \$	Strong	gly Agree=
							000 - 030				Surve	y Compar	isons	;
Labs	and Online Learning Questions		SD	D	Res	ponses (% A) SA	N C	ourse Mea	n N		All Mean		Pct
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	73		4.0		Rnk 76
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	96		4.1		73

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 5200 030 - Legal Aspects of the Criminal Justice Sy	/ster	n			I	Departr	nent:	5	5141	100			
	Responsible Faculty:	Gretchen Hackard				Respo	nses	/ Expe	cted:	2	2/9	9 (22.2	2%)		
Cour	se Evaluation Questions												n Hack		
									0.0		•	nses (%			dividual
									SD	D	Ν	A 1	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	50%	50%	2	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignme	ts that contribute to my understanding of the subject.							0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a cl	mate of respect for students.							0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me	to do my best work.							0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.							0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 50%	1 50%	2	4.5
		Responses: [SD] Strongly Disagr	ree=1	[D]	Disagr	ee=2 [N] N	leither	Agree or	Disagr	ee=3	3 [A] Agree=	4 [SA]	Strong	gly Agree
						- 5200 - 0					;	Survey	Compar	isons	
Labs	and Online Learning Questions	s			onses	(%) SA	N	Course Mean		N		M	All		Pct
									_						Rnk
Q15	The section or lab is well integ	grated into the course structure. 0	נ	0	0 0	0	0	0.0		73	_	4	.0		-
Q16	The course topics are organize	ed in a coherent fashion. 0	0	0	0 0	1 100%	1	5.0		96		4	.1		87

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 5800 030 - Topics in Criminal Justice						Departm	ent:	51	1410	00			
	Responsible Faculty:	Paul Reynolds				Respor	nses	/ Expec	ted:	3	/4	(75	%)		
-												Pau	ul Reynolo	ds	
Cour	rse Evaluation Questions									Res	spon	ses	(%)	In	dividual
	1								SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.							0	0	0	0	3 100%	3	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a cl	mate of respect for students.							0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me	to do my best work.							0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	ject.						0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject	t interesting and motivated me to learn.							0	0	0	0	3 100%	3	5.0
		Responses: [SD] Strong	ly Disagree	=1 [D] D	isagr	ee=2 [N] N	leithe	Agree or [Disagre	e=3	[A]	Agre	e=4 [SA]	Strong	gly Agree=
				C	JUS	- 5800 - 0	30			-	S	urve	y Compar	isons	
Labs	and Online Learning Questions			Respor	ses	(%)		Course					All		
	1		SD	DN	A	SA	N	Mean		N		I	Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0 0	0	1 100%	1	5.0	7	73			4.0		89
Q16	The course topics are organize	ed in a coherent fashion.	0	0 0	0	2 100%	2	5.0	9	96			4.1		87

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 5800 032 - Topics in Criminal Justi	ice						Departm	ent:	514	4100			
	Responsible Faculty:	Nahid Siddique					Respo	nses	/ Expec	ted:	2/	5 (40%	6)		
												Nahid S	Siddique		
Cour	se Evaluation Questions									Res	spon	ises (%)		In	dividual
									SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	1 50%	0	1 50%	0	2	3.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn th	ne material.						0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignmer	its that contribute to my understanding of the su	ıbject.						0	0	0	0	2 100%	2	5.0
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me	o do my best work.							0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely	eedback to guide my progress.							0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me	co connect course topics to a wider understandir	ng of the subject.						0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 50%	1 50%	2	4.5
		Responses	: [SD] Strongly Disagre	ree='	1 [D] Di	sagre	ee=2 [N] N	leither	Agree or [)isagree	=3 [A] Agree	=4 [SA]	Strong	gly Agree=
					С	JUS	- 5800 - 0	32				- Survey	' Compar	isons	
Labs	and Online Learning Questions			F	Respon	ses	(%)	0	Course				All		
			SD	D	DN	A	SA	N	Mean	N		N	lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0		0 0	0	1 100%	1	5.0	73	3		4.0		89
Q16	The course topics are organize	d in a coherent fashion.	0		0 0	0	1 100%	1	5.0	96	5		4.1		87
		Responses	:: [SD] Strongly Disagre	ree='	1 [D] Di		ee=2 [N] N Pct Rnk: P		0	0	-	- 0			

Course: FINA - 5170 010 - Financial Management						C	epartm	ent: 5	516100						
Responsible Faculty: Ajamu Loving Responsible					nses / Expected: 9 / 34 (26.47%)										
_										٨	jamu Lov	ing			
Course Evaluation Questions										Responses (%)		Individual			
								SD	D	Ν	Α	SA	Ν	Mean	
Q1	My instructor explains difficult material clearly.							0	0	1 11.1%	6 66.7%	2 22.2%	9	4.1	
Q2	22 My instructor provides facts, examples, and references that helped me learn the material.						0	0	0	6 66.7%	3 33.3%	9	4.3		
Q3	Q3 My instructor gives assignments that contribute to my understanding of the subject.						0	0	0	5 62.5%	3 37.5%	8	4.4		
Q4	My instructor provides material that helps me do well on assignments.						0	0	3 37.5%	3 37.5%	2 25%	8	3.9		
Q5	My instructor explains new ideas by relating them to familiar concepts.						0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2		
Q6	6 My instructor evaluates my work in ways that are helpful to my ability to learn.							0	1 11.1%	0	5 55.6%	3 33.3%	9	4.1	
Q7	My instructor establishes a climate of respect for students.						0	0	0	5 55.6%	4 44.4%	9	4.4		
Q8	My instructor is available to me on matters pertaining to the course.							0	1 11.1%	1 11.1%	3 33.3%	4 44.4%	9	4.1	
Q9	My instructor encourages me to do my best work.							0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3	
Q10	My instructor provides timely feedback to guide my progress.						0	1 11.1%	2 22.2%	2 22.2%	4 44.4%	9	4.0		
Q11 My instructor creates an atmosphere in which ideas can be exchanged freely.						0	0	0	5 55.6%	4 44.4%	9	4.4			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.						0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2		
Q13	My instructor encourages me to develop new viewpoints.							0	0	2 22.2%	5 55.6%	2 22.2%	9	4.0	
Q14	14 My instructor made the subject interesting and motivated me to learn.							0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2	
		Responses:	[SD] Strongly Disagr	ee=1	[D] [Disagree=	2 [N] N	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=	
	FINA - 5170 - 01							0			Survey Comparisons				
Labs and Online Learning Questions					Responses (%)			C	ourse		All				
			SD	D	N	A	SA	N	Mean	N	M	ean		Pct Rnk	
Q15	The section or lab is well inter	grated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	73		4.0		68	
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	96		4.1		63	

	Course:	HSML - 4100 040 - Chemical Addictions					D	epartme	ent: 51	8000			
	Responsible Faculty:	Shelia Lumar				Res	ponses	/ Expect	ed: 9 /	/ 33 (27.:	27%)		
									She	lia Luma	r		
Cour	se Evaluation Questions							Re	esponses	(%)		In	dividual
							SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	material clearly.					0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the n	naterial.				0	1 11.1%	0	1 11.1%	7 77.8%	9	4.6
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subje	ct.				0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q4	My instructor provides materia	I that helps me do well on assignments.					0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	1 12.5%	0	0	7 87.5%	8	4.6
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0	1 11.1%	0	4 44.4%	4 44.4%	9	4.2
Q7	My instructor establishes a cli	mate of respect for students.					0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q9	My instructor encourages me	o do my best work.					0	1 11.1%	0	4 44.4%	4 44.4%	9	4.2
Q10	My instructor provides timely	eedback to guide my progress.					0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4
Q12	My instructor encourages me	to connect course topics to a wider understanding c	f the subj	ect.			0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4
Q13	My instructor encourages me	to develop new viewpoints.					0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.					1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4
		Responses: [S	D] Strongly	/ Disagree=	1 [D] Di	sagree=2 [I	Neither	Agree or Di	sagree=3	0 33.3% 55.6 0 1 7 11.1% 77.8 0 3 55.6 0 3 55.6 0 3 55.6 0 3 55.6 0 3 55.6 0 3 55.6 0 4 44.4 1 2 66.7 1 4 44.4% 0 4 44.4 0 4 44.4% 0 3 55.6 0 2 2.2% 0 4 44.4% 0 3 3.5 0 2 2.2% 0 2 66.7 0 2 2.6 0 3 3.3.3% 55.6 0 1 7 0 3 3.3.3% 55.6 0 1 7 0		rong	ly Agree=
					HSM	IL - 4100 -	040			Surve	y Compai	rison	s
Labs	and Online Learning Questions			R	esponse	es (%)		Course	Ð		All		
			SD	D	N	Α	SA	N Me	an N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 25%	0	1 25%	0	2 50%	4 3.	5 73	3	4.0		27
Q16	The course topics are organize	d in a coherent fashion.	0	1 16.7%	0	4 66.7%	1 16.7%	6 3.5	B 96	5	4.1	N 9 9 9	21

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	HSML - 4350 040 - Community Organizing, Devel	opment and C	ollab	orat	tion			Depa	artm	ent:	51800	0		
	Responsible Faculty:	Joy Patton					Res	pons	ses / Ex	cpec	ted:	4 / 13	(30.77%	5)	
Cour	rse Evaluation Ouestions											Joy F	Patton		
coui	se Evaluation Questions									-		nses (%)	1		dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains dif	ficult material clearly.							0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides fac	cts, examples, and references that helped me learn the	material.						0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assig	nments that contribute to my understanding of the subj	ect.						0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides ma	aterial that helps me do well on assignments.							0	0	0	0	4 100%	4	5.0
Q5	My instructor explains ne	w ideas by relating them to familiar concepts.							0	0	1 25%	1 25%	2 50%	4	4.3
Q6	My instructor evaluates n	ny work in ways that are helpful to my ability to learn.							0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes	a climate of respect for students.							0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available	to me on matters pertaining to the course.							0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages	me to do my best work.							0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides tin	nely feedback to guide my progress.							0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an	atmosphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages	me to connect course topics to a wider understanding	of the subject.						0	0	1 25%	1 25%	2 50%	4	4.3
Q13	My instructor encourages	me to develop new viewpoints.							0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the s	ubject interesting and motivated me to learn.							0	0	0	2 50%	2 50%	4	4.5
		Responses: [SD] Strongly Disa	gree=1	1 [D]	Disagree=2	2 [N] Ne	either	Agree or	Disag	jree=3 [A] Agree	e=4 [SA] :	Strong	gly Agree
						HSML - 43	350 - 04	0				- Surve	y Compar	isons	:
Labs	and Online Learning Ques	tions		R	lespo	onses (%)			Course				All		
	1		SD	D	N	A	SA	N	Mear	۱.	Ν	N	/lean		Pct Rnk
Q15	The section or lab is well	integrated into the course structure.	0	0	0	1 100%	0	1	4.0		73		4.0		45
Q16	The course topics are org	anized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5		96		4.1		63

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	HSML - 4700 040 - Program Planning and Evaluat	tion					Depar	tmer	it:	5180	00			
	Responsible Faculty:	Joy Patton				Res	oonses	/ Exp	ecte	d:	5/2	0 (25%	5)		
_												Joy Pa	tton		
Cour	se Evaluation Questions									Res	sponse	es (%)		In	dividual
	I							:	D	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							1 0%	0	0	2 40%	2 40%	5	3.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	rial.						1 0%	0	2 40%	0	2 40%	5	3.4
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							1 0%	0	0	1 20%	3 60%	5	4.0
Q4	My instructor provides materia	I that helps me do well on assignments.							1 0%	0	0	2 40%	2 40%	5	3.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.							1 0%	0	2 40%	1 20%	1 20%	5	3.2
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							1 0%	0	0	2 40%	2 40%	5	3.8
Q7	My instructor establishes a cli	mate of respect for students.							1 0%	0	1 20%	1 20%	2 40%	5	3.6
Q8	My instructor is available to m	e on matters pertaining to the course.							1 0%	0	0	2 40%	2 40%	5	3.8
Q9	My instructor encourages me	o do my best work.								0	1 20%	1 20%	2 40%	5	3.6
Q10	My instructor provides timely f	eedback to guide my progress.								0	0	3 60%	1 20%	5	3.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0	1 20%	1 20%	2 40%	5	3.6
Q12	My instructor encourages me	co connect course topics to a wider understanding of the	e subject.							0	2 40%	1 20%	1 20%	5	3.2
Q13	My instructor encourages me	o develop new viewpoints.								0	2 40%	1 20%	1 20%	5	3.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.								0	1 20%	2 40%	1 20%	5	3.4
		Responses: [SD] St	rongly Disa	igree=	1 [D] Dis	agree=2 [N] Neithe	Agree	20% 0 20% 20% 1 0 0 3 20% 0 1 1 20% 0 1 20% 1 20% 0 20% 1 0 2 1 20% 0 2 1 20% 0 2 1 20% 0 2 1 20% 1 2 2 1 0 2 1 20% 0 1 2 1 0 1 2 20% 0 1 2 20% 0 1 2 20% 0 1 2 20% 0 1 2 20% 0 1 2 20% 1 3 40%				4 [SA] s	Strong	ly Agree=5
						L - 4700 -	040		20% 60% 20% 1 0 1 1 2 20% 0 1 1 2 40% 1 20% 20% 40% 20% 20% 1 0 2 1 1 1 20% 0 2 1 1 1 20% 0 2 1 1 1 20% 0 2 1 1 2 1 0 2 40% 20% 20% 20% 0 1 2 1 20% 20% 0 1 2 1 20% ee or Disagree=3 [A] Agree=4 [SA 3 3				-	rison	s
Labs	and Online Learning Questions			R	esponse	s (%)		Cou	rse				All		Det
			SD	D	N	A	SA	N	lean		N	N	lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7		73		4.0		18
Q16	The course topics are organize	d in a coherent fashion.	1 20%	0	0	2 40%	2 40%	5	3.8		96		4.1		18

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	LAW - 7104 001 - Legal Methods					D	epartn	nent:	LawSo	chool			
	Responsible Faculty:	Meijken Westenskow				Res	ponses /	/ Expe	cted:	16/4	7 (34	.04%)		
									Me	ijken W	estens	skow		
Cour	se Evaluation Questions								Respor	nses (%)			Ind	lividual
							SD	D	N	1	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0	1 6.3%	1 6.3		6 7.5%	8 50%	16	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the r	naterial.				0	0	1 6.3		6 7.5%	9 56.3%	16	4.5
Q3	My instructor gives assignmer	its that contribute to my understanding of the subje	ect.				0	1 6.3%	2 12.		8 0%	5 31.3%	16	4.1
Q4	My instructor provides materia	al that helps me do well on assignments.					0	1 6.3%	3 18.		8 0%	4 25%	16	3.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	2 12.5%	2 5 12.		5 .3%	7 43.8%	16	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0	2 12.5%	, c		11 3.8%	3 18.8%	16	3.9
Q7	My instructor establishes a cli	mate of respect for students.					0	1 6.3%	C		5 .3%	10 62.5%	16	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	1 6.3		4 5%	11 68.8%	16	4.6
Q9	My instructor encourages me t	to do my best work.					0	0	1 6.3		5 .3%	10 62.5%	16	4.6
Q10	My instructor provides timely f	eedback to guide my progress.					0	3 18.8%	4 25		4 5%	5 31.3%	16	3.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0	1 6.3		5 .3%	10 62.5%	16	4.6
Q12	My instructor encourages me t	to connect course topics to a wider understanding o	of the sub	ject.			0	0	1 6.3		7 3.8%	8 50%	16	4.4
Q13	My instructor encourages me t	to develop new viewpoints.					1 6.3%	0	3 18.		7 3.8%	5 31.3%	16	3.9
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0	2 13.3%	3 5 20		8 3.3%	2 13.3%	15	3.7
		Responses: [S	D] Strong	ly Disagree	=1 [D] Disa	agree=2 [N] Neither A	gree or l	Disagree	e=3 [A] A	Agree=4	4 [SA] St	rongly	/ Agree=5
					LAW -	7104 - 00	1				Surve	y Compa	rison	s
Labs	and Online Learning Questions			Re	sponses	(%)		Cou	irse			All		
			SD	D	N	Α	SA	NI	Mean	N	1	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 12.5%	1 12.5%	1 12.5%	3 37.5%	2 25%	8	3.5	73		4.0		27
Q16	The course topics are organize	ed in a coherent fashion.	0	1 9.1%	1 9.1%	6 54.5%	3 27.3%	11	4.0	96		4.1		32

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	LAW - 7104 002 - Legal Methods					De	epartmo	ent: L	awSchoo	l		
	Responsible Faculty:	Meijken Westenskow				Resp	onses /	Expect	ted: 1	3 / 46 (28	3.26%)		
									Meijke	en Westen	skow		
Cour	se Evaluation Questions							R	esponse	s (%)		Ind	lividual
							SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0	0	3 25%	5 41.7%	4 33.3%	12	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the m	naterial.				0	1 7.7%	1 7.7%	7 53.8%	4 30.8%	13	4.1
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subje	ct.				3 23.1%	1 7.7%	2 15.4%	2 5 15.4%	5 38.5%	13	3.4
Q4	My instructor provides materia	I that helps me do well on assignments.					0	2 16.7%	3 25%	3 25%	4 33.3%	12	3.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	2 15.4%	3 23.1%	4 30.8%	4 30.8%	13	3.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					1 7.7%	0	2 15.4%	4 30.8%	6 46.2%	13	4.1
Q7	My instructor establishes a cli	mate of respect for students.					1 7.7%	0	1 7.7%	5 38.5%	6 46.2%	13	4.2
Q8	My instructor is available to m	e on matters pertaining to the course.					0	1 7.7%	1 7.7%	5 38.5%	6 46.2%	13	4.2
Q9	My instructor encourages me	to do my best work.					0	1 7.7%	1 7.7%	4 30.8%	7 53.8%	13	4.3
Q10	My instructor provides timely f	eedback to guide my progress.					1 7.7%	0	2 15.4%	5 38.5%	5 38.5%	13	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					1 7.7%	0	0	6 46.2%	6 46.2%	13	4.2
Q12	My instructor encourages me	o connect course topics to a wider understanding o	f the subj	ect.			0	0	4 30.8%	4 30.8%	5 38.5%	13	4.1
Q13	My instructor encourages me	to develop new viewpoints.					1 7.7%	0	1 7.7%	5 38.5%	6 46.2%	13	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.					2 15.4%	2 15.4%	1 7.7%	4 30.8%	4 30.8%	13	3.5
		Responses: [S	D] Strongly	Disagree=	1 [D] Disa	igree=2 [N	Neither A	gree or Di	isagree=3	[A] Agree	=4 [SA] St	rongly	Agree=5
_						7104 - 00	2	1		Surv	ey Compa	rison	s
Labs	and Online Learning Questions			Re	sponses	(%)	1	Cour	se		All		_
			SD	D	N	A	SA	N M	ean	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	3 37.5%	1 12.5%	1 12.5%	3 37.5%	8 3	3.5	73	4.0		27
Q16	The course topics are organize	d in a coherent fashion.	1 11.1%	2 22.2%	1 11.1%	3 33.3%	2 22.2%	9 3	8.3	96	4.1		8

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	LAW - 7104 501 - Legal Methods					C)epa	rtm	ent:	LawScho	ol		
	Responsible Faculty:	Meijken Westenskow				Res	ponses	/ Ex	pect	ed:	12 / 44 (2	27.27%)		
										Ν	/leijken W	estenskov	v	
Cour	se Evaluation Questions									Resp	onses (%)		Inc	lividual
	1							SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	0	0	5 41.7%	7 58.3%	12	4.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	aterial.					0	0	0	6 50%	6 50%	12	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subjec	t.					0	0	0	3 27.3%	8 72.7%	11	4.7
Q4	My instructor provides materia	l that helps me do well on assignments.						0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	5 41.7%	7 58.3%	12	4.6
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	3 25%	9 75%	12	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	3 25%	9 75%	12	4.8
Q9	My instructor encourages me	o do my best work.						0	0	0	3 25%	9 75%	12	4.8
Q10	My instructor provides timely f	eedback to guide my progress.						0	0	0	6 50%	6 50%	12	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	3 27.3%	8 72.7%	11	4.7
Q12	My instructor encourages met	o connect course topics to a wider understanding of	the su	bject.				0	0	0	3 25%	9 75%	12	4.8
Q13	My instructor encourages me	o develop new viewpoints.						0	0	0	3 25%	9 75%	12	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	1 8.3%	3 25%	8 66.7%	12	4.6
		Responses: [SD] Stron	gly Disagre	e=1 [D] Dis	sagree=2 [I	Neither	Agree	e or Di	sagree=	3 [A] Agre	e=4 [SA] \$	Strongl	y Agree=
					LAW	- 7104 -	501				Sur	vey Compa	arison	s
Labs	and Online Learning Questions			1	Response	s (%)	1		ours	e		All		
	1		SD	D	N	A	SA	N	Me	an	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.	7	73	4.0		35
Q16	The course topics are organize	d in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.	3	96	4.1		53

sponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH						I	Departmo	ent:	La	wSchoo	ol		
	Responsible Faculty:	Bailey Eagin				Re	espor	ses	/ Expect	ed:	2	/ 6 (33.3	33%)		
												Baile	y Eagin		
Cour	se Evaluation Questions									F	Respo	onses (%)	In	dividual
									SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the materia	al.						0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignmen	nts that contribute to my understanding of the subject.							0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	0	2 100%	0	2	4.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	2 100%	0	2	4.0
Q7	My instructor establishes a cl	imate of respect for students.							0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me	to do my best work.							0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	subject.						0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subjec	st interesting and motivated me to learn.							0	0	0	2 100%	0	2	4.0
		Responses: [SD] Stro	ongly Disagr	ee=1	[D]] Disagree=2	[N] N	either	Agree or Di	sagr	ee=3	[A] Agree	e=4 [SA] :	Strong	gly Agree=
						LAW - 710	8 - 50	1			-	Survey	/ Compar	isons	
Labs	and Online Learning Questions	3		Re	esp	onses (%)		(Course				All		
			SD	D	N	A	SA	Ν	Mean		N	N	/lean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	C	0 0	0	0	0.0		73		4.0	% 2 % 2	-
Q16	The course topics are organize	ed in a coherent fashion.	0	0	C) 1 100%	0	1	4.0		96		4.1		32

: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	LAW - 7110 501 - Criminal Law Topics							Depart	men	t:	Lav	vScho	ol		
	Responsible Faculty:	Ignacio Perez de la cruz					Respor	nses	/ Exp	ecte	d:	2/	14 (14	4.29%)		
_										rse All Itean N Mean 5.0 73 4.0			cruz			
Cour	se Evaluation Questions									Ignacio Perez de Ignacio Perez Ignacio Perez Ignacio Perez de Ignacio Perez Ignaci Perez Ignacio Perez Ignacio Perez Ignacio Perez Ignacio Perez I		%)	In	dividual		
										SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.								0	0	0			2	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.								0	0	0			2	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.								0	0	0	0		2	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.								0	0	0	0		2	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.								0	0	0			2	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.								0	0	0	0		2	5.0
Q7	My instructor establishes a cli	mate of respect for students.								0	0	0	0		2	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.								0	0	0	0		2	5.0
Q9	My instructor encourages me	to do my best work.								0	0	0	0		2	5.0
Q10	My instructor provides timely	eedback to guide my progress.								0	0	0	0		1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0	0	0	0		2	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subjec	t.							0	0	0	0	SA 50% 1 50% 1 50% 2 100% 2 100% 2 100% 2 100% 2 100% 2 100% 2 100% 2 100% 1 100% 2 100% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% 1 00% <		5.0
Q13	My instructor encourages me	to develop new viewpoints.								0	0	0			2	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.								0	0	0			2	4.5
		Responses: [SD] Strongly D	isagree	=1 [D]	Disa	gree	e=2 [N] N	leithe	Agreeo	r Disa	gree	e=3 [A] Agre	e=4 [SA]	Stron	gly Agree=5
					LAV	w -	7110 - 5	01		SD D N A SA 0 0 0 1 50% 1 0 0 0 1 50% 1 0 0 0 1 50% 1 0 0 0 1 50% 1 0 0 0 1 10% 0 0 0 0 2 0 0 0 1 1 0 0 0 1 1 0 0 0 1 1 0 0 0 0 2 0 0 0 0 2 0 0 0 0 2 0 0 0 0 2 0 0 0 1 10% 0 0 1 50% 50% 0 0 1 50% 50%			isons			
Labs	and Online Learning Questions			Resp	onse	es ((%)		Course					All		
			SD	D	N	A	SA	N	Mea	n	N	I	N	/lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	1 100%	1	5.0		73	3		4.0		89
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	0	1 100%	1	5.0		96	6		4.1		87
		Responses: [SD] Strongly D	isagree	=1 [D]	Disa	•			0		•					,, ,

	Course:	LAW - 7296 002 - Capstone III						0	epartm	ent: La	awSchoo	ol		
	Responsible Faculty:	Everett Chambers					Respor	ises	/ Expect	ted: 3	/ 18 (16.	.67%)		
										Eve	rett Cham	bers		
Cour	se Evaluation Questions								I	Response	es (%)		Inc	dividual
								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q4	My instructor provides materia	I that helps me do well on assignments.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q7	My instructor establishes a cli	mate of respect for students.						0	2 66.7%	0	0	1 33.3%	3	3.0
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 33.3%	0	2 66.7%	3	4.3
Q9	My instructor encourages me	o do my best work.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely	eedback to guide my progress.						0	2 66.7%	0	0	1 33.3%	3	3.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subject	t.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	o develop new viewpoints.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	1 33.3%	0	0	2 66.7%	3	4.0
		Responses: [SD] Strongly D	isagree	=1 [D]	Disa	agre	e=2 [N] N	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5
					LA	w	- 7296 - 00)2		-	Survey		ons	
Labs	and Online Learning Questions			Resp	ons	es	(%)	С	ourse			All		
			SD			Α	SA	N	Mean	N		ean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	0	0	0.0	73	4	4.0		-
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	1 100%	1	5.0	96	4	1.1		87
		Responses: [SD] Strongly D	isagree	=1 [D]	Disa		e=2 [N] N							

agree=1 [D] Disagree=2 [N] Netther Agree of Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MGMT - 3340 011 - Introduction to the Global Aut	o Indu	ıstr	<i>y</i>			De	epartm	ent: 51	6100			
	Responsible Faculty:	Cathy Scott				R	espons	es /	Ехрес	ted: 3	/ 33 (9.0	9%)		
Cour	se Evaluation Questions									C	Cathy Sco	tt		
Cours	se Evaluation Questions								I	Response	es (%)		In	dividual
								SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.					0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	2 66.7%	0	1 33.3%	3	3.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	3 100%	0	3	4.0
Q7	My instructor establishes a cli	mate of respect for students.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q9	My instructor encourages me	to do my best work.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q10	My instructor provides timely	eedback to guide my progress.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subjec	ct.				0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 33.3%	2 66.7%	0	3	3.7
Q14	My instructor made the subject	t interesting and motivated me to learn.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
		Responses: [SD] St	rongly [)isag	jree=1 [D]	Disagree=2	[N] Neit	her A	gree or D	isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5
					М	GMT - 334	0 - 011				Surve	y Compar	isons	;
Labs	and Online Learning Questions				Respor	nses (%)			Course			All		
			SD	D	N	Α	SA	N	Mea	n N		Vlean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	73		4.0		56
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	96		4.1		32

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MGMT - 4300 010 - Recruitment, Selection and Place	ement						Depar	tmen	it:	516	5100			
	Responsible Faculty:	Elizabeth Muniz					Respo	nses	/ Exp	ecte	d:	5/	30 (16	5.67%)		
C	rea Fueluation Questions												Elizab	eth Muni	z	
Cour	rse Evaluation Questions										-	•	nses (%			dividual
										SD	D	Ν	A	SA 5	N	Mean
Q1	My instructor explains difficult	material clearly.								0	0	0	0	100%	5	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.								0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.								0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides materia	I that helps me do well on assignments.								0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.								0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.								0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor establishes a cli	mate of respect for students.								0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.								0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me	o do my best work.								0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely f	eedback to guide my progress.								0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me	o connect course topics to a wider understanding of the sul	ject.							0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me	o develop new viewpoints.								0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.								0	0	0	1 20%	4 80%	5	4.8
		Responses: [SD] Strong	ly Disagree	e=1 [[D] Di	sagre	e=2 [N] N	Veithe	Agree	or Disa	igree	=3 [/	A] Agre	e=4 [SA]	Strong	gly Agree=
							- 4300 -						- Surve	y Compar	isons	;
Labs	and Online Learning Questions		SD	Res	spon N	ses ((%) SA	N	Course Mea	n	N		N	All /lean		Pct
015	The exertion or lab is well inter	roted into the equirae atrusture		0	0	0	1	1			73					Rnk
Q15	The section or lab is well integ		0	U	U	U	100%		5.0		/:	,		4.0		89
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	1 100%	1	5.0		96	5		4.1		87

nses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MGMT - 4300 011 - Recruitment, Selection and Placer	nent					D	ера	rtm	ent: 5	16100			
	Responsible Faculty:	Elizabeth Muniz					Respor	ises ,	/ Ex	pec	ted: 6	5 / 30 (20)%)		
C	as Fusivation Quantiana											Elizabeth	Muniz		
Cour	se Evaluation Questions										-	nses (%)	1	1 1	dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me	o do my best work.							0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor encourages met	o connect course topics to a wider understanding of the subj	ct.						0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	3 50%	3 50%	6	4.5
		Responses: [SD] Strongly	Disagree	=1 [D] Di	sagre	e=2 [N] N	either A	Agree	eorD)isagree=3	3 [A] Agree	e=4 [SA] S	Strong	gly Agree=
					M	GMT	- 4300 - (D11				Survey	y Compari	sons	
Labs	and Online Learning Questions			Res	pon	ses	(%)	C	ours	e			All		
	1		SD	D	N	A	SA	N	Me	ean	N	N	lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	0	0	0.	.0	73		4.0		-
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	1 100%	1	5.	.0	96		4.1		87

tesponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MGMT - 5140 010 - Organizational Behavior and A	nalysis					D	epartm	ent	t: 5	516100			
	Responsible Faculty:	Frances Conner				1	Respons	es /	Expec	ted	l:	6 / 23 (2	6.09%)		
Cour	se Evaluation Questions												es Conner		
									SD	D	Res N	ponses (% A	s) SA	In N	dividual Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	ıl.						0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	6 100%	6	5.0
Q9	My instructor encourages me	to do my best work.							0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely	eedback to guide my progress.							0	0	0	1 16.7%	5 83.3%	6	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject.						0	0	0	0	6 100%	6	5.0
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	0	6 100%	6	5.0
Q14	My instructor made the subject	t interesting and motivated me to learn.							0	0	0	1 16.7%	5 83.3%	6	4.8
		Responses: [SD] Stro	ngly Dis	agree	=1 [Disagree=	2 [N] Nei	her A	gree or [)isag	gree=	3 [A] Agre	ee=4 [SA] :	Strong	gly Agree=
Labo	and Online Learning Questions					MGMT - 5	140 - 010					Surv	ey Compai	rison	\$
Laus	and online Learning Questions		SD	D	N	oonses (%) A	SA	N	Course Mear	1	N		All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 50%	1 50%	2	4.5		73	3	4.0		68
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7		96	5	4.1		69

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MKTG - 3650 010 - Foundations of Marketing Pract	ice					De	partn	nent: 5	516100			
	Responsible Faculty:	Gary Holmes					Respons	ses /	Ехрес	cted:	5 / 29 (20	0.69%)		
Cour	se Evaluation Questions										Gary Ho	lmes		
ooui	se Evaluation Questions									-	nses (%)		-	dividual
Q1	My instructor explains difficul	t material clearly.						s		N 0	A	SA	N 5	Mean 4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	Ι.					(0 0	0	80% 4 80%	20% 1 20%	5	4.2
Q3	My instructor gives assignme	ts that contribute to my understanding of the subject.						(0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.						(0	0	2 40%	3 60%	5	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.						(0 0	1 20%	2 40%	2 40%	5	4.2
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.						(0	1 20%	2 40%	2 40%	5	4.2
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						(0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me	to do my best work.						0	0 0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely	feedback to guide my progress.						(0	1 16.7%	2 33.3%	3 50%	6	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						(0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject.					(0	4 66.7% 3	2 33.3% 2	6	4.3
	My instructor encourages me							(1 16.7% 1	50%	2 33.3% 1	6	4.2
Q14	My instructor made the subject	t interesting and motivated me to learn.						(0	16.7%	4 66.7%	16.7%	6	4.0
		Responses: [SD] Stro	ngly Dis	agree	e=1 [I	D] Disagree	=2 [N] Nei	ther Ag	gree or l	Disagree=				
Labs	and Online Learning Questions				Pac	MKTG - 3 ponses (%)			ourse		Surve	y Compar All	isons	s
_000			SD	D	N	A	SA	N	Mea	n N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	0	4 66.7%	2 33.3%	6	4.3	73		4.0		56
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	96		4.1		63

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	MKTG - 3650 011 - Foundations of Marketing Practi	ce					D	epar	tme	nt: 51	6100			
	Responsible Faculty:	Gary Holmes					Respons	ses /	/ Exp	ecte	ed: 4 /	′ 31 (12.9	90%)		
0												Gary Hol	mes		
Cour	se Evaluation Questions										Respons	ses (%)	1	In	dividual
	I								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	3 75%	1 25%	4	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	3 75%	1 25%	4	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	3 75%	1 25%	4	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	3 75%	1 25%	4	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	3 75%	1 25%	4	4.3
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	1 33.3%	2 66.7%	0	3	3.7
Q9	My instructor encourages me	o do my best work.							0	0	0	3 75%	1 25%	4	4.3
Q10	My instructor provides timely	eedback to guide my progress.							0	0	1 25%	2 50%	1 25%	4	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	3 75%	1 25%	4	4.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	bject.						0	0	0	3 75%	1 25%	4	4.3
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	3 75%	1 25%	4	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	3 75%	1 25%	4	4.3
		Responses: [SD] Stron	gly Disa	agre	e=1 [Disagree	=2 [N] Nei	ther A	gree	or Dis	agree=3	Agree=	4 [SA] S	Strong	gly Agree=
						MKTG - 3	3650 - 011				-	Survey	Compar	ison	s
Labs	and Online Learning Questions				Res	ponses (%)		Cours	e			All		
	1		SD	D	N	Α	SA	N	Me	ean	N	M	ean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4	.3	73	4	.0		56
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	3 75%	1 25%	4	4	.3	96	4	.1		44

ionses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MKTG - 5150 010 - Marketing Management					D	ера	artmo	ent:	516100			
	Responsible Faculty:	Gary Holmes				Res	ponses	/ E>	cpect	ted:	9 / 38 (23	8.68%)		
.	rse Evaluation Questions										Gary Ho	olmes		
Cour	rse Evaluation Questions						_				onses (%)	1	-	dividual
	1							SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.						0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	terial.					0	0	0	3 33.3%	6 66.7%	9	4.7
QЗ	My instructor gives assignmen	ts that contribute to my understanding of the subject						0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides materia	I that helps me do well on assignments.						0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	4 44.4%	5 55.6%	9	4.6
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q9	My instructor encourages me t	to do my best work.						0	0	0	4 50%	4 50%	8	4.5
Q10	My instructor provides timely f	eedback to guide my progress.						0	0	0	4 44.4%	5 55.6%	9	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me t	co connect course topics to a wider understanding of t	he sul	bject.				0	0	0	4 44.4%	5 55.6%	9	4.6
Q13	My instructor encourages me t	o develop new viewpoints.						0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	4 44.4%	5 55.6%	9	4.6
		Responses: [SD]	Strong	gly Disagre	e=1 [D] Dis	sagree=2 [N] Neither	Agre	e or Di	isagree=	=3 [A] Agre	e=4 [SA] S	Strong	gly Agree=
					мкто	G - 5150 -	010	1			Surv	vey Compa	ariso	ns
Labs	s and Online Learning Questions				Response	s (%)			Cours	e		All		
	1		SD	D	N	Α	SA	N	Me	an	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.	5	73	4.0		68
Q16	The course topics are organize	d in a coherent fashion.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.	3	96	4.1		47

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MUED - 1130 001 - Foundations in Music						De	epartn	nent:	518200			
	Responsible Faculty:	Ruth Guevara					Respons	ses /	Expe	ted:	9 / 30 (30	1%)		
_											Ruth Gu	evara		
Cour	se Evaluation Questions									Respo	nses (%)		In	dividual
	1							S	D D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0 0	2 22.2%	4 44.4%	3 33.3%	9	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0 0	0	5 55.6%	4 44.4%	9	4.4
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0 0	0	5 55.6%	4 44.4%	9	4.4
Q4	My instructor provides materia	I that helps me do well on assignments.							0 0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0 0	2 22.2%	4 44.4%	3 33.3%	9	4.1
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0 0	0	5 55.6%	4 44.4%	9	4.4
Q7	My instructor establishes a climate of respect for students.								0 0	0	5 55.6%	4 44.4%	9	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.							0 0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q9	My instructor encourages me	o do my best work.							0 0	0	5 55.6%	4 44.4%	9	4.4
Q10	My instructor provides timely f	eedback to guide my progress.							0 0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0 0	0	5 55.6%	4 44.4%	9	4.4
Q12	My instructor encourages met	to connect course topics to a wider understanding of the su	bject.						0 0	0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor encourages me	to develop new viewpoints.							0 0	0	6 66.7%	3 33.3%	9	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0 0	0	5 55.6%	4 44.4%	9	4.4
		Responses: [SD] Stron	gly Disa	agree	≔1 [I	D] Disagree	=2 [N] Nei	ther A	gree or	Disagree=	3 [A] Agre	e=4 [SA] S	Strong	gly Agree=
							130 - 001				Surve	y Compar	isons	;
Labs	and Online Learning Questions		SD	D	Res N	ponses (% A) SA	N	ourse Mea	n N		All Mean		Pct
015	The section call is a list				_	а 1	3A 1							Rnk
		rated into the course structure.	0	0	0	50% 2	50%	2	4.5	7:		4.0		68
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 66.7%	33.3%	3	4.3	96	5	4.1		53

sponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MUED - 1130 002 - Foundations in Music							Depart	men	t:	518	3200			
	Responsible Faculty:	Ruth Guevara					Respo	nses	/ Exp	ected	l:	2 /	30 (6.6	7%)		
													Ruth G	Suevara		
Cour	rse Evaluation Questions										Re	espo	onses (%)	1	In	dividual
	1									SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.								0	0	0	2 100%	0	2	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.								0	0	0	2 100%	0	2	4.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.								0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides materia	I that helps me do well on assignments.								0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.								0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.								0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a cli								0	0	0	1 100%	0	1	4.0	
Q8	My instructor is available to m								0	0	0	2 100%	0	2	4.0	
Q9	My instructor encourages me	o do my best work.								0	0	0	2 100%	0	2	4.0
Q10	My instructor provides timely f	eedback to guide my progress.								0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subj	ct.							0	0	0	2 100%	0	2	4.0
Q13	My instructor encourages me	o develop new viewpoints.								0	0	0	2 100%	0	2	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.								0	0	0	2 100%	0	2	4.0
		Responses: [SD] Strongly	Disagree	=1 [D]	Dis	sagre	e=2 [N] N	leithe	Agreed	rDisa	gree	=3 [A] Agree=	4 [SA]	Stron	gly Agree=
					м	UED	- 1130 - (002					- Survey	-	isons	;
Labs	and Online Learning Questions			Resp		Ì			Course				_	All		Pct
			SD	D	N	Α	SA	N	Mea	n	Ν		Me	ean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	1 100%	1	5.0		73	3	4	.0		89
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	1 100%	1	5.0		96	5	4	.1		87

D) Strongly Disagree=1 [D] Disagree=2 [N] Netther Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	PADM - 5030 030 - Managing Human Resources						I	Departr	nen	t: !	514240			
	Responsible Faculty:	Karen Jarrell					Respor	ises	/ Expe	ctec	l:	3 / 17 (1	7.65%)		
												Kare	n Jarrell		
Cour	se Evaluation Questions										Res	ponses (%	5)	In	dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materi	al.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides materia	l that helps me do well on assignments.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a cli							0	0	0	1 33.3%	2 66.7%	3	4.7	
Q8	My instructor is available to m	<i>I</i> y instructor is available to me on matters pertaining to the course.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me t	o do my best work.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the	subject.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 33.3%	2 66.7%	3	4.7
		Responses: [SD] Str	ongly Disagree	1 [D] Dis	sagre	e=2 [N] N	either	Agreeor	Disa	gree=	3 [A] Agre	æ=4 [SA] \$	Strong	gly Agree
1 a h -	and Online Learning Outstiers			_			- 5030 - 0	1				Surve	y Compar	isons	:
Laus	and Online Learning Questions		SD	Res D	N	es (%) SA	N	Course Mean		N		All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	1 100%	1	5.0		73		4.0		89
Q16	The course topics are organize	d in a coherent fashion.	1	0	0	0	1 50%	2	3.0		96		4.1		5

nses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	PADM - 5900 030 - Special Problems						De	partme	nt:	514	4240			
	Responsible Faculty:	Janiece Upshaw					Respon	ses /	Expecte	ed:	6/	/ 9 (66.6	7%)		
											Jar	niece Ups	haw		
Cour	se Evaluation Questions								R	espo	nse	es (%)		In	dividual
								SE	D		Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						1 16.7	· _% 0		0	1 16.7%	4 66.7%	6	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	I.					1 16.7	% 0		0	0	5 83.3%	6	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.						1 16.7	· _% 0		0	1 16.7%	4 66.7%	6	4.2
Q4	My instructor provides materia	I that helps me do well on assignments.						1 20'	6 0		0	1 20%	3 60%	5	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.						1 16.7	% 0		0	0	5 83.3%	6	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						1 16.7	% 0		0	1 16.7%	4 66.7%	6	4.2
Q7	My instructor establishes a cli						1 16.7	% 0		0	0	5 83.3%	6	4.3	
Q8	My instructor is available to m	e on matters pertaining to the course.						1 16.7	% 0		0	1 16.7%	4 66.7%	6	4.2
Q9	My instructor encourages me	o do my best work.						1 16.7			0	1 16.7%	4 66.7%	6	4.2
Q10	My instructor provides timely f	eedback to guide my progress.						1 16.7	1% 16. 16.	7%	0	1 16.7%	3 50%	6	3.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						1 16.7	% 0		0	1 16.7%	4 66.7%	6	4.2
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject.					1 16.7 1	% 0		0	1 16.7%	4 66.7%	6	4.2
Q13	My instructor encourages me	to develop new viewpoints.						16.7	% 0		0	1 16.7%	4 66.7%	6	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.						1 16.7	% 0		0	1 16.7%	4 66.7%	6	4.2
		Responses: [SD] Stro	ngly Disagree	:1 [D] Dis	agre	e=2 [N] Ne	ither A	gree or Dis	agree	=3	[A] Agree=	=4 [SA] S	trong	ly Agree=
l ahe	and Online Learning Questions			Resp			5900 - 030		ourse		-	Survey	Compari All	sons	;
_400	and chinic Learning questions		SD	D	N	A	SA	N	Mean	P	1	м	lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	2 100%	2	5.0	7	3		4.0		89
Q16	The course topics are organize	d in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	9	6		4.1		11

esponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Q16 The course topics are organized in a coherent fashion.

Course:	PLDR - 5360 030 - Public Health Leadership							De	partmo	ent:	51424	10			
Responsible Faculty:	William Garner					Resp	ons	es /	Expect	ed:	1/10	0 (10%)			
Course Evaluation Questions											Willi	am Garr	ner		
oblise Evaluation Questions									D		ponses N	(%) A	SA	In N	dividual Mean
Q1 My instructor explains difficu	It material clearly.										1 100%	0	0	1	3.0
Q2 My instructor provides facts,	examples, and references that helped me learn the material								0 1 10		0	0	0	1	2.0
Q3 My instructor gives assignme	ents that contribute to my understanding of the subject.								D C)	1 100%	0	0	1	3.0
Q4 My instructor provides mater	ial that helps me do well on assignments.								0 10		0	0	0	1	2.0
Q5 My instructor explains new id	eas by relating them to familiar concepts.								0 10		0	0	0	1	2.0
Q7 My instructor establishes a c	limate of respect for students.								D C)	0	1 100%	0	1	4.0
Q8 My instructor is available to r	ne on matters pertaining to the course.								D C)	1 100%	0	0	1	3.0
Q9 My instructor encourages me	to do my best work.								D C)	0	1 100%	0	1	4.0
Q10 My instructor provides timely	feedback to guide my progress.								o c)	1 100%	0	0	1	3.0
Q11 My instructor creates an atm	osphere in which ideas can be exchanged freely.								D C)	1 100%	0	0	1	3.0
Q12 My instructor encourages me	to connect course topics to a wider understanding of the su	ubject.							o ()	1 100%	0	0	1	3.0
Q13 My instructor encourages me	to develop new viewpoints.								o d)	1 100%	0	0	1	3.0
Q14 My instructor made the subje	ct interesting and motivated me to learn.								0 0)	1 100%	0	0	1	3.0
	Responses: [SD] Stron	ngly Dis	ag	jree=	1 [D] Dis	agree=2 [N]	Neith	ner Ag	gree or Di	sagre	e=3 [A] /	Agree=4	[SA] S	Strong	ly Agree=
	_					R - 5360 - 0	030				S	urvey Co		isons	;
Labs and Online Learning Questior	IS .				esponse				ourse				411		Pct
		SD		D	N 1		SA	N	Mean		N	Mea			Rnk
Q15 The section or lab is well inte	grated into the course structure.	0		0	100%	0	0	1	3.0		73	4.0			21

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

0

1

4.0

96

4.1

32

1

100%

0 0 0

	Course:	SPAN - 1010 030 - Elementary Spanish I						0	Departm	ent: 5	14120			
	Responsible Faculty:	Rosa Barrett				R	espor	ises	/ Expec	ted: 3	8 / 25 (12	%)		
											Rosa Barre	ett		
Cour	se Evaluation Questions									Respons	es (%)		In	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	t material clearly.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q9	My instructor encourages me	to do my best work.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely	feedback to guide my progress.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subje	ct.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	2 66.7%	1 33.3%	3	4.3
		Responses: [SD] Strongly	Disagre	e=1	[D] [Disagree=2	[N] N	either	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5
					s	PAN - 10	10 - 03	30			Survey	Comparis	ons	
Labs	and Online Learning Questions			Re	espoi	nses (%)		C	Course			All		
			SD	D	N	Α	SA	N	Mean	N	M	ean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	1 100%	0	1	4.0	73		4.0		45
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	1 100%	0	1	4.0	96		4.1		32
		Responses: [SD] Strongly	Disagre	e=1	[D] [B [A] Agree			

Strongly Disagree=1 [D] Disagree=2 [N] Netther Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	SPAN - 2040 030 - Intermediate Spanish I						Dep	artmer	nt:	514	120			
Respons	sible Faculty:	Sheryl Santos-Hatchett				R	esponse	s / E	pecte	d:	4 /	17 (23	8.53%)		
											Sh	eryl Sa	ntos-Hat	chett	
Course Evaluation Q	uestions									R	espo	nses (%	%)	In	dividual
									SD	D	Ν	Α	SA	Ν	Mean
Q1 My instructor	explains difficult	material clearly.							0	0	0	1 25%	3 75%	4	4.8
Q2 My instructor	provides facts, e	xamples, and references that helped me learn the mater	ial.						0	0	0	1 25%	3 75%	4	4.8
Q3 My instructor	gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 25%	3 75%	4	4.8
Q4 My instructor	provides materia	I that helps me do well on assignments.							0	0	0	1 25%	3 75%	4	4.8
Q5 My instructor	explains new ide	as by relating them to familiar concepts.							0	0	0	1 25%	3 75%	4	4.8
Q6 My instructor	evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 25%	3 75%	4	4.8
Q7 My instructor	establishes a cli	mate of respect for students.							0	0	0	1 25%	3 75%	4	4.8
Q8 My instructor i	s available to m	e on matters pertaining to the course.							0	0	0	1 25%	3 75%	4	4.8
Q9 My instructor	encourages me	o do my best work.							0	0	0	1 25%	3 75%	4	4.8
Q10 My instructor	provides timely f	eedback to guide my progress.							0	0	0	1 25%	3 75%	4	4.8
Q11 My instructor	creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12 My instructor	encourages met	co connect course topics to a wider understanding of the	subje	ct.					0	0	0	1 25%	3 75%	4	4.8
Q13 My instructor	encourages met	o develop new viewpoints.							0	0	0	0	3 100%	3	5.0
Q14 My instructor	made the subjec	t interesting and motivated me to learn.							0	0	0	1 25%	3 75%	4	4.8
		Responses: [SD] St	rongly	Disag	ree=1 [D]	Disagree=2	2 [N] Neith	er Agre	eorDisa	agree	e=3 [/	A] Agre	e=4 [SA] :	Strong	gly Agree=
					S	PAN - 204	0 - 030				-	Surv	ey Compa	rison	s
Labs and Online Lea	arning Questions				Respor	nses (%)		C	ourse				All		
			SD	D	Ν	Α	SA	N	Mean		N		Mean		Pct Rnk
Q15 The section or	lab is well integ	rated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0		73		4.0		45
Q16 The course top	oics are organize	d in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3		96		4.1		53

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 5130 010 - Accounting for Management	Depar	rtme	nt:	5161	00			
	Responsible Faculty:	Pamela Thompson	Responses / Exp	pect	ed:	5/2	8 (17.8	6%)		
•	- Fuchation Occurritory					Pa	mela Th	ompso	n	
Cour	se Evaluation Questions		_			espons			_	dividual
				SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	t material clearly.		0	0	0	3 60%	2 40%	5	4.4
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	0	3 60%	2 40%	5	4.4
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	0	3 60%	2 40%	5	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	4 80%	1 20%	5	4.2
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	3 60%	2 40%	5	4.4
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	0	0	4 80%	1 20%	5	4.2
Q7	My instructor establishes a cli	imate of respect for students.		0	0	0	3 60%	2 40%	5	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	3 60%	2 40%	5	4.4
Q9	My instructor encourages me	to do my best work.		0	0	0	3 60%	2 40%	5	4.4
Q10	My instructor provides timely	feedback to guide my progress.		0	0	1 20%	2 40%	2 40%	5	4.2
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	3 60%	2 40%	5	4.4
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me	to develop new viewpoints.		0	0	1 20%	2 40%	2 40%	5	4.2
Q14	My instructor made the subjec	t interesting and motivated me to learn.		0	0	0	4 80%	1 20%	5	4.2

	ACCT - 5130 - 010)	Survey Comparisons
Labs and Online Learning Questions	Responses (%)	Course	All
			Pot

		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	116	4.1	58
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	175	4.3	62

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ACCT - 5150 010 - The Development of Accountin	ng Th	eory				Dep	oartmei	nt: 510	5100			
	Responsible Faculty:	Pamela Thompson				R	esponses	; / E	xpecte	ed: 8 /	13 (61.	54%)		
0										Pamel	a Thomp	son		
Cour	se Evaluation Questions								Res	sponses	(%)		In	dividual
							SD		D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficul	material clearly.					0		1 12.5%	1 12.5%	1 12.5%	5 62.5%	8	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mater	ial.				0		1 12.5%	0	2 25%	5 62.5%	8	4.4
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject.					0		0	0	3 37.5%	5 62.5%	8	4.6
Q4	My instructor provides materia	al that helps me do well on assignments.					1 12.5%	6	0	1 12.5%	1 12.5%	5 62.5%	8	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0		1 12.5%	1 12.5%	1 12.5%	5 62.5%	8	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					1 12.5%	6	1 12.5%	0	1 12.5%	5 62.5%	8	4.0
Q7	My instructor establishes a cli	mate of respect for students.					0		0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.					0		0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me	to do my best work.					0		0	1 12.5%	1 12.5%	6 75%	8	4.6
Q10	My instructor provides timely	eedback to guide my progress.					0		1 12.5%	1 12.5%	0	6 75%	8	4.4
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0		0	1 12.5%	1 12.5%	6 75%	8	4.6
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subje	ct.			0		1 12.5%	0	2 25%	5 62.5%	8	4.4
Q13	My instructor encourages me	to develop new viewpoints.					0		0	1 12.5%	1 12.5%	6 75%	8	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.					0		2 25%	0	0	6 75%	8	4.3
		Responses: [SD] St	rongly	Disagree=1	[D] Disag	ree=2	[N] Neithe	rAgr	ee or Dis	agree=3 [A] Agree=	4 [SA] St	trong	ly Agree=
					ACCT -	5150) - 010				Survey	/ Compari	isons	s
Labs	and Online Learning Questions			1	sponses (Course			All		Pct
	Γ		SD	D	N	A	SA	N	Mean	N		Mean		Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	2 100%	2	5.0	110	5	4.1		91
Q16	The course topics are organize	ed in a coherent fashion.	0	1 16.7%	1 16.7%	0	4 66.7%	6	4.2	17	5	4.3		41

ses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course:	BUSI - 5190 010 - Administrative Strategy						De	partme	nt: 5	16100			
Responsible Faculty:	Ayse Goktan Bilhan				R	espons	es /	Expect	ed: 7	/ 16 (43.	75%)		
									Ays	e Goktan E	Bilhan		
Course Evaluation Questions								R	espons	es (%)		In	dividual
						:	SD	D	Ν	Α	SA	Ν	Mean
Q1 My instructor explains difficul	t material clearly.						0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q2 My instructor provides facts, e	examples, and references that helped me learn the mater	ial.					0	0	0	5 71.4%	2 28.6%	7	4.3
Q3 My instructor gives assignme	nts that contribute to my understanding of the subject.						0	0	0	5 71.4%	2 28.6%	7	4.3
Q4 My instructor provides materia	al that helps me do well on assignments.						0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q5 My instructor explains new ide	eas by relating them to familiar concepts.						0	0	0	5 71.4%	2 28.6%	7	4.3
Q6 My instructor evaluates my we	ork in ways that are helpful to my ability to learn.						0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q7 My instructor establishes a cl	imate of respect for students.						0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q8 My instructor is available to m	e on matters pertaining to the course.						0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q9 My instructor encourages me	to do my best work.						0	0	0	3 42.9%	4 57.1%	7	4.6
Q10 My instructor provides timely	feedback to guide my progress.						0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q11 My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	3 42.9%	4 57.1%	7	4.6
Q12 My instructor encourages me	to connect course topics to a wider understanding of the	subje	ct.				0	0	0	5 71.4%	2 28.6%	7	4.3
Q13 My instructor encourages me	to develop new viewpoints.						0	0	0	4 57.1%	3 42.9%	7	4.4
Q14 My instructor made the subject	pt interesting and motivated me to learn.						0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
	Responses: [SD] St	rongly [Disag	jree=1 [D]	Disagree=2	[N] Neit	her Ag	gree or Dis	sagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5
				B	USI - 5190	0 - 010				Surve	y Compar	ison	s
Labs and Online Learning Question	5			Respo	nses (%)			Course			All		
		SD	D	Ν	A	SA	N	Mear	•	N	Mean		Pct Rnk
Q15 The section or lab is well integ	grated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	1	16	4.1		42
Q16 The course topics are organiz	ed in a coherent fashion.	0	0	0	5 71.4%	2 28.6%	7	4.3	1	75	4.3		50

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 5460 030 - Correctional Practices and Progra	ms				D	epartm	ent		514100			
	Responsible Faculty:	John Coleman				Respon		•			3 / 12 (2	5%)		
		1									John	Coleman		
Cour	se Evaluation Questions									Resp	ponses (%	5)	In	dividual
								SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material						0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.						0	0	0	0	3 100%	3	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a cl	mate of respect for students.						0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me	to do my best work.						0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely	feedback to guide my progress.						0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	bject.					0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me	to develop new viewpoints.						0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	1 33.3%	2 66.7%	3	4.7
		Responses: [SD] Stron	gly Disa	igree=1	[D] Disagn	e=2 [N] Ne	ither A	gree or [)isag	jree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=
					CJUS -	5460 - 030					Surve	ey Compai	isons	:
Labs	and Online Learning Questions			Re	sponses (%)	(Course				All		
	1		SD	D N	A	SA	N	Mear	I	I	N	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0 0	0	1 100%	1	5.0		1	16	4.1		91
Q16	The course topics are organize	ed in a coherent fashion.	0	0 0	1 33.3%	2 66.7%	3	4.7		1	75	4.3		70

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 5600 030 - Advanced Criminological Theory						De	partment:	5	14100			
	Responsible Faculty:	Paul Reynolds					Respons	ses / I	xpected:	3	/ 16 (18.	75%)		
_										P	aul Reyno	olds		
Cour	rse Evaluation Questions								Res	oons	es (%)		In	dividual
								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	•					0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.						1 33.3'	6 0	0	1 33.3%	1 33.3%	3	3.3
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me	to do my best work.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely	eedback to guide my progress.						1 33.3'	6 0	0	1 33.3%	1 33.3%	3	3.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject.					0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	to develop new viewpoints.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
		Responses: [SD] Stron	ngly Disa	agree=1 [D]	Disa	agre	ee=2 [N] Nei	ther Ag	ree or Disagr	ee=3	[A] Agree	=4 [SA] S	trong	ly Agree=
				(CJUS	s -	5600 - 030				Survey	' Compari	isons	;
Labs	and Online Learning Questions			Respo	nse	s ('	%)	Co	urse			All		
			SD	D	N	A	A SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	C	0 0	0	0.0	11	6	4.1		-
Q16	The course topics are organize	d in a coherent fashion.	0	1 33.3%	0	C) 2 66.7%	3	4.0	17	5	4.3		30

tesponses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	CJUS - 5800 031 - Topics in Criminal Justice						D	epartm	ent	t: f	514100			
	Responsible Faculty:	Nahid Siddique					Respons	es /	Expec	ted	l:	3 / 9 (33	.33%)		
		·										Nahid	Siddique		
Cour	se Evaluation Questions										Res	oonses (%	5)	In	dividual
									SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult	t material clearly.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me	to do my best work.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	bject.						0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	2 66.7%	1 33.3%	3	4.3
		Responses: [SD] Strong	gly Dis	agre	e=1 [D] Disagree	=2 [N] Nei	ther A	gree or E	Disa	gree=	3 [A] Agre	e=4 [SA] \$	Strong	gly Agree=5
						CJUS - 5	800 - 031					Surv	ey Compai	risons	;
Labs	and Online Learning Questions				Res	ponses (%)	(Course				All		
			SD	D	N	A	SA	N	Mean	1	I	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 50%	1 50%	2	4.5		1	16	4.1		68
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3		1	75	4.3		55
		Responses: [SD] Strong	aly Die	oard	-1 [-2 [N] Noi	thor A	aree or [lica	-001	2 [A] Agr		Strong	nhy A groo-5

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ECON - 4020 002 - Money and Financial Institutions	De	partmer	nt: 516	5100			
	Responsible Faculty:	Mathewos Kassa	Responses /	Expecte	<mark>d:</mark> 1 /	8 (12.50)%)		
Cou	rse Evaluation Questions			R	Mat esponse	thewos K	assa	Inc	dividual
			SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.	0	0	1 100%	0	0	1	3.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignmen	nts that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	1 100%	0	0	0	1	2.0
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q9	My instructor encourages me	to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely	feedback to guide my progress.	0	1 100%	0	0	0	1	2.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q13	My instructor encourages me	to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject	st interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

	Course: ECON - 5140 010 - Managerial Economics					D	epartmo	ent: 5	516100			
	Responsible Faculty: Danielle Zanzalari				Res	ponses	/ Expect	ted:	31 / 41 (7	5.61%)		
								Dai	nielle Zanz	alari		
Cour	se Evaluation Questions						R	espons	es (%)		Inc	lividual
						SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.					3 9.7%	6 19.4%	2 6.5%	6 19.4%	14 45.2%	31	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the m	aterial.				1 3.3%	2 6.7%	3 10%	10 33.3%	14 46.7%	30	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject	et.				1 3.2%	3 9.7%	2 6.5%	11 35.5%	14 45.2%	31	4.1
Q4	My instructor provides material that helps me do well on assignments.					1 3.2%	8 25.8%	3 9.7%	7 22.6%	12 38.7%	31	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.					2 6.5%	1 3.2%	1 3.2%	14 45.2%	13 41.9%	31	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.					1 3.2%	3 9.7%	7 22.69	7 % 22.6%	13 41.9%	31	3.9
Q7	My instructor establishes a climate of respect for students.					1 3.2%	0	1 3.2%	9 29%	20 64.5%	31	4.5
Q8	My instructor is available to me on matters pertaining to the course.					1 3.2%	1 3.2%	2 6.5%	15 48.4%	12 38.7%	31	4.2
Q9	My instructor encourages me to do my best work.					1 3.2%	0	5 16.19	11 % 35.5%	14 45.2%	31	4.2
Q10	My instructor provides timely feedback to guide my progress.					3 9.7%	0	9 29%	12 38.7%	7 22.6%	31	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.					1 3.3%	0	1 3.3%	15 50%	13 43.3%	30	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of	f the subj	ect.			2 6.5%	1 3.2%	2 6.5%	14 45.2%	12 38.7%	31	4.1
Q13	My instructor encourages me to develop new viewpoints.					1 3.2%	1 3.2%	4 12.99	15 % 48.4%	10 32.3%	31	4.0
Q14	My instructor made the subject interesting and motivated me to learn.					2 6.5%	2 6.5%	5 16.19	10 % 32.3%	12 38.7%	31	3.9
	Responses: [SI) Strongly	Disagree	=1 [D] D	isagree=2 [N] Neither	Agree or Di	isagree=	3 [A] Agree	=4 [SA] S	trong	y Agree=5
					N - 5140 - 0	010			Surv	ey Compa	rison	s
Labs	and Online Learning Questions		Re	esponse	es (%)		Cours	e		All		
		SD	D	N	A	SA	N Me	ean	N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	2 8.3%	2 8.3%	2 8.3%	8 33.3%	10 41.7%	24 3.	.9	116	4.1		35
Q16	The course topics are organized in a coherent fashion.	1 3.2%	1 3.2%	2 6.5%	13 41.9%	14 45.2%	31 4.	.2	175	4.3		47

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	ENGL - 1323 030 - Computer Assisted College Wri	ting II					Dej	partme	nt:	5141	20			
	Responsible Faculty:	Robert Harris				R	espons	es / E	Expecte	ed:	5/2	4 (20.8	33%)		
Cour	se Evaluation Questions										F	Robert H	Harris		
oou	de Eraldation Questions										espons				dividual
									SD	D	N 3	A 1	SA 1	N	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	60%	20%	20%	5	3.6
Q2	My instructor provides facts, e	examples, and references that helped me learn the materi	al.						0	0	2 40%	2 40%	1 20%	5	3.8
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	1 20%	2 40%	2 40%	5	4.2
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	1 20%	2 40%	2 40%	5	4.2
Q5	My instructor explains new ide	eas by relating them to familiar concepts.							0	0	2 40%	1 20%	2 40%	5	4.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.							0	0	1 20%	2 40%	2 40%	5	4.2
Q7	My instructor establishes a cl	imate of respect for students.							0	0	1 20%	3 60%	1 20%	5	4.0
Q8	My instructor is available to m	e on matters pertaining to the course.							1 20%	0	1 20%	1 20%	2 40%	5	3.6
Q9	My instructor encourages me	to do my best work.							0	0	1 20%	2 40%	2 40%	5	4.2
Q10	My instructor provides timely	feedback to guide my progress.							1 20%	0	0	2 40%	2 40%	5	3.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.							0	0	1 20%	2 40%	2 40%	5	4.2
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subject						0	0	1 20%	3 60%	1 20%	5	4.0
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 20%	3 60%	1 20%	5	4.0
Q14	My instructor made the subject	ct interesting and motivated me to learn.							1 20%	0	0	2 40%	2 40%	5	3.8
		Responses: [SD] Stro	ongly Di	sagree=	1 [D] D	isagree=:	2 [N] Neith	ner Ag	ree or Dis	agre	e=3 [A]	Agree=	4 [SA] 8	Strong	gly Agree=5
					EN	GL - 132	23 - 030					Survey	Compa	rison	s
Labs	and Online Learning Questions	5		R	espons	es (%)		c	ourse				All		
	1		SD	D	N	A	SA	N	Mean		N		Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0 3	1 33.3%	0	2 66.7%	3	4.3		116		4.1		58
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 20%	2 40%	2 40%	5	4.2		175		4.3		44

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	GEOG - 1710 032 - Earth Science						D	epartr	nent	: 514	1000			
	Responsible Faculty:	Lynda Folts					Respon	ses	/ Expe	cted	: 2/	14 (14	.29%)		
_												Lynda	a Folts		
Cour	se Evaluation Questions										Respon	ises (%))	In	dividual
									SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, e	xamples, and references that helped me learn the ma	terial.						0	0	1 50%	0	1 50%	2	4.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject							0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.							0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	1 50%	0	1 50%	2	4.0
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	1 50%	0	1 50%	2	4.0
Q9	My instructor encourages me	to do my best work.							0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	1 50%	0	1 50%	2	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me	to connect course topics to a wider understanding of	he subject.						0	0	1 50%	0	1 50%	2	4.0
Q13	My instructor encourages me	to develop new viewpoints.							0	0	1 50%	0	1 50%	2	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	1 50%	0	1 50%	2	4.0
		Responses: [SD]	Strongly Disag	gree=`	1 [D]	Disagre	e=2 [N] Ne	either	Agree or	Disag	ree=3 [/	A] Agree	e=4 [SA] \$	Strong	gly Agree=
						GEOG -	1710 - 03	2				- Surve	y Compar	isons	:
Labs	and Online Learning Questions			R	lespo	onses (9	%)	(Course				All		
			SD	D	N	A	SA	N	Mear	1	Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 50%	1 50%	2	4.5		116		4.1		68
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	0	2 100%	2	5.0		175		4.3		92

onses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	GEOG - 1710 332 - Earth Science						[Departn	nent	: 514	4000			
	Responsible Faculty:	Lynda Folts				R	espoi	nses	/ Expe	cted	: 2/	14 (14.2	29%)		
_												Lynda	Folts		
Cour	se Evaluation Questions										•	nses (%)	1		dividual
									SD	D	N	A 2	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	100%	0	2	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	al.						0	0	0	2 100%	0	2	4.0
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.							0	0	0	2 100%	0	2	4.0
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 100%	0	2	4.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 100%	0	2	4.0
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	2 100%	0	2	4.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	2 100%	0	2	4.0
Q9	My instructor encourages me t	o do my best work.							0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me t	co connect course topics to a wider understanding of the s	subject.						0	0	0	2 100%	0	2	4.0
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	1 50%	0	1 50%	2	4.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	2 100%	0	2	4.0
		Responses: [SD] Stro	ongly Disagre	ee=1	[D] [Disagree=2	[N] N	leither	Agree or	Disag	gree=3 [A] Agree=	4 [SA] :	Strong	jly Agree=!
					G	EOG - 17	′10 - 3	32				- Survey	Compar	isons	
Labs	and Online Learning Questions			R	espo	nses (%)		C	Course				All		
			SD	D	N	Α	SA	N	Mean		Ν	r	/lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 100%	0	2	4.0		116		4.1		42
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 100%	0	2	4.0		175		4.3		30

Strongly Disagree=1 [D] Disagree=2 [N] Netther Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course: HSML - 4200 040 - Grant Proposal Research and Writing								De	epartn	nent:	518000						
Responsible Faculty: Iftekhar Amin Responsible							spons	es /	Expe	cted:	4 / 30 (13.33%)						
_											lfte	ekhar A	min				
Course Evaluation Questions										Res	ponses	oonses (%)			Individual		
									SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.									0	1 25%	2 50%	0	4	3.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.									1 25%	2 50%	1 25%	0	4	3.0		
Q3	My instructor gives assignments that contribute to my understanding of the subject.									0	1 25%	1 25%	1 25%	4	3.3		
Q4	My instructor provides material that helps me do well on assignments.								1 25%	0	1 25%	2 50%	0	4	3.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.								1 25%	1 25%	1 25%	1 25%	0	4	2.5		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.								1 25%	1 25%	0	2 50%	0	4	2.8		
Q7	My instructor establishes a climate of respect for students.								1 25%	0	1 25%	1 25%	1 25%	4	3.3		
Q8	My instructor is available to me on matters pertaining to the course.								0	2 50%	0	2 50%	0	4	3.0		
Q9	My instructor encourages me to do my best work.									1 25%	1 25%	1 25%	0	4	2.5		
Q10	My instructor provides timely feedback to guide my progress.									1 25%	0	2 50%	0	4	2.8		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.								1 25%	1 25%	0	1 25%	1 25%	4	3.0		
Q12	2 My instructor encourages me to connect course topics to a wider understanding of the subject.								1 25%	1 25%	0	2 50%	0	4	2.8		
Q13	My instructor encourages me to develop new viewpoints.									1 25%	1 25%	1 25%	0	4	2.5		
Q14	My instructor made the subject interesting and motivated me to learn.									1 25%	0	2 50%	0	4	2.8		
		Responses: [SD] St	ongly Di	sagree=1	[D] Dis	agree=2	[N] Neith	ner Ag	gree or l	Disagre	e=3 [A]	Agree=4	4 [SA] S	Strong	ly Agree=		
					HSML - 4200 - 040						Survey Comparisons						
Labs	and Online Learning Questions			Responses (%)					Course		All		All				
			SD	D	N	A	SA	N	Mea	in	Ν	I	Mean		Pct Rnk		
Q15	The section or lab is well integ	prated into the course structure.	0	1 25%	1 25%	1 25%	1 25%	4	3.5	;	116		4.1		27		
Q16	The course topics are organize	ed in a coherent fashion.	0	0	2 50%	2 50%	0	4	3.5	5	175		4.3		9		

ses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course: HSML - 4300 040 - Volunteer Development and Management								De	partme	nt: 51	t: 518000					
Responsible Faculty: Joy Patton Res							ponse	s /	Expecte	ed: 3	: 3 / 20 (15%)					
Cour	se Evaluation Questions									J	oy Patton					
									Re	sponses	ponses (%)			dividual		
							SD)	D	Ν	Α	SA	Ν	Mean		
Q1	Q1 My instructor explains difficult material clearly.								1 33.3%	0	2 66.7%	0	3	3.3		
Q2 My instructor provides facts, examples, and references that helped me learn the material.							1 33.3	%	0	0	1 33.3%	1 33.3%	3	3.3		
Q3 My instructor gives assignments that contribute to my understanding of the subject.							0		1 33.3%	0	2 66.7%	0	3	3.3		
Q4 My instructor provides material that helps me do well on assignments.							1 33.3	%	0	0	2 66.7%	0	3	3.0		
Q5 My instructor explains new ideas by relating them to familiar concepts.							0		1 33.3%	0	2 66.7%	0	3	3.3		
Q6 My instructor evaluates my work in ways that are helpful to my ability to learn.							0		1 33.3%	1 33.3%	1 33.3%	0	3	3.0		
Q7 My instructor establishes a climate of respect for students.							1 33.3	1%	0	0	2 66.7%	0	3	3.0		
Q8	Q8 My instructor is available to me on matters pertaining to the course.								1 33.3%	0	1 33.3%	1 33.3%	3	3.7		
Q9	My instructor encourages me to do my best work.							1%	0	0	1 33.3%	1 33.3%	3	3.3		
Q10 My instructor provides timely feedback to guide my progress.							1 33.3		0	0	2 66.7%	0	3	3.0		
Q11 My instructor creates an atmosphere in which ideas can be exchanged freely.							0		1 33.3%	0	2 66.7%	0	3	3.3		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.								1 33.3%	0	1 33.3%	1 33.3%	3	3.7		
Q13	13 My instructor encourages me to develop new viewpoints.								1 33.3%	0	2 66.7%	0	3	3.3		
Q14 My instructor made the subject interesting and motivated me to learn.							0		1 33.3%	0	1 33.3%	1 33.3%	3	3.7		
		Responses: [SD] Stro	ongly Di	sagree	e=1 [D] Dis	sagree=2 [N	I] Neith	er Ag	gree or Dis	agree=3	[A] Agree=	4 [SA] St	trong	y Agree=5		
HSML - 43						/IL - 4300 -	040				Survey Comparisons					
Labs and Online Learning Questions				Responses (%)				Course			All					
			SD	D	N	A	SA	N	Mean	N		Mean		Pct Rnk		
Q15	The section or lab is well integ	rated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	11	6	4.1		27		
Q16	The course topics are organize	ed in a coherent fashion.	0	0	1 33.3%	2 66.7%	0	3	3.7	17	5	4.3		18		

 Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	HSML - 4650 040 - Assessment of Behavioral and Chem	nical	Addictio	ns				Depart	mer	nt:	518000)		
	Responsible Faculty:	Shelia Lumar				R	lespo	nses	; / Expe	ecte	d:	2/22	(9.09%)		
Cour	rse Evaluation Questions											Sheli	a Lumar		
Cour	se Evaluation Questions									1	•	onses (%		I	dividual
	1								SD	D	Ν	A	SA	N	Mean
Q1	My instructor explains diffi	cult material clearly.							0	0	0	2 100%	0	2	4.0
Q2	My instructor provides fact	s, examples, and references that helped me learn the material.							0	0	0	2 100%	0	2	4.0
Q3	My instructor gives assign	nents that contribute to my understanding of the subject.							0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides mat	erial that helps me do well on assignments.							0	0	0	2 100%	0	2	4.0
Q5	My instructor explains new	tor explains new ideas by relating them to familiar concepts.									0	2 100%	0	2	4.0
Q6	My instructor evaluates my	nstructor evaluates my work in ways that are helpful to my ability to learn.									0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a	instructor establishes a climate of respect for students.								0	0	0	2 100%	2	5.0
Q8	My instructor is available t	o me on matters pertaining to the course.							0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages i	ne to do my best work.							0	0	0	0	2 100%	2	5.0
Q10	My instructor provides time	ely feedback to guide my progress.							0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an a	mosphere in which ideas can be exchanged freely.							0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages i	ne to connect course topics to a wider understanding of the sub	ject.						0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages r	ne to develop new viewpoints.							0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the su	oject interesting and motivated me to learn.							0	0	0	1 50%	1 50%	2	4.5
	•	Responses: [SD] Strong	ly Disa	gree=1 [D]	Disagr	æ=2 [l	N] Neit	her Aç	gree or Di	sagr	ee=3	[A] Agre	e=4 [SA]	Strong	gly Agree=
					HSML ·		- 040					Surve	y Compa	risons	;
Labs	and Online Learning Quest	ons		Resp	onses (%)		С	ourse				All		
			SD	DN	A		SA	N	Mean		N		Mean		Pct Rnk
Q15	The section or lab is well in	ntegrated into the course structure.	0	0 0	0	1	1 00%	1	5.0		11	6	4.1		91
Q16	The course topics are orga	nized in a coherent fashion.	0	0 1 50%	1		0	2	3.5		17	5	4.3		9

	Course:	LAW - 7V30 502 - Special Topics in Legal Education	'n					0)epa	rtm	ent: L	awScho	ol		
	Responsible Faculty:	Eric Reis					Respo	nses	/ Ex	pec	ted: 3	3 / 10 (30)%)		
Cour	se Evaluation Questions											Eric R	eis		
Cour	se Evaluation Questions											nses (%)	1	1	dividual
									SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the materia	al.						0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	1 33.3%	0	2 66.7%	3	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages met	o do my best work.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	1 33.3%	0	2 66.7%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me	co connect course topics to a wider understanding of the s	subject.						0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages met	o develop new viewpoints.							0	0	1 33.3%	0	2 66.7%	3	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	1 33.3%	0	2 66.7%	3	4.3
		Responses: [SD] Stro	ongly Disagree	=1 [l	D] [isagre	ee=2 [N] N	leither	Agre	e or [)isagree=3	3 [A] Agree	e=4 [SA] S	Strong	gly Agree=
					I	LAW	- 7V30 - 5	02				Survey	/ Compari	sons	
Labs	and Online Learning Questions			Res	spoi	nses	(%)	C	ours	e			All		
			SD	D	N	A	SA	N	Me	ean	N		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	0	0	0	.0	116	i	4.1		-
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	1 100%	1	5	.0	175	5	4.3		92

	Course:	LAW - 7V98 006 - Independent Study	Departm	ent:	La	wS	cho	ol		
	Responsible Faculty:	Loren Jacobson	Responses / Expec	ted:	1	/1	(100)%)		
Cour	se Evaluation Questions				Res		Lore ses	n Jacobs (%)		dividual
				SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.		0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.		0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.		0	0	0	0	1 100%	1	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.		0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a cli	mate of respect for students.		0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me t	to do my best work.		0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely f	feedback to guide my progress.		0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the subject.		0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me t	to develop new viewpoints.		0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.		0	0	0	0	1 100%	1	5.0

	Course:	LAW - 7101 501 - Principles of Accounting and Fin	nance for Lav	wyei	rs				Departr	nent	L	aw	Sch	ool		
	Responsible Faculty:	Mark Sutherland					Respo	onse	s / Expe	cted	1	1/6	6 (16	.67%)		
_													Marl	c Sutherla	and	
Cour	rse Evaluation Questions										Res	-	ses	•••		dividual
										SD	D	N	Α	SA	N	Mean
Q1	My instructor explains diffici	ult material clearly.								0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts	examples, and references that helped me learn the mate	erial.							0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignm	ents that contribute to my understanding of the subject.								0	0	0	0	1 100%	1	5.0
Q4	My instructor provides mate	rial that helps me do well on assignments.								0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new i	deas by relating them to familiar concepts.								0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my v	uctor evaluates my work in ways that are helpful to my ability to learn.										0	0	1 100%	1	5.0
Q7	My instructor establishes a	climate of respect for students.								0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to	me on matters pertaining to the course.								0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages m	e to do my best work.								0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timel	y feedback to guide my progress.								0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atn	nosphere in which ideas can be exchanged freely.								0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages m	e to connect course topics to a wider understanding of th	ne subject.							0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages m	e to develop new viewpoints.								0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subj	ect interesting and motivated me to learn.								0	0	0	0	1 100%	1	5.0
		Responses: [SD] S	Strongly Disagree	e=1 [D] Dis	sagre	e=2 [N] N	leithe	Agree or [Disagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5
					L	AW	- 7101 - 5	01			-	S	urve	y Compar	isons	
Labs	and Online Learning Questio	ns		Re	spons	ses	(%)		Course			1		All		
			SD	D	N	A	SA	N	Mean		N			Mean		Pct Rnk
Q15	The section or lab is well int	egrated into the course structure.	0	0	0	0	1 100%	1	5.0		116			4.1		91
Q16	The course topics are organi	zed in a coherent fashion.	0	0	0	0	1 100%	1	5.0		175			4.3		92

	Course:	LAW - 7108 001 - ADVANCED LEGAL RESEARCH	1						Departm	ent	t: L	awSch	ool		
	Responsible Faculty:	Stewart Caton					Respor	nses	/ Expec	ted	l:	7 / 21 (3	3.33%)		
												Stew	art Caton		
Cour	e Evaluation Questions										Res	ponses (9	%)	In	dividual
									SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	erial.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q4	My instructor provides materi	al that helps me do well on assignments.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my we	ork in ways that are helpful to my ability to learn.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor establishes a cl	mate of respect for students.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q9	My instructor encourages me	to do my best work.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely	feedback to guide my progress.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of th	e subject.						0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me	to develop new viewpoints.							0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject	t interesting and motivated me to learn.							0	0	0	1 14.3%	6 85.7%	7	4.9
		Responses: [SD] S	Strongly Disagree	e=1	[D] Dis	sagre	e=2 [N] N	leither	Agree or I	Disa	gree=	3 [A] Agr	ee=4 [SA]	Strong	gly Agree=
					L	AW -	- 7108 - 0	01				Surve	ey Compar	isons	
Labs	and Online Learning Question			Re	spon	ses	(%)		Course				All		
			SD	D	N	A	SA	N	Mean		N		Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	0	0	2 100%	2	5.0		11	6	4.1		91
Q16	The course topics are organiz	ed in a coherent fashion.	0	0	0	0	3 100%	3	5.0		17	5	4.3		92

	Course:	LAW - 7110 001 - Criminal Law Topics						1	Departn	nent	: Lav	wSchoo	ol		
	Responsible Faculty:	Mike Howard					Respo	nses	/ Expe	ted	: 5/	18 (27	.78%)		
_												Mike I	Howard		
Cour	se Evaluation Questions									1	•	nses (%)			dividual
									SD	D	N	A	SA 4	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	20%	80%	5	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	1 20%	1 20%	3 60%	5	4.4
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	1 20%	1 20%	3 60%	5	4.4
Q9	My instructor encourages me	o do my best work.							0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	1 20%	1 20%	3 60%	5	4.4
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subject	:t.						0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me	o develop new viewpoints.							0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 20%	4 80%	5	4.8
		Responses: [SD] Strongly D	isagree	=1 [D]	Disa	agre	e=2 [N] N	either	Agree or I	Disag	gree=3 [A] Agree	e=4 [SA] :	Strong	ly Agree=5
					LA	w -	- 7110 - 0	01				- Survey	Compar	isons	
Labs	and Online Learning Questions			Resp	ons	es ((%)	0	Course				All		
			SD	D	N	Α	SA	N	Mean		Ν		Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	0	0	0.0		116		4.1		-
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	0	2 100%	2	5.0		175		4.3		92
		Responses: [SD] Strongly D	isagree	=1 [D]	Disa										lly Agree=5 cise Mean

	Course:	LAW - 7111 501 - Dispute Resolution Topics						De	partr	nent: l	_awScho	ol		
	Responsible Faculty:	Laura Frase					Respons	ses /	Ехре	cted:	3 / 7 (42.	86%)		
Cour	se Evaluation Questions										Laura F	rase		
Cour	se Evaluation Questions									-	onses (%)	1	1	dividual
Q1	My instructor explains difficult	material clearly							D D	N	A	SA 3	N 3	Mean 5.0
Q2		xamples, and references that helped me learn the material								0	1	100% 2	3	4.7
Q3		its that contribute to my understanding of the subject.								0	33.3% 1	66.7% 2	3	4.7
Q4		I that helps me do well on assignments.						_		0	33.3%	66.7% 2	3	4.7
Q5		as by relating them to familiar concepts.						_	0 0	0	33.3% 0	66.7% 3 100%	3	5.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0 0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a cli	mate of respect for students.							0 0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.							0 0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q9	My instructor encourages me	to do my best work.							0 0	0	0	3 100%	3	5.0
Q10	My instructor provides timely	eedback to guide my progress.							0 0	0	2 66.7%	1 33.3%	3	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0 0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the su	bject.						0 0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me	to develop new viewpoints.							0 0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0 0	0	0	3 100%	3	5.0
		Responses: [SD] Stron	gly Disa	gree	=1 [I	D] Disagree	=2 [N] Nei	ther A	gree or	Disagree=	3 [A] Agre	e=4 [SA] S	Strong	gly Agree=
1.45							111 - 501				Surve	y Compar	isons	s
Labs	and Online Learning Questions		SD	D	Res N	ponses (%) A) SA	N N	ourse Mea	n I	N	All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	0	1 100%	1	5.0	1	16	4.1		91
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	1	75	4.3		55

	Course: MGMT - 4180 010 - Workplace Health and Saf	ety				I	Depa	artmei	nt: 5	516100			
	Responsible Faculty: John Hubbard				Re	sponses	/ E)	cpecte	ed:	13 / 35 (3	7.14%)		
C	se Evaluation Questions									John Hubb	ard		
Cour								R	espon	ises (%)		Ind	lividual
						SE)	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.					0	7	1 .7%	3 23.1%	6 46.2%	3 23.1%	13	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the ma	terial.				0	7	1 .7%	2 15.4%	7 53.8%	3 23.1%	13	3.9
Q3	My instructor gives assignments that contribute to my understanding of the subject					0	7	1 .7%	3 23.1%	6 46.2%	3 23.1%	13	3.8
Q4	My instructor provides material that helps me do well on assignments.					0	7	1 .7%	3 23.1%	6 46.2%	3 23.1%	13	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.					0	7	1 .7%	4 30.8%	4 30.8%	4 30.8%	13	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.					0	7	1	3 23.1%	5 38.5%	4 30.8%	13	3.9
Q7	My instructor establishes a climate of respect for students.					0	7	1 .7%	2 15.4%	7 53.8%	3 23.1%	13	3.9
Q8	My instructor is available to me on matters pertaining to the course.					0	7	1 .7%	2 15.4%	6 46.2%	4 30.8%	13	4.0
Q9	My instructor encourages me to do my best work.					0	7	1 .7%	2 15.4%	7 53.8%	3 23.1%	13	3.9
Q10	My instructor provides timely feedback to guide my progress.					o	7	1	4 30.8%	6 46.2%	2 15.4%	13	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.					0	7	1 .7%	2 15.4%	6 46.2%	4 30.8%	13	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of	the su	bject.			0	7	1 .7%	3 23.1%	5 38.5%	4 30.8%	13	3.9
Q13	My instructor encourages me to develop new viewpoints.					o	7	1	3 23.1%	6 46.2%	3 23.1%	13	3.8
Q14	My instructor made the subject interesting and motivated me to learn.					0	7	1	4 30.8%	5 38.5%	3 23.1%	13	3.8
	Responses: [SD]	Stron	gly Disagre	æ=1 [D] D	isagree=2	[N] Neither	Agre	e or Dis	agree=	3 [A] Agree	=4 [SA] S	trongly	/ Agree=5
				MGM	IT - 4180	- 010				Surv	ey Compa	rison	s
Labs	and Online Learning Questions			Response	es (%)		(Course			All		
		SD	D	N	A	SA	N	Mea	in	N	Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 11.1%	5 55.6%	1 11.1%	2 22.2%	9	3.4	ļ	116	4.1		23
Q16	The course topics are organized in a coherent fashion.	0	2 16.7%	2 16.7%	5 41.7%	3 25%	12	3.8	;	175	4.3		23

	Course:	MGMT - 4180 011 - Workplace Health and S	Safety				De	epartr	nent:	516100			
	Responsible Faculty:	Steve Tidwell				Resp	onses /	Expe	cted:	13 / 35 (3	37.14%)		
										Steve Tid	vell		
Cour	se Evaluation Questions								Respo	nses (%)		Inc	lividual
							SD	D	N	I A	SA	Ν	Mean
Q1	My instructor explains difficul	material clearly.					1 7.7%	1 7.79	6 1.7		6 46.2%	13	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the	material.				0	1 7.79	4 % 30.		5 38.5%	13	3.9
Q3	My instructor gives assignmer	nts that contribute to my understanding of the sub	ject.				0	0	1 7.7		7 53.8%	13	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.					1 7.7%	0	1 7.7		5 38.5%	13	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	1 7.79	2 % 15.		6 46.2%	13	4.2
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0	0	2 15.	4% 38.5%	6 46.2%	13	4.3
Q7	My instructor establishes a cli	mate of respect for students.					0	0	C	7 53.8%	6 46.2%	13	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.					1 7.7%	0	C	7 53.8%	5 38.5%	13	4.2
Q9	My instructor encourages me	to do my best work.					0	0	2 15.		6 46.2%	13	4.3
Q10	My instructor provides timely	eedback to guide my progress.					0	0	1 8.3		7 58.3%	12	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0	1 7.7		6 46.2%	13	4.4
Q12	My instructor encourages me	to connect course topics to a wider understanding	of the subj	ect.			0	1 7.79	2 6 15		5 38.5%	13	4.1
Q13	My instructor encourages me	to develop new viewpoints.					1 7.7%	0	1 7.7		5 38.5%	13	4.1
Q14	My instructor made the subjec	t interesting and motivated me to learn.					1 7.7%	0	2 15		6 46.2%	13	4.1
		Responses:	[SD] Strongly	/ Disagree=	1 [D] Disa	gree=2 [N]	Neither A	gree or	Disagre	e=3 [A] Agre	e=4 [SA] S	trongly	/ Agree=5
					MGMT	- 4180 - 0	11			Sur	vey Compa	arison	s
Labs	and Online Learning Questions			Re	sponses	(%)		Co	urse		All		
			SD	D	N	A	SA	N	Mean	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 14.3%	0	1 14.3%	4 57.1%	1 14.3%	7	3.6	116	4.1		32
Q16	The course topics are organize	ed in a coherent fashion.	1 11.1%	1 11.1%	0	5 55.6%	2 22.2%	9	3.7	175	4.3		18

	Course:	MGMT - 4180 012 - Workplace Health and Safety	/					Dep	artn	nent: 5	16100			
	Responsible Faculty:	Christopher DeClerk				R	esponse	s/E	хре	cted: 8	3 / 35 (22	86%)		
										Cl	hristopher	DeClerk		
Cour	se Evaluation Questions									Respo	nses (%)		In	dividual
								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.						0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the mate	ial.					0	0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignmen	nts that contribute to my understanding of the subject.						0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.						0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.						0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.						0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a cli	mate of respect for students.						0	0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.						0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me	to do my best work.						0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q10	My instructor provides timely	feedback to guide my progress.						0	0	0	3 37.5%	5 62.5%	8	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.						0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the	subje	ct.				0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me	to develop new viewpoints.						0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.						0	0	0	2 25%	6 75%	8	4.8
		Responses: [SD] S	rongly	Disa	gree=1 [D]	Disagree=2	[N] Neith	er Agre	e or l	Disagree=3	3 [A] Agree	e=4 [SA] \$	Strong	ly Agree=
					M	GMT - 418	80 - 012				Surve	ey Compa	rison	s
Labs	and Online Learning Questions				Respor	nses (%)	1	C	ours	e		All		
			SD	D	Ν	A	SA	N	Ме	an	N	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.	4 1	16	4.1		62
Q16	The course topics are organize	ed in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.	8 1	175	4.3		77

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MGMT - 4340 010 - Dealership Variable Operations						De	epartm	ent	t: 5	516100			
	Responsible Faculty:	David Spaulding					Respons	es /	Expec	ted	l:	9 / 30 (3	0%)		
0	se Evaluation Questions											David	Spaulding		
Cour	se Evaluation Questions											ponses (%			dividual
									SD	D	N	A 2	SA 7	N	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	22.2%	77.8%	9	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material							0	0	0	2 22.2%	7 77.8%	9	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides materia	I that helps me do well on assignments.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 11.1%	8 88.9%	9	4.9
Q9	My instructor encourages me t	to do my best work.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	1 11.1%	8 88.9%	9	4.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 11.1%	8 88.9%	9	4.9
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the su	ıbject.						0	0	0	1 11.1%	8 88.9%	9	4.9
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	2 22.2%	7 77.8%	9	4.8
	I	Responses: [SD] Stron	igly Disa	gree=	1 [D] Disagree	=2 [N] Neit	her A	gree or D	Disag	gree=	3 [A] Agre	ee=4 [SA] \$	Strong	gly Agree=
					I	MGMT - 4	1340 - 010					Surv	ey Compai	risons	;
Labs	and Online Learning Questions			R	esp	onses (%))	C	ourse				All		
	1		SD	D	N	Α	SA	N	Mean	ı	I	N	Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7		1	16	4.1		76
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8		1	75	4.3		83

	Course:	MGMT - 5120 010 - Managing Organizational Design	and	Change			Dej	partm	ent: 5	516100			
	Responsible Faculty:	Frances Conner				Respons	es / E	Ехрес	ted:	8 / 27 (29	.63%)		
Cour	se Evaluation Questions									Frances (Conner		
oour	se Evaluation Questions									nses (%)	1	-	dividual
							SE		N	A	SA 7	N	Mean
Q1	My instructor explains difficul	t material clearly.					0	0	0	12.5%	7 87.5%	8	4.9
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q3	My instructor gives assignmen	nts that contribute to my understanding of the subject.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides materia	al that helps me do well on assignments.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0	0	1 14.3%	0	6 85.7%	7	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.					0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a cl	imate of respect for students.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q9	My instructor encourages me	to do my best work.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q10	My instructor provides timely	feedback to guide my progress.					0	0	0	2 25%	6 75%	8	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the sub	ject.				0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me	to develop new viewpoints.					0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor made the subjec	ct interesting and motivated me to learn.					0	0	0	1 12.5%	7 87.5%	8	4.9
		Responses: [SD] Strong	ly Disa	gree=1	Disagree	=2 [N] Neit	her Ag	ree or l)isagree=	3 [A] Agree	e=4 [SA] S	Strong	ly Agree=5
					MGMT -	5120 - 010				Surve	y Compar	isons	;
Labs	and Online Learning Questions	3		Res	ponses (%)	Co	ourse			All		
			SD	DN	Α	SA	N	Mear	1	ч <u> </u>	Mean		Pct Rnk
Q15	The section or lab is well integ	grated into the course structure.	0	0 0	1 16.7%	5 83.3%	6	4.8	1'	16	4.1		80
Q16	The course topics are organize	ed in a coherent fashion.	0	0 0	2 25%	6 75%	8	4.8	17	75	4.3		77

	Course: MGMT - 5310 011 - Employment, Placement and Perso	onnel Pl	annii	ng			D	epartm	ent: 5	16100			
	Responsible Faculty: Christopher DeClerk					Respo	onses /	Expec	ted:	11 / 21 (52.38%)		
									Chris	stopher D	eClerk		
Cour	se Evaluation Questions							R	esponse	es (%)		Inc	lividual
							SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.						1 9.1%	0	1 9.1%	2 18.2%	7 63.6%	11	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.						1 9.1%	1 9.1%	0	1 9.1%	8 72.7%	11	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.						1 9.1%	0	1 9.1%	1 9.1%	8 72.7%	11	4.4
Q4	My instructor provides material that helps me do well on assignments.						1 9.1%	0	1 9.1%	1 9.1%	8 72.7%	11	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.						1 9.1%	0	1 9.1%	1 9.1%	8 72.7%	11	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.						1 9.1%	0	1 9.1%	1 9.1%	8 72.7%	11	4.4
Q7	My instructor establishes a climate of respect for students.						1 9.1%	0	0	2 18.2%	8 72.7%	11	4.5
Q8	My instructor is available to me on matters pertaining to the course.						1 9.1%	1 9.1%	0	2 18.2%	7 63.6%	11	4.2
Q9	My instructor encourages me to do my best work.						1 9.1%	0	1 9.1%	1 9.1%	8 72.7%	11	4.4
Q10	My instructor provides timely feedback to guide my progress.						1 9.1%	1 9.1%	1 9.1% 1	1 9.1% 1	7 63.6% 8	11	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.						9.1%	0	9.1%	9.1%	8 72.7%	11	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the sub	ject.					9.1%	0	9.1%	9.1%	8 72.7%	11	4.4
	My instructor encourages me to develop new viewpoints.						9.1%	0	9.1%	9.1% 2	8 72.7% 7	11	4.4
Q14	My instructor made the subject interesting and motivated me to learn.						9.1%	9.1%	0	18.2%	63.6%	11	4.2
	Responses: [SD] Strong	ly Disagre	e=1 [ree or Dis	-				
Labe	and Online Learning Questions		Dec		GMT - ses (%)	5310 - 0	-	urse		Survey	Comparis All	sons	
-496		SD	D	N	A Ses	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 25%	0	0	0	3 75%	4	4.0	116	5	4.1		42
Q16	The course topics are organized in a coherent fashion.	1 10%	0	0	1 10%	8 80%	10	4.5	175	5	4.3		62

 Responses: [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	MGMT - 5660 010 - International Management						I	Departm	ent:	51	1610	00			
	Responsible Faculty:	Ayse Goktan Bilhan					Respor	ises	/ Expec	ted:	2	/ 19	9 (10	0.53%)		
-												A	/se	Goktan B	ilhan	
Cou	se Evaluation Questions										Res	spon	ses	(%)		dividual
										SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult	material clearly.								0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.								0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignmer	its that contribute to my understanding of the subject.								0	0	0	0	2 100%	2	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.								0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.								0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.								0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a cli	mate of respect for students.								0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.								0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me	to do my best work.								0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely	eedback to guide my progress.								0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subj	ect.							0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me	to develop new viewpoints.								0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject	t interesting and motivated me to learn.								0	0	0	0	2 100%	2	5.0
		Responses: [SD] Strongh	Disagre	ee=1	[C	D] Disagree	=2 [N] N	either	Agree or D	Disagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=
						MGMT -		-				S	urve	y Compai	risons	;
Labs	and Online Learning Questions			Re	es	ponses (%)	0	Course					All		
	1		SD	D		N A	SA	N	Mean		N			Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0		0 0	0	0	0.0		116			4.1		-
Q16	The course topics are organize	ed in a coherent fashion.	0	0		0 1 50%	1 50%	2	4.5		175			4.3		62

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank
 (100 is best, calculated vs. precise Mean)

	Course:	PLDR - 5330 030 - Organization Theory and Managing C	hange	in F	Public	Service			D	epartn	nent:	51424	40		
F	Responsible Faculty:	James Agbodzakey					Res	pon	ses /	Expe	cted:	4/8	(50%)		
											Jame	es Agbo	odzakey	,	
Cour	se Evaluation Questions									Re	sponse	s (%)		In	dividual
	1								SD	D	N	A	SA	Ν	Mean
Q1	My instructor explains o	ifficult material clearly.							0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides f	acts, examples, and references that helped me learn the mater	al.						0	0	0	2 50%	2 50%	4	4.5
Q3	My instructor gives ass	gnments that contribute to my understanding of the subject.							0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides r	naterial that helps me do well on assignments.							0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains r	ew ideas by relating them to familiar concepts.							0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates	my work in ways that are helpful to my ability to learn.							0	1 25%	0	1 25%	2 50%	4	4.0
Q7	My instructor establish	es a climate of respect for students.							0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is availab	e to me on matters pertaining to the course.							0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourage	es me to do my best work.							0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides t	imely feedback to guide my progress.							0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates a	n atmosphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourage	es me to connect course topics to a wider understanding of the	subjec	t.					0	0	1 25%	1 25%	2 50%	4	4.3
Q13	My instructor encourage	es me to develop new viewpoints.							0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the	subject interesting and motivated me to learn.							0	1 25%	0	1 25%	2 50%	4	4.0
	·	Responses: [SD] Str	ongly D	isagr	ee=1 [D]	Disagree=2	2 [N] Neith	er Ag	ree or	Disagre	e=3 [A]	Agree=4	4 [SA] S	Strong	ıly Agree=5
					I	PLDR - 533	0 - 030					Survey	Compai	rison	s
Labs	and Online Learning Que	estions			Respo	onses (%)		C	ours	e			All		
			SD	D	N	A	SA	N	Me	an	Ν		Mean		Pct Rnk
Q15	The section or lab is we	II integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.	D	116		4.1		42
Q16	The course topics are o	rganized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.	7	175		4.3		70

	Course:	SPAN - 1020 030 - Elementary Spanish II							Departm	ent:	51	412	20			
	Responsible Faculty:	Rosa Barrett				Re	espor	ises	/ Expec	ted:	1	/7	(14.	29%)		
Cour	se Evaluation Ouestions												Ro	sa Barret	t	
coui	se Evaluation Questions									SD	Res D	pon N	ses A	(%) SA	In N	dividual Mean
Q1	My instructor explains difficul	material clearly								0	0	0	0	1	N 1	5.0
Q2		xamples, and references that helped me learn the material								0	0	0	0	100% 1	1	5.0
Q3		nts that contribute to my understanding of the subject.								0	0	0	0	100% 1	1	5.0
Q4		al that helps me do well on assignments.								0	0	0	0	100% 1		5.0
Q5		as by relating them to familiar concepts.								0	0	0	0	100%	•	5.0
Q6		ork in ways that are helpful to my ability to learn.								0	0	0	0	100% 1 100%	1	5.0
Q7	My instructor establishes a cl	mate of respect for students.								0	0	0	0	100% 1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.								0	0	0	0	1 1 100%	1	5.0
Q9	My instructor encourages me	to do my best work.								0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely	feedback to guide my progress.								0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.								0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the s	ubject.							0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me	to develop new viewpoints.								0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject	t interesting and motivated me to learn.								0	0	0	0	1 100%	1	5.0
		Responses: [SD] Stron	ngly Disagre	ee=1	[[Disagree=2	[N] N	either	Agree or D	isagre	e=3	[A]	Agre	e=4 [SA]	Strong	Jly Agree=
						SPAN - 10	20 - 03					S	urve	y Compar	isons	
Labs	and Online Learning Questions		SD	Re	T	ponses (%) N A	SA	N	Course Mean		N			All Mean		Pct Rnk
Q15	The section or lab is well integ	prated into the course structure.	0	0	T	0 0	0	0	0.0		116			4.1		-
Q16	The course topics are organize	ed in a coherent fashion.	0	0		0 1 100%	0	1	4.0		175			4.3		30

	Course:	SPAN - 2050 030 - Intermediate Spanish II					I	Depa	rtment:	514120			
	Responsible Faculty:	Sheryl Santos-Hatchett				Re	sponses	/ Ex	pected:	12/17	(70.59%)		
									S	eryl Sant	os-Hatchett		
Cour	se Evaluation Questions								Resp	onses (%)		In	dividual
							SD)	DN	A	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.					0		1 1 3% 8.3		6 % 50%	12	4.3
Q2	My instructor provides facts, e	xamples, and references that helped me learn the	e material.				0		0 2 16.		6 % 50%	12	4.3
Q3	My instructor gives assignmer	ts that contribute to my understanding of the su	bject.				0		0 1	% 33.3		12	4.5
Q4	My instructor provides materia	l that helps me do well on assignments.					0		0 2 16.	7% 259		12	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.					0		0 16.	7% 25		12	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.					0		0 2 16.	7% 259	7 58.3% 7	12	4.4
Q7	My instructor establishes a cli	mate of respect for students.					0		0 25	% 16.7		12	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.					0		0 16.	7% 16.7		12	4.5
Q9	My instructor encourages me	o do my best work.					0		0 25	% 8.3		12	4.4
	My instructor provides timely f						0	_	25	% 16.7		12	4.3
		sphere in which ideas can be exchanged freely.					0	_	0 16.	7% 16.7		12	4.5
		o connect course topics to a wider understandin	g of the subj	ect.			0		16.	7% 16.7		12	4.5
Q13	My instructor encourages met	o develop new viewpoints.					0		0 33.	3% 16.7		12	4.2
Q14	My instructor made the subject	t interesting and motivated me to learn.					0		0 16.			12	4.4
		Responses:	[SD] Strongly	Disagree	=1 [D] Dis	agree=2	[N] Neither	Agre	e or Disagro	e=3 [A] Ag	gree=4 [SA] \$	Strong	ly Agree=
						- 2050 -	030			S	urvey Compa	arison	ns
Labs	and Online Learning Questions		SD	R	esponses N	(%) A	SA	N N	ourse Mean	N	All Mean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	1 9.1%	1 9.1%	1 9.1%	1 9.1%	7 63.6%	11	4.1	116	4.1		50
Q16	The course topics are organize	d in a coherent fashion.	1 8.3%	0	2 16.7%	3 25%	6 50%	12	4.1	175	4.3		38

	Course:	TECM - 2700 031 - Technical Writing						[Departm	ent:	5141	20			
	Responsible Faculty:	Roberto Tinajero II					Respor	ises	/ Expec	ted:	4/2	3 (17.3	39%)		
											Ro	berto T	inajero	11	
Cour	se Evaluation Questions									R	espons	ses (%)		In	dividual
									SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.							0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.							0	0	1 25%	0	3 75%	4	4.5
QЗ	My instructor gives assignmen	ts that contribute to my understanding of the subject.							0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides materia	l that helps me do well on assignments.							0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.							0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.							0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a cli	mate of respect for students.							0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.							0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me t	o do my best work.							0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely f	eedback to guide my progress.							0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.							0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the su	oject.						0	0	1 25%	0	3 75%	4	4.5
Q13	My instructor encourages me t	o develop new viewpoints.							0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.							0	0	0	1 25%	3 75%	4	4.8
		Responses: [SD] Strong	gly Disagr	ee=1	[D] [Disagree=	2 [N] N	either	Agree or D	isagre	ee=3 [A]	Agree=	4 [SA] 8	Strong	gly Agree=
						ECM - 2		1			;	Survey (-	isons	
Labs	and Online Learning Questions			Re	espoi	nses (%)			Course				All		Det
			SD	D	N	Α	SA	N	Mean		N	Ν	lean		Pct Rnk
Q15	The section or lab is well integ	rated into the course structure.	0	0	0	1 50%	1 50%	2	4.5		116		4.1		68
Q16	The course topics are organize	d in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8		175		4.3		77

igiy Disagre Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	THEA - 1130 001 - Introduction to Creative Drama	in the I	Elementa	ary Schoo	bl		Depa	artment	51820	0		
	Responsible Faculty:	Ruth Guevara					Respon	ses / Ex	pected	13/3	0 (43.33%	6)	
Cour	se Evaluation Questions									Ruth Guev	ara		
Cour	se Evaluation Questions								Respons	ses (%)		Ind	lividual
	1						SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains di	fficult material clearly.					0	2 15.4%	1 7.7%	6 46.2%	4 30.8%	13	3.9
Q2	My instructor provides fa	cts, examples, and references that helped me learn the m	aterial				0	1 7.7%	1 7.7%	7 53.8%	4 30.8%	13	4.1
Q3	My instructor gives assig	nments that contribute to my understanding of the subject	et.				0	1 7.7%	1 7.7%	7 53.8%	4 30.8%	13	4.1
Q4	My instructor provides m	aterial that helps me do well on assignments.					0	0	2 15.4%	7 53.8%	4 30.8%	13	4.2
Q5	My instructor explains ne	w ideas by relating them to familiar concepts.					0	0	3 23.1%	6 46.2%	4 30.8%	13	4.1
Q6	My instructor evaluates r	ny work in ways that are helpful to my ability to learn.					0	0	3 23.1%	6 46.2%	4 30.8%	13	4.1
Q7	My instructor establishes	s a climate of respect for students.					0	0	0	8 61.5%	5 38.5%	13	4.4
Q8	My instructor is available	to me on matters pertaining to the course.					0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3
Q9	My instructor encourages	s me to do my best work.					0	0	0	8 61.5%	5 38.5%	13	4.4
Q10	My instructor provides tir	nely feedback to guide my progress.					0	0	2 15.4%	6 46.2%	5 38.5%	13	4.2
Q11	My instructor creates an	atmosphere in which ideas can be exchanged freely.					0	0	0	8 61.5%	5 38.5%	13	4.4
Q12	My instructor encourages	s me to connect course topics to a wider understanding o	f the su	bject.			0	0	3 23.1%	5 38.5%	5 38.5%	13	4.2
Q13	My instructor encourages	s me to develop new viewpoints.					0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3
Q14	My instructor made the s	ubject interesting and motivated me to learn.					0	0	4 30.8%	4 30.8%	5 38.5%	13	4.1
	·	Responses: [Sl	D] Stron	gly Disagre	ee=1 [D] Di	sagree=2 [I	N] Neither	Agreeor	Disagree=	3 [A] Agree	=4 [SA] S	trongly	Agree=
					THE	A - 1130 -	001			Surv	ey Compa	risons	;
Labs	and Online Learning Ques	stions			Response	s (%)	1	Cou	rse		All		
			SD	D	N	A	SA	N M	lean	N	Mean		Pct Rnk
Q15	The section or lab is well	integrated into the course structure.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	116	4.1		53
Q16	The course topics are or	ganized in a coherent fashion.	0	1 14.3%	2 28.6%	0	4 57.1%	7	4.0	175	4.3		30

 Responses:
 [SD]
 Strongly Disagree=1
 [D]
 Disagree=2
 [N]
 Neither Agree or Disagree=3
 [A]
 Agree=4
 [SA]
 Strongly Agree=5

 Pct Rnk:
 Percentile Rank (100 is best, calculated vs. precise Mean)
 Percentile Rank (100 is best, calculated vs. precise Mean)

	Course:	THEA - 1130 002 - Introduction to Creative Drama in	the Eleme	ntar	y Sc	hool			Depart	tment:	518200)		
	Responsible Faculty:	Ruth Guevara					Resp	oonse	s / Exp	ected:	11/31	(35.48%	6)	
Cour	rse Evaluation Questions									Ru	th Gueva	ra		
ooui	Se Evaluation Questions									esponses	s (%)	1	Ind	lividual
								SD	D	N	A	SA	N	Mean
Q1	My instructor explains di	fficult material clearly.					1	2 18.2%	0	1 9.1%	5 45.5%	3 27.3%	11	3.6
Q2	My instructor provides fa	cts, examples, and references that helped me learn the ma	terial.					0	1 9.1%	1 9.1%	5 45.5%	4 36.4%	11	4.1
Q3	My instructor gives assig	nments that contribute to my understanding of the subject						0	1 9.1%	3 27.3%	3 27.3%	4 36.4%	11	3.9
Q4	My instructor provides m	aterial that helps me do well on assignments.						0	0	2 18.2%	5 45.5%	4 36.4%	11	4.2
Q5	My instructor explains ne	w ideas by relating them to familiar concepts.						0	0	1 9.1%	7 63.6%	3 27.3%	11	4.2
Q6	My instructor evaluates r	ny work in ways that are helpful to my ability to learn.						0	1 9.1%	1 9.1%	6 54.5%	3 27.3%	11	4.0
Q7	My instructor establishes	s a climate of respect for students.						0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q8	My instructor is available	to me on matters pertaining to the course.						0	0	0	7 63.6%	4 36.4%	11	4.4
Q9	My instructor encourage	s me to do my best work.						0	0	0	6 54.5%	5 45.5%	11	4.5
Q10	My instructor provides ti	nely feedback to guide my progress.						0	0	2 18.2%	6 54.5%	3 27.3%	11	4.1
Q11	My instructor creates an	atmosphere in which ideas can be exchanged freely.						0	0	0	6 60%	4 40%	10	4.4
Q12	My instructor encourage	s me to connect course topics to a wider understanding of	he subject.					0	0	0	7 63.6%	4 36.4%	11	4.4
Q13	My instructor encourage	s me to develop new viewpoints.						0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q14	My instructor made the s	ubject interesting and motivated me to learn.						0	0	0	6 54.5%	5 45.5%	11	4.5
		Responses: [SD]	Strongly Disa	gree=	=1 [D] Disagree=	2 [N] Ne	ither Ag	gree or Dis	sagree=3	[A] Agree	=4 [SA] S	trongly	Agree=5
						THEA - 11	30 - 002				Survey		isons	
Labs	and Online Learning Que	stions		F	Resp	onses (%)		C	Course			All		
	1		SD	D	N	Α	SA	N	Mean	N		Mean		Pct Rnk
Q15	The section or lab is well	integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	110	6	4.1		76
Q16	The course topics are or	ganized in a coherent fashion.	1 20%	0	0	3 60%	1 20%	5	3.6	17	5	4.3		14

6188 LAW Legal Writing Main Instructor Evaluation 6188 - Fall 2018 - LW1

Course:	LAW - 7301 001 - Legal Writing I						Dep	artment:	LawS	School	
Responsible Faculty:	Melissa Shultz				Res	ponse	s / E	xpected:	57 /	93 (61.29%) 🔞	
Labs and Online Learning Questions			Peen	LAW -	7301 - C %)	01	C	ourse		Survey Comparis All	ons
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integr	ated into the course structure.	2 4%	1 2%	7 14%	19 38%	21 42%	50	4.1	81	4.2	25
Q2 The course topics are organized	l in a coherent fashion.	2 3.6%	6 10.9%	3 5.5%	22 40%	22 40%	55	4.0	88	4.1	25

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course Evaluation Questions			Fa	aculty Results	;		
			Responses	(%)		In	dividual
Q3. My instructor explains difficult material clearly.	SD	D	N	Α	SA	Ν	Mean
Eleanor Mack	0	1 2%	4 8%	23 46%	22 44%	50	4.3
Melissa Shultz	0	2 3.6%	6 10.9%	25 45.5%	22 40%	55	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	aculty Re	sults		
			Respons	es (%)		Inc	dividual
Q4. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	Ν	Α	SA	Ν	Mean
Eleanor Mack	0	0	3 6.1%	26 53.1%	20 40.8%	49	4.3
Melissa Shultz	0	1 1.8%	5 9.1%	22 40%	27 49.1%	55	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty R	esults		
		F	lesponse	es (%)		Inc	lividual
Q5. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	Ν	Α	SA	Ν	Mean
Eleanor Mack	2 4%	0	6 12%	20 40%	22 44%	50	4.2
Melissa Shultz	0	1 1.8%	4 7.3%	22 40%	28 50.9%	55	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
			Individual									
Q6. My instructor provides material that helps me do well on assignments.		D	N	Α	SA	Ν	Mean					
Eleanor Mack	1 2%	3 6.1%	10 20.4%	20 40.8%	15 30.6%	49	3.9					
Melissa Shultz	0	4 7.3%	7 12.7%	23 41.8%	21 38.2%	55	4.1					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions Q7. My instructor explains new ideas by relating them to familiar concepts.		Faculty Results										
			Individual									
		D	N	Α	SA	Ν	Mean					
Eleanor Mack	0	0	9 18%	24 48%	17 34%	50	4.2					
Melissa Shultz	0	2 3.6%	4 7.3%	23 41.8%	26 47.3%	55	4.3					

Course Evaluation Questions	Faculty Results											
				Responses (%)								
Q8. My instructor evaluates my work in ways that are helpful to my ability to learn.		D	Ν	Α	SA	Ν	Mean					
Eleanor Mack	2 4%	0	7 14%	19 38%	22 44%	50	4.2					
Melissa Shultz	0	2 3.6%	3 5.5%	21 38.2%	29 52.7%	55	4.4					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results											
Q9. My instructor establishes a climate of respect for students.			Individual										
		D	N	Α	SA	N	Mean						
Eleanor Mack	0	1 2%	2 4%	18 36%	29 58%	50	4.5						
Melissa Shultz	0	3 5.5%	3 5.5%	19 34.5%	30 54.5%	55	4.4						

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
			Responses (%)								
Q10. My instructor is available to me on matters pertaining to the course.		D	Ν	A	SA	Ν	Mean				
Eleanor Mack	2	3	4	19	22	50	4.1				
	4%	6%	8%	38%	44%						
Melissa Shultz	2	5	7	15	26	55	4.1				
	3.6%	9.1%	12.7%	27.3%	47.3%						

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
Q11. My instructor encourages me to do my best work.			Individual								
		D	N	Α	SA	N	Mean				
Eleanor Mack	0	1 2%	2 4%	15 30%	32 64%	50	4.6				
Melissa Shultz	1 1.8%	2 3.6%	3 5.5%	13 23.6%	36 65.5%	55	4.5				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions Q12. My instructor provides timely feedback to guide my progress.		Faculty Results											
		Responses (%)											
		D	N	Α	SA	N	Mean						
Eleanor Mack	0	3 6%	8 16%	19 38%	20 40%	50	4.1						
Melissa Shultz	1 1.8%	2 3.6%	5 9.1%	21 38.2%	26 47.3%	55	4.3						

Responses: [SI] Strongly Disagree=1	[D] Disagree=2 [N]	Neither Agree or Disagree=3	[A]	Agree=4	[SA	Strongly Agree=5
----------------	-----------------------	----	----------------	----	-----------------------------	-------------	---------	-----	------------------

Course Evaluation Questions		Faculty Results										
			Responses (%)									
Q13. My instructor creates an atmosphere in which ideas can be exchanged freely.		D	Ν	Α	SA	Ν	Mean					
Eleanor Mack	0	0	6 12%	18 36%	26 52%	50	4.4					
Melissa Shultz	1 1.8%	2 3.6%	6 10.9%	20 36.4%	26 47.3%	55	4.2					

Course Evaluation Questions Faculty Results										
Q14. My instructor encourages me to connect course topics to a wider understanding of the subject.			Responses (%)							
	SD	D	N	Α	SA	Ν	Mean			
Eleanor Mack	0	1 2%	6 12%	16 32%	27 54%	50	4.4			
Melissa Shultz	1 1.8%	1 1.8%	5 9.1%	21 38.2%	27 49.1%	55	4.3			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
Q15. My instructor encourages me to develop new viewpoints.		Responses (%)										
		D	N	Α	SA	Ν	Mean					
Eleanor Mack	0	1 2%	7 14%	17 34%	25 50%	50	4.3					
Melissa Shultz	1 1.8%	2 3.6%	6 10.9%	19 34.5%	27 49.1%	55	4.3					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Faculty Results									
	Individual								
SD	D	N	Α	SA	Ν	Mean			
2	1	6	16	25	50	4.2			
4%	2%	12%							
1	3	4			55	4.3			
		SD D 2 1 4% 2% 1 3	SD D N 2 1 6 4% 2% 12% 1 3 4	Responses (%) SD D N A 2 1 6 16 4% 2% 12% 32% 1 3 4 19	Responses (%) SD D N A SA 2 1 6 16 25 4% 2% 12% 32% 50% 1 3 4 19 28	Responses (%) Interpretation SD D N A SA N 2 1 6 16 25 50 4% 2% 12% 32% 50% 50 1 3 4 19 28 55			

6188 LAW Legal Writing Main Instructor Evaluation 6188 - Fall 2018 - LW1

Course: LAW -	- 7301 501 - Legal Writing I						Depar	tment:	LawScho	loi			
Responsible Faculty: Meliss	sa Shultz				Re	sponses	/ Exp	ected:	: 33 / 44 (75%) 🚱				
				LAV	V - 7301 -	501			Survey Comparisons				
Labs and Online Learning Questions			R	esponse	es (%)		Co	urse	All	All			
		SD	D	N	Α	SA	N	Mean	N	Mean		Pct Rnk	
Q1 The section or lab is well integrated into	to the course structure.	1 3.2%	2 6.5%	1 3.2%	10 32.3%	17 54.8%	31	4.3	81	4.2		75	
Q2 The course topics are organized in a col	oherent fashion.	1 3%	2 6.1%	1 3%	10 30.3%	19 57.6%	33	4.3	88	4.1		75	
					Pct R	nk: Perce			s best, calo	ulated vs.	precis	se Me	
Course Evoluation Questions							Fa	culty Resu	ilts				
Course Evaluation Questions			Г			Respo		•	ilts		Individ	ual	
Course Evaluation Questions Q3. My instructor explains difficult material	al clearly.		-	SD	D	Respo N		•	ilts SA	N		ual /lean	
• • • • •	al clearly.			SD 0	D 1 3.2%		nses ('	6)		N 31	N		
Q3. My instructor explains difficult material	al clearly.				1	N 1	nses ('	6) A 11	SA 18	N 31	N	/lean	
Q3. My instructor explains difficult material	al clearly. Responses: [SD] Strongly	/ Disagre	0	1 3.2% 1 3.6%	N 1 3.2% 2 7.1%	nses ('	6) A 11 35.5% 9 32.1%	SA 18 58.1% 16 57.1%	N 31 28	N	Aean 4.5 4.4	
Q3. My instructor explains difficult material] Strongly	/ Disagre	0	1 3.2% 1 3.6%	N 1 3.2% 2 7.1%	nses ('	6) A 11 35.5% 9 32.1% Dr Disagree	SA 18 58.1% 16 57.1%	N 31 28 e=4 [SA] S	N	Aean 4.5 4.4	
Q3. My instructor explains difficult material Andrew Legrand Melissa Shultz Course Evaluation Questions	Responses: [SD		/ Disagre	0	1 3.2% 1 3.6%	N 1 3.2% 2 7.1% [N] Neither	Agree	6) A 11 35.5% 9 32.1% or Disagree	SA 18 58.1% 16 57.1% =3 [A] Agre	N 31 28 e=4 [SA] S	Strongly	Aean 4.5 4.4	
Q3. My instructor explains difficult material Andrew Legrand Melissa Shultz Course Evaluation Questions			/ Disagre	0	1 3.2% 1 3.6%	N 1 3.2% 2 7.1%	Agree	A 11 35.5% 9 32.1% or Disagree Respon N	SA 18 58.1% 16 57.1% =3 [A] Agre =3 [A] Agre Faculty Re ses (%) A	N 31 28 ee=4 [SA] S sults	Strongly	Aean 4.5 4.4 Agree=	
Q3. My instructor explains difficult material Andrew Legrand Melissa Shultz Course Evaluation Questions	Responses: [SD		/ Disagre	0	1 3.2% 1 3.6%	N 1 3.2% 2 7.1% [N] Neither	Agree	6) A 11 35.5% 9 32.1% Provide the second sec	SA 18 58.1% 16 57.1% =3 [A] Agre Faculty Re ses (%)	N 31 28 e=4 [SA] S	Strongly	Aean 4.5 4.4 Agree=	

Course Evaluation Questions		Faculty Results									
		Individual									
Q5. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	Ν	Mean				
Andrew Legrand	0	1 3.2%	2 6.5%	12 38.7%	16 51.6%	31	4.4				
Melissa Shultz	0	0	1 3.7%	11 40.7%	15 55.6%	27	4.5				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree										
Course Evaluation Questions Faculty Results										
			Responses (%)							
Q6. My instructor provides material that helps me do well on assignments.	SD	D	N	Α	SA	Ν	Mean			
Andrew Legrand	0	1 3.3%	3 10%	12 40%	14 46.7%	30	4.3			
Melissa Shultz	0	1 3.6%	1 3.6%	10 35.7%	16 57.1%	28	4.5			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
07 My instructor explains new ideas by relating them to familiar concents		Responses (%)					dividual				
Q7. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean				
Andrew Legrand	0	0	3 9.7%	15 48.4%	13 41.9%	31	4.3				
Melissa Shultz	0	0	0	13 46.4%	15 53.6%	28	4.5				

Course Evaluation Questions				Faculty Results									
			Individual										
Q8. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	A	SA	Ν	Mean						
Andrew Legrand	0	0	5 16.1%	11 35.5%	15 48.4%	31	4.3						
Melissa Shultz	0	0	3 10.7%	11 39.3%	14 50%	28	4.4						

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
			Individual								
Q9. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	Ν	Mean				
Andrew Legrand	0	0	1 3.2%	11 35.5%	19 61.3%	31	4.6				
Melissa Shultz	0	0	0	12 42.9%	16 57.1%	28	4.6				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
			Individual									
Q10. My instructor is available to me on matters pertaining to the course.	SD	D	Ν	Α	SA	N	Mean					
Andrew Legrand	0	0	2 6.5%	11 35.5%	18 58.1%	31	4.5					
Melissa Shultz	0	0	3 10.7%	10 35.7%	15 53.6%	28	4.4					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
--

Course Evaluation Questions		Faculty Results										
			Individual									
Q11. My instructor encourages me to do my best work.	SD	D	Ν	Α	SA	Ν	Mean					
Andrew Legrand	0	0	2 6.5%	10 32.3%	19 61.3%	31	4.5					
Melissa Shultz	0	0	1 3.6%	10 35.7%	17 60.7%	28	4.6					

Responses: [SD] Strongly Disagree=	1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
------------------------------------	--

Course Evaluation Questions		Faculty Results										
012 Mu instructor manifes timely feathack to mide my surgeon			Responses (%)									
Q12. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	Ν	Mean					
Andrew Legrand	0	1 3.2%	2 6.5%	13 41.9%	15 48.4%	31	4.4					
Melissa Shultz	0	0	0	13 46.4%	15 53.6%	28	4.5					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither	Agre	e or Disag	ree=3 [A] A	gree=4 [SA]	Stron	gly Agree=5
Course Evaluation Questions				Faculty F	Results		
			Respo	onses (%)		In	dividual
Q13. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	Α	SA	Ν	Mean
Andrew Legrand	0	0	2 6.7%	12 40%	16 53.3%	30	4.5
Melissa Shultz	0	0	2 7.1%	11 39.3%	15 53.6%	28	4.5

Course Evaluation Questions			F	aculty Re	sults		
		ļ	Respons	ses (%)		Inc	dividual
Q14. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	Ν	Mean
Andrew Legrand	0	1 3.2%	2 6.5%	15 48.4%	13 41.9%	31	4.3
Melissa Shultz	0	0	0	10 37%	17 63%	27	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions					Faculty Re	sults		
				Respon	ses (%)		In	dividual
Q15. My instructor encourages me to develop new viewpoints.		SD	D	Ν	Α	SA	Ν	Mean
Andrew Legrand	3	1 3.2%	0	2 6.5%	17 54.8%	11 35.5%	31	4.2
Melissa Shultz		0	0	1 3.6%	10 35.7%	17 60.7%	28	4.6
Respo	nses: [SD] Strongly Disagree=1 [D] Disagr	ree=2 [1	Ne] Ne	ither Agree o	or Disagree=3	[A] Agree=4 [SA] Stro	ngly Agree=
Course Evaluation Questions					Facult	ty Results		
		Г		D	enonene (%)	`	1.	leubividual

			Respo	onses (%)		In	dividual
Q16. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean
Andrew Legrand	0	0	2 6.5%	9 29%	20 64.5%	31	4.6
Melissa Shultz	0	0	2 7.1%	8 28.6%	18 64.3%	28	4.6

	Course:	LAW - 7V91 001 - Practicum	Depar	rtmen	it: La	wScho	ol		
	Responsible Faculty:	Jonathan Bridges	Responses / Exp	pecte	d: 4,	/ 19 (21	.05%)		
Cou	se Evaluation Questions					Jonatha	n Bridges		
000	Se Evaluation Questions				Respo	nses (%))	In	dividual
			S	SD D	N	Α	SA	N	Mean
Q1	My instructor explains difficult	t material clearly.		0 0	1 25%	2 50%	1 25%	4	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.		0 0	1 25%	1 25%	2 50%	4	4.3
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0 0	0	0	3 100%	3	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.		0 0	1 25%	1 25%	2 50%	4	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0 0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0 0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a cli	imate of respect for students.		0 0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.		0 0	0	0	4 100%	4	5.0
Q9	My instructor encourages me t	to do my best work.		0 0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely f	feedback to guide my progress.		0 0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0 0	0	0	4 100%	4	5.0
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the subject.		0 0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me t	to develop new viewpoints.		0 0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subjec	t interesting and motivated me to learn.		0 0	0	1 25%	3 75%	4	4.8

	Course:	LAW - 7V91 501 - Practicum		Departr	nent: L	awSchoo	l		
	Responsible Faculty:	Johannes Walker	Response	s / Expe	ted:	9 / 16 (56.	25%)		
Cour	rse Evaluation Questions	dividual							
			SI		-		SA	N	Mean
Q1	My instructor explains difficult	material clearly.		% 0				9	4.1
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.		% 0				9	4.1
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.			0			9	3.4
Q4	My instructor provides materia	al that helps me do well on assignments.						9	3.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.	C	0				9	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.		% 0	0			9	4.2
Q7	My instructor establishes a cli	mate of respect for students.	C	0				9	4.4
Q8	My instructor is available to m	e on matters pertaining to the course.	C		0			9	4.3
Q9	My instructor encourages me	to do my best work.	C	0				9	4.4
Q10	My instructor provides timely	eedback to guide my progress.	C		0			9	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	C	0			-	9	4.3
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	C	0	1 11.19	3 33.3%	5 55.6%	9	4.4
Q13	My instructor encourages me	to develop new viewpoints.	C	0	2 25%	2 25%	4 50%	8	4.3
Q14	My instructor made the subject	t interesting and motivated me to learn.	C	0	1	4 44.4%	4	9	4.3

	Course:	LAW - 7V93 001 - Clinic	Dep	artm	nent: L	awSchoo	ol		
	Responsible Faculty:	Cheryl Wattley	Responses / E	kped	ted: 3	8 / 4 (75%	6)		
Cou	se Evaluation Questions					Cheryl W	attley		
oou	se Evaluation Questions				Respor	nses (%)		In	dividual
			SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q4	My instructor provides materia	l that helps me do well on assignments.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q7	My instructor establishes a cli	mate of respect for students.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q9	My instructor encourages me	o do my best work.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q10	My instructor provides timely f	eedback to guide my progress.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q12	My instructor encourages me	o connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q13	My instructor encourages me	o develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	0	2 66.7%	0	1 33.3%	3	3.7

	Course: LAW - 7V93 002 - Clinic	Depa	rtme	ent:	La	awScho	ol		
	Responsible Faculty: Cheryl Wattley	Responses / Ex	pect	ed:	1	/ 1 (100	1%)		
Cour	rse Evaluation Questions					Cheryl	Wattley		
cou				R	lesp	onses (%)	In	dividual
	1		SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficult material clearly.		0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.		0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.		0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.		0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.		0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.		0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.		0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.		0	0	0	1 100%	0	1	4.0
Q9	My instructor encourages me to do my best work.		0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.		0	0	0	1 100%	0	1	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.		0	0	0	1 100%	0	1	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.		0	0	0	1 100%	0	1	4.0
Q13	My instructor encourages me to develop new viewpoints.		0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.		0	0	0	1 100%	0	1	4.0

	Course:	LAW - 7V93 502 - Clinic	Departme	nt: l	av	vSc	ho	ol		
	Responsible Faculty:	Cheryl Wattley	Responses / Expecte	ed:	1/	1 (100)%)		
Cour	se Evaluation Questions					(Chei	ryl Wattle	эy	
000	Se Evaluation Questions				· ·	ons		• •		dividual
~ -				-	-	-	A	SA	N	Mear
Q1	My instructor explains difficult	t material clearly.		0 0)	0	0	100%	1	5.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.		0 0)	0	0	1 100%	1	5.0
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0 ()	0	0	1 100%	1	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.		0 0)	0	0	1 100%	1	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0 0)	0	0	1 100%	1	5.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0 0)	0	0	1 100%	1	5.0
Q7	My instructor establishes a cli	mate of respect for students.		0 0)	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.		0 0)	0	0	1 100%	1	5.0
Q9	My instructor encourages me t	to do my best work.		0 0)	0	0	1 100%	1	5.0
Q10	My instructor provides timely f	feedback to guide my progress.		0 0)	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0 0)	0	0	1 100%	1	5.0
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the subject.		0 0)	0	0	1 100%	1	5.0
Q13	My instructor encourages me t	to develop new viewpoints.		0 0)	0	0	1 100%	1	5.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.		0 0)	0	0	1 100%	1	5.0

	Course:	LAW - 7V98 001 - Independent Study	Dep	part	ner	nt: La	wSchoo	d l		
	Responsible Faculty:	Eric Porterfield	Responses / E	Ехре	cte	ed: 1	/ 1 (1009	%)		
Cou	se Evaluation Questions						Eric Port	erfield		
000	Se Evaluation Questions				- 1	Respon				dividua
			5	SD	D	N	A	SA	Ν	Mear
21	My instructor explains difficult	material clearly.		0	0	0	1 100%	0	1	4.0
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.		0	0	0	1 100%	0	1	4.0
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.		0	0	0	1 100%	0	1	4.0
Q4	My instructor provides materia	I that helps me do well on assignments.		0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	1 100%	0	0	1	3.0
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.		0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a cli	mate of respect for students.		0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me t	o do my best work.		0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely f	eedback to guide my progress.		0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the subject.		0	0	0	1 100%	0	1	4.0
Q13	My instructor encourages me t	o develop new viewpoints.		0	0	1 100%	0	0	1	3.0
Q14	My instructor made the subjec	t interesting and motivated me to learn.		0	0	1 100%	0	0	1	3.0

	Course:	LAW - 7V98 003 - Independent Study	Departm	ent:	La	wS	chc	ol		
	Responsible Faculty:	Jennifer Wondracek	Responses / Expec	ted:	1	/ 2	(50	%)		
Cour	se Evaluation Questions					Je	nnif	er Wondr	acek	
ooui	se Evaluation Questions				Res	pon	ses	(%)	In	dividual
				SD	D	Ν	A	SA	Ν	Mean
Q1	My instructor explains difficult	: material clearly.		0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	0	0	1 100%	1	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a cli	mate of respect for students.		0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me	to do my best work.		0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely f	feedback to guide my progress.		0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me	to develop new viewpoints.		0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject	t interesting and motivated me to learn.		0	0	0	0	1 100%	1	5.0

	Course:	LAW - 7V98 004 - Independent Study	Departm	nent:	La	wS	cho	ol		
	Responsible Faculty:	Peter Alexander	Responses / Expec	ted:	1	/1	(10)%)		
Cour	se Evaluation Questions				Res		Pete ses	er Alexano (%)		ıdividual
				SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.		0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	0	0	1 100%	1	5.0
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a cli	imate of respect for students.		0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me	to do my best work.		0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely	feedback to guide my progress.		0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me	to develop new viewpoints.		0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject	ot interesting and motivated me to learn.		0	0	0	0	1 100%	1	5.0

Course: LAW - 7099 001 - Louis a. Bedford Jr. Mentorship Program		De	epartme	ent: 52	521260 34 / 93 (36.56%)					
Responsible Faculty: Ernest Higginbotham Responsible			Responses /	Expect						ed: 34
Course Evaluation Questions				Ernest Higginbotham						
					-	ponses (%)			lividual	
			SD	D	N	A	SA	N	Mean	
Q1	My instructor explains difficul	t material clearly.	0	2 5.9%	18 52.9%	7 20.6%	7 20.6%	34	3.6	
Q2	My instructor provides facts, examples, and references that helped me learn the material.		0	0	20 58.8%	7 20.6%	7 20.6%	34	3.6	
Q3	My instructor gives assignments that contribute to my understanding of the subject.		0	3 9.4%	16 50%	7 21.9%	6 18.8%	32	3.5	
Q4	My instructor provides material that helps me do well on assignments.		0	2 5.9%	20 58.8%	6 17.6%	6 17.6%	34	3.5	
Q5	My instructor explains new ideas by relating them to familiar concepts.		0	0	19 55.9%	9 26.5%	6 17.6%	34	3.6	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.		0	1 3%	20 60.6%	6 18.2%	6 18.2%	33	3.5	
Q7	My instructor establishes a cli	mate of respect for students.	0	2 5.9%	10 29.4%	8 23.5%	14 41.2%	34	4.0	
Q8	My instructor is available to me on matters pertaining to the course.		2 5.9%	0	15 44.1%	8 23.5%	9 26.5%	34	3.6	
Q9	My instructor encourages me	to do my best work.	0	0	16 47.1%	6 17.6%	12 35.3%	34	3.9	
Q10	My instructor provides timely	feedback to guide my progress.	1 2.9%	0	19 55.9%	4 11.8%	10 29.4%	34	3.6	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	13 38.2%	7 20.6%	14 41.2%	34	4.0	
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	1 2.9%	18 52.9%	7 20.6%	8 23.5%	34	3.6	
Q13	My instructor encourages me	to develop new viewpoints.	0	1 2.9%	15 44.1%	9 26.5%	9 26.5%	34	3.8	
Q14	My instructor made the subject	t interesting and motivated me to learn.	1 2.9%	1 2.9%	16 47.1%	7 20.6%	9 26.5%	34	3.6	

Course: LAW - 7099 501 - Louis a. Bedford Jr. Mentorship Program Responsible Faculty: Ernest Higginbotham Course Evaluation Questions		D	Department: Responses / Expected:			521260				
		Responses				18 / 44 (40.91%)				
			Ernest Higginbotham							
Course Evaluation Questions				Re	sponses	onses (%)			lividual	
			SD	D	Ν	Α	SA	Ν	Mear	
Q1	My instructor explains difficul	t material clearly.	1 5.9%	1 5.9%	6 35.3%	2 11.8%	7 41.2%	17	3.8	
Q2	My instructor provides facts, examples, and references that helped me learn the material.		1 5.9%	1 5.9%	6 35.3%	2 11.8%	7 41.2%	17	3.8	
Q3	My instructor gives assignments that contribute to my understanding of the subject.		1 5.9%	1 5.9%	6 35.3%	2 11.8%	7 41.2%	17	3.8	
Q4	My instructor provides material that helps me do well on assignments.		0	1 5.9%	8 47.1%	1 5.9%	7 41.2%	17	3.8	
Q5	My instructor explains new ideas by relating them to familiar concepts.		1 5.9%	1 5.9%	6 35.3%	2 11.8%	7 41.2%	17	3.8	
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	1 5.9%	8 47.1%	1 5.9%	7 41.2%	17	3.8	
Q7	My instructor establishes a cli	imate of respect for students.	1 5.9%	1 5.9%	2 11.8%	3 17.6%	10 58.8%	17	4.2	
Q8	My instructor is available to me on matters pertaining to the course.		1 5.9%	1 5.9%	4 23.5%	2 11.8%	9 52.9%	17	4.0	
Q9	My instructor encourages me to do my best work.		1 5.9%	1 5.9%	4 23.5%	3 17.6%	8 47.1%	17	3.9	
Q10	My instructor provides timely	feedback to guide my progress.	0	1 5.9%	7 41.2%	1 5.9%	8 47.1%	17	3.9	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	1 5.9%	1 5.9%	2 11.8%	4 23.5%	9 52.9%	17	4.1	
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	1 5.9%	5 29.4%	2 11.8%	9 52.9%	17	4.1	
Q13	My instructor encourages me	to develop new viewpoints.	1 5.9%	1 5.9%	5 29.4%	1 5.9%	9 52.9%	17	3.9	
Q14	My instructor made the subjec	t interesting and motivated me to learn.	1 5.9%	2 11.8%	4 23.5%	2 11.8%	8 47.1%	17	3.8	

	Course:	LAW - 7109 001 - Academic Success Asst Pgm	Dep	artm	nent: L	awScho	ol						
	Responsible Faculty:	Meijken Westenskow	Responses / E	xpeo	ted: 6	5 / 11 (54	.55%)						
Cour	se Evaluation Questions			Meijken Westenskow Responses (%)									
			SD	D	N	Α	SA	Ν	Mean				
Q1	My instructor explains difficul	t material clearly.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7				
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7				
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7				
Q9	My instructor encourages me	to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7				
Q10	My instructor provides timely	feedback to guide my progress.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7				
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7				
Q13	My instructor encourages me	to develop new viewpoints.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5				
Q14	My instructor made the subject	t interesting and motivated me to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3				

	Course:	LAW - 7119 001 - Advocacy Skills Development	Departmen	t: I	Law	Schoo	I		
	Responsible Faculty:	Melissa Shultz	Responses / Expected	l:	4 / ′	11 (36.	36%)		
Cou	se Evaluation Questions					Melis	sa Shult	z	
000	Se Evaluation Questions			1		nses (%	-		dividual
	1		SD	D	N	A	SA	Ν	Mear
Q1	My instructor explains difficult	t material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
23	My instructor gives assignmer	nts that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a cli	imate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me t	to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely f	feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me t	to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subjec	ct interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

	Course:	LAW - 7201 001 - Teaching Fellows		Departme	ent:	Law	School			
	Responsible Faculty:	Christine Tamer	Respo	onses / Expect	ed:	10/	10 (10	0%)		
Cour	rse Evaluation Questions					C	hristine	Tamer		
ooui	Se Evaluation Questions				R	espons	ses (%)		Ind	lividual
				SD	D	Ν	Α	SA	Ν	Mea
Q1	My instructor explains difficult	t material clearly.		0	0	0	5 50%	5 50%	10	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	0	1 10%	9 90%	10	4.9
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	0	2 20%	8 80%	10	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor explains new ide	eas by relating them to familiar concepts.		0	0	0	3 30%	7 70%	10	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		o	0	0	4 40%	6 60%	10	4.6
Q7	My instructor establishes a cli	imate of respect for students.		0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor encourages me	to do my best work.		0	0	0	2 20%	8 80%	10	4.8
Q10	My instructor provides timely	feedback to guide my progress.		O	0	0	2 20%	8 80%	10	4.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.		0	0	1 10%	1 10%	8 80%	10	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject	pt.	0	0	0	3 30%	7 70%	10	4.7
Q13	My instructor encourages me	to develop new viewpoints.		ο	0	0	2 20%	8 80%	10	4.8
Q14	My instructor made the subject	ct interesting and motivated me to learn.		0	0	0	3 30%	7 70%	10	4.7

	Course:	LAW - 7205 501 - Texas Civil Procedure		Departme	ent:	Law	School			
	Responsible Faculty:	Christine Tamer	Respon	ses / Expect	ed:	5/5	5 (100%	.)		
Cou	rse Evaluation Questions				F	C Respons	r Individu			
				SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.		0	0	1 20%	1 20%	3 60%	5	4.4
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	1 20%	1 20%	3 60%	5	4.4
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	1 20%	1 20%	3 60%	5	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	1 20%	2 40%	2 40%	5	4.2
Q5	My instructor explains new ide	eas by relating them to familiar concepts.		0	0	2 40%	1 20%	2 40%	5	4.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	0	1 20%	2 40%	2 40%	5	4.2
Q7	My instructor establishes a cli	imate of respect for students.		0	0	1 20%	1 20%	3 60%	5	4.4
Q8	My instructor is available to m	ne on matters pertaining to the course.		0	0	1 20%	1 20%	3 60%	5	4.4
Q9	My instructor encourages me	to do my best work.		0	0	1 20%	1 20%	3 60%	5	4.4
Q10	My instructor provides timely	feedback to guide my progress.		0	0	1 20%	1 20%	3 60%	5	4.4
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.		0	0	1 20%	1 20%	3 60%	5	4.4
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject	t.	0	0	1 20%	1 20%	3 60%	5	4.4
Q13	My instructor encourages me	to develop new viewpoints.		0	0	1 20%	1 20%	3 60%	5	4.4
Q14	My instructor made the subject	ct interesting and motivated me to learn.		0	0	1 20%	1 20%	3 60%	5	4.4

	Course:	LAW - 7206 001 - Texas Criminal Procedure	Departn	nent:	L	aw	Schoo	I		
	Responsible Faculty:	Clarence Cole	Responses / Expe	cted:	4	1/1	3 (30.	77%)		
Cour	rse Evaluation Questions						Clare	nce Col	9	
ooui	se Evaluation Questions					· .	nses (%			dividual
				SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	t material clearly.		0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a cli	imate of respect for students.		0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me	to do my best work.		0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely	feedback to guide my progress.		0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me	to develop new viewpoints.		0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject	t interesting and motivated me to learn.		0	0	0	1 25%	3 75%	4	4.8

	Course:	LAW - 7212 001 - Immigration Law	Dep	artn	nent: L	awScho	ol						
	Responsible Faculty:	Danial Gividen	Responses / E	хре	cted:	9 / 23 (39	0.13%)						
Cou	rse Evaluation Questions			Danial Gividen Responses (%)									
			SD	D	N	Α	SA	N	Mean				
Q1	My instructor explains difficul	t material clearly.	o	0	0	3 33.3%	6 66.7%	9	4.7				
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7				
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7				
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	3 33.3%	6 66.7%	9	4.7				
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6				
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6				
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8				
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6				
Q9	My instructor encourages me	to do my best work.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6				
Q10	My instructor provides timely	feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7				
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8				
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7				
Q13	My instructor encourages me	to develop new viewpoints.	o	0	0	3 33.3%	6 66.7%	9	4.7				
Q14	My instructor made the subject	ct interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8				

	Course:	LAW - 7213 501 - Property I		Departm	ent: La	awSchoo	I		
	Responsible Faculty:	Jonathan Bridges	Responses	/ Expec	ted: 1	0 / 39 (25	5.64%)		
Co	se Evaluation Questions				Joi	athan Brid	lges		
coui	se Evaluation Questions				Respons	es (%)		Ind	lividual
			SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	0	3 30%	7 70%	10	4.7
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q4	My instructor provides materia	l that helps me do well on assignments.	0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	1 10%	4 40%	5 50%	10	4.4
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q7	My instructor establishes a cli	mate of respect for students.	0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7
Q9	My instructor encourages me t	o do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely f	eedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the subject.	0	0	1 10%	1 10%	8 80%	10	4.7
Q13	My instructor encourages me t	o develop new viewpoints.	o	0	0	2 20%	8 80%	10	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	0	0	2 20%	8 80%	10	4.8

	Course:	LAW - 7214 001 - Property II	Dep	artm	ent:	LawScho	ol		
	Responsible Faculty:	Jonathan Bridges	Responses / E	хрес	ted:	19 / 43 (4	14.19%)		
Cour	se Evaluation Questions					Jonathan	Bridges		
					Resp	onses (%)	1		dividual
			S	DD	Ν	Α	SA	N	Mea
Q1	My instructor explains difficult	: material clearly.	C	0	1 5.3%	7 36.8%	11 57.9%	19	4.5
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	C	0	0	5 26.3%	14 73.7%	19	4.7
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.	C	0	0	6 31.6%	13 68.4%	19	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.	ſ	0	1 5.3%	5 26.3%	13 68.4%	19	4.6
Q5	My instructor explains new ide	as by relating them to familiar concepts.	(0	1 5.3%	4 21.1%	14 73.7%	19	4.7
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	(0	0	5 26.3%	14 73.7%	19	4.7
Q7	My instructor establishes a cli	mate of respect for students.	(0	0	2 10.5%	17 89.5%	19	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.	(0	0	2 10.5%	17 89.5%	19	4.9
Q9	My instructor encourages me	to do my best work.	(0	0	2 10.5%	17 89.5%	19	4.9
Q10	My instructor provides timely f	feedback to guide my progress.	C	0	0	4 21.1%	15 78.9%	19	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	(0	0	2 10.5%	17 89.5%	19	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subjec	t. (0	1 5.3%	1 5.3%	17 89.5%	19	4.8
Q13	My instructor encourages me	to develop new viewpoints.	(0	1 5.3%	2 10.5%	16 84.2%	19	4.8
Q14	My instructor made the subjec	t interesting and motivated me to learn.	(0	1 5.3%	4 21.1%	14 73.7%	19	4.7

	Course:	LAW - 7216 501 - Torts I	D	epartme	nt: La	wSchoo	l		
	Responsible Faculty:	Everett Chambers	Responses	/ Expecte	ed: 18	3 / 44 (40	.91%)		
Cour	rse Evaluation Questions				Evere	tt Chamb	ers		
ooui	Se Evaluation Questions			Re	sponses	(%)		Inc	dividual
			SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult	t material clearly.	1 5.9%	1 5.9%	0	8 47.1%	7 41.2%	17	4.1
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	2 11.8%	0	0	6 35.3%	9 52.9%	17	4.2
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.	2 11.8%	1 5.9%	2 11.8%	4 23.5%	8 47.1%	17	3.9
Q4	My instructor provides materia	al that helps me do well on assignments.	2 11.8%	2 11.8%	1 5.9%	5 29.4%	7 41.2%	17	3.8
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	1 5.9%	0	0	6 35.3%	10 58.8%	17	4.4
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	3 17.6%	1 5.9%	1 5.9%	3 17.6%	9 52.9%	17	3.8
Q7	My instructor establishes a cli	imate of respect for students.	2 11.8%	0	1 5.9%	5 29.4%	9 52.9%	17	4.1
Q8	My instructor is available to m	ne on matters pertaining to the course.	2 11.8%	0	1 5.9%	4 23.5%	10 58.8%	17	4.2
Q9	My instructor encourages me	to do my best work.	1 5.9%	0	1 5.9%	2 11.8%	13 76.5%	17	4.5
Q10	My instructor provides timely f	feedback to guide my progress.	3 17.6%	1 5.9%	0	5 29.4%	8 47.1%	17	3.8
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.	1 5.9%	1 5.9%	2 11.8%	5 29.4%	8 47.1%	17	4.1
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	1 5.9%	1 5.9%	1 5.9%	4 23.5%	10 58.8%	17	4.2
Q13	My instructor encourages me	to develop new viewpoints.	1 5.9%	2 11.8%	0	4 23.5%	10 58.8%	17	4.2
Q14	My instructor made the subject	ct interesting and motivated me to learn.	1 5.9%	1 5.9%	1 5.9%	3 17.6%	11 64.7%	17	4.3

	Course:	LAW - 7218 001 - First Amendment	Departme	ent:	LawScho	lol		
	Responsible Faculty:	Brian Owsley	Responses / Expect	ed:	9 / 11 (8	1.82%)		
Cour	se Evaluation Questions				Brian	Owsley		
Coui	se Evaluation Questions			Re	sponses (%)	In	dividual
			SD	D	A I	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.	O	0) 2 22.2%	7 77.8%	9	4.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0) 1 11.1%	8 88.9%	9	4.9
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.	0	0) 2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0) 2 2	7 77.8%	9	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0) 2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	ο	0) 2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a cli	mate of respect for students.	0	0) 2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0) 2 22.2%	7 77.8%	9	4.8
Q9	My instructor encourages me	to do my best work.	0	0) 2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely	feedback to guide my progress.	O	0) 2 22.2%	7 77.8%	9	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0) 1 1.1%	8 88.9%	9	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0) 2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me	to develop new viewpoints.	O	0) 2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject	t interesting and motivated me to learn.	0	0) 1 11.1%	8 88.9%	9	4.9

	Course:	LAW - 7221 001 - Effective Oral Communication	Departm	ent	:: L	_awScho	lo		
	Responsible Faculty:	Nicole Leboeuf	Responses / Expec	ted	:	11 / 20 (55%)		
Cou	se Evaluation Questions						Leboeuf		
	• • • • • •					ponses (%			lividual
			SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult	t material clearly.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q7	My instructor establishes a cli	imate of respect for students.	0	0	0	1 10%	9 90%	10	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q9	My instructor encourages me	to do my best work.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q10	My instructor provides timely	feedback to guide my progress.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q13	My instructor encourages me	to develop new viewpoints.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	0	0	1 9.1%	10 90.9%	11	4.9

	Course:	LAW - 7224 501 - Contracts II	Depa	rtm	ent: L	awScho	ol				
	Responsible Faculty:	Matthew Crockett	Responses / Ex	pec	ted:	11 / 38 (2	8.95%)				
Coui	se Evaluation Questions					Matthew	Crockett				
			SD	D	Respo	onses (%) A	SA	Inc	dividual Mean		
Q1	My instructor explains difficul	t material clearly.	0	0	0	2 18.2%	9 81.8%	11	4.8		
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	o	0	0	2 18.2%	9 81.8%	11	4.8		
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5		
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	4 36.4%	7 63.6%	11	4.6		
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7		
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	0	4 36.4%	7 63.6%	11	4.6		
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0	1 9.1%	10 90.9%	11	4.9		
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8		
Q9	My instructor encourages me	to do my best work.	0	0	0	1 9.1%	10 90.9%	11	4.9		
Q10	My instructor provides timely	feedback to guide my progress.	0	0	0	1 9.1%	10 90.9%	11	4.9		
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.	0	0	0	0	11 100%	11	5.0		
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8		
Q13	My instructor encourages me	to develop new viewpoints.	o	0	2 20%	2 20%	6 60%	10	4.4		
Q14	My instructor made the subject	ct interesting and motivated me to learn.	0	0	0	1 9.1%	10 90,9%	11	4.9		

	Course: LAW - 7227 501 - HEALTH CARE LAW	D	epartı	nent	: Lav	vSchoo	bl		
	Responsible Faculty: Loren Jacobson	Responses /	/ Expe	cted	: 15	/ 18 (8	3.33%)		
Coui	rse Evaluation Questions			Re	Lo	ren Jaco es (%)	obson	Ind	lividual
			SD	D	Ν	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	e	1 5.7%	0	0	1 6.7%	13 86.7%	15	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	e	1 5.7%	0	0	0	14 93.3%	15	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	6	1 5.7%	0	0	0	14 93.3%	15	4.7
Q4	My instructor provides material that helps me do well on assignments.	e	1 5.7%	0	0	1 6.7%	13 86.7%	15	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	6	1 5.7%	0	0	0	14 93.3%	15	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	e	1 5.7%	0	1 6.7%	0	13 86.7%	15	4.6
Q7	My instructor establishes a climate of respect for students.	6	1 5.7%	0	0	1 6.7%	13 86.7%	15	4.7
Q8	My instructor is available to me on matters pertaining to the course.	6	1 5.7%	0	0	0	14 93.3%	15	4.7
Q9	My instructor encourages me to do my best work.	é	1 5.7%	0	0	0	14 93.3%	15	4.7
Q10	My instructor provides timely feedback to guide my progress.	7	1 7.1%	0	0	1 7.1%	12 85.7%	14	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	6	1 5.7%	0	0	0	14 93.3%	15	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	7	1 7.7%	0	0	1 7.7%	11 84.6%	13	4.6
Q13	My instructor encourages me to develop new viewpoints.	e	1 5.7%	0 1	2 3.3%	1 6.7%	11 73.3%	15	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	6	1	0	0	0	14 93.3%	15	4.7

	Course:	LAW - 7228 501 - INTELLECTUAL PROPERTY LAW	De	epartm	ent: L	ent: LawSchool					
	Responsible Faculty:	Valerie Davis	Responses /	Expec	ted: 1	0 / 17 (5	8.82%)				
Cou	rse Evaluation Questions		at helped me learn the material.00 $1 \\ 10\% \\ 30\% \\ 30\% \\ 50\% \\ 10$ 104.5at helped me learn the material.00 $1 \\ 10\% \\ 40\% \\ 50\% \\ 10$ 4.4derstanding of the subject.00 $1 \\ 11.1\% \\ 22.2\% \\ 33.3\% \\ 44.4\% \\ 9$ 9assignments.00 $2 \\ 22.2\% \\ 33.3\% \\ 44.4\% \\ 9$ 9liar concepts.00 $1 \\ 10\% \\ 10\% \\ 40\% \\ 50\% \\ 50\% \\ 10$ 10assignments.00 $2 \\ 77.8\% \\ 9$ 10s.00 $2 \\ 22.2\% \\ 77.8\% \\ 9$ 4.8ba servero000 $2 \\ 22.2\% \\ 77.8\% \\ 9$ 4.8						lividual		
			SD	D	-		SA		Mean		
Q1	My instructor explains difficul	t material clearly.	0	0	-			10	4.5		
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	-			10	4.4		
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	0	0	-			9	4.6		
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0				9	4.2		
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	0				10	4.4		
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	o		0			10	4.3		
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0			9	4.8		
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8		
Q9	My instructor encourages me	to do my best work.	0	0	0	2 20%	8 80%	10	4.8		
Q10	My instructor provides timely	feedback to guide my progress.	o	1 10%	1 10%	1 10%	7 70%	10	4.4		
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8		
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	1 10%	2 20%	7 70%	10	4.6		
Q13	My instructor encourages me	to develop new viewpoints.	o	0	2 20%	1 10%	7 70%	10	4.5		
Q14	My instructor made the subject	ct interesting and motivated me to learn.	0	0	3 30%	2 20%	5 50%	10	4.2		

	Course: LAW - 7229 001 - CONSUMER LAW		De	epartm	ent: L	awSchoo	bl		
	Responsible Faculty: Thomas Perkins	Respon	ses /	Expec	ted: 1	8 / 41 (4	3.90%)		
•					т	nomas Pe	rkins		
Coui	rse Evaluation Questions				Respons	ses (%)		Ind	lividua
			SD	D	Ν	Α	SA	Ν	Mea
Q1	My instructor explains difficult material clearly.		0	0	0	8 44.4%	10 55.6%	18	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.		0	0	0	5 27.8%	13 72.2%	18	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.		0	0	0	7 38.9%	11 61.1%	18	4.6
Q4	My instructor provides material that helps me do well on assignments.		0	0	0	5 27.8%	13 72.2%	18	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.		0	0	0	5 27.8%	13 72.2%	18	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.		0	1 5.6%	0	5 27.8%	12 66.7%	18	4.6
Q7	My instructor establishes a climate of respect for students.		0	0	0	6 33.3%	12 66.7%	18	4.7
Q8	My instructor is available to me on matters pertaining to the course.		0	0	0	6 33.3%	12 66.7%	18	4.7
Q9	My instructor encourages me to do my best work.		0	0	1 5.6%	4 22.2%	13 72.2%	18	4.7
Q10	My instructor provides timely feedback to guide my progress.		0	0	1 5.6%	5 27.8%	12 66.7%	18	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.		0	0	0	5 27.8%	13 72.2%	18	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.		0	0	2 11.1%	4 22.2%	12 66.7%	18	4.6
Q13	My instructor encourages me to develop new viewpoints.		0	0	2 11.1%	4 22.2%	12 66.7%	18	4.6
Q14	My instructor made the subject interesting and motivated me to learn.		0	0	1 5.6%	4 22.2%	13 72.2%	18	4.7

	Course:	LAW - 7230 501 - ADMINISTRATIVE LAW	De	epart	me	nt: L	awScho	ol		
	Responsible Faculty:	Thomas Perkins	Responses /	Exp	ecto	ed:	10 / 18 (5	55.56%)		
Court	se Evaluation Questions						Thomas	Perkins		
000	Se Evaluation Questions		-			Respo	onses (%)		Inc	lividual
				SD	D	Ν	Α	SA	Ν	Mea
Q1	My instructor explains difficult	a material clearly.		0	0	0	4 40%	6 60%	10	4.6
22	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	0	4 40%	6 60%	10	4.6
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	0	1 10%	4 40%	5 50%	10	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.		0	0	0	4 40%	6 60%	10	4.6
25	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	5 50%	5 50%	10	4.5
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	0	0	5 50%	5 50%	10	4.5
Q7	My instructor establishes a cli	mate of respect for students.		0	0	0	4 40%	6 60%	10	4.6
28	My instructor is available to m	e on matters pertaining to the course.		0	0	0	3 33.3%	6 66.7%	9	4.7
29	My instructor encourages me t	to do my best work.		0	0	0	5 50%	5 50%	10	4.5
Q10	My instructor provides timely f	ieedback to guide my progress.		0	0	0	4 40%	6 60%	10	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	4 40%	6 60%	10	4.6
212	My instructor encourages me t	to connect course topics to a wider understanding of the subject.		0	0	0	5 50%	5 50%	10	4.5
213	My instructor encourages me t	to develop new viewpoints.		0	0	1 10%	4 40%	5 50%	10	4.4
214	My instructor made the subjec	t interesting and motivated me to learn.		0	0	0	4 40%	6 60%	10	4.6

	Course:	LAW - 7231 001 - EMPLOYMENT LAW	D	epartme	nt: La	wSchoo	I		
	Responsible Faculty:	Michael Maslanka	Responses	/ Expecte	ed: 11	/ 27 (40).74%)		
Cour	se Evaluation Questions			_		ael Masla	nka		
			SD	Re	sponses N	(%) A	SA	Ind	ividual Mean
Q1	My instructor explains difficult	t material clearly.	0	2 18.2%	2 18.2%	3 27.3%	4 36.4%	11	3.8
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	2 18.2%	0	7 63.6%	2 18.2%	11	3.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.	0	0	2 18.2%	5 45.5%	4 36.4%	11	4.2
Q4	My instructor provides materia	al that helps me do well on assignments.	0	1 9.1%	1 9.1%	5 45.5%	4 36.4%	11	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	1 9.1%	1 9.1%	3 27.3%	6 54.5%	11	4.3
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	2 18.2%	3 27.3%	4 36.4%	11	3.7
Q7	My instructor establishes a cli	mate of respect for students.	0	1 9.1%	2 18.2%	1 9.1%	7 63.6%	11	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q9	My instructor encourages me	to do my best work.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q10	My instructor provides timely	feedback to guide my progress.	0	2 18.2%	1 9.1%	4 36.4%	4 36.4%	11	3.9
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	1 9.1%	1 9.1%	2 18.2%	7 63.6%	11	4.4
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q13	My instructor encourages me	to develop new viewpoints.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q14	My instructor made the subject	t interesting and motivated me to learn.	1 9.1%	2 18.2%	0	5 45.5%	3 27.3%	11	3.6

	Course:	LAW - 7231 501 - EMPLOYMENT LAW	1	Departm	ent: La				
	Responsible Faculty:	Michael Maslanka	Responses	/ Expec	ted: 9	/ 19 (47.	37%)		
Cour	rse Evaluation Questions				Mic Respons	hael Masl es (%)	In	dividual	
			SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	0	0	9 100%	9	5.0
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0	0	8 100%	8	5.0
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0
Q9	My instructor encourages me	to do my best work.	0	0	0	0	9 100%	9	5.0
Q10	My instructor provides timely	feedback to guide my progress.	0	1 11.1%	1 11.1%	1 11.1%	6 66.7%	9	4.3
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	0	9 100%	9	5.0
Q13	My instructor encourages me	to develop new viewpoints.	o	0	0	1 11.1%	8 88.9%	9	4.9
Q14	My instructor made the subject	t interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0

	Course:	LAW - 7295 001 - Capstone II	D	epartme	nt: Lav	wSchool			
	Responsible Faculty:	Everett Chambers	Responses	Expecte	ed: 27	/ 69 (39	.13%)		
Cour	se Evaluation Questions			Re	Everet	t Chambe	ers	Ind	lividual
			SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.	1 3.7%	3 11.1%	3 11.1%	10 37%	10 37%	27	3.9
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	1 3.7%	3 11.1%	4 14.8%	9 33.3%	10 37%	27	3.9
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.	1 3.7%	2 7.4%	3 11.1%	11 40.7%	10 37%	27	4.0
Q4	My instructor provides materia	al that helps me do well on assignments.	1 3.7%	4 14.8%	4 14.8%	9 33.3%	9 33.3%	27	3.8
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	2 7.4%	1 3.7%	5 18.5%	10 37%	9 33.3%	27	3.9
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	5 18.5%	4 14.8%	7 25.9%	3 11.1%	8 29.6%	27	3.2
Q7	My instructor establishes a cl	imate of respect for students.	3 11.5%	2 7.7%	4 15.4%	9 34.6%	8 30.8%	26	3.7
Q8	My instructor is available to m	e on matters pertaining to the course.	1 3.8%	1 3.8%	5 19.2%	10 38.5%	9 34.6%	26	4.0
Q9	My instructor encourages me	to do my best work.	1 3.7%	2 7.4%	2 7.4%	9 33.3%	13 48.1%	27	4.1
Q10	My instructor provides timely	feedback to guide my progress.	9 33.3%	5 18.5%	4 14.8%	3 11.1%	6 22.2%	27	2.7
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.	1 3.7%	2 7.4%	3 11.1%	10 37%	11 40.7%	27	4.0
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	1 3.7%	3 11.1%	3 11.1%	10 37%	10 37%	27	3.9
Q13	My instructor encourages me	to develop new viewpoints.	1 3.7%	3 11.1%	4 14.8%	6 22.2%	13 48.1%	27	4.0
Q14	My instructor made the subject	ct interesting and motivated me to learn.	4	2 7.4%	4 14.8%	7 25.9%	10 37%	27	3.6

	Course:	LAW - 7295 501 - Capstone II		Dep	partme	nt: La	wSchoo	I		
	Responsible Faculty:	Preyal Shah	Response	es / E	xpect	ed: 22	/ 33 (66	6.67%)		
Cour	se Evaluation Questions				De	Presponses	eyal Shał	1	Ind	lividual
			5	SD	D	N	(["])	SA	N	Mean
Q1	My instructor explains difficult	t material clearly.		2 .1%	1 4.5%	0	8 36.4%	11 50%	22	4.1
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		2 .5%	0	1 4.8%	4 19%	14 66.7%	21	4.3
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		2 .5%	0	0	5 23.8%	14 66.7%	21	4.4
Q4	My instructor provides materia	al that helps me do well on assignments.		2 .5%	1 4.8%	0	4 19%	14 66.7%	21	4.3
Q5	My instructor explains new ide	eas by relating them to familiar concepts.		2 .5%	1 4.8%	0	7 33.3%	11 52.4%	21	4.1
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		3 4.3%	0	0	6 28.6%	12 57.1%	21	4.1
Q7	My instructor establishes a cli	imate of respect for students.		2 .1%	0	1 4.5%	2 9.1%	17 77.3%	22	4.5
Q8	My instructor is available to m	e on matters pertaining to the course.		2 .1%	0	0	3 13.6%	17 77.3%	22	4.5
Q9	My instructor encourages me	to do my best work.		2 .1%	0	0	5 22.7%	15 68.2%	22	4.4
Q10	My instructor provides timely	feedback to guide my progress.		1 .5%	1 4.5%	2 9.1%	6 27.3%	12 54.5%	22	4.2
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		2 .1%	1 4.5%	1 4.5%	6 27.3%	12 54.5%	22	4.1
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		2 .1%	0	1 4.5%	6 27.3%	13 59.1%	22	4.3
Q13	My instructor encourages me	to develop new viewpoints.		1 .5%	1 4.5%	3 13.6%	6 27.3%	11 50%	22	4.1
Q14	My instructor made the subject	ct interesting and motivated me to learn.		2	1 4.5%	0	8 36.4%	11 50%	22	4.1

	Course:	LAW - 7301 001 - Legal Writing I		De	partme	ent: La	wSchoo	d		
	Responsible Faculty:	Melissa Shultz	Respo	nses /	Expect	ed: 4	1 / 93 (44	4.09%)		
0						Ele	eanor Ma	ck		
Cour	se Evaluation Questions				R	esponse	s (%)		Ind	lividual
	1			SD	D	N	Α	SA	Ν	Mean
Q1	My instructor explains difficul	t material clearly.		0	1 2.5%	8 20%	20 50%	11 27.5%	40	4.0
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	1 2.5%	7 17.5%	16 40%	16 40%	40	4.2
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.		0	0	7 17.5%	20 50%	13 32.5%	40	4.2
Q4	My instructor provides materia	al that helps me do well on assignments.		0	1 2.5%	7 17.5%	18 45%	14 35%	40	4.1
Q5	My instructor explains new ide	eas by relating them to familiar concepts.		0	1 2.5%	7 17.5%	19 47.5%	13 32.5%	40	4.1
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	1 2.5%	7 17.5%	15 37.5%	17 42.5%	40	4.2
Q7	My instructor establishes a cl	imate of respect for students.		0	2 5%	8 20%	8 20%	22 55%	40	4.3
Q8	My instructor is available to m	e on matters pertaining to the course.		1 2.5%	1 2.5%	7 17.5%	12 30%	19 47.5%	40	4.2
Q9	My instructor encourages me	to do my best work.		0	2 5%	5 12.5%	10 25%	23 57.5%	40	4.4
Q10	My instructor provides timely	feedback to guide my progress.		0	2 5%	8 20%	12 30%	18 45%	40	4.2
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		1 2.5%	0	8 20%	15 37.5%	16 40%	40	4.1
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	8 20%	12 30%	20 50%	40	4.3
Q13	My instructor encourages me	to develop new viewpoints.		0	0	9 22.5%	16 40%	15 37.5%	40	4.2
Q14	My instructor made the subject	ct interesting and motivated me to learn.		1 2.5%	2 5%	6 15%	13 32.5%	18 45%	40	4.1

	Course:	LAW - 7301 501 - Legal Writing I		De	partm	ent: La	awSchoo	bl		
	Responsible Faculty:	Melissa Shultz	Response	es /	Expec	ted: 3				
^	se Evaluation Questions					Ar	ndrew Leg	rand		
Cour	se Evaluation Questions					Respons	es (%)		Ind	lividua
			S	SD	D	N	Α	SA	Ν	Mear
Q1	My instructor explains difficult	a material clearly.		0	1 3.3%	1 3.3%	15 50%	13 43.3%	30	4.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		0	0	2 6.7%	11 36.7%	17 56.7%	30	4.5
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.		0	1 3.4%	3 10.3%	12 41.4%	13 44.8%	29	4.3
Q4	My instructor provides materia	al that helps me do well on assignments.		0	1 3.3%	4 13.3%	16 53.3%	9 30%	30	4.1
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	1 3.3%	2 6.7%	15 50%	12 40%	30	4.3
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.		0	1 3.3%	5 16.7%	11 36.7%	13 43.3%	30	4.2
Q7	My instructor establishes a cli	mate of respect for students.		0	0	1 3.3%	8 26.7%	21 70%	30	4.7
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	5 16.7%	10 33.3%	15 50%	30	4.3
Q9	My instructor encourages me	to do my best work.		0	0	2 6.7%	8 26.7%	20 66.7%	30	4.6
Q10	My instructor provides timely f	ieedback to guide my progress.		0	0	3 10%	12 40%	15 50%	30	4.4
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	3 10%	7 23.3%	20 66.7%	30	4.6
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	4 13.3%	11 36.7%	15 50%	30	4.4
Q13	My instructor encourages me	to develop new viewpoints.		0	0	5 16.7%	16 53.3%	9 30%	30	4.1
Q14	My instructor made the subjec	at interesting and motivated me to learn.		0	0	1 3.3%	12 40%	17 56.7%	30	4.5

	Course:	LAW - 7302 001 - Civil Procedure I	D	epartm	ent: La	awSchoo	bl		
	Responsible Faculty:	Thomas Perkins	Responses	/ Expect	t <mark>ed:</mark> 3				
.					Tł	iomas Pe	rkins		
Coui	se Evaluation Questions			I	Respons	es (%)		Ind	lividua
			SD	D	Ν	Α	SA	Ν	Mea
Q1	My instructor explains difficult	material clearly.	0	0	1 2.9%	12 35.3%	21 61.8%	34	4.6
Q2	My instructor provides facts, ex	amples, and references that helped me learn the material.	0	0	1 3%	5 15.2%	27 81.8%	33	4.8
Q3	My instructor gives assignment	ts that contribute to my understanding of the subject.	0	1 3%	3 9.1%	9 27.3%	20 60.6%	33	4.5
Q4	My instructor provides material	that helps me do well on assignments.	0	1 2.9%	0	9 26.5%	24 70.6%	34	4.6
Q5	My instructor explains new idea	as by relating them to familiar concepts.	0	1 3%	5 15.2%	7 21.2%	20 60.6%	33	4.4
Q6	My instructor evaluates my wor	k in ways that are helpful to my ability to learn.	0	0	7 20.6%	9 26.5%	18 52.9%	34	4.3
Q7	My instructor establishes a clir	nate of respect for students.	0	1 2.9%	0	8 23.5%	25 73.5%	34	4.7
Q8	My instructor is available to me	e on matters pertaining to the course.	0	3 8.8%	3 8.8%	8 23.5%	20 58.8%	34	4.3
Q9	My instructor encourages me to	o do my best work.	0	0	3 8.8%	9 26.5%	22 64.7%	34	4.6
Q10	My instructor provides timely fe	eedback to guide my progress.	0	2 6.1%	4 12.1%	13 39.4%	14 42.4%	33	4.2
Q11	My instructor creates an atmos	sphere in which ideas can be exchanged freely.	0	0	1 2.9%	10 29.4%	23 67.6%	34	4.6
Q12	My instructor encourages me to	o connect course topics to a wider understanding of the subject.	0	0	2 5.9%	13 38.2%	19 55.9%	34	4.5
Q13	My instructor encourages me to	o develop new viewpoints.	0	1 2.9%	3 8.8%	13 38.2%	17 50%	34	4.4
Q14	My instructor made the subject	interesting and motivated me to learn.	0	1 2.9%	2 5.9%	15 44.1%	16 47.1%	34	4.4

	Responsible Faculty:	Course: LAW - 7302 501 - Civil Procedure I				nt: La	wSchoo			
	Responsible Faculty.	Eric Porterfield	Respon	ses / I	Expecte	ed: 21	/ 44 (47	7.73%)		
SD DNASANQ1My instructor explains difficult material clearly. $1 \\ 5\%$ 00 $5 \\ 25\%$ 70% 20Q2My instructor provides facts, examples, and references that helped me learn the material. $1 \\ 5.3\%$ 0 $1 \\ 5.3\%$ $4 \\ 21.1\%$ 68.4% 19Q3My instructor gives assignments that contribute to my understanding of the subject. $1 \\ 5\%$ $1 \\ 5\%$ $1 \\ 5\%$ $6 \\ 30\%$ 55% 20Q4My instructor provides material that helps me do well on assignments. $1 \\ 5\%$ $0 \\ 15\%$ $1 \\ 5\%$ $1 \\ 5\%$ 40% 50% 20Q5My instructor explains new ideas by relating them to familiar concepts. $1 \\ 5\%$ $1 \\ 5\%$ $1 \\ 5\%$ $1 \\ 5\%$ 20% 65% 20 Q6My instructor evaluates my work in ways that are helpful to my ability to learn. $1 \\ 5.3\%$ $0 \\ 15\%$ $3 \\ 15.8\%$ $5 \\ 26.3\%$ $10 \\ 52.6\%$ 19 Q7My instructor excludents of respect for students. $1 \\ 0 \\ 1 \\ 5\%$ $1 \\ 0 \\ 1 \\ 5\%$ $5 \\ 13 \\ 20\%$								eld	Ind	lividual
				SD		-		SA	N	Mean
21 №	My instructor explains difficult	material clearly.			0	0			20	4.6
22 N	My instructor provides facts, e	xamples, and references that helped me learn the material.			0				19	4.5
23 N	My instructor gives assignmer	ts that contribute to my understanding of the subject.							20	4.3
24 №	My instructor provides materia	l that helps me do well on assignments.			0				20	4.3
25 N	My instructor explains new ide	as by relating them to familiar concepts.							20	4.4
26 N	Ay instructor evaluates my wo	rk in ways that are helpful to my ability to learn.			0				19	4.2
27 №	Ay instructor establishes a cli	mate of respect for students.		1 5%	0	1 5%	5 25%	13 65%	20	4.5
28 M	Ay instructor is available to m	e on matters pertaining to the course.		1 5%	1 5%	1 5%	4 20%	13 65%	20	4.4
29 M	My instructor encourages me t	o do my best work.		1 5%	0	3 15%	7 35%	9 45%	20	4.2
210 N	My instructor provides timely f	eedback to guide my progress.		1 5.3%	1 5.3%	1 5.3%	6 31.6%	10 52.6%	19	4.2
211 №	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		1 5%	0	2 10%	4 20%	13 65%	20	4.4
212 №	My instructor encourages me t	o connect course topics to a wider understanding of the subject.		1 5.3%	0	1 5.3%	6 31.6%	11 57.9%	19	4.4
213 N	My instructor encourages me t	o develop new viewpoints.		1 5%	0	2 10%	8 40%	9 45%	20	4.2
214 №	My instructor made the subjec	t interesting and motivated me to learn.		2 10%	1 5%	1 5%	4 20%	12 60%	20	4.2

	Course:	LAW - 7305 501 - Texas Civil Procedure	D	epartme	ent: L	awSchoo	bl			
	Responsible Faculty:	Christine Tamer	Responses /	/ Expect	ed: 3	0 / 33 (9	0.91%)			
•	- Fuchanting Outerting				C	nristine Ta	amer			
Coui	se Evaluation Questions			F	Respons	es (%)		Individu		
			SD	D	Ν	Α	SA	Ν	Mear	
Q1	My instructor explains difficult	material clearly.	0	0	0	5 16.7%	25 83.3%	30	4.8	
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	0	4 13.3%	26 86.7%	30	4.9	
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.	0	0	1 3.3%	8 26.7%	21 70%	30	4.7	
Q4	My instructor provides materia	al that helps me do well on assignments.	0	1 3.4%	1 3.4%	7 24.1%	20 69%	29	4.6	
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	2 6.7%	8 26.7%	20 66.7%	30	4.6	
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	0	0	2 6.7%	7 23.3%	21 70%	30	4.6	
Q7	My instructor establishes a cli	mate of respect for students.	0	0	0	3 10%	27 90%	30	4.9	
Q8	My instructor is available to m	e on matters pertaining to the course.	0	1 3.3%	1 3.3%	4 13.3%	24 80%	30	4.7	
Q9	My instructor encourages me t	ο do my best work.	0	0	0	5 16.7%	25 83.3%	30	4.8	
Q10	My instructor provides timely f	eedback to guide my progress.	0	0	0	4 13.8%	25 86.2%	29	4.9	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	3 10%	27 90%	30	4.9	
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the subject.	0	0	2 6.7%	6 20%	22 73.3%	30	4.7	
Q13	My instructor encourages me t	to develop new viewpoints.	0	0	5 17.2%	5 17.2%	19 65.5%	29	4.5	
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	0	0	7 23.3%	23 76.7%	30	4.8	

	Course:	LAW - 7307 001 - TEXAS CRIMINAL PROCEDURE	Dep	artn	nent: L	awScho	ol				
	Responsible Faculty:	Clarence Cole	Responses / E	хрео	ted:	ed: 19 / 41 (46.34%)					
Cou	se Evaluation Questions				-	Clarence					
			SD	D	Respo N	nses (%) A	SA	Inc N	dividual Mear		
Q1	My instructor explains difficul	t material clearly.	0	0	0	5 26.3%	14 73.7%	19	4.7		
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	0	2 10.5%	17 89.5%	19	4.9		
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	0	0	0	4 21.1%	15 78.9%	19	4.8		
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	0	2 10.5%	17 89.5%	19	4.9		
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	0	0	4 21.1%	15 78.9%	19	4.8		
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	0	0	0	5 26.3%	14 73.7%	19	4.7		
Q7	My instructor establishes a cl	imate of respect for students.	0	0	0	3 15.8%	16 84.2%	19	4.8		
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	2 10.5%	3 15.8%	14 73.7%	19	4.6		
Q9	My instructor encourages me	to do my best work.	0	0	0	3 15.8%	16 84.2%	19	4.8		
Q10	My instructor provides timely	feedback to guide my progress.	0	0	0	3 15.8%	16 84.2%	19	4.8		
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.	0	0	0	3 15.8%	16 84.2%	19	4.8		
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	3 15.8%	16 84.2%	19	4.8		
Q13	My instructor encourages me	to develop new viewpoints.	0	0	1 5.3%	2 10.5%	16 84.2%	19	4.8		
Q14	My instructor made the subject	ct interesting and motivated me to learn.	0	0	1 5.6%	1 5.6%	16 88.9%	18	4.8		

	Course:	LAW - 7310 501 - Criminal Law	1	Departme	nt: Lav	wSchool			
	Responsible Faculty:	Cheryl Wattley	Responses	/ Expect	ed: 9/	38 (23.6	58%)		
Cour	se Evaluation Questions			Re	Cher	yl Wattle	у	In	dividual
			SD	D	N	(.s) A	SA	N	Mean
Q1	My instructor explains difficul	t material clearly.	2 22.2%	3 33.3%	1 11.1%	3 33.3%	0	9	2.6
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	1 11.1%	2 22.2%	3 33.3%	3 33.3%	0	9	2.9
Q3	My instructor gives assignment	nts that contribute to my understanding of the subject.	2 22.2%	1 11.1%	3 33.3%	3 33.3%	0	9	2.8
Q4	My instructor provides materia	al that helps me do well on assignments.	1 11.1%	2 22.2%	5 55.6%	0	1 11.1%	9	2.8
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	1 11.1%	3 33.3%	1 11.1%	2 22.2%	2 22.2%	9	3.1
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	3 33.3%	1 11.1%	1 11.1%	3 33.3%	1 11.1%	9	2.8
Q7	My instructor establishes a cl	imate of respect for students.	2 22.2%	3 33.3%	0	2 22.2%	2 22.2%	9	2.9
Q8	My instructor is available to m	e on matters pertaining to the course.	1 11.1%	0	2 22.2%	4 44.4%	2 22.2%	9	3.7
Q9	My instructor encourages me	to do my best work.	0	1 11.1%	3 33.3%	2 22.2%	3 33.3%	9	3.8
Q10	My instructor provides timely	feedback to guide my progress.	2 22.2%	1 11.1%	2 22.2%	2 22.2%	2 22.2%	9	3.1
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	2 22.2%	3 33.3%	2 22.2%	1 11.1%	1 11.1%	9	2.6
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	1 11.1%	2 22.2%	2 22.2%	2 22.2%	2 22.2%	9	3.2
Q13	My instructor encourages me	to develop new viewpoints.	1 11.1%	2 22.2%	0	3 33.3%	3 33.3%	9	3.6
Q14	My instructor made the subject	t interesting and motivated me to learn.	0	2 22.2%	4 44.4%	1 11.1%	2 22.2%	9	3.3

	Course: LAW - 7312 501 - Practice Foundation I: Interviewing and Counseling		Departm	ent: La	awSchoo	ol					
	Responsible Faculty: Laura Frase	Responses	/ Expec	ted: 1	0 / 38 (2	6.32%)					
Cour	se Evaluation Questions		Laura Frase Responses (%)								
		SD	D	N	Α	SA	Ν	Mean			
Q1	My instructor explains difficult material clearly.	1 11.1%	1 11.1%	3 33.3%	2 22.2%	2 22.2%	9	3.3			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	1 11.1%	2 22.2%	3 33.3%	2 22.2%	9	3.4			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	4 44.4%	3 33.3%	1 11.1%	1 11.1%	9	2.9			
Q4	My instructor provides material that helps me do well on assignments.	3 33.3%	4 44.4%	0	1 11.1%	1 11.1%	9	2.2			
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	1 12.5%	0	4 50%	2 25%	8	3.6			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	4 44.4%	3 33.3%	0	0	2 22.2%	9	2.2			
Q7	My instructor establishes a climate of respect for students.	3 33.3%	2 22.2%	2 22.2%	1 11.1%	1 11.1%	9	2.4			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	4 50%	1 12.5%	3 37.5%	8	3.9			
Q9	My instructor encourages me to do my best work.	0	4 44.4%	3 33.3%	0	2 22.2%	9	3.0			
Q10	My instructor provides timely feedback to guide my progress.	3 37.5%	4 50%	0	0	1 12.5%	8	2.0			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	4 44.4%	0	4 44.4%	0	1 11.1%	9	2.3			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 11.1%	2 22.2%	3 33.3%	1 11.1%	2 22.2%	9	3.1			
Q13	My instructor encourages me to develop new viewpoints.	2 22.2%	0	3 33.3%	2 22.2%	2 22.2%	9	3.2			
Q14	My instructor made the subject interesting and motivated me to learn.	3 33.3%	1 11.1%	4 44.4%	0	1 11.1%	9	2.4			

	Course:	LAW - 7313 001 - Practice Foundation II: Negotiation and Conflict Resolution		Depai	rtment:	LawSc	hool		
	Responsible Faculty:	Laura Frase	Respons	es / Exp	pected:	23 / 44	(52.27%	%)	
C	se Evaluation Questions				Lau	ıra Frase			
Cour	se Evaluation Questions			Re	sponses	(%)		Ind	lividual
			SD	D	N	Α	SA	N	Mean
Q1	My instructor explains d	ifficult material clearly.	1 4.3%	1 4.3%	4 17.4%	12 52.2%	5 21.7%	23	3.8
Q2	My instructor provides fa	acts, examples, and references that helped me learn the material.	2 8.7%	2 8.7%	1 4.3%	9 39.1%	9 39.1%	23	3.9
Q3	My instructor gives assi	gnments that contribute to my understanding of the subject.	2 8.7%	3 13%	4 17.4%	6 26.1%	8 34.8%	23	3.7
Q4	My instructor provides n	naterial that helps me do well on assignments.	2 8.7%	1 4.3%	5 21.7%	8 34.8%	7 30.4%	23	3.7
Q5	My instructor explains n	ew ideas by relating them to familiar concepts.	2 8.7%	0	2 8.7%	11 47.8%	8 34.8%	23	4.0
Q6	My instructor evaluates	my work in ways that are helpful to my ability to learn.	3 13%	4 17.4%	4 17.4%	6 26.1%	6 26.1%	23	3.3
Q7	My instructor establishe	es a climate of respect for students.	0	0	1 4.3%	13 56.5%	9 39.1%	23	4.3
Q8	My instructor is availabl	e to me on matters pertaining to the course.	1 4.3%	1 4.3%	3 13%	8 34.8%	10 43.5%	23	4.1
Q9	My instructor encourage	es me to do my best work.	0	0	3 13%	10 43.5%	10 43.5%	23	4.3
Q10	My instructor provides ti	imely feedback to guide my progress.	5 21.7%	3 13%	5 21.7%	5 21.7%	5 21.7%	23	3.1
Q11	My instructor creates ar	n atmosphere in which ideas can be exchanged freely.	0	2 8.7%	3 13%	11 47.8%	7 30.4%	23	4.0
Q12	My instructor encourage	es me to connect course topics to a wider understanding of the subject.	0	2 8.7%	3 13%	9 39.1%	9 39.1%	23	4.1
Q13	My instructor encourage	es me to develop new viewpoints.	0	0	7 30.4%	8 34.8%	8 34.8%	23	4.0
Q14	My instructor made the	subject interesting and motivated me to learn.	3 13%	2 8.7%	4 17.4%	9 39.1%	5 21.7%	23	3.5

	Course:	LAW - 7315 501 - Family Law	De	partme	nt: La	awSchoo	bl		
	Responsible Faculty:	Kevin Robinowich	Responses /	Expecte	e d: 1	8 / 41 (4	3.90%)		
0	- Fuchanian Ouraniana				Ke	evin Robin	owich		
Cour	se Evaluation Questions			F	Respons	ses (%)		Ind	lividual
			SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	material clearly.	0	1 5.6%	0	3 16.7%	14 77.8%	18	4.7
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.	0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q7	My instructor establishes a cli	mate of respect for students.	0	0	0	1 5.6%	17 94.4%	18	4.9
Q8	My instructor is available to m	e on matters pertaining to the course.	0	1 5.6%	0	1 5.6%	16 88.9%	18	4.8
Q9	My instructor encourages me	to do my best work.	0	0	0	2 11.1%	16 88.9%	18	4.9
Q10	My instructor provides timely f	eedback to guide my progress.	0	1 5.6%	1 5.6%	3 16.7%	13 72.2%	18	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	0	1 5.6%	17 94.4%	18	4.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	0	4 22.2%	14 77.8%	18	4.8
Q13	My instructor encourages me	to develop new viewpoints.	0	0	1 5.6%	3 16.7%	14 77.8%	18	4.7
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	1 5.6%	0	3 16.7%	14 77.8%	18	4.7

	Course:	LAW - 7317 001 - Professional Responsibility		Departme	ent: La	wSchoo			
	Responsible Faculty:	Michael Maslanka	Response	s / Expect	ed: 8 ,	/ 29 (27.	59%)		
Cour	se Evaluation Questions					el Maslaı	nka	1	
000	Se Evaluation Questions			Re	esponses	(%)		In	dividual
			SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	t material clearly.	0	1 12.5%	3 37.5%	2 25%	2 25%	8	3.6
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	0	6 75%	2 25%	8	4.3
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.	0	0	4 50%	2 25%	2 25%	8	3.8
Q4	My instructor provides materia	al that helps me do well on assignments.	1 12.5	2 % 25%	1 12.5%	3 37.5%	1 12.5%	8	3.1
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	1 12.5%	3 37.5%	1 12.5%	3 37.5%	8	3.8
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	1 12.5	ω 0	3 37.5%	2 25%	2 25%	8	3.5
Q7	My instructor establishes a cli	imate of respect for students.	0	2 25%	2 25%	1 12.5%	3 37.5%	8	3.6
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me	to do my best work.	0	0	2 25%	2 25%	4 50%	8	4.3
Q10	My instructor provides timely	feedback to guide my progress.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	1 12.5%	2 25%	2 25%	3 37.5%	8	3.9
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q13	My instructor encourages me	to develop new viewpoints.	0	0	2 25%	2 25%	4 50%	8	4.3
Q14	My instructor made the subject	ct interesting and motivated me to learn.	1	2 % 25%	2 25%	1 12.5%	2 25%	8	3.1

	Course:	LAW - 7318 001 - Evidence		De	partme	ent: La	awSchoo	ol		
	Responsible Faculty:	Eric Porterfield	Response	s / I	Expect	ed: 1	8 / 53 (3	3.96%)		
_						E	ric Porter	ield		
Coui	se Evaluation Questions				I	Respons	es (%)		Ind	lividual
			S	SD	D	Ν	Α	SA	Ν	Mear
Q1	My instructor explains difficult	material clearly.		0	0	0	7 38.9%	11 61.1%	18	4.6
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.		0	0	0	4 22.2%	14 77.8%	18	4.8
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.		0	0	0	8 44.4%	10 55.6%	18	4.6
Q4	My instructor provides materia	I that helps me do well on assignments.		0	0	3 16.7%	4 22.2%	11 61.1%	18	4.4
Q5	My instructor explains new ide	as by relating them to familiar concepts.		0	0	0	7 38.9%	11 61.1%	18	4.6
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.		0	1 5.6%	1 5.6%	6 33.3%	10 55.6%	18	4.4
Q7	My instructor establishes a cli	mate of respect for students.		0	0	0	4 22.2%	14 77.8%	18	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.		0	0	0	5 27.8%	13 72.2%	18	4.7
Q9	My instructor encourages me	to do my best work.		0	0	0	6 33.3%	12 66.7%	18	4.7
Q10	My instructor provides timely f	eedback to guide my progress.		0	1 5.6%	0	5 27.8%	12 66.7%	18	4.6
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.		0	0	0	5 27.8%	13 72.2%	18	4.7
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	0	0	5 29.4%	12 70.6%	17	4.7
Q13	My instructor encourages met	to develop new viewpoints.		0	0	1 5.6%	6 33.3%	11 61.1%	18	4.6
Q14	My instructor made the subjec	t interesting and motivated me to learn.		0	0	0	9 50%	9 50%	18	4.5

	Course:	LAW - 7321 501 - Business Associations I	Depar	rtment	La	vSchoo	I			
	Responsible Faculty:	Reynaldo Valencia	Responses / Exp	pected	20	/ 51 (39	9.22%)			
Cou	se Evaluation Questions			Reynaldo Valencia Responses (%) Ir						
			S	D D	Ν	Α	SA	N	Mean	
Q1	My instructor explains difficul	t material clearly.	C	0 1	, c	7 35%	12 60%	20	4.5	
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	15	1 1 i% 5%	, 0	6 30%	12 60%	20	4.4	
Q3	My instructor gives assignmen	nts that contribute to my understanding of the subject.		0 2 10	1 % 5°		12 60%	20	4.4	
Q4	My instructor provides materia	al that helps me do well on assignments.	5	1 1 5% 5%	5' 5		11 55%	20	4.3	
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	C	0 1	, c	7 35%	12 60%	20	4.5	
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	C	0 3 15	« C	7 35%	10 50%	20	4.2	
Q7	My instructor establishes a cli	imate of respect for students.	C	0 1	, c	6 30%	13 65%	20	4.6	
Q8	My instructor is available to m	e on matters pertaining to the course.	C	0 3 15	κ Ο	6 30%	11 55%	20	4.3	
Q9	My instructor encourages me	to do my best work.	C	0 1	1 5 5'		12 60%	20	4.5	
Q10	My instructor provides timely	feedback to guide my progress.	C	0 1	1 5 5'		9 45%	20	4.3	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	C	0 1	, c	5 25%	14 70%	20	4.6	
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	C	0 1	, (6 30%	13 65%	20	4.6	
Q13	My instructor encourages me	to develop new viewpoints.	C	0 1	1 5 5'		12 60%	20	4.5	
Q14	My instructor made the subject	t interesting and motivated me to learn.	C	0 2 10	" (4 20%	14 70%	20	4.5	

	Course:	LAW - 7322 501 - Commercial Law	C	epartme	nt: La	wSchoo	1		
	Responsible Faculty:	Matthew Crockett	Responses	/ Expecte	ed: 31	/ 55 (56	5.36%)		
^	rse Evaluation Questions				Mattl	new Crocl	kett		
Coui	se Evaluation Questions			Re	sponses	; (%)		Ind	lividual
			SD	D	Ν	Α	SA	Ν	Mean
Q1	My instructor explains difficult	a material clearly.	0	3 9.7%	2 6.5%	9 29%	17 54.8%	31	4.3
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	0	0	2 6.5%	5 16.1%	24 77.4%	31	4.7
Q3	My instructor gives assignmer	nts that contribute to my understanding of the subject.	1 3.2%	1 3.2%	1 3.2%	8 25.8%	20 64.5%	31	4.5
Q4	My instructor provides materia	al that helps me do well on assignments.	0	3 9.7%	4 12.9%	8 25.8%	16 51.6%	31	4.2
Q5	My instructor explains new ide	eas by relating them to familiar concepts.	0	1 3.4%	0	12 41.4%	16 55.2%	29	4.5
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	2 6.5%	5 16.1%	2 6.5%	5 16.1%	17 54.8%	31	4.0
Q7	My instructor establishes a cli	mate of respect for students.	0	0	1 3.2%	3 9.7%	27 87.1%	31	4.8
Q8	My instructor is available to m	e on matters pertaining to the course.	0	1 3.2%	0	4 12.9%	26 83.9%	31	4.8
Q9	My instructor encourages me	to do my best work.	0	0	1 3.2%	6 19.4%	24 77.4%	31	4.7
Q10	My instructor provides timely f	feedback to guide my progress.	0	0	1 3.2%	3 9.7%	27 87.1%	31	4.8
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	1 3.2%	4 12.9%	26 83.9%	31	4.8
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	3 9.7%	6 19.4%	22 71%	31	4.6
Q13	My instructor encourages me	to develop new viewpoints.	0	0	6 19.4%	8 25.8%	17 54.8%	31	4.4
Q14	My instructor made the subject	ot interesting and motivated me to learn.	0	0	4 12.9%	9 29%	18 58.1%	31	4.5

	Course:	LAW - 7323 501 - Constitutional Law II: Federal Criminal Procedure	Departmer	nt: 🛛	aw	Schoo	I		
	Responsible Faculty:	Brian Owsley	Responses / Expecte	d:	25 /	34 (73	8.53%)		
Co	rse Evaluation Questions					Brian O	wsley		
cou	rse Evaluation Questions			Res	pons	es (%)		Inc	dividua
			SD	D	Ν	Α	SA	Ν	Mear
Q1	My instructor explains difficu	Ilt material clearly.	0	0	0	8 32%	17 68%	25	4.7
Q2	My instructor provides facts,	examples, and references that helped me learn the material.	0	0	0	6 24%	19 76%	25	4.8
Q3	My instructor gives assignme	ents that contribute to my understanding of the subject.	0	0	1 4%	8 32%	16 64%	25	4.6
Q4	My instructor provides mater	ial that helps me do well on assignments.	0	0	0	7 28%	18 72%	25	4.7
Q5	My instructor explains new ic	leas by relating them to familiar concepts.	0	0	1 4%	7 28%	17 68%	25	4.6
Q6	My instructor evaluates my v	vork in ways that are helpful to my ability to learn.	0	2 8%	0	7 28%	16 64%	25	4.5
Q7	My instructor establishes a c	limate of respect for students.	0	0	1 4%	7 28%	17 68%	25	4.6
Q8	My instructor is available to	me on matters pertaining to the course.	0	0	0	6 24%	19 76%	25	4.8
Q9	My instructor encourages me	e to do my best work.	0	0	1 4%	5 20%	19 76%	25	4.7
Q10	My instructor provides timely	r feedback to guide my progress.	o	0	0	3 12%	22 88%	25	4.9
Q11	My instructor creates an atm	osphere in which ideas can be exchanged freely.	0	0	2 8%	7 28%	16 64%	25	4.6
Q12	My instructor encourages me	e to connect course topics to a wider understanding of the subject.	0	0	1 4%	6 24%	18 72%	25	4.7
Q13	My instructor encourages me	e to develop new viewpoints.	o	0	1 4%	7 28%	17 68%	25	4.6
Q14	My instructor made the subje	ect interesting and motivated me to learn.	0	0	1 4%	5 20%	19 76%	25	4.7

	Course:	LAW - 7325 001 - Wills, Trusts and Estates	Dep	artmo	ent: L	awSchoo	ol				
	Responsible Faculty:	Samuel Long	Responses / E	(pect	ed: 1	2 / 33 (3	6.36%)				
^	se Evaluation Questions			Samuel Long							
Cour	se Evaluation Questions				-	nses (%)	1		lividual		
			S[-	N	A	SA 9	N	Mean		
Q1	My instructor explains difficul	t material clearly.	8.3	% 0	0	16.7%	75%	12	4.5		
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.	1 8.3	% 0	0	1 8.3%	10 83.3%	12	4.6		
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	1 8.3	% 0	0	3 25%	8 66.7%	12	4.4		
Q4	My instructor provides materia	al that helps me do well on assignments.	1 8.3	» 0	0	2 16.7%	9 75%	12	4.5		
Q5	My instructor explains new ide	as by relating them to familiar concepts.	1 8.3	% 0	0	2 16.7%	9 75%	12	4.5		
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	1 8.3	» 0	0	3 25%	8 66.7%	12	4.4		
Q7	My instructor establishes a cl	imate of respect for students.	1 8.3	δ	0	1 8.3%	10 83.3%	12	4.6		
Q8	My instructor is available to m	e on matters pertaining to the course.	1 8.3	% 0	1 8.3%	1 8.3%	9 75%	12	4.4		
Q9	My instructor encourages me	to do my best work.	1 8.3	% 0	0	3 25%	8 66.7%	12	4.4		
Q10	My instructor provides timely	feedback to guide my progress.	1 8.3	» 0	0	2 16.7%	9 75%	12	4.5		
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	1 8.3	% 0	0	1 8.3%	10 83.3%	12	4.6		
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	1 8.3	_% 0	0	1 8.3%	10 83.3%	12	4.6		
Q13	My instructor encourages me	to develop new viewpoints.	1 8.3	_% 0	0	2 16.7%	9 75%	12	4.5		
Q14	My instructor made the subject	st interesting and motivated me to learn.	1 8.3	<u>ہ</u> 0	0	3 25%	8 66.7%	12	4.4		

	Course: LAW - 7388 001 - Externship Seminar		Dep	artm	nent: L	t: LawSchool				
	Responsible Faculty:	Angela Downes	Responses / E	хрес	ted:	3 / 15 (20%)				
Co	se Evaluation Questions					Angela Downes				
Coui	Se Evaluation Questions				Respo	esponses (%)			dividual	
			SD	D	Ν	Α	SA	Ν	Mean	
Q1	My instructor explains difficult	material clearly.	0	0	2 66.7%	1 33.3%	0	3	3.3	
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	1 33.3%	2 66.7%	0	3	3.7	
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.	0	0	1 33.3%	2 66.7%	0	3	3.7	
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	2 66.7%	1 33.3%	0	3	3.3	
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	1 33.3%	2 66.7%	0	3	3.7	
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	o	0	2 66.7%	1 33.3%	0	3	3.3	
Q7	My instructor establishes a cli	mate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	1 33.3%	2 66.7%	0	3	3.7	
Q9	My instructor encourages me t	to do my best work.	0	0	0	3 100%	0	3	4.0	
Q10	My instructor provides timely f	eedback to guide my progress.	o	0	2 66.7%	1 33.3%	0	3	3.3	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	1 33.3%	2 66.7%	0	3	3.7	
Q12	My instructor encourages me t	to connect course topics to a wider understanding of the subject.	0	0	2 66.7%	1 33.3%	0	3	3.3	
Q13	My instructor encourages me t	to develop new viewpoints.	o	0	0	3 100%	0	3	4.0	
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	0	1 33.3%	2 66.7%	0	3	3.7	

	Course:	LAW - 7388 501 - Externship Seminar	Dep	artment	nt: LawSchool					
	Responsible Faculty:	Angela Downes	Responses / Ex	pected	d: 2 / 2 (100%)					
Cour	se Evaluation Questions			Re	Ang	ela Dowr (%)	ies	In	dividual	
			S	D	N	Α	SA	Ν	Mean	
Q1	My instructor explains difficul	t material clearly.	(1 50		1 50%	0	2	3.0	
Q2	My instructor provides facts, e	examples, and references that helped me learn the material.		1 50		1 50%	0	2	3.0	
Q3	My instructor gives assignme	nts that contribute to my understanding of the subject.	(1 50		1 50%	0	2	3.0	
Q4	My instructor provides materia	al that helps me do well on assignments.		1 10		0	0	1	2.0	
Q5	My instructor explains new ide	eas by relating them to familiar concepts.		1 50		1 50%	0	2	3.0	
Q6	My instructor evaluates my wo	ork in ways that are helpful to my ability to learn.	50		0	1 50%	0	2	2.5	
Q7	My instructor establishes a cli	imate of respect for students.	50		0	1 50%	0	2	2.5	
Q8	My instructor is available to m	ne on matters pertaining to the course.	50		0	1 50%	0	2	2.5	
Q9	My instructor encourages me	to do my best work.	50		0	1 50%	0	2	2.5	
Q10	My instructor provides timely	feedback to guide my progress.	10		0	0	0	1	1.0	
Q11	My instructor creates an atmo	osphere in which ideas can be exchanged freely.	50		0	1 50%	0	2	2.5	
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.		0	1 50%	1 50%	0	2	3.5	
Q13	My instructor encourages me	to develop new viewpoints.		1 50		1 50%	0	2	3.0	
Q14	My instructor made the subject	ct interesting and motivated me to learn.	50		0	1 50%	0	2	2.5	

	Course: LAW - 7401 001 - Torts			Departme	nt: La					
	Responsible Faculty:	Ellen Pryor	Responses	/ Expect	ed: 3	: 35 / 93 (37.63%)				
Cour	se Evaluation Questions					lividual				
			SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult	material clearly.	1 2.9%	4 11.4%	2 5.7%	18 51.4%	10 28.6%	35	3.9	
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	1 2.9%	10 28.6%	24 68.6%	35	4.7	
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.	1 2.9%	0	1 2.9%	15 42.9%	18 51.4%	35	4.4	
Q4	My instructor provides materia	I that helps me do well on assignments.	0	1 2.9%	2 5.7%	9 25.7%	23 65.7%	35	4.5	
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	2 5.7%	1 2.9%	16 45.7%	16 45.7%	35	4.3	
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	0	1 2.9%	5 14.3%	11 31.4%	18 51.4%	35	4.3	
Q7	My instructor establishes a cli	mate of respect for students.	1 2.9%	0	0	8 22.9%	26 74.3%	35	4.7	
Q8	My instructor is available to m	e on matters pertaining to the course.	2 5.7%	1 2.9%	1 2.9%	10 28.6%	21 60%	35	4.3	
Q9	My instructor encourages me t	o do my best work.	0	1 2.9%	0	14 40%	20 57.1%	35	4.5	
Q10	My instructor provides timely f	eedback to guide my progress.	1 2.9%	2 5.7%	2 5.7%	12 34.3%	18 51.4%	35	4.3	
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	2 5.7%	12 34.3%	21 60%	35	4.5	
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the subject.	0	0	2 5.7%	14 40%	19 54.3%	35	4.5	
Q13	My instructor encourages me t	o develop new viewpoints.	0	0	3 8.6%	16 45.7%	16 45.7%	35	4.4	
Q14	My instructor made the subjec	t interesting and motivated me to learn.	0	3 8.6%	0	16 45.7%	16 45.7%	35	4.3	

	Course: LAW - 7407 001 - Contracts		D	epartme	nt: La							
	Responsible Faculty:	Matthew Crockett	Responses	/ Expecte	ed: 39	: 39 / 93 (41.94%)						
Cour	se Evaluation Questions			D -		new Crocl	(ett	Indiv				
			SD	D	sponses N	(%) A	SA	N	Mean			
Q1	My instructor explains difficult	material clearly.	1 2.6%	1 2.6%	3 7.7%	11 28.2%	23 59%	39	4.4			
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	1 2.6%	1 2.6%	0	9 23.1%	28 71.8%	39	4.6			
Q3	My instructor gives assignmen	ts that contribute to my understanding of the subject.	1 2.6%	4 10.3%	4 10.3%	13 33.3%	17 43.6%	39	4.1			
Q4	My instructor provides materia	l that helps me do well on assignments.	1 2.6%	2 5.1%	6 15.4%	11 28.2%	19 48.7%	39	4.2			
Q5	My instructor explains new ide	as by relating them to familiar concepts.	1 2.6%	1 2.6%	0	11 28.2%	26 66.7%	39	4.5			
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	1 2.6%	0	6 15.4%	16 41%	16 41%	39	4.2			
Q7	My instructor establishes a cli	mate of respect for students.	0	1 2.6%	1 2.6%	4 10.3%	33 84.6%	39	4.8			
Q8	My instructor is available to m	e on matters pertaining to the course.	0	1 2.6%	1 2.6%	6 15.8%	30 78.9%	38	4.7			
Q9	My instructor encourages me t	o do my best work.	0	0	4 10.3%	9 23.1%	26 66.7%	39	4.6			
Q10	My instructor provides timely f	eedback to guide my progress.	0	1 2.6%	4 10.3%	6 15.4%	28 71.8%	39	4.6			
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	1 2.6%	0	1 2.6%	6 15.4%	31 79.5%	39	4.7			
Q12	My instructor encourages me t	o connect course topics to a wider understanding of the subject.	1 2.6%	0	2 5.3%	9 23.7%	26 68.4%	38	4.6			
Q13	My instructor encourages me t	o develop new viewpoints.	1 2.6%	0	3 7.7%	11 28.2%	24 61.5%	39	4.5			
Q14	My instructor made the subjec	t interesting and motivated me to learn.	1 2.6%	0	1 2.6%	6 15.4%	31 79.5%	39	4.7			

	Course: LAW - 7414 001 - Constitutional Law I										
	Responsible Faculty:	Loren Jacobson	Responses / E	nses / Expected: 38 / 46 (82.61%)							
Cou	se Evaluation Questions					Loren Jac	obson				
			SD	D	Respoi N	nses (%) A	SA	Ind	lividual Mear		
Q1	My instructor explains difficult	t material clearly.	0	0	1 2.6%	8 21.1%	29 76.3%	38	4.7		
Q2	My instructor provides facts, e	xamples, and references that helped me learn the material.	0	0	1 2.6%	9 23.7%	28 73.7%	38	4.7		
Q3	My instructor gives assignmer	ts that contribute to my understanding of the subject.	0	0	1 2.6%	6 15.8%	31 81.6%	38	4.8		
Q4	My instructor provides materia	al that helps me do well on assignments.	0	0	1 2.6%	5 13.2%	32 84.2%	38	4.8		
Q5	My instructor explains new ide	as by relating them to familiar concepts.	0	0	1 2.6%	10 26.3%	27 71.1%	38	4.7		
Q6	My instructor evaluates my wo	rk in ways that are helpful to my ability to learn.	0	0	1 2.6%	8 21.1%	29 76.3%	38	4.7		
Q7	My instructor establishes a cli	mate of respect for students.	0	0	1 2.6%	6 15.8%	31 81.6%	38	4.8		
Q8	My instructor is available to m	e on matters pertaining to the course.	0	0	1 2.6%	7 18.4%	30 78.9%	38	4.8		
Q9	My instructor encourages me	to do my best work.	0	0	1 2.6%	5 13.2%	32 84.2%	38	4.8		
Q10	My instructor provides timely	feedback to guide my progress.	0	0	1 2.6%	5 13.2%	32 84.2%	38	4.8		
Q11	My instructor creates an atmo	sphere in which ideas can be exchanged freely.	0	0	2 5.3%	10 26.3%	26 68.4%	38	4.6		
Q12	My instructor encourages me	to connect course topics to a wider understanding of the subject.	0	0	3 7.9%	8 21.1%	27 71.1%	38	4.6		
Q13	My instructor encourages me	to develop new viewpoints.	0	0	4 10.5%	6 15.8%	28 73.7%	38	4.6		
Q14	My instructor made the subject	t interesting and motivated me to learn.	0	0	1 2.6%	4 10.5%	33 86.8%	38	4.8		